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1. О5щ8е поло6е=8O 

 

1.1. �D468л4 8=6еEт8F8о==о9 пл4тDоD<K О5IеEт64 E о7D4=8Gе==о9 от6етEт6е==оEтLN 
«�47=у<�=6еEт» (��� 1841096768, О� � 1201800024480) D47D45от4=K 6 Eоот6етEт688 E 
тDе5о64=8O<8 де9Eт6уNIе7о 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, поло6е=8O<8 
=оD<4т86=KE пD46о6KE 4кто6 &е=тD4лL=о7о �4=к4  оEE89Eко9 $едеD4F88 (�4=к4  оEE88), 
6=утDе==8<8 Dе7л4<е=т8DуNI8<8 доку<е=т4<8 ОпеD4тоD4 �л4тDоD<K, Eо7л4E=о о5IепD8=OтK< 
=оD<4< Mт8к8 8 о5KG4O< дело6о7о о5оDот4.  

 

1.2. �еOтелL=оEтL �л4тDоD<K оEуIеEт6лOетEO 6 Eоот6етEт688 E �D46д4=Eк8< кодекEо< 
 оEE89Eко9 $едеD4F88, $едеD4лL=K< 74ко=о< от 02.08.2019 № 259-$� «О пD86леGе=88 
8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» (E <о<е=т4 6Eтупле=8O е7о 6 E8лу), дDу78<8 
=оD<4т86=K<8 4кт4<8  оEE89Eко9 $едеD4F88, =4EтоOI8<8 �D468л4<8 8 дDу78<8 лок4лL=K<8 
4кт4<8 �л4тDоD<K. 

 

1.3. &еD<8=K, EокD4Iе=8O 8 опDеделе=8O, 8EполL7уе<Kе 6 �D468л4E пл4тDоD<K, 
D4EкDK64NтEO по текEту �D468л 6 Eоот6етEт6уNI8E  47дел4E, 4 т4к6е пD86еде=K 6  47деле 2 
=4EтоOI8E �D468л. � EлуG4е отEутEт68O к4ко7о-л85о теD<8=4 (опDеделе=8O) 6 ук474==о<  47деле, 
л85о по текEту �D468л, - т4ко9 теD<8= (опDеделе=8е) толкуетEO 6 Eоот6етEт688 E 74ко=од4телLEт6о< 
 оEE89Eко9 $едеD4F88, о5KG4O<8 дело6о7о о5оDот4 8 Eло686H8<8EO 6 8=DоD<4F8о==о-

телеко<<у=8к4F8о==о9 Eет8 «�=теD=ет» о5KG=K<8 пD468л4<8 толко64=8O Eоот6етEт6уNI8E 
теD<8=о6.  

 

1.4. � Eоот6етEт688 E $едеD4лL=K< 74ко=о< от 02.08.2019 № 259-$� «О пD86леGе=88 
8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88», �D468л4 пл4тDоD<K O6лONтEO оE=о6=K< 
6=утDе==8< Dе7л4<е=т=K< доку<е=то< ОпеD4тоD4 �л4тDоD<K, опDеделONI8< поDOдок 
оEуIеEт6ле=8O деOтелL=оEт8 по оD74=874F88 пD86леGе=8O 8=6еEт8F89 (ок474=8O уEлу7 по 
Eоде9Eт68N 6 8=6еEт8Dо64=88 8 ок474=8N уEлу7 по пD86леGе=8N 8=6еEт8F89) E 8EполL7о64=8е< 
8=6еEт8F8о==о9 пл4тDоD<K 8 уEт4=46л864NI8<:   

" поDOдок 8EполL7о64=8O 8=6еEт8F8о==о9 пл4тDоD<K;   
" EпоEо5K 8=6еEт8Dо64=8O 8 тDе5о64=8O к уG4Eт=8к4< пл4тDоD<K;  
" поDOдок пD8Eоед8=е=8O к пD468л4< пл4тDоD<K, уEло68O 8 поDOдок 74клNGе=8O 

ОпеD4тоDо< �л4тDоD<K до7о6оDо6 о5 ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89 8 до7о6оDо6 о5 
ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88, поDOдок опDеделе=8O D47<еD4 6о7=47D46де=8O 
ОпеD4тоD4 �л4тDоD<K, 4 т4к6е поDOдок D4EкDKт8O 8=DоD<4F88;  

" поDOдок 6748<оде9Eт68O <е6ду уG4Eт=8к4<8 пл4тDоD<K (8=6еEтоD4<8 8 л8F4<8, 
пD86лек4NI8<8 8=6еEт8F88) пD8 74клNGе=88 до7о6оDо6 8=6еEт8Dо64=8O (4кFепте 
8=6еEт8F8о==KE пDедло6е=89);  

" тDе5о64=8O к EодеD64=8N 8=6еEт8F8о==о7о пDедло6е=8O л8F4, пD86лек4NIе7о 
8=6еEт8F88, 8 поDOдок е7о пD8=Oт8O 8=6еEтоDо<;  

" EDок8  пеDед4G8 де=е6=KE EDедEт6 уG4Eт=8к4< 8=6еEт8F8о==о9 пл4тDоD<K E 
=о<8=4лL=о7о EGет4, откDKто7о ОпеD4тоDу �л4тDоD<K.  

 

1.5. �Eе пD8ло6е=8O к �D468л4< пл4тDоD<K O6лONтEO =еотJе<ле<о9 G4EтLN �D468л 
пл4тDоD<K 8 8<еNт E8лу уEло689 до7о6оDо6 E 'G4Eт=8к4<8 пл4тDоD<K.   
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1.6. �4EтоOI8е �D468л4 оEуIеEт6ле=8O деOтелL=оEт8 8=6еEт8F8о==о9 пл4тDоD<K 
О5IеEт64 E о7D4=8Gе==о9 от6етEт6е==оEтLN «�47=у<�=6еEт» уEт4=46л864Nт оE=о6K 
8=DоD<4F8о==о-теE=оло78GеEко7о 6748<оде9Eт68O <е6ду ОпеD4тоDо< �л4тDоD<K 8 'G4Eт=8к4<8 
6 пDоFеEEе 8EполL7о64=8O Dу=кF8о=4л4 �л4тDоD<K, поDOдок пD8Eоед8=е=8O 'G4Eт=8ко6 к 
�D468л4< 8 поDOдок 74клNGе=8O до7о6оDо6, пеDеGе=L котоDKE опDеделе= �D468л4<8.  �4EтоOI8е 
пD468л4 O6лONтEO: 

 - до7о6оDо< пD8Eоед8=е=8O 6 Eоот6етEт688 Eо Eт. 428 �D46д4=Eко7о кодекE4  $, котоDK9 
74клNG4етEO 6Eе<8 'G4Eт=8к4<8, 74Dе78EтD8Dо646H8<8EO =4 �л4тDоD<е «�47=у<�=6еEт», E 
О5IеEт6о< E о7D4=8Gе==о9 от6етEт6е==оEтLN «�47=у<�=6еEт» (��� 1841096768, О� � 
1201800024480), <еEто =4Eо6де=8O: 426004, ' , 7. �6е6Eк, ул. Ле=8=4, 23 оD8E 615. 

- E<еH4==K< до7о6оDо< 6 Eоот6етEт688 E п. 3 Eт. 421 �D46д4=Eко7о кодекE4  $, EоGет4NI8< 
6 Eе5е Mле<е=тK до7о6оDо6 о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88, до7о6оD4 о5 
ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89, 4 т4к6е до7о6оD4 о полL7о64=88 пDо7D4<<=K< 
о5еEпеGе=8е<, 8 47е=тEко7о до7о6оD4.  

�D8Eоед8=е=8е к =4EтоOI8< �D468л4< оEуIеEт6лOетEO путе< Dе78EтD4F88 6 
8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 «�=теD=ет» =4 E49те ОпеD4тоD4 8=6еEт8F8о==о9 
пл4тDоD<K.   е78EтD4F8O 6 уEт4=о6ле==о< �D468л4<8 поDOдке O6лOетEO пол=K< 8 
5е7о7о6оDоG=K< Eо7л4E8е< E �D468л4<8 8 пD8Eоед8=е=8е< к =8< 6 Eоот6етEт688 E пу=кто< 1 
Eт4тL8 428 �К  $. 'G4Eт=8к, пD8Eоед8=86H89EO к �D468л4<, подт6еD6д4ет, Gто �D468л4 пDоG8т4=K 
8< пол=оEтLN, по=Oт=K, =е EодеD64т уEло689, O6=о о5Dе<е=8телL=KE длO =е7о.  

� EлуG4е еEл8 к4к8е-л85о 6опDоEK деOтелL=оEт8 ОпеD4тоD4 �л4тDоD<K 8 (8л8) 
Dу=кF8о=8Dо64=8O 8=6еEт8F8о==о9 пл4тDоD<K =е уDе7ул8Dо64=K �D468л4<8 8 пD8ло6е=8O<8 к 
=8<, 6 то< G8Eле к4E4NI8еEO EDоко6 8 (8л8) поDOдк4 6Kпол=е=8O отделL=KE пDоFедуD, то т4к8е 
6опDоEK Dе7ул8DуNтEO =оD<4т86=K<8 пD46о6K<8 4кт4<8  оEE89Eко9 $едеD4F88 8 6=утDе==8<8 
доку<е=т4<8 ОпеD4тоD4 �л4тDоD<K.   

 �4EтоOI8е �D468л4 D4EпDоEтD4=ONтEO =4 пD46оот=оHе=8O ОпеD4тоD4 �л4тDоD<K 8 
'G4Eт=8ко6 пл4тDоD<K 8 <о7ут 5KтL пD8=OтK �олL7о64теле</ 'G4Eт=8ко< пл4тDоD<K (�=6еEтоDо< 
8л8 Л8Fо<, пD86лек4NI8< 8=6еEт8F88) =е 8=4Gе к4к путе< пD8Eоед8=е=8O Eо7л4E=о п.1 Eт.428 �К 
 $ 6 поDOдке, ук474==о< =4EтоOI8<8 �D468л4<8. �оEле пD8Eоед8=е=8O к �D468л4< пл4тDоD<K 8 
пD8E6ое=8O Eт4туE4 'G4Eт=8к4 пл4тDоD<K (�=6еEтоD4 8л8 Л8F4, пD86лек4NIе7о 8=6еEт8F88) длO 
т4ко7о л8F4 �D468л4 о5Dет4Nт E8лу до7о6оD4 8 о5O74телL=K длO 8Eпол=е=8O. �D8 Mто<:  

" �D468л4 пл4тDоD<K =е O6лONтEO пу5л8G=о9 оDеDто9;  
" �D468л4 пл4тDоD<K 6 G4Eт8, Dе7ул8DуNIе9 6748<=Kе пD464 8 о5O74==оEт8 

ОпеD4тоD4 �л4тDоD<K 8 Л8F4, пD86лек4NIе7о 8=6еEт8F88, пD87=4NтEO G4EтLN до7о6оD4 о5 
ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89;  

" �D468л4 пл4тDоD<K 6 G4Eт8, Dе7ул8DуNIе9 6748<=Kе пD464 8 о5O74==оEт8 
�=6еEтоD4 8 ОпеD4тоD4 �л4тDоD<K, пD87=4NтEO до7о6оDо< о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88.  

 �D468л4 пл4тDоD<K подле64т D4EкDKт8N 6 поDOдке, пDедуE<отDе==о< 6  47дел4E 16 8 22 
=4EтоOI8E �D468л, 8 D47<еI4NтEO 6 <еEте, доEтуп=о< длO о5о7Dе=8O 8 о7=4ко<ле=8O E =8<8 
лN5о7о 748=теDеEо64==о7о л8F4 - =4 !49те пл4тDоD<K, доEтуп=о< по 4дDеEу: 
https://magnuminvest.ru ( 4EкDKт8е 8=DоD<4F88). 

 

1.7. ОпеD4тоD �л4тDоD<K 6пD46е 6 од=оEтоDо==е< поDOдке 6=оE8тL 87<е=е=8O 
(допол=е=8O) 6 �D468л4 8л8 пD8=8<4тL 8E 6 =о6о9 Dед4кF88 6 поDOдке, ук474==о< 6 D47дел4E № 
16 8 22 =4EтоOI8E �D468л. �7<е=е=8O, 6=оE8<Kе 6 �D468л4 8=6еEт8F8о==о9 пл4тDоD<K, 6Eтуп4Nт 
6 E8лу поEле 8E Eо7л4Eо64=8O E �4=ко<  оEE88, =о =е D4=ее Gе< GеDе7 пOтL д=е9 поEле д=O 
D4EкDKт8O 8=DоD<4F88 о5 Mто< =4 !49те пл4тDоD<K, 6 Eоот6етEт688 E тDе5о64=8O<8 Eт4тL8 15 
$едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 
8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK 
 оEE89Eко9 $едеD4F88». 
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1.8. Ко=тDолL=о-=4д7оD=K< оD74=о< 6 от=оHе=88 деOтелL=оEт8 ОпеD4тоD4 �л4тDоD<K 
8 опеD4F89 (Eделок), пDо6од8<KE =4 �л4тDоD<е, O6лOетEO �4=к  оEE88.  
 

 

2. &еD<8=O, EокD4ще=8O 8 опDеделе=8O, 8EполP7уе<Oе 6 �D468л4E 
пл4тDоD<O  

 

�6тоD874F8O – Eо6окуп=оEтL де9Eт689 'G4Eт=8к4 (упол=о<оGе==о7о л8F4 'G4Eт=8к4 – 

ND8д8GеEко7о л8F4), =4пD46ле==KE =4 полуGе=8е доEтуп4 к Л8G=о<у к458=ету 'G4Eт=8к4.   
 

�кFепт – 74O6ле=8е �=6еEтоD4, DоD<8Dуе<ое поEDедEт6о< теE=8GеEк8E EDедEт6 
�л4тDоD<K, 6KD464NIее 6олN �=6еEтоD4 =4 74клNGе=8е �о7о6оD4 8=6еEт8Dо64=8O =4 уEло68OE 
�=6еEт8F8о==о7о пDедло6е=8O (8 до7о6оD4 FеEE88, пD8 =4л8G88) =4 Eу<<у, ук474==уN 6 74O6ле=88 
�=6еEтоD4. 

�D8=Oт8е 8=6еEт8F8о==о7о пDедло6е=8O оEуIеEт6лOетEO путе< 6KD46е=8O E по<оILN 
теE=8GеEк8E EDедEт6 8=6еEт8F8о==о9 пл4тDоD<K 6ол8 8=6еEтоD4 (�кFепт4) о пD8=Oт88 
8=6еEт8F8о==о7о пDедло6е=8O пD8 уEло688 =4л8G8O =ео5Eод8<о9 Eу<<K де=е6=KE EDедEт6 Mто7о 
8=6еEтоD4 =4 =о<8=4лL=о< EGUте, откDKто< ОпеD4тоDу 8=6еEт8F8о==о9 пл4тDоD<K.  

� EлуG4е 5е7о7о6оDоG=о7о Eо7л4E8O �=6еEтоD4 E уEло68O<8 8=6еEт8F8о==о7о пDедло6е=8O 
длO е7о пD8=Oт8O (4кFепт4) �=6еEтоD оEуIеEт6лOет EледуNI8е поEледо64телL=Kе де9Eт68O: 
74Eод8т =4 EтD4=8Fу 8=6еEт8F8о==о7о пDедло6е=8O, ук47K64ет Eу<<у де=е6=KE EDедEт6, котоDKе 
8=6еEтоD =4<еDе= пDо8=6еEт8Dо64тL 6 6K5D4==ое 8=6еEт8F8о==ое пDедло6е=8е, д4лее E 
по<оILN теE=оло789 пл4тDоD<K 8=6еEтоD подт6еD6д4ет 4кFепт путе< пDоEт46ле=8O 74лоGк8 6 
поле о 6KEокоD8Eко64==о< E4D4ктеDе 8=6еEт8F89, =464т8O к=опк8 «�=6еEт8Dо64тL» 8 66еде=8O 
код4 87 !�!-Eоо5Iе=8O, поEтуп86Hе7о =4 е7о телеDо=, котоDK9 =ео5Eод8<о 66еEт8 6 поO686Hе<EO 
ок=е 6 л8G=о< к458=ете 8=6еEтоD4. 

�D8 Mто<, 4кFепт 6 текEто6о< 6KD46е=88 DоD<8DуетEO (по DоD<е �D8ло6е=8O № 4 к 
=4EтоOI8< �D468л4<) 6 пDоFеEEе т4ко7о пD8=Oт8O �=6еEтоDо< 8=6еEт8F8о==о7о пDедло6е=8O E 
по<оILN теE=8GеEк8E EDедEт6 8=6еEт8F8о==о9 пл4тDоD<K. &екEт 8=6еEт8F8о==о7о пDедло6е=8O 
6<еEте E текEто< 4кFепт4 – пDедEт46лONт Eо5о9 текEт до7о6оD4 749<4. 

�=6еEтоD, пD8=O6H89 8=6еEт8F8о==ое пDедло6е=8е, 6 теGе=8е пOт8 D45оG8E д=е9 Eо д=O 
е7о пD8=Oт8O, =о =е по7д=ее д=O пDекD4Iе=8O де9Eт68O 8=6еEт8F8о==о7о пDедло6е=8O 6пD46е 
отк474тLEO от 74клNGе=8O до7о6оD4 8=6еEт8Dо64=8O. '6едо<ле=8е о5 отк47е от 74клNGе=8O 
до7о6оD4 8=6еEт8Dо64=8O =4пD46лOетEO 8=6еEтоDо<, пD8=O6H8< 8=6еEт8F8о==ое пDедло6е=8е, 
ОпеD4тоDу 8=6еEт8F8о==о9 пл4тDоD<K E по<оILN теE=8GеEк8E EDедEт6 8=6еEт8F8о==о9 
пл4тDоD<K, 8EполL7уе<KE длO пD8=Oт8O 8=6еEт8F8о==о7о пDедло6е=8O. � EлуG4е отк474 
8=6еEтоD4, пD8=O6Hе7о 8=6еEт8F8о==ое пDедло6е=8е, от 74клNGе=8O до7о6оD4 8=6еEт8Dо64=8O, - 
ОпеD4тоD 8=6еEт8F8о==о9 пл4тDоD<K =е 6пD46е пеDед464тL де=е6=Kе EDедEт64 т4ко7о 8=6еEтоD4 
л8Fу, пD86лек4NIе<у 8=6еEт8F88. 

�кFепт оDеDтK �=6еEтоD4 (&еде=т4) =4 74клNGе=8е �о7о6оD4 FеEE88 O6лOетEO оE=о64=8е< 
длO пеDеEод4 пD46 тDе5о64=8O по �о7о6оDу 8=6еEт8Dо64=8O к =о6о<у �=6еEтоDу (&еEE8о=4D8N) 6 
Eу<<е, ук474==о9 6 4кFепте, 4 т4к6е, O6лOетEO оE=о64=8е< длO у<е=LHе=8O Eу<<K де=е6=KE 
EDедEт6 =4 Л! =о6о7о �=6еEтоD4 (&еEE8о=4D8O) 6 D47<еDе Fе=K �о7о6оD4 FеEE88 8 длO 
Eоот6етEт6уNIе7о у6ел8Gе=8O Eу<<K де=е6=KE EDедEт6 =4 Л! �=6еEтоD4, уEтуп4NIе7о тDе5о64=8е 
(&еде=т4). 'Eло68O уEтупк8 пD46, �оDOдок уEтупк8 пD46, Dу=кF8о=4л �л4тDоD<K по ук474==K< 
Eделк4< 8 8=Kе 6опDоEK Dе7ул8Dо64=8O, – подле64т 6клNGе=8N 6 �D468л4 6 DоD<4те EпеF84лL=KE 
отделL=KE �D8ло6е=89 к �D468л4< (еEл8 8=о9 DоD<4т Dе7ул8Dо64=8O =е 5удет пDедуE<отDе= 
ОпеD4тоDо< пл4тDоD<K).    

�кFепт т4к6е <о6ет EодеD64тL 6оле87JO6ле=8е =4 74клNGе=8е 8=KE до7о6оDо6 6 
Eоот6етEт688 E �=6еEт8F8о==K< пDедло6е=8е< �4U<I8к4. 
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�о7о6оD 8=6еEт8Dо64=8O - до7о6оD 749<4 E <=о6еEт6е==оEтLN л8F =4 EтоDо=е кDед8тоD4, 
74клNGе==K9 <е6ду �=6еEтоDо< 8 Л8Fо<, пD86лек4NI8< 8=6еEт8F88, E по<оILN 
8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 �л4тDоD<K, 6 поDOдке, уEт4=о6ле==о< 
=4EтоOI8<8 �D468л4<8. �о7о6оDK 8=6еEт8Dо64=8O 74клNG4NтEO 6 п8EL<е==о9 DоD<е E по<оILN 
8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 8=6еEт8F8о==о9 пл4тDоD<K путе< пD8=Oт8O 
8=6еEт8F8о==о7о пDедло6е=8O л8F4, пD86лек4NIе7о 8=6еEт8F88, 8 пеDеG8Eле=8O =4 е7о 
54=ко6Eк89 EGет де=е6=KE EDедEт6 8=6еEтоDо6. �о7о6оDK 8=6еEт8Dо64=8O EG8т4NтEO 
74клNGе==K<8 E <о<е=т4 поEтупле=8O де=е6=KE EDедEт6 8=6еEтоDо6 E =о<8=4лL=о7о EGет4 
ОпеD4тоD4 8=6еEт8F8о==о9 пл4тDоD<K =4 54=ко6Eк89 EGет л8F4, пD86лек4NIе7о 8=6еEт8F88. 
�4пD46ле=8е �=6еEт8F8о==о7о пDедло6е=8O 8 �кFепто6 оEуIеEт6лOетEO пD8 по<оI8 теE=8GеEк8E 
EDедEт6 �л4тDоD<K. �=6еEт8F8о==ое пDедло6е=8е 8 �кFепт 8=6еEт8F8о==о7о пDедло6е=8O 
O6лONтEO т4к6е де9Eт68O<8 �=6еEтоD4 8 �4U<I8к4, =4пD46ле==K<8 =4 пD8Eоед8=е=8е к 
=4EтоOI8< �D468л4< 6 G4Eт8, Dе7ул8DуNIе9 от=оHе=8O EтоDо= по �о7о6оDу 8=6еEт8Dо64=8O. 

 

�о7о6оD 8=6еEт8Dо64=8O E о5еEпеGе=8е< - до7о6оD 8=6еEт8Dо64=8O, 8Eпол=е=8е 
о5O74телLEт6 �4U<I8к4 по котоDо<у о5еEпеGе=о по6KH4NI8<8 =4дU6=оEтL 749<4 8=EтDу<е=т4<8 
(О5еEпеGе=8е 6о76D4т=оEт8 8=6еEт8F89):  

• EпеF84лL=о9 ко<плекE=о9 Eделко9 <е6ду �4U<I8ко< 8 ОпеD4тоDо< пл4тDоD<K, 4 
т4к6е л8Fо<, пDедоEт46лONI8< о5еEпеGе=8е, по76олONIе9 ОпеD4тоDу пл4тDоD<K 
6л8OтL =4 клNGе6Kе пDоFеEEK 6о76D4т=оEт8 �4U<I8ко< полуGе==KE 8=6еEт8F89,  

• D47л8G=K<8 поDуG8телLEт64<8,  
• 74ло74<8  
• 8(8л8) 8=K<8 о5еEпеG8телL=K<8 <еE4=87<4<8  
• 8 8E EоGет4=8е<. 

 

�о7о6оD о5 ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89  - до7о6оD пD8Eоед8=е=8O, 
74клNG4е<K9 <е6ду ОпеD4тоDо< 8=6еEт8F8о==о9 пл4тDоD<K 8 Л8Fо<, пD86лек4NI8< 
8=6еEт8F88, EуIеEт6е==Kе 8 8=Kе уEло68O котоDо7о опDеделе=K =4EтоOI8<8 �D468л4<8, по 
котоDо<у ОпеD4тоD 8=6еEт8F8о==о9 пл4тDоD<K пDедоEт46лOет Л8Fу, пD86лек4NIе<у 8=6еEт8F88, 
доEтуп к �=6еEт8F8о==о9 пл4тDоD<е длO 74клNGе=8O E �=6еEтоDо< E по<оILN 8=DоD<4F8о==KE 
теE=оло789 8 теE=8GеEк8E EDедEт6 �=6еEт8F8о==о9 пл4тDоD<K �о7о6оD4 8=6еEт8Dо64=8O 6 
поDOдке, уEт4=о6ле==о< =4EтоOI8<8 �D468л4<8.  

  

�о7о6оD о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88 - до7о6оD пD8Eоед8=е=8O, 
74клNG4е<K9 <е6ду ОпеD4тоDо< 8=6еEт8F8о==о9 пл4тDоD<K 8 �=6еEтоDо<, EуIеEт6е==Kе 8 
8=Kе уEло68O котоDо7о опDеделе=K =4EтоOI8<8 �D468л4<8, по котоDо<у ОпеD4тоD 
8=6еEт8F8о==о9 пл4тDоD<K пDедоEт46лOет �=6еEтоDу доEтуп к �=6еEт8F8о==о9 пл4тDоD<е длO 
74клNGе=8O E Л8Fо<, пD86лек4NI8< 8=6еEт8F88 E по<оILN 8=DоD<4F8о==KE теE=оло789 8 

теE=8GеEк8E EDедEт6 �=6еEт8F8о==о9 пл4тDоD<K �о7о6оD4 8=6еEт8Dо64=8O.   
 

�=6еEт8F8о==4O пл4тDоD<4 (�л4тDоD<4) - 46то<4т878Dо64==4O 8=DоD<4F8о==4O E8Eте<4 
(пDо7D4<<=о-теE=оло78GеEк89 ко<плекE) 6 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 
"�=теD=ет", доEтуп к котоDо9 пDедоEт46лOетEO ОпеD4тоDо< �л4тDоD<K E E49т4 пл4тDоD<K, 
Eо6<еEт=о 8EполL7уе<4O л8F4<8, оEуIеEт6лONI8<8 8=6еEт8F88 (�=6еEтоD4<8) 8 Л8F4<8, 
пD86лек4NI8<8 8=6еEт8F88, длO о5<е=4 8=DоD<4F8е9 8 74клNGе=8O E по<оILN 
8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 Mто9 8=DоD<4F8о==о9 E8Eте<K 
Eоот6етEт6уNI8E до7о6оDо6 <е6ду ОпеD4тоDо< �л4тDоD<K 8 'G4Eт=8к4<8 пл4тDоD<K, 4 т4к6е 
�о7о6оDо6 8=6еEт8Dо64=8O <е6ду �=6еEтоD4<8 8 Л8F4<8, пD86лек4NI8<8 8=6еEт8F88. 
�л4тDоD<4 6клNG4ет 6 Eе5O E49т, 547у д4==KE, пDо7D4<<=Kе EDедEт64 8 8=Kе EDедEт64 
46то<4т874F88 8 о5D45отк8 д4==KE. 

 

�=6еEт8F8о==ое пDедло6е=8е - оDеDт4 �4U<I8к4, 4дDеEо64==4O 74D4=ее опDеделе==о<у 
кDу7у л8F, котоDK9 о7D4=8Gе= �=6еEтоD4<8 (74кDKтое 8=6еEт8F8о==ое пDедло6е=8е, G. 3 Eт. 13 
$едеD4лL=K9 74ко= от 02.08.2019 № 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 
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8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK 
 оEE89Eко9 $едеD4F88»), EодеD64I4O 8=DоD<4F8N о EDоке де9Eт68O т4ко7о пDедло6е=8O, 
<8=8<4лL=о< 8 <4кE8<4лL=о< D47<еDе Eу<<K 749<4, пDоFе=т=о9 Eт46ке 74 полL7о64=8е 
де=е6=K<8 EDедEт64<8 8 8=Kе  уEло68O, ук474==Kе 6 текEте оDеDтK. $оD<4 8=6еEт8F8о==о7о 
пDедло6е=8O O6лOетEO пD8ло6е=8е< к =4EтоOI8< �D468л4<. 

 

�=6еEтоD – D878GеEкое л8Fо-7D46д4=8=  оEE89Eко9 $едеD4F88, 6 то< G8Eле о5л4д4NIее 
Eт4туEо< 8=д868ду4лL=о7о пDедпD8=8<4телO, 8л8 ND8д8GеEкое л8Fо, котоDK< опеD4тоD 
8=6еEт8F8о==о9 пл4тDоD<K ок47K64ет уEлу78 по Eоде9Eт68N 6 8=6еEт8Dо64=88.   

 

Л8Fо, пD86лек4NIее 8=6еEт8F88 (�4U<I8к) - л8Fо (4 8<е==о: ND8д8GеEкое л8Fо, 
Eо7д4==ое 6 Eоот6етEт688 E 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88, 8л8 8=д868ду4лL=K9 
пDедпD8=8<4телL), Eоот6етEт6уNIее тDе5о64=8O<, ук474==K< 6 =4EтоOI8E �D468л4E, 
74клNG86Hее E ОпеD4тоD4< �л4тDоD<K 6 уEт4=о6ле==о< �D468л4<8 поDOдке �о7о6оD о5 ок474=88 
уEлу7 по пD86леGе=8N 8=6еEт8F89, 8 полуG86Hее 6о7<о6=оEтL =4пD46лOтL �=6еEт8F8о==Kе 
пDедло6е=8O 8 74клNG4тL �о7о6оDK 8=6еEт8Dо64=8O поEDедEт6о< �л4тDоD<K.  

 

Л8Fе6о9 EGет (Л!) - 68Dту4лL=K9 EGет 6 MлектDо==о< 68де, о5оEо5ле==4O G4EтL 547K д4==KE 
�л4тDоD<K, EодеD64I4O 8=DоD<4F8N о де=е6=KE EDедEт64E 8=6еEтоD4 =4 =о<8=4лL=о< EGете 
опеD4тоD4, о D47<еD4E о5O74телLEт6 л8F4, пD86лек4NIе7о 8=6еEт8F88, по до7о6оDу 
8=6еEт8Dо64=8O (до7о6оD4< 8=6еEт8Dо64=8O), по котоDо<у (котоDK<) 8=6еEтоD оEуIеEт68л 
8=6еEт8Dо64=8е. Л8Fе6о9 EGет – Mто 8<е==о G4EтL 547K, EпоEо5 уGет4, л8Fе6о9 EGет =е O6лOетEO 
54=ко6Eк8< EGето<. �о=Oт8е «�о<8=4лL=K9 EGет» 8 «Л8Fе6о9 EGет» - =е Eо6п4д4Nт, т4к к4к 
л8Fе6о9 EGет =е O6лOетEO 54=ко6Eк8< EGето<, 4 O6лOетEO G4EтLN Dу=кF8о=4л4 л8G=KE к458=ето6. 

 

�4кE8<4лP=4O Eу<<4 749<4 – <4кE8<4лL=K9 о5Jе< де=е6=KE EDедEт6 8=6еEтоDо6, по 
доEт86е=88 котоDо7о де9Eт68е т4ко7о 8=6еEт8F8о==о7о пDедло6е=8O пDекD4I4етEO. �D8 Mто< 
<4кE8<4лL=K9 о5Jе< де=е6=KE EDедEт6 8=6еEтоDо6 EG8т4етEO доEт87=утK< 6 EлуG4е пD8=Oт8O 
8=6еEтоD4<8 8=6еEт8F8о==о7о пDедло6е=8O =4 Eу<<у де=е6=KE EDедEт6, D46=уN ук474==о<у 
<4кE8<4лL=о<у о5Jе<у де=е6=KE EDедEт6.  

 

�8=8<4лP=4O Eу<<4 749<4 – <8=8<4лL=K9 о5Jе< де=е6=KE EDедEт6 �=6еEтоDо6, 
доEт86е=8е котоDо7о O6лOетEO =ео5Eод8<K< уEло68е< длO 74клNGе=8O �о7о6оD4 749<4 6 
Eоот6етEт688 E �=6еEт8F8о==K< пDедло6е=8е<. 

 

�о<8=4лP=O9 EGUт - EGUт 6 54=ке по E<KEлу Eт.860.1 �D46д4=Eко7о кодекE4  $, 6л4делLFе< 
котоDо7о O6лOетEO ОпеD4тоD �л4тDоD<K. 'GUт 8 опеD4F88 по �о<8=4лL=о<у EGету оEуIеEт6лONтEO 
ОпеD4тоDо< �л4тDоD<K 6 поDOдке, уEт4=о6ле==о< =4EтоOI8<8 �D468л4<8 8 де9Eт6уNI8< 
74ко=од4телLEт6о<  $.   

 

ОпеD4тоD �л4тDоD<O - О5IеEт6о E о7D4=8Gе==о9 от6етEт6е==оEтLN «�47=у<�=6еEт» (��� 
1841096768, О� � 1201800024480), ок47K64NIее уEлу78 по оD74=874F88 пD86леGе=8O 8=6еEт8F89 
8 Eоде9Eт68N 6 8=6еEт8Dо64=88 путе< пDедоEт46ле=8O доEтуп4 к 8=6еEт8F8о==о9 пл4тDоD<е. 

 

�D468л4 пл4тDоD<O - оE=о6=о9 Dе7л4<е=т=K9 доку<е=т, Dе7ул8DуNI89 деOтелL=оEтL 
ОпеD4тоD4 �л4тDоD<K 8 6опDоEK Dу=кF8о=8Dо64=8O �л4тDоD<K, опDеделONI89 уEло68O 
до7о6оD4 о5 ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89, до7о6оD4 о5 ок474=88 уEлу7 по 
Eоде9Eт68N 6 8=6еEт8Dо64=88, до7о6оD4 8=6еEт8Dо64=8O, поDOдок 74клNGе=8O 8 8Eпол=е=8O 
ук474==KE до7о6оDо6, уEт4=46л864NI89 поDOдок 8=6еEт8Dо64=8O 8 пD86леGе=8O 8=6еEт8Dо64=8O 
поEDедEт6о< 8=6еEт8F8о==о9 пл4тDоD<K 8 6748<оде9Eт68O 'G4Eт=8ко6 пл4тDоD<K <е6ду Eо5о9 
8 E ОпеD4тоDо< �л4тDоD<K.  

  

�олP7о64телP пл4тDоD<O - D878GеEкое л8Fо, оEуIеEт686Hее пеD68G=уN Dе78EтD4F8N E 
FелLN д4лL=е9Hе9 Dе78EтD4F88 Eе5O к4к 8=6еEтоD4 – D878GеEко7о л8F4, 'G4Eт=8к4 пл4тDоD<K-
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8=д868ду4лL=о7о пDедпD8=8<4телO, 'G4Eт=8к4 пл4тDоD<K-ND8д8GеEко7о л8F4, пDедEт468теле< 
котоDо7о O6лOетEO т4кое D878GеEкое л8Fо. .D8д8GеEк8 7=4G8<Kе де9Eт68O от 8<е=8 'G4Eт=8к4-

ND8д8GеEко7о л8F4 <о7ут оEуIеEт6лOтLEO =4 �л4тDоD<е толLко  уко6од8теле<.   
 

 ееEтD до7о6оDо6 - DееEтD, EодеD64I89 E6еде=8O о5о 6EеE до7о6оD4E, 74клNGе==KE E 
8EполL7о64=8е< �л4тDоD<K (6 т.G. о EтоDо=4E, EуIеEт6е==KE уEло68OE, д4т4E 74клNGе=8O).    

 

!49т (оD8F84лP=O9 E49т ОпеD4тоD4 �л4тDоD<O) - E6O74==Kе 6е5-EтD4=8FK 6 
8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 «�=теD=ет», пD8=4дле64I89 ОпеD4тоDу 
�л4тDоD<K =4 пD46е Eо5Eт6е==оEт8, доEтуп=K9 по 4дDеEу: https://magnuminvest.ru , DоD<4 
Dе78EтD4F88 откDK64етEO Eо EтD4=8FK: https://i.magnuminvest.ru  

 

&4D8DO - доку<е=т, уEт4=46л864NI89 Eт46к8 6о7=47D46де=8O ОпеD4тоD4 74 уEлу78, 
ок47K64е<Kе 'G4Eт=8к4< пл4тDоD<K. 

 

'G4Eт=8к8 пл4тDоD<O - л8F4, пD86лек4NI8е 8=6еEт8F88 (�4U<I8к8), �=6еEтоDK, 

Eоот6етEт6уNI8е тDе5о64=8O<, уEт4=о6ле==K< =4EтоOI8<8 �D468л4<8 8 пD8Eоед8=86H8еEO к 
=4EтоOI8< �D468л4<. 

 

Ф4кт8GеEк4O Eу<<4 749<4 - Eу<<4 де=е6=KE EDедEт6, D46=4O Eу<<е EDедEт6, 
4кFепто64==KE �=6еEтоD4<8 =4 <о<е=т 74кDKт8O �=6еEт8F8о==о7о пDедло6е=8O. �олуGе=8е 
749<4 =4 Eу<<у, пDе6KH4NIуN $4кт8GеEкуN Eу<<у 749<4, - =е6о7<о6=о. 

 

3. О5щ89 поDOдок пDедоEт46ле=8O пD464 доEтуп4 (6Eод4) =4 пл4тDоD<у 

 

3.1. �D46о доEтуп4 (6Eод4) =4 пл4тDоD<у 6 FелOE 8=6еEт8Dо64=8O 8 (8л8) пD86леGе=8O 
8=6еEт8F89, 8<еNт толLко л8F4, пDоHедH8е 6Eе =ео5Eод8<Kе пDоFедуDK Dе78EтD4F88 8 
8де=т8D8к4F88, котоDK< пD8E6ое= Eт4туE �=6еEтоD4, л85о Eт4туE Л8F4, пD86лек4NIе7о 
8=6еEт8F88, 8 пDедоEт46ле= пол=K9 доEтуп к EеD68E4< �л4тDоD<K 8 D4EH8Dе==о<у Dу=кF8о=4лу 
Л8G=о7о к458=ет4.  

 �ол=K9 пеDеGе=L E6еде=89 8 подт6еD6д4NI8E доку<е=то6, котоDKе дол6=K 5KтL 
пDедоEт46ле=K ОпеD4тоDу �л4тDоD<K длO 8де=т8D8к4F88 л8F4 8 е7о Dе78EтD4F88 =4 �л4тDоD<е 6 
Eт4туEе �=6еEтоD4, л85о 6 Eт4туEе Л8F4, пD86лек4NIе7о 8=6еEт8F88, 4 т4к6е поDOдок пDо6еде=8O 
пDоFедуD пDо6еDок Mт8E д4==KE 8 доку<е=то6, уEт4=46л864NтEO 6 8=д868ду4лL=о< поDOдке 6 
от=оHе=88 к46до7о D878GеEко7о 8 ND8д8GеEко7о л8F4, 4 т4к6е 8=д868ду4лL=KE 
пDедпD8=8<4теле9, 6 Eоот6етEт688 E �D468л4<8 пл4тDоD<K 8 пD8ло6е=8O< к =8<, 8 опDеделONтEO 
Eоот6етEт6уNI8<8 6=утDе==8<8 Dе7л4<е=т=K<8 доку<е=т4<8 ОпеD4тоD4 �л4тDоD<K, 
D47D45от4==K<8 6 FелOE пDот86оде9Eт68O ле74л874F88 (от<K64=8N) доEодо6, полуGе==KE 
пDеEтуп=K< путе<, 8 D8=4=E8Dо64=8N теDDоD87<4, =е подле64I8<8 D4EкDKт8N =4 E49те 
ОпеD4тоD4 �л4тDоD<K. 

�D8Eтуп4O к Dе78EтD4F88, �D8Eоед8=OOEL к �D468л4<, - 'G4Eт=8к пл4тDоD<K/�олL7о64телL 
746еDOет ОпеD4тоD4 �л4тDоD<K (6 по=8<4=88 Eт. 431.2 �К  $) 6 EледуNIе<:   

• о= о7=4ко<8лEO E �D468л4<8, по=8<4ет 8E EодеD64=8е 8 Eо7л4Eе= E 8E уEло68O<8;  
• о= по=8<4ет 8 пD8=8<4ет поDOдок пD8Eоед8=е=8O 8 поDOдок подт6еD6де=8O 

пD8Eоед8=е=8O к �D468л4<. � пDот86=о< EлуG4е �олL7о64телL о5O7уетEO пDекD4т8тL 
Dе78EтD4F8N;   

• о= Eо7л4Eе= 8EполL7о64тL �л4тDоD<у 8 EеD68EK, доEтуп к котоDK< <о6ет пDедоEт46лOтLEO 
GеDе7 �л4тDоD<у, =4 уEло68OE �D468л. �D8 =еEо7л4E88 �олL7о64телO E �D468л4<8 
�олL7о64телL о5O7уетEO пDекD4т8тL Dе78EтD4F8N;  

• 6 EлуG4OE, ко7д4 �олL7о64телL де9Eт6ует от 8<е=8 ND8д8GеEко7о л8F4, т4ко9 �олL7о64телL 
746еDOет ОпеD4тоD4 �л4тDоD<K о =4л8G88 у =е7о 6EеE =ео5Eод8<KE пол=о<оG89 длO 
6Kпол=е=8O де9Eт689 =4 �л4тDоD<е, 4 т4к6е 6KD464ет Eо7л4E8е E �D468л4<8 от E6ое7о 
8<е=8 8 от 8<е=8 пDедEт46лOе<о7о 8< л8F4.  

https://magnuminvest.ru/
https://i.magnuminvest.ru/
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3.2. �Eод (доEтуп) =4 �л4тDоD<у оEуIеEт6лOетEO E !49т4 6 EледуNIе< поDOдке:  
" GеDе7 Л8G=K9 к458=ет – длO л8F, у6е 74Dе78EтD8Dо64==KE =4 �л4тDоD<е 6 Eт4туEе 

�олL7о64телO 8л8 'G4Eт=8к4 пл4тDоD<K;  
" GеDе7 DоD<у Dе78EтD4F88 =4 !49те - длO л8F, котоDKе =е 8<еNт 8=д868ду4лL=о9 

уGет=о9 74п8E8 (4кк4у=т4) =4 �л4тDоD<е 8 доEтуп4 к Л8G=о<у к458=ету.  
 

3.3. О5Iее оп8E4=8е пDоFедуDK пDедоEт46ле=8O доEтуп4 =4 �л4тDоD<у:   
" 1 Mт4п.  е78EтD4F8O 8 46тоD874F8O D878GеEко7о л8F4 (де9Eт6уNIе7о E4<оEтоOтелL=о 

6 Eо5Eт6е==KE 8=теDеE4E, л85о 6 к4GеEт6е упол=о<оGе==о7о пDедEт468телO ND8д8GеEко7о л8F4 
(ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4), котоDое =4<еDе==о полуG8тL доEтуп к �л4тDоD<е) 6 
Eт4туEе �олL7о64телO пл4тDоD<K.   

 е78EтD4F8O D878GеEко7о л8F4 пDо6од8тEO 6 упDоIе==о< поDOдке по =о<еDу е7о 
<о58лL=о7о телеDо=4 8 код4 подт6еD6де=8O (Eоот6етEт6уNI89 код подт6еD6де=8O 6KEKл4етEO 
E<E Eоо5Iе=8е< =4 ук474==K9 пD8 Dе78EтD4F88 =о<еD телеDо=4). &4к6е, Mто<у D878GеEко<у л8Fу 
=ео5Eод8<о пD8ду<4тL 8 66еEт8 п4DолL длO 6Eод4 6 E8Eте<у, котоDK9 6 д4лL=е9Hе< 5удет 8< 
8EполL7о64тLEO пD8 6Eоде =4 �л4тDоD<у. �4те<, 74Dе78EтD8Dо64==K9 6 E8Eте<е �олL7о64телL 
пDоEод8т 46тоD874F8N – оEуIеEт6лOет по6тоD=K9 6Eод =4 �л4тDоD<у, 66од8т 6 DоD<е 46тоD874F88 
=о<еD телеDо=4 8 п4DолL, котоDKе 5Kл8 8< ук474=K D4=ее пD8 Dе78EтD4F88 =4 �л4тDоD<е.   

  

�о 8то7у 1 Mт4п4 Dе78EтD4F88 D878GеEко<у л8Fу пD8E64864етEO Eт4туE �олL7о64телL 
пл4тDоD<K 8 откDK64етEO доEтуп 6 Л8G=K9 к458=ет �олL7о64телO E о7D4=8Gе==K< Dу=кF8о=4ло< 
(доEтуп=K толLко EеD68EK 74пол=е=8O DоD< Dе78EтD4F88, 8 EеD68EK пDоE<отD4 о5Iе9 
8=DоD<4F88 о пDоект4E, пл4=8Dуе<KE к D47<еIе=8N =4 �л4тDоD<е.  �=6еEт8F8о==ое 
пDедло6е=8е, оEуIеEт6лOе<ое путе< пD86леGе=8O 749<о6, <о6ет 5KтL 4дDеEо64=о толLко од=о<у 
8=6еEтоDу 8л8 =еEколLк8< ко=кDет=K< 8=6еEтоD4< (74кDKтое 8=6еEт8F8о==ое пDедло6е=8е).  

  

" 2 Mт4п. $оD<8Dо64=8е пDоD8лO �олL7о64телO, 74пол=е=8е Dе78EтD4F8о==KE DоD< 6 
Л8G=о< к458=ете, о=л49= пDедоEт46ле=8е E6еде=89 8 подт6еD6д4NI8E доку<е=то6, пDо6еде=8е 
ОпеD4тоDо< �л4тDоD<K пDоFедуDK 8де=т8D8к4F88 8 Dе78EтD4F88 'G4Eт=8к4 пл4тDоD<K (6 Eт4туEе 
�=6еEтоD4 8л8 Л8F4, пD86лек4NIе7о 8=6еEт8F88). 

 

3.4. ОпеD4тоD �л4тDоD<K о5O74= пDедпD8=8<4тL пDедуE<отDе==Kе де9Eт6уNI8< 
74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88 8 �D468л4<8 �О�/$&/$ О�' де9Eт68O длO 
8де=т8D8к4F88 'G4Eт=8ко6 пл4тDоD<K, 6 то< G8Eле 74пD4H864тL 6Eе =ео5Eод8<Kе E6еде=8O 8 
доку<е=тK, подт6еD6д4NI8е д4==Kе 4=кетK 8 8=Kе E6еде=8O, ук474==Kе Mт8<8 л8F4<8 пD8 
Dе78EтD4F88 =4 �л4тDоD<е.   

� EлуG4е 6KO6ле=8O ОпеD4тоDо< �л4тDоD<K 6 пDоFеEEе 8де=т8D8к4F88 =едоEто6еD=оEт8 
пDедоEт46ле==KE доку<е=то6 8 (8л8) E6еде=89 пDо876од8тEO отк47 6 Dе78EтD4F88 т4ко7о л8F4 6 
к4GеEт6е 'G4Eт=8к4 пл4тDоD<K. От6етEт6е==оEтL 74 пол=оту, 4кту4лL=оEтL 8 доEто6еD=оEтL 
доку<е=то6 8 E6еде=89 ле68т =4 л8Fе, котоDое 8E пDедоEт468ло ОпеD4тоDу �л4тDоD<K.  

 � EлуG4е 87<е=е=8O д4==KE 'G4Eт=8к4 пл4тDоD<K, пDедоEт46ле==KE 8< пD8 Dе78EтD4F88 
(6 4=кете 8 74O6ле=88), 6 то< G8Eле, =о =е о7D4=8G864OEL, п4EпоDт=KE д4==KE, д4==KE о <еEте 
Dе78EтD4F88 по <еEту 68телLEт64 (<еEто=4Eо6де=8O), EDедEт64E E6O78 (=о<еD телеDо=4 <о58лL=о9 
E6O78, 4дDеE MлектDо==о9 поGтK), 4 длO ND8д8GеEк8E л8F допол=8телL=о д4==KE (E6еде=89) о5 
ед8=ол8G=о< 8Eпол=8телL=о< оD74=е, уG4Eт=8к4E/4кF8о=еD4E 8 т.д., т4ко9 'G4Eт=8к пл4тDоD<K 
о5O74= =е по7д=ее 3-E к4ле=д4D=KE д=е9 Eоо5I8тL о5 Mто< ОпеD4тоDу �л4тDоD<K поEDедEт6о< 
=4пD46ле=8O GеDе7 Л8G=K9 к458=ет 6 MлектDо==о< 68де Eоот6етEт6уNIе7о 74O6ле=8O о5 
87<е=е=88 д4==KE 8 подт6еD6д4NI8E доку<е=то6. От6етEт6е==оEтL 74 =епDедоEт46ле=8е 
8=DоD<4F88 =еEет 'G4Eт=8к пл4тDоD<K.  
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4. ФоD<8Dо64=8е пDоD8лO =4 �л4тDоD<е. �еD68ч=4O Dе78EтD4F8O =4 
�л4тDоD<е 

 

4.1. � FелOE DоD<8Dо64=8O пDоD8лO, D878GеEкое л8Fо =4пD46лOет поEDедEт6о< 
теE=8GеEк8E EDедEт6 �л4тDоD<K EледуNI8е E6еде=8O: $4<8л8O, �<O 8 ОтGеEт6о, п4EпоDт=Kе 
д4==Kе, 4дDеE Dе78EтD4F88 по <еEту 68телLEт64, ���, EпоEо5K E6O78 (=о<еD телеDо=4 <о58лL=о9 
E6O78, 4дDеE MлектDо==о9 поGтK), 4 т4к6е уEт4=46л864ет п4DолL длO доEтуп4 к �л4тDоD<е. Ло78=о< 
длO доEтуп4 к �л4тDоD<е O6лOетEO =о<еD телеDо=4 <о58лL=о9 E6O78, ук474==K9 пD8 Dе78EтD4F88. 

 

4.2. $878GеEкое л8Fо пD8 DоD<8Dо64=88 пDоD8лO =4 �л4тDоD<е, пD8Eоед8=OетEO к 
=4EтоOI8< �D468л4<. 

 

4.3. �оEле пеD68G=о9 Dе78EтD4F88 =4 �л4тDоD<е D878GеEко<у л8Fу пDедоEт46лOетEO 
Dу=кF8о=4л л8G=о7о к458=ет4 D878GеEко7о л8F4, поEDедEт6о< котоDо7о D878GеEкое л8Fо 8<еет 
6о7<о6=оEтL пD8E6о8тL Eе5е 8л8 ND8д8GеEко<у л8Fу, 6 котоDо< д4==ое D878GеEкое л8Fо 
8Eпол=Oет Dу=кF88 ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4, од8= 8л8 =еEколLко 87 EледуNI8E 
Eт4туEо6 'G4Eт=8к4 пл4тDоD<K: 

- �=6еEтоD – D878GеEкое л8Fо, 74клNG4NIее �о7о6оD о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88;  

- �=6еEтоD – Eт4туE пD8E64864етEO ND8д8GеEко<у л8Fу, 74клNG4NIе<у �о7о6оD о5 

ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88, 6 котоDо< т4кое Dе78EтD8DуNIее D878GеEкое 
л8Fо O6лOетEO ед8=ол8G=K< 8Eпол=8телL=K<8 оD74=о<; 

- �4U<I8к – 8=д868ду4лL=K9 пDедпD8=8<4телL, 74клNG4NI89 �о7о6оD о5 ок474=88 уEлу7 
по пD86леGе=8N 8=6еEт8F89; 

- �4U<I8к – Eт4туE пD8E64864етEO ND8д8GеEко<у л8Fу, 74клNG4NIе<у �о7о6оD о5 
ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89, 6 котоDо< т4кое Dе78EтD8DуNIее D878GеEкое л8Fо 
O6лOетEO ед8=ол8G=K< 8Eпол=8телL=K< оD74=о<.  

 

4.4. �о7<о6=оEтL Dе78EтD4F88 ND8д8GеEк8E л8F (�=6еEтоDо6 8л8 �4U<I8ко6), 6 
котоDKE Dе78EтD8DуNIее D878GеEкое л8Fо O6лOетEO пDедEт468теле< по до6еDе==оEт8 (8л8 8=о<у 
пDедоEт46лONIе<у пол=о<оG8O доку<е=ту), - =е пDедоEт46лOетEO. 

 

4.5. �D8 пD8E6ое=88 к4ко7о-л85о 87 Eт4туEо6 'G4Eт=8к4 пл4тDоD<K, D878GеEкое л8Fо 
пDедоEт46лOет допол=8телL=Kе E6еде=8O 8 доку<е=тK, уEт4=о6ле==Kе Eоот6етEт6уNI8<8 
D47дел4<8 =4EтоOI8E �D468л. 

 

4.6. $878GеEк8< л8F4<, пD8E6о86H8< Eе5е од8= 8л8 =еEколLко Eт4туEо6 'G4Eт=8к4 
пл4тDоD<K, теE=8GеEк8<8 EDедEт64<8 �л4тDоD<K DоD<8DуNтEO E4<оEтоOтелL=Kе D47делK 6 
л8G=о< к458=ете 'G4Eт=8к4 пл4тDоD<K, 6 Eоот6етEт688 E уEт4=о6ле==K< Eт4туEо< 8 пD8E6ое=8е< 
E4<оEтоOтелL=о7о л8Fе6о7о EGет4 к к46до<у Eт4туEу. 

 

4.7. Ло78=о< длO доEтуп4 6 л8G=Kе к458=етK 'G4Eт=8ко6 пл4тDоD<K O6лOетEO =о<еD 
<о58лL=о7о телеDо=4, уEт4=о6ле==о7о D878GеEк8< л8Fо< к4к ло78= длO доEтуп4 6 л8G=K9 к458=ет 
т4ко7о D878GеEко7о л8F4 =4 �л4тDоD<е пD8 е7о пеD68G=о9 Dе78EтD4F88 (ед8=K9 ло78=). 

 

4.8. $878GеEкое л8Fо, оEуIеEт6лONIее пеD68G=уN Dе78EтD4F8N =4 �л4тDоD<е, 
пDедоEт46лOет ОпеD4тоDу Eо7л4E8е =4 о5D45отку E 8EполL7о64=8е< EDедEт6 46то<4т874F88 8л8 5е7 
8EполL7о64=8O т4к8E EDедEт6 (6клNG4O E5оD, 74п8EL, E8Eте<4т874F8N, =4копле=8е, ED4=е=8е, 
утоG=е=8е (о5=о6ле=8е, 87<е=е=8е), 876леGе=8е, 8EполL7о64=8е, пеDед4Gу (D4EпDоEтD4=е=8е, 
пDедоEт46ле=8е, доEтуп), о5е7л8G864=8е, 5лок8Dо64=8е, уд4ле=8е, у=8Gто6е=8е) E6о8E 
пеDEо=4лL=KE д4==KE, 6клNG4O, =о =е о7D4=8G864OEL, п4EпоDт=Kе д4==Kе, $�О, <еEто 68телLEт64, 
д4т4 Dо6де=8O, =о<еD <о58лL=о7о/7оDодEко7о телеDо=4, 8=Kе E6еде=8O, 4 т4к6е оEуIеEт6ле=8е 
лN5KE 8=KE де9Eт689 E пDедоEт46лOе<K<8 пеDEо=4лL=K<8 д4==K<8. �6одO 6 EпеF84лL=ое поле 
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=4 �л4тDоD<е, =4пD46ле==K9 =4 �4Dе78EтD8Dо64==K9 телеDо==K9 =о<еD sms-код (код доEтуп4), 
D878GеEкое л8Fо т4к6е Eо7л4H4етEO E уEло68O<8 о5D45отк8 8 8EполL7о64=8O пеDEо=4лL=KE д4==KE 
8 пDедоEт46лOет !о7л4E8е =4 о5D45отку пеDEо=4лL=KE д4==KE по DоD<е Eоот6етEт6уNIе7о 
доку<е=т4 =4 E49те �л4тDоD<K. 

 

4.9. $878GеEкое л8Fо т4к6е пDедоEт46лOет ОпеD4тоDу Eо7л4E8е =4 пеDед4Gу ОпеD4тоDо< 
т4к8E пеDEо=4лL=KE д4==KE длO доEт86е=8O Fеле9, уEт4=о6ле==KE =4EтоOI8<8 �D468л4<8, 
74клNG4е<K<8 6 Eоот6етEт688 E =4EтоOI8<8 пD468л4<8 до7о6оD4<8, тDетL8< л8F4<: �О "��К�" 
��� 7703548386, �О "ОК�" ��� 7710561081, ООО "�К� Эк68D4кE" ��� 7813199667, 8=K< �NDо 
кDед8т=KE 8EтоD89, 4 т4к6е 8=6еEтоD4<, 6 то< G8Eле длO оEуIеEт6ле=8O пDо6еDок �4U<I8к4 
(O6лONIе7оEO пDедEт4686H8< Eо7л4E8е D878GеEк8< л8Fо< 6 к4GеEт6е 8=д868ду4лL=о7о 
пDедпD8=8<4телO, 8л8 O6лONIе7оEO ND8д8GеEк8< л8Fо<, 6 котоDо< пDедоEт4686Hее Eо7л4E8е 
D878GеEкое л8Fо O6лOетEO ед8=ол8G=K< 8Eпол=8телL=K< оD74=о<) по откDKтK< 8EтоG=8к4< 
д4==KE 6 FелOE пDо6еDк8 5л47о=4де6=оEт8 8 EоEт46ле=8O EкоD8=7о6о7о отGет4 по �4U<I8ку длO 
пDедEт46ле=8O е7о поте=F84лL=K< �=6еEтоD4<, E пDедоEт46ле=8е< пD464 =4 о5D45отку 
пеDед464е<KE �еDEо=4лL=KE д4==KE, 5е7 полуGе=8O допол=8телL=о7о Eо7л4E8O D878GеEко7о л8F4 
=4 т4куN пеDед4Gу. �6одO 6 EпеF84лL=ое поле =4 �л4тDоD<е, =4пD46ле==K9 =4 
�4Dе78EтD8Dо64==K9 телеDо==K9 =о<еD sms-код (код доEтуп4), D878GеEкое л8Fо т4к6е 
Eо7л4H4етEO E уEло68O<8 о5D45отк8 8 8EполL7о64=8O пеDEо=4лL=KE д4==KE 8 пDедоEт46лOет 
!о7л4E8е =4 пеDед4Gу пеDEо=4лL=KE д4==KE по DоD<е Eоот6етEт6уNIе7о доку<е=т4 =4 E49те 
�л4тDоD<K. 

 

4.10. От7K6 D878GеEк8< л8Fо< Eо7л4E8O, уEт4=о6ле==о7о пу=кт4<8 4.8. 8(8л8) 4.9., 
O6лOетEO оE=о64=8е< длO од=оEтоDо==е7о отк474 ОпеD4тоD4 от 8Eпол=е=8O D4=ее 74клNGе==KE 
�о7о6оDо6, E пеDеG8Eле=8е< E6о5од=KE де=е6=KE EDедEт6 �=6еEтоD4, =4EодOI8еEO =4 
�о<8=4лL=о< EGUте, =4 поEлед=8е 876еEт=Kе ОпеD4тоDу Dек6878тK �=6еEтоD4 6 теGе=8е 3-E 
D45оG8E д=е9 E д4тK од=оEтоDо==е7о отк474 ОпеD4тоD4 от 8Eпол=е=8O �о7о6оDо6. �D8 Mто<, отк47 
ОпеD4тоD4 =е D4EпDоEтD4=OетEO =4 6Eе D4=ее 6о7=8кH8е о5O74телLEт64 по �о7о6оD4< 
8=6еEт8Dо64=8O – котоDKе подле64т 8Eпол=е=8N 6 пол=о< о5JU<е, 4 т4к6е =е D4EпDоEтD4=OетEO 
=4 EлуG48, ко7д4 8=6еEтоDо< у6е пD8=OтK 8=6еEт8F8о==Kе пDедло6е=8O. Од=оEтоDо==89 отк47 
лN5о9 87 EтоDо= от о5O74телLEт6, 6о7=8кH8E до D4EтоD6е=8O �о7о6оD4 о5 ок474=88 уEлу7 по 
пD86леGе=8N 8=6еEт8F89, л85о �о7о6оD4 о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88- 

=е6о7<о6е= (74 8EклNGе=8е< EлуG4е6, пDедуE<отDе==KE де9Eт6уNI8< 74ко=од4телLEт6о<  $ 
8(8л8) поло6е=8O<8 �D468л, =е пDот86оDеG4I8<8 де9Eт6уNIе<у 74ко=од4телLEт6у  $), еEл8 
т4к8е о5O74телLEт64 к4E4NтEO 8Eпол=е=8O де9Eт6уNI8E до7о6оDо6 8=6еEт8Dо64=8O, 4 т4к6е 6 
EлуG4е, еEл8 о5O74телLEт64 6о7=8к4Nт 6 от=оHе=88 у6е пD8=OтKE 8=6еEтоDо< 8=6еEт8F8о==KE 
пDедло6е=89. 

 

4.11. $878GеEкое л8Fо, оEуIеEт6лONIее пеD68G=уN Dе78EтD4F8N =4 �л4тDоD<е 8 
пDедоEт46лONIее ОпеD4тоDу E6о8 д4==Kе длO E6O78 (6 то< G8Eле, =о =е о7D4=8G864OEL, =о<еD 
<о58лL=о7о телеDо=4, 4дDеE MлектDо==о9 поGтK 8 пDоG8е), пDO<о 8 од=о7=4G=о д4ет Eо7л4E8е =4 
о5D45отку ОпеD4тоDо< пеDед4==KE �еDEо=4лL=KE д4==KE 6 FелOE =4пD46ле=8O D878GеEко<у л8Fу 
к4к �=6еEтоDу 8(8л8) �4U<I8ку 8=DоD<4F88 о5 опеD4F8OE по Л! �=6еEтоD4/�4U<I8к4, 8=о9 
8=DоD<4F88 по поGте, телеDо=у, 6 E<E-Eоо5Iе=8OE 8 push-Eоо5Iе=8OE, 6 текEте MлектDо==KE 
п8Eе<, лN5K< EпоEо5о< GеDе7 �л4тDоD<у, 4 т4к6е =4 8=DоD<8Dо64=8е т4ко7о D878GеEко7о л8F4 6 
Dекл4<=KE FелOE, о EуIеEт6уNI8E 8(8л8) 66од8<KE 6 де9Eт68е уEлу74E ОпеD4тоD4, о5 87<е=е=8OE 
6 �D468л4E 8 &4D8D4E ОпеD4тоD4, 6 теGе=8е 6Eе7о EDок4 де9Eт68O 74клNGе==KE E по<оILN 
�л4тDоD<K до7о6оDо6. 

 

5. 'Eло68O до7о6оD4 о5 ок474=88 уEлу7 по пD86лече=8N 8=6еEт8F89 

 

5.1. ОпеD4тоD о5O7уетEO 6 Eоот6етEт688 E �D468л4<8 пDедоEт468тL �4U<I8ку доEтуп к 
�л4тDоD<е длO 74клNGе=8O E �=6еEтоD4<8 �о7о6оD4 8=6еEт8Dо64=8O E по<оILN 8=DоD<4F8о==KE 
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теE=оло789 8 теE=8GеEк8E EDедEт6 Mто9 �л4тDоD<K, 4 �4U<I8к о5O7уетEO опл4т8тL ОпеD4тоDу 
6о7=47D46де=8е 6 Eоот6етEт688 E �D468л4<8. 

 

5.2. �4U<I8к 6пD46е: 
5.2.1. �EполL7о64тL Dу=кF8о=4л �л4тDоD<K 6 поDOдке 8 =4 уEло68OE, уEт4=о6ле==KE 

=4EтоOI8<8 �D468л4<8. 
5.2.2. �олуG4тL доEтуп к �л4тDоD<е 24 G4E4 6 де=L 7 д=е9 6 =еделN. 
5.2.3. &Dе5о64тL от ОпеD4тоD4 8Eпол=е=8O о5O74==оEте9, уEт4=о6ле==KE =4EтоOI8<8 

�D468л4<8. 
5.2.4. �олуG4тL у ОпеD4тоD4 ко=EулLт4F88 по 8EполL7о64=8N �л4тDоD<K 8 ее Dу=кF89. 
 

5.3. �4U<I8к о5O74=: 
5.3.1. !о5лNд4тL уEло68O 8 поло6е=8O =4EтоOI8E �D468л. 
5.3.2. 'пл4G864тL Ко<п4=88 �о7=47D46де=8е 74 8EполL7о64=8е �л4тDоD<K 6 поDOдке 8 

EDок8, уEт4=о6ле==Kе �D468л4<8. 
5.3.3. !о5лNд4тL ко=D8де=F84лL=оEтL EDедEт6 доEтуп4 к �л4тDоD<е, 74I8I4тL 8E от 

=епD46о<еD=о7о полуGе=8O тDетL8<8 л8F4<8. 
5.3.4. �е пDедоEт46лOтL тDетL8< л8F4< доEтуп 6 ЛК �4U<I8к4. � EлуG4е =4DуHе=8O 

=4EтоOIе7о о5O74телLEт64, ОпеD4тоD =е =еEет от6етEт6е==оEт8 74 де9Eт68O т4к8E тDетL8E л8F. 
ЛN5Kе де9Eт68O тDетL8E л8F, полуG86H8E доEтуп 6 =4DуHе=8O =4EтоOIе7о О5O74телLEт64 
�4U<I8ко<, пD87=4NтEO к4к Eо6еDHе==Kе �4U<I8ко< (упол=о<оGе==K< л8Fо< �4U<I8к4) л8G=о. 

5.3.5. �е74<едл8телL=о Eоо5I4тL ОпеD4тоDу о ко<пDо<ет4F88 ло78=4 8(8л8) п4DолO 
�4U<I8к4, 8EполL7уе<KE длO доEтуп4 к �л4тDоD<е. � EлуG4е =е8Eпол=е=8O =4EтоOIе7о 

о5O74телLEт64 ОпеD4тоD =е =еEет от6етEт6е==оEт8 74 уIеD5/у5Kтк8, по=еEе==Kе �4U<I8ко< 6 
E6O78 E ко<пDо<ет4F8е9 EDедEт6 доEтуп4 к �л4тDоD<е, 6 то< G8Eле, 6K764==Kе доEтупо< 6 ЛК 
�4U<I8к4 8 Eо6еDHе=8е де9Eт689 от л8F4 �4U<I8к4 тDетL8<8, =еупол=о<оGе==K<8 л8F4<8. 

5.3.6. �е по7д=ее 3-E к4ле=д4D=KE д=е9 Eоо5I4тL ОпеD4тоDу о5 87<е=е=88 E6о8E д4==KE, 
пDедоEт46ле==KE пD8 под4Gе �4O6ле=8O, 6 то< G8Eле, =о =е о7D4=8G864OEL, п4EпоDт=KE д4==KE, 
д4==KE о <еEте Dе78EтD4F88 по <еEту 68телLEт64 (<еEто=4Eо6де=8O), ед8=ол8G=о< 
8Eпол=8телL=о< оD74=е, уG4Eт=8к4E/4кF8о=еD4E, EDедEт64E E6O78 E �4U<I8ко< (=о<еD телеDо=4 
<о58лL=о9 E6O78, 4дDеE MлектDо==о9 поGтK). 

� EлуG4е =е8Eпол=е=8O =4EтоOIе7о о5O74телLEт64, 8 6 EлуG4е о5=4Dу6е=8O ОпеD4тоDо< 
87<е=е=8O к4к8E-л85о д4==KE �4U<I8к4, ОпеD4тоD 6пD46е 745лок8Dо64тL Dу=кF8о=4л ЛК 
�4U<I8к4, 74 8EклNGе=8е< Dу=кF8о=4л4, =ео5Eод8<о7о длO 8Eпол=е=8O �4U<I8ко< 6о7=8кH8E 
о5O74телLEт6 по �о7о6оD4< 8=6еEт8Dо64=8O, 4 т4к6е 6 от=оHе=88 у6е пD8=OтKE 8=6еEтоDо< 
8=6еEт8F8о==KE пDедло6е=89. 

5.3.7. �4U<I8к о5O7уетEO по тDе5о64=8N ОпеD4тоD4 пDедоEт46лOтL ОпеD4тоDу E6еде=8O о 
поEтупле=88 де=е6=KE EDедEт6 8=6еEтоDо6 =4 54=ко6Eк89 EGет л8F4, пD86лек4NIе7о 8=6еEт8F88, 
6 теGе=8е 1 (од=о7о) D45оGе7о д=O E <о<е=т4 поEтупле=8O Eоот6етEт6уNIе7о 74пDоE4 от ОпеD4тоD4, 

путе< =4пD46ле=8O ОпеD4тоDу пл4тU6=о7о поDуGе=8O E от<етко9 54=к4 о пDоEо6де=88 пл4те64. � 
EлуG4е, еEл8 д4т4 Eп8E4=8O де=е6=KE EDедEт6 E =о<8=4лL=о7о EGет4 ОпеD4тоD4 �л4тDоD<K =е 
Eо6п4дUт E д4то9 поEтупле=8O де=е6=KE EDедEт6 =4 54=ко6Eк89 EGет �4U<I8к4, - �4U<I8к о5O74= 
допол=8телL=о пDедEт468тL пл4тU6=ое поDуGе=8е, 746еDе==ое 54=ко<. �о пDоEL5е ОпеD4тоD4 
�4U<I8к 6пD46е пDедоEт468тL ОпеD4тоDу 6Kп8Eку по 54=ко6Eко<у EGету �4U<I8к4, EодеD64IуN 
E6еде=8O о5 опеD4F8OE по EGету 74 де=L поEтупле=8O де=е6=KE EDедEт6 8=6еEтоDо6 E =о<8=4лL=о7о 
EGет4 О�� =4 54=ко6Eк89 EGет �4U<I8к4, 746еDе==уN кDед8т=о9 оD74=874F8е9. 

 

5.4. �о7о6оD 74клNGе= 5е7 опDеделе=8O EDок4 е7о де9Eт68O. 
 

5.5. � FелOE подт6еD6де=8O D47<еD4 по=еEе==KE �4U<I8ко< D4EEодо6 =4 опл4ту 
6о7=47D46де=8O ОпеD4тоD4 пл4тDоD<K, - поEDедEт6о< Dу=кF8о=4л4 л8G=о7о к458=ет4 �4U<I8к4 
DоD<8DуетEO ОтGUт ОпеD4тоD4 (д4лее - ОтGет). ОтGUт DоD<8DуетEO 6 DоD<е MлектDо==о7о о5D474 
доку<е=т4, подп8E4==о7о ОпеD4тоDо<, 8 =е тDе5ует от6ет=о7о подп8E4=8O Eо EтоDо=K �4U<I8к4. 
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5.6. К46д4O 87 EтоDо= 6пD46е отк474тLEO от �о7о6оD4 о5 ок474=88 уEлу7 по пD86леGе=8N 
8=6еEт8F89 6 од=оEтоDо==е< 6=еEуде5=о< поDOдке путе< =4пD46ле=8O Eоот6етEт6уNIе7о 
у6едо<ле=8O поEDедEт6о< теE=8GеEк8E EDедEт6 �л4тDоD<K =е по7д=ее, Gе< 74 1 (од8=) D45оG89 
де=L до д4тK D4EтоD6е=8O пD8 уEло688 отEутEт68O о5O74телLEт6 �4U<I8к4 пеDед �=6еEтоD4<8 
(еEл8 т4к8е о5O74телLEт64 к4E4NтEO 8Eпол=е=8O де9Eт6уNI8E до7о6оDо6 8=6еEт8Dо64=8O, 4 т4к6е 
6 EлуG4е, еEл8 о5O74телLEт64 6о7=8к4Nт 6 от=оHе=88 у6е пD8=OтKE 8=6еEтоDо< 8=6еEт8F8о==KE 
пDедло6е=89), 4 т4к6е де9Eт6уNI8E �=6еEт8F8о==KE пDедло6е=89. 

�о7о6оD о5 ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89 EG8т4етEO D4EтоD7=утK< 6 1 
(пеD6K9) D45оG89 де=L, EледуNI89 74 д4то9 под4G8 у6едо<ле=8O о D4EтоD6е=8е �о7о6оD4, пD8 
Mто< 6Eе Dу=кF88 ЛК �4U<I8к4 отклNG4NтEO E <о<е=т4 =4пD46ле=8O у6едо<ле=8O о D4EтоD6е=88 
6 4дDеE ОпеD4тоD4, 74 8EклNGе=8е< Dу=кF89, =4пD46ле==KE =4 6Kпол=е=8е �4U<I8ко< 
о5O74телLEт6 по 74клNGе==K< до7о6оD4< 8=6еEт8Dо64=8O 8 6 от=оHе=88 у6е пD8=OтKE 
8=6еEтоDо< 8=6еEт8F8о==KE пDедло6е=89. Од=оEтоDо==89 отк47 лN5о9 87 EтоDо= =е6о7<о6е= 
пD8 =4л8G88 де9Eт6уNI8E до7о6оDо6 8=6еEт8Dо64=8O, 4 т4к6е 6 EлуG4е, еEл8 8=6еEтоD пD8=Oл 
8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о 8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 Eт4тL8 13 
$едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 
8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK 
 оEE89Eко9 $едеD4F88» длO отк474 от 74клNGе=8O до7о6оD4 8=6еEт8Dо64=8O. 

�Eе о5O74телLEт64 !тоDо=, 6о7=8кH8е 6 E8лу �о7о6оD4 о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88 до е7о D4EтоD6е=8O 6 поDOдке, уEт4=о6ле==о< =4EтоOI8< пу=кто<, 8 =е 
8Eпол=е==Kе =4 д4ту D4EтоD6е=8O, оEт4NтEO 6 пол=о9 E8ле 8 де9Eт688 до 8E пол=о7о 8Eпол=е=8O 
!тоDо=4<8. 

 

5.7. �D8Eоед8=OOEL к �D468л4< пл4тDоD<K, �4U<I8к 6KD464ет Eо7л4E8е =4 пеDед4Gу 

EDедEт6 �=6еEтоDо6 �4U<I8ку путе< пеDеG8Eле=8O E �о<8=4лL=о7о EGет4 �л4тDоD<K =4 D4EGет=K9 
EGет �4U<I8к4 тD4=H4<8. &D4=H8 пеDеG8EлONтEO �4U<I8ку по <еDе E5оD4 8=6еEт8F89. 
�еDеG8Eле=8е оEуIеEт6лOетEO 6 Eоот6етEт688 E D47дело< 14 �D468л 8 8=K<8 тDе5о64=8O<8 

�D468л, E Eо5лNде=8е< 6EеE пD46 8=6еEтоDо6, 4 т4к6е E уGUто< 6EеE о5O74телL=KE тDе5о64=89, 
уEт4=о6ле==KE =4EтоOI8<8 �D468л4<8 8 де9Eт6уNI8< 74ко=од4телLEт6о<  $. �оEлед=89 тD4=H 
Eу<<K 749<4 - ОпеD4тоD пеDе6од8т 6 теGе=8е 1 (од=о7о) D45оGе7о д=O поEле 8EтеGе=8O EDок4 
де9Eт68O �=6еEт8F8о==о7о пDедло6е=8O. 

� де=L Eп8E4=8O EDедEт6 �=6еEтоDо6 E �о<8=4лL=о7о EGет4 =4 EGет �4U<I8к4 ОпеD4тоD 
отD464ет 6 547е д4==KE 87<е=е=8O 6 E6еде=8OE о 74дол6е==оEт8 �4U<I8к4 пеDед �=6еEтоD4<8 
путе< 6=еEе=8O т4к8E 87<е=е=89 6 Л! �=6еEтоDо6 8 �4U<I8к4. 

 

6. �оDOдок пD8Eоед8=е=8O к до7о6оDу о5 ок474=88 уEлу7 по пD86лече=8N 
8=6еEт8F89 

 

6.1. �лO пD8Eоед8=е=8O к =4EтоOI8< �D468л4< (8, Eоот6етEт6е==о, к до7о6оDу о5 
ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89) 8 полуGе=8O доEтуп4 к �л4тDоD<е �4U<I8к: 

" Dе78EтD8DуетEO =4 �л4тDоD<е 6 к4GеEт6е �4U<I8к4 путе< 74пол=е=8O 8 
=4пD46ле=8O ОпеD4тоDу Dе78EтD4F8о==о9 к4DтоGк8 �4U<I8к4, D47<еIе==о9 6 л8G=о< к458=ете 
D878GеEко7о л8F4; 

" подп8EK64ет к64л8D8F8Dо64==о9 MлектDо==о9 F8DDо6о9 подп8ELN �4U<I8к4 
�4O6ле=8е о пD8Eоед8=е=88. 

 

6.2. О54 уEло68O, ук474==Kе пу=кто< 6.1. =4EтоOI8E �D468л, O6лONтEO =ео5Eод8<K<8 
длO 74клNGе=8O �о7о6оD4 о5 ок474=88 уEлу7 по пD86леGе=8N �=6еEт8F89. 

 

7. �оDOдок уEт4=о6ле=8O �4U<щ8к4 
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7.1. �лO пD8E6ое=8O Eт4туE4 �4U<I8к4 8 уEт4=о6ле=8O е7о л8F4, D878GеEкое л8Fо 
допол=8телL=о к D4=ее пDедEт46ле==K< пD8 пеD68G=о9 Dе78EтD4F88 =4 �л4тDоD<е пDедоEт46лOет 
EледуNI8е E6еде=8O: 

7.1.1. �лO �4U<I8к4 - 8=д868ду4лL=о7о пDедпD8=8<4телO: 
О� ��� 8=д868ду4лL=о7о пDедпD8=8<4телO. 
7.1.2. �лO �4U<I8к4 - ND8д8GеEко7о л8F4: 
" пол=ое =48<е=о64=8е ND8д8GеEко7о л8F4, О� �, ���, 4дDеE Dе78EтD4F88 

(<еEто=4Eо6де=8O), 
" $�О, ��� 8 =48<е=о64=8е дол6=оEт8 D878GеEко7о л8F4, =епоEDедEт6е==о 

O6лONIе7оEO ед8=ол8G=K< 8Eпол=8телL=K< оD74=о< �4U<I8к4,  
л85о: 
$�О, ��� 8 =48<е=о64=8е дол6=оEт8 6EеE D878GеEк8E л8F 8 (пD8 =4л8G88) =48<е=о64=8е, 

О� �, ���, 4дDеE Dе78EтD4F88 (<еEто=4Eо6де=8O) ND8д8GеEко7о л8F4 – 6EодOI8E (Eо7л4E=о 
'Eт46у) 6 EоEт46  ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4 �4U<I8к4 пD8 пD8<е=е=88 коDпоD4т86=о9 
<одел8 упD46ле=8O, 4 т4к6е $�О, ��� 8 =48<е=о64=8е дол6=оEт8 D878GеEко7о л8F4, O6лONIе7оEO 
ед8=ол8G=K< 8Eпол=8телL=K< оD74=о< 6 упD46лONIе9 оD74=874F88 �4U<I8к4, 

л85о: 
=48<е=о64=8е, О� �, ���, 4дDеE Dе78EтD4F88 (<еEто=4Eо6де=8O) ND8д8GеEко7о л8F4, 

8Eпол=ONIе7о Dу=кF88 ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4 �4U<I8к4, 4 т4к6е $�О, ��� 8 
=48<е=о64=8е дол6=оEт8 D878GеEко7о л8F4, O6лONIе7оEO ед8=ол8G=K< 8Eпол=8телL=K< 
оD74=о< 6 упD46лONIе9 оD74=874F88 �4U<I8к4. 

 

8. 'Eло68O до7о6оD4 о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88 

 

8.1. �о до7о6оDу о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88 ОпеD4тоD о5O7уетEO 
6 Eоот6етEт688 E �D468л4<8 пDедоEт468тL �=6еEтоDу доEтуп к �л4тDоD<е длO 74клNGе=8O �о7о6оD4 
8=6еEт8Dо64=8O E по<оILN 8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 �л4тDоD<K. 

 

8.2. �=6еEтоD 6пD46е: 
8.2.1. �EполL7о64тL Dу=кF8о=4л �л4тDоD<K 6 поDOдке 8 =4 уEло68OE, уEт4=о6ле==KE 

=4EтоOI8<8 �D468л4<8. 
8.2.2. �олуG4тL доEтуп к �л4тDоD<е 24 G4E4 6 де=L 7 д=е9 6 =еделN. 
8.2.3. &Dе5о64тL от ОпеD4тоD4 8Eпол=е=8O о5O74==оEте9, уEт4=о6ле==KE =4EтоOI8<8 

�D468л4<8. 
8.2.4.  4EпоDO64тLEO де=е6=K<8 EDедEт64<8 �=6еEтоD4 6 поDOдке, уEт4=о6ле==о< 

=4EтоOI8<8 �D468л4<8. 
8.2.5. �олуG4тL у ОпеD4тоD4 ко=EулLт4F88 по 8EполL7о64=8N �л4тDоD<K 8 ее Dу=кF89. 
 

8.3. �=6еEтоD о5O74=: 
8.3.1. !о5лNд4тL уEло68O 8 поло6е=8O =4EтоOI8E �D468л. 
8.3.2. !о5лNд4тL ко=D8де=F84лL=оEтL EDедEт6 доEтуп4 к �л4тDоD<е, 74I8I4тL 8E от 

=епD46о<еD=о7о полуGе=8O тDетL8<8 л8F4<8. 
8.3.3. �е пDедоEт46лOтL тDетL8< л8F4< доEтуп 6 ЛК �=6еEтоD4. � EлуG4е =4DуHе=8O 

�=6еEтоDо< =4EтоOIе7о о5O74телLEт64, ОпеD4тоD =е =еEет от6етEт6е==оEт8 74 де9Eт68O тDетL8E 
л8F. 

ЛN5Kе де9Eт68O тDетL8E л8F, полуG86H8E доEтуп 6 =4DуHе=8O =4EтоOIе7о О5O74телLEт64 
�=6еEтоDо<, пD87=4NтEO к4к Eо6еDHе==Kе �=6еEтоDо< (упол=о<оGе==K< л8Fо< �=6еEтоD4) 
л8G=о. 

8.3.4. �е74<едл8телL=о Eоо5I4тL ОпеD4тоDу о ко<пDо<ет4F88 ло78=4 8(8л8) п4DолO 
�=6еEтоD4, 8EполL7уе<KE длO доEтуп4 к �л4тDоD<е. � EлуG4е =е8Eпол=е=8O =4EтоOIе7о 
о5O74телLEт64 ОпеD4тоD =е =еEет от6етEт6е==оEт8 74 уIеD5/у5Kтк8, по=еEе==Kе �=6еEтоDо< 6 
E6O78 E ко<пDо<ет4F8е9 EDедEт6 доEтуп4 к �л4тDоD<е, 6 то< G8Eле, 6K764==Kе доEтупо< 6 ЛК 
�=6еEтоD4 8 Eо6еDHе=8е де9Eт689 от л8F4 �=6еEтоD4 тDетL8<8, =еупол=о<оGе==K<8 л8F4<8. 
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8.3.5. �е по7д=ее 3-E к4ле=д4D=KE д=е9 Eоо5I4тL ОпеD4тоDу о5 87<е=е=88 E6о8E д4==KE, 
пDедоEт46ле==KE пD8 под4Gе �4O6ле=8O, 6 то< G8Eле, =о =е о7D4=8G864OEL, п4EпоDт=KE д4==KE, 
д4==KE о <еEте Dе78EтD4F88 по <еEту 68телLEт64 (<еEто=4Eо6де=8O), ед8=ол8G=о< 
8Eпол=8телL=о< оD74=е, уG4Eт=8к4E/4кF8о=еD4E, EDедEт64E E6O78 E �=6еEтоDо< (=о<еD телеDо=4 
<о58лL=о9 E6O78, 4дDеE MлектDо==о9 поGтK). 

� EлуG4е =е8Eпол=е=8O =4EтоOIе7о о5O74телLEт64, 8 6 EлуG4е о5=4Dу6е=8O ОпеD4тоDо< 
87<е=е=8O к4к8E-л85о д4==KE �=6еEтоD4, ко<п4=8O 6пD46е 745лок8Dо64тL Dу=кF8о=4л ЛК 
�=6еEтоD4, 74 8EклNGе=8е< Dу=кF8о=4л4 отD46е=8O 54л4=E4 л8Fе6о7о EGет4 �=6еEтоD4, 8 
Dу=кF8о=4л4 под4G8 D4EпоDO6е=89 =4 пеDе6од де=е6=KE EDедEт6 �=6еEтоD4, �=6еEтоDу т4к6е 
доEтупе= Dу=кF8о=4л 6 E6O78 E D4=ее 74клNGе==K<8 до7о6оD4<8 8=6еEт8Dо64=8O 8(8л8) 
пD8=OтK<8 8=6еEт8F8о==K<8 пDедло6е=8O<8, E уGето< оEо5е==оEте9, уEт4=о6ле==KE 
=4EтоOI8<8 �D468л4<8. 

8.3.6. �464тL D4EпоDO6е=8O ОпеD4тоDу =4 пеDе6од де=е6=KE EDедEт6 �=6еEтоD4, 
=4EодOI8EEO =4 �о<8=4лL=о< EGUте, 6 поDOдке, уEт4=о6ле==о< =4EтоOI8<8 �D468л4<8 8 E уGето< 
оEо5е==оEте9, уEт4=о6ле==KE =4EтоOI8<8 �D468л4<8. 

8.3.7. �Kпол=OтL 8=Kе о5O74телLEт64 �=6еEтоD4, уEт4=о6ле==Kе =4EтоOI8<8 �D468л4<8 
8(8л8) �о7о6оDо< 8=6еEт8Dо64=8O. 

 

8.4. �о7о6оD 74клNGе= 5е7 опDеделе=8O EDок4. 
 

8.5. К46д4O 87 EтоDо= 6пD46е отк474тLEO от �о7о6оD4 6 од=оEтоDо==е< 6=еEуде5=о< 
поDOдке путе< =4пD46ле=8O Eоот6етEт6уNIе7о у6едо<ле=8O поEDедEт6о< теE=8GеEк8E EDедEт6 
�л4тDоD<K =е по7д=ее, Gе< 74 1 (од8=) D45оG89 де=L до д4тK D4EтоD6е=8O. 

�о7о6оD о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88 EG8т4етEO D4EтоD7=утK< 6 1 
(пеD6K9) D45оG89 де=L, EледуNI89 74 д4то9 под4G8 у6едо<ле=8O о D4EтоD6е=8е �о7о6оD4, пD8 
Mто< Dу=кF88 ЛК �=6еEтоD4 отклNG4NтEO E <о<е=т4 =4пD46ле=8O у6едо<ле=8O о D4EтоD6е=88 6 
4дDеE ОпеD4тоD4, 74 8EклNGе=8е< Dу=кF89: 

" пDоE<отD4 54л4=E4 Л! �=6еEтоD4; 
" под4G8 D4EпоDO6е=8O ОпеD4тоDу =4 пеDе6од де=е6=KE EDедEт6 �=6еEтоD4, E уGето< 

о7D4=8Gе=89 =4 6Kпол=е=8е т4ко7о D4EпоDO6е=8O длO �=6еEтоDо6, уEт4=о6ле==KE =4EтоOI8<8 
�D468л4<8; 

" D45отK 6 ЛК 6 E6O78 E D4=ее 74клNGе==K<8 до7о6оD4<8 8=6еEт8Dо64=8O 8(8л8) 
пD8=OтK<8 8=6еEт8F8о==K<8 пDедло6е=8O<8, E уGето< оEо5е==оEте9, уEт4=о6ле==KE 
=4EтоOI8<8 �D468л4<8. 

Од=оEтоDо==89 отк47 лN5о9 87 EтоDо= =е6о7<о6е= пD8 =4л8G88 де9Eт6уNI8E до7о6оDо6 
8=6еEт8Dо64=8O, 4 т4к6е 6 EлуG4е, еEл8 8=6еEтоD пD8=Oл 8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о 
8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» длO отк474 от 74клNGе=8O до7о6оD4 
8=6еEт8Dо64=8O. 

�Eе о5O74телLEт64 !тоDо=, 6о7=8кH8е 6 E8лу �о7о6оD4 о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88 до е7о D4EтоD6е=8O 6 поDOдке, уEт4=о6ле==о< =4EтоOI8< пу=кто<, 8 
=е8Eпол=е==Kе =4 д4ту D4EтоD6е=8O, оEт4NтEO 6 пол=о9 E8ле 8 де9Eт688 до 8E пол=о7о 8Eпол=е=8O 
!тоDо=4<8. 

 

9. �оDOдок пD8Eоед8=е=8O к до7о6оDу о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88 

 

9.1. �лO пD8Eоед8=е=8O к =4EтоOI8< �D468л4< 8 полуGе=8O доEтуп4 к �л4тDоD<е 6 
к4GеEт6е �=6еEтоD4, �=6еEтоD: 

1) оEуIеEт6лOет Dе78EтD4F8N =4 �л4тDоD<е путе< 74пол=е=8O 8 =4пD46ле=8O 
ОпеD4тоDу Dе78EтD4F8о==о9 к4DтоGк8 �=6еEтоD4, D47<еIе==о9 6 л8G=о< к458=ете D878GеEко7о 
л8F4; 
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2) �еDед4ет ОпеD4тоDу Eк4= 7D46д4=Eко7о п4EпоDт4 путе< е7о 747Dу7к8 6 л8G=о< 
к458=ете �=6еEтоD4; 

3) �одп8EK64ет пDоEто9 MлектDо==о9 подп8ELN �4O6ле=8е о пD8Eоед8=е=88 к 
�D468л4<; 

4) �еDеG8EлOет =е <е=ее 1 (од=о9) копе9к8  $ =4 �о<8=4лL=K9 EGет 6 FелOE 
попол=е=8O Л! �=6еEтоD4. 

 

�о7о6оD о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88 EG8т4етEO 74клNGе==K< пD8 
уEло688 6Kпол=е=8O 6EеE ук474==KE де9Eт689, O6лONI8EEO де9Eт68O<8, подт6еD6д4NI8<8 
пD8=Oт8е пDедло6е=8O ОпеD4тоD4 74клNG8тL E д4==K< �=6еEтоDо< �о7о6оD о5 ок474=88 уEлу7 по 
Eоде9Eт68N 6 8=6еEт8Dо64=88, 6 то< G8Eле к Eоот6етEт6уNI8< D47дел4< �D468л, 
уEт4=46л864NI8< 6о7<о6=оEтL 8EполL7о64=8O пDоEто9 MлектDо==о9 подп8E8 длO 74клNGе=8O 
Eделок уG4Eт=8к4<8 �л4тDоD<K, 8 пD87=4ет т4куN подп8EL Eо5Eт6е==оDуG=о9 подп8ELN. 

 

10. �оDOдок уEт4=о6ле=8O 8=6еEтоD4 

 

10.1. �лO пD8E6ое=8O Eт4туE4 �=6еEтоD4 8 уEт4=о6ле=8O е7о л8F4, D878GеEкое л8Fо, 
допол=8телL=о к D4=ее пDедEт46ле==K< пD8 пеD68G=о9 Dе78EтD4F88 =4 �л4тDоD<е E6еде=8O<, - 
пDедоEт46лOет EледуNI8е E6еде=8O: 

�Eл8 8=6еEтоD - ND8д8GеEкое л8Fо: 
" пол=ое =48<е=о64=8е ND8д8GеEко7о л8F4, О� �, ���, 4дDеE Dе78EтD4F88 (<еEт4 

=4Eо6де=8O),  
" $�О, ��� 8 =48<е=о64=8е дол6=оEт8 D878GеEко7о л8F4, =епоEDедEт6е==о 

O6лONIе7оEO ед8=ол8G=K< 8Eпол=8телL=K< оD74=о< �=6еEтоD4,  
л85о: 
$�О, ��� 8 =48<е=о64=8е дол6=оEт8 6EеE D878GеEк8E л8F 8(пD8 =4л8G88) =48<е=о64=8е, 

О� �, ���, 4дDеE Dе78EтD4F88 (<еEто=4Eо6де=8O) ND8д8GеEко7о л8F4 – 6EодOI8E (Eо7л4E=о 
'Eт46у) 6 EоEт46  ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4 �=6еEтоD4 пD8 пD8<е=е=88 коDпоD4т86=о9 
<одел8 упD46ле=8O, 4 т4к6е $�О, ��� 8 =48<е=о64=8е дол6=оEт8 D878GеEко7о л8F4, O6лONIе7оEO 
ед8=ол8G=K< 8Eпол=8телL=K< оD74=о< 6 упD46лONIе9 оD74=874F88 �=6еEтоD4, 

л85о: 
" =48<е=о64=8е, О� �, ���, 4дDеE Dе78EтD4F88 (<еEто=4Eо6де=8O) ND8д8GеEко7о 

л8F4, 8Eпол=ONIе7о Dу=кF88 ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4 �=6еEтоD4, 4 т4к6е $�О, ��� 
8 =48<е=о64=8е дол6=оEт8 D878GеEко7о л8F4, O6лONIе7оEO ед8=ол8G=K< 8Eпол=8телL=K< 
оD74=о< 6 упD46лONIе9 оD74=874F88 �=6еEтоD4. 

 

11. &Dе5о64=8O к уч4Eт=8к4< пл4тDоD<O 

 

11.1. &Dе5о64=8O к �4е<I8ку: 
11.1.1. � теGе=8е од=о7о к4ле=д4D=о7о 7од4 од=о л8Fо, O6лONIееEO �4е<I8ко<, <о6ет 

пD86леGL E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8=6еEт8F89 =4 Eу<<у, Eоот6етEт6уNIуN 
7=4Gе=8N (подпу=кт 4 пу=кт4 1 Eт4тL8 22 $едеD4лL=о7о 74ко=4 от 22 4пDелO 1996 7од4 N 39-$� "О 
DK=ке Fе==KE 5у<47"), пD8 котоDо< 6 Eоот6етEт688 E $едеD4лL=K< 74ко=о< от 22 4пDелO 1996 7од4 
N 39-$� "О DK=ке Fе==KE 5у<47" EоEт46ле=8е 8 Dе78EтD4F8O пDоEпект4 Fе==KE 5у<47 =е O6лONтEO 
о5O74телL=K<8.  

Ко=тDолL 74 Eо5лNде=8е< ук474==о7о о7D4=8Gе=8O 6 от=оHе=88 к46до7о �4е<I8к4 
оEуIеEт6лOетEO ОпеD4тоDо< �л4тDоD<K 46то<4т8GеEк8 - пD8 к46до< пD86леGе=88 �4е<I8ко< 
8=6еEт8F89 E 8EполL7о64=8е< �л4тDоD<K, =4 оE=о64=88 746еDе=89 �4е<I8к4 о Eо5лNде=88 
ук474==о7о о7D4=8Gе=8O, пD8 к46до9 под4Gе 74O6к8 =4 D47<еIе=8е �=6еEт8F8о==о7о 
пDедло6е=8O. �46еDе=8е �4е<I8к4 оEуIеEт6лOетEO E по<оILN Dу=кF8о=4л4 л8G=о7о к458=ет4 
�4е<I8к4 (подп8E4=8е< пDоEто9 MлектDо==о9 подп8ELN). 
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11.1.2. �4U<I8ко< =е <о6ет 5KтL: 
11.1.2.1. ЛN5ое л8Fо, котоDое, 8(8л8) ко=тDол8DуNI8е л8F4 котоDо7о, 8(8л8) 

Dуко6од8телL (ед8=ол8G=K9 8Eпол=8телL=K9 оD74=) котоDо7о 6клNGе=K 6 пеDеGе=L оD74=874F89 8 
D878GеEк8E л8F, 6 от=оHе=88 котоDKE 8<еNтEO E6еде=8O о5 8E пD8G4Eт=оEт8 к MкEтDе<8EтEко9 
деOтелL=оEт8 8л8 теDDоD87<у, 8 (8л8) 6 пеDеGе=L оD74=874F89 8 D878GеEк8E л8F, 6 от=оHе=88 
котоDKE 8<еNтEO E6еде=8O о5 8E пD8G4Eт=оEт8 к D4EпDоEтD4=е=8N оDу68O <4EEо6о7о у=8Gто6е=8O; 

11.1.2.2. Л8Fо =е Eоот6етEт6ует тDе5о64=8O<, уEт4=о6ле==K< �ол8т8ко9 от5оD4 
74O6ок (�D8ло6е=8е № 9 к �D468л4<). 

11.1.2.3. .D8д8GеEкое л8Fо 6 EлуG4е, еEл8: 
11.1.2.3.1. ко=тDол8DуNI8е л8F4 т4ко7о ND8д8GеEко7о л8F4 8(8л8) е7о Dуко6од8телL 

(ед8=ол8G=K9 8Eпол=8телL=K9 оD74=) 8<еNт =еE=OтуN 8л8 =епо74Hе==уN Eуд8<оEтL 74 
пDеEтупле=8е 6 EDеDе Mко=о<8к8 8л8 пDеEтупле=8е пDот86 7оEуд4DEт6е==о9 6л4Eт8, 8=теDеEо6 
7оEуд4DEт6е==о9 Eлу65K 8 Eлу65K 6 оD74=4E <еEт=о7о E4<оупD46ле=8O; 

11.1.2.3.2. 6 от=оHе=88 Dуко6од8телO (ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4) т4ко7о 
ND8д8GеEко7о л8F4 =е 8Eтек EDок, 6 теGе=8е котоDо7о о= EG8т4етEO под6еD7=утK< 
4д<8=8EтD4т86=о<у =4к474=8N 6 68де д8Eк64л8D8к4F88; 

11.1.2.3.3. 6 от=оHе=88 т4ко7о ND8д8GеEко7о л8F4 6о75у6де=о пDо876одEт6о по делу о 
54=кDотEт6е ND8д8GеEко7о л8F4. 

11.1.2.4. �=д868ду4лL=K9 пDедпD8=8<4телL 6 EлуG4е, еEл8: 
11.1.2.4.1. о= =е Eоот6етEт6ует тDе5о64=8O<, уEт4=о6ле==K< �ол8т8ко9 от5оD4 74O6ок 

(�D8ло6е=8е № 9 к �D468л4<) 
11.1.2.4.2. 8<еет =еE=OтуN 8л8 =епо74Hе==уN Eуд8<оEтL 74 пDеEтупле=8O 6 EDеDе 

Mко=о<8к8 8л8 пDеEтупле=8O пDот86 7оEуд4DEт6е==о9 6л4Eт8, 8=теDеEо6 7оEуд4DEт6е==о9 Eлу65K 
8 Eлу65K 6 оD74=4E <еEт=о7о E4<оупD46ле=8O; 

11.1.2.4.3. 4D58тD46=K< Eудо< 6 от=оHе=88 т4ко7о 8=д868ду4лL=о7о 
пDедпD8=8<4телO 66еде=4 пDоFедуD4, пD8<е=Oе<4O 6 деле о =еEоEтоOтелL=оEт8 (54=кDотEт6е); 

11.1.2.4.4. 6 от=оHе=88 т4ко7о 8=д868ду4лL=о7о пDедпD8=8<4телO E д4тK 746еDHе=8O 
пDоFедуDK Dе4л874F88 8<уIеEт64 8л8 пDекD4Iе=8O пDо876одEт64 по делу о 54=кDотEт6е 6 Eоде 
т4ко9 пDоFедуDK =е 8Eтек EDок, пDедуE<отDе==K9 $едеD4лL=K< 74ко=о< от 26 октO5DO 2002 7од4 
№ 127-$� «О =еEоEтоOтелL=оEт8 (54=кDотEт6е)», 6 теGе=8е котоDо7о о= =е 6пD46е оEуIеEт6лOтL 
пDедпD8=8<4телLEкуN деOтелL=оEтL, 4 т4к6е 74=8<4тL дол6=оEт8 6 оD74=4E упD46ле=8O 
ND8д8GеEко7о л8F4 8 8=K< о5D47о< уG4Eт6о64тL 6 упD46ле=88 ND8д8GеEк8< л8Fо<. 
 

11.2. &Dе5о64=8O к �=6еEтоDу: 
11.2.1. �=6еEтоDо< <о6ет 5KтL лN5ое D878GеEко7о л8Fо - Dе78де=т  оEE89Eко9 

$едеD4F88, пD87=4==ое пол=оEтLN дееEпоEо5=K<, 8=д868ду4лL=K9 пDедпD8=8<4телL, 
74Dе78EтD8Dо64==K9 6 к4GеEт6е 8=д868ду4лL=о7о пDедпD8=8<4телO по 74ко=од4телLEт6у 

 оEE89Eко9 $едеD4F88 8л8 ND8д8GеEкое л8Fо, Eо7д4==ое 8 де9Eт6уNIее по 74ко=од4телLEт6у 

 оEE89Eко9 $едеD4F88, пD8=O6Hее уEло68O =4EтоOI8E пD468л 8 пD8Eоед8=86HееEO к =8<, 6 

поDOдке, пDедуE<отDе==о< =4EтоOI8<8 пD468л4<8. 
11.2.2. �=6еEтоDо< =е <о6ет O6лOтLEO л8Fо, котоDое 8 (8л8) ко=тDол8DуNI8е л8F4 

котоDо7о, 8 (8л8) Dуко6од8телL (ед8=ол8G=K9 8Eпол=8телL=K9 оD74=) котоDо7о: 
11.2.2.1. 6клNGе=K 6 пеDеGе=L оD74=874F89 8 D878GеEк8E л8F, 6 от=оHе=88 котоDKE 

8<еNтEO E6еде=8O о5 8E пD8G4Eт=оEт8 к MкEтDе<8EтEко9 деOтелL=оEт8 8л8 теDDоD87<у, 8 (8л8) 6 
пеDеGе=L оD74=874F89 8 D878GеEк8E л8F, 6 от=оHе=88 котоDKE 8<еNтEO E6еде=8O о5 8E 
пD8G4Eт=оEт8 к D4EпDоEтD4=е=8N оDу68O <4EEо6о7о у=8Gто6е=8O; 

11.2.2.2.  =е Eоот6етEт6уNт тDе5о64=8O<, уEт4=о6ле==K< пD468л4<8 8=6еEт8F8о==о9 
пл4тDоD<K. 

11.2.3. $878GеEкое л8Fо 6пD46е 8=6еEт8Dо64тL де=е6=Kе EDедEт64 поEDедEт6о< 
�л4тDоD<K =4 Eу<<у =е 5олее 600 000 (HеEтLEот тKEOG) Dу5ле9 6 теGе=8е од=о7о к4ле=д4D=о7о 7од4 
E уGето< 8=6еEт8Dо64=8O E 8EполL7о64=8е< 8=KE 8=6еEт8F8о==KE пл4тDоD<, еEл8 8=ое 
о7D4=8Gе=8е =е пDедуE<отDе=о DедеD4лL=K<8 74ко=4<8. 'к474==ое о7D4=8Gе=8е =е 
D4EпDоEтD4=OетEO: 

11.2.3.1. 6 от=оHе=88 7D46д4=, O6лONI8EEO 8=д868ду4лL=K<8 пDедпD8=8<4телO<8; 
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11.2.3.2. D878GеEк8E л8F, пD87=4==KE опеD4тоDо< 8=6еEт8F8о==о9 пл4тDоD<K 
к64л8D8F8Dо64==K<8 8=6еEтоD4<8 6 Eоот6етEт688 Eо Eт4тLе9 51.2 $едеD4лL=о7о 74ко=4 от 22 
4пDелO 1996 7од4 № 39-$� "О DK=ке Fе==KE 5у<47". �D87=4=8е D878GеEко7о л8F4 
к64л8D8F8Dо64==K< 8=6еEтоDо< оEуIеEт6лOетEO по е7о 74O6ле=8N опеD4тоDо<, 6 поDOдке, 
уEт4=о6ле==о< опеD4тоDо< (�D8ло6е=8е №7 к �D468л4<) E уGето< тDе5о64=89 де9Eт6уNIе7о 
74ко=од4телLEт64. 

11.2.4. ОпеD4тоD оEуIеEт6лOет ко=тDолL 74 Eо5лNде=8е< о7D4=8Gе=89, 6 от=оHе=88 
D878GеEко7о л8F4, =е O6лONIе7оEO к64л8D8F8Dо64==K< 8=6еEтоDо<, пD8 к46до< е7о 
8=6еEт8Dо64=88 E 8EполL7о64=8е< 8=6еEт8F8о==о9 пл4тDоD<K. Ко=тDолL оEуIеEт6лOетEO 
опеD4тоDо< =4 оE=о64=88 746еDе=89 D878GеEко7о л8F4 о Eо5лNде=88 ук474==о7о о7D4=8Gе=8O, пD8 
к46до< 8=6еEт8Dо64=88. �46еDе=8е D878GеEко7о л8F4 оEуIеEт6лOетEO E по<оILN Dу=кF8о=4л4 

л8G=о7о к458=ет4 8=6еEтоD4 (подп8E4=8е< пDоEто9 MлектDо==о9 подп8ELN).  
 

11.3. &Dе5о64=8O к 'G4Eт=8к4< �л4тDоD<K: 
1) 'G4Eт=8к (�=6еEтоD, �4U<I8к) о5O74= у6едо<8тL ОпеD4тоD4 �л4тDоD<K 6 теGе=8е 3 

(тDUE) D45оG8E д=е9 о5 87<е=е=88 E6ое7о <еEто=4Eо6де=8O 8 (8л8) 4дDеE4, ко=т4кт=KE телеDо=о6 
8 Dек6878то6 дDу78E EDедEт6 E6O78 ОпеD4тоD4 E 'G4Eт=8ко<, 4 т4к6е о5 87<е=е=8OE 6 
уGDед8телL=KE доку<е=т4E, 6 п4EпоDт=KE д4==KE, 4 т4к6е о5 87<е=е=8OE 6 EоEт46е л8F, 
O6лONI8EEO �д8=ол8G=K< 8Eпол=8телL=K< оD74=о< оD74=874F88/�DедEт468теле< 
'G4Eт=8к4/�K7одопD8о5Dет4телO/�е=еD8F84D=K<8 6л4делLF4<8 'G4Eт=8к4, 8 8=о9 8=DоD<4F88, 
пDедоEт46ле==о9 ОпеD4тоDу 6 D4<к4E пD8Eоед8=е=8O к =4EтоOI8< �D468л4<, E пDедоEт46ле=8е< 
ОпеD4тоDу =ео5Eод8<KE доку<е=то6 (8E коп89), подт6еD6д4NI8E 87<е=е=8е 6KHеук474==KE 
E6еде=89. 

2) �еEт8 пол=уN от6етEт6е==оEтL 74 доEто6еD=оEтL 8 4кту4лL=оEтL E6еде=89, 
подл8==оEтL доку<е=то6, пDедEт46лOе<KE ОпеD4тоDу, 4 т4к6е 74 пD46о<еD=оEтL Eо6еDH4е<KE 
опеD4F89. 

3) � EлуG4е, еEл8 'G4Eт=8к де9Eт6ует к 6K7оде тDетL8E л8F, 'G4Eт=8к о5O74= 
пDедEт468тL ОпеD4тоDу до Eо6еDHе=8O опеD4F88 E6еде=8O, =ео5Eод8<Kе длO 8де=т8D8к4F88 
6о7<о6=о7о 6K7одопD8о5Dет4телO 8 коп88 до7о6оDо6, 746еDе==Kе =4дле64I8< о5D47о<. 

4) !о5лNд4тL тDе5о64=8O DедеD4лL=о7о 74ко=4 от 27.07.2006 №152-$� «О 
пеDEо=4лL=KE д4==KE» 6 от=оHе=88 л8F, GL8 пеDEо=4лL=Kе д4==Kе пDедоEт46лONтEO 'G4Eт=8ко< 
ОпеD4тоDу 6 D4<к4E до7о6оD4 пD8Eоед8=е=8O к =4EтоOI8< �D468л4<. 

5) �DедоEт46лOтL E6еде=8O о =4л8G88 8 87<е=е=88 Eт4туE4 8=оEтD4==о7о 
=4ло7опл4телLI8к4 8 =4ло7опл4телLI8к4 !(� 6 теGе=8е 30 (тD8дF4т8) к4ле=д4D=KE д=е9 E 
<о<е=т4 87<е=е=8O Eт4туE4. 

6) 'G4Eт=8к8- 8=д868ду4лL=Kе пDедпD8=8<4тел8, п4EE86=Kе =еD8=4=Eо6Kе 
оD74=874F88 о5O74=K пDедоEт46лOтL по 74пDоEу ОпеD4тоD4 8=DоD<4F8N/доку<е=тK о Eт4туEе 
=4ло7о6о7о Dе78де=т4 8=оEтD4==о7о 7оEуд4DEт64 6 от=оHе=88 Eе5O, �K7одопD8о5Dет4теле9, 
�е=еD8F84D=KE 6л4делLFе6 8 (8л8) л8F пDO<о 8л8 коE6е==о 8E ко=тDол8DуNI8E. 

 

12. !поEо5 8 поDOдок 8=6еEт8Dо64=8O E 8EполP7о64=8е< пл4тDоD<O 

 

12.1. �=6еEт8Dо64=8е E 8EполL7о64=8е< 8=6еEт8F8о==о9 пл4тDоD<K оEуIеEт6лOетEO 
путе< пDедоEт46ле=8O 749<о6 =4 оE=о64=88 до7о6оD4 749<4, Eо <=о6еEт6е==оEтLN л8F =4 EтоDо=е 
кDед8тоD4 (д4лее - �о7о6оD 8=6еEт8Dо64=8O). � EлуG4е пD8=Oт8O DеHе=8O ОпеD4тоDо< �л4тDоD<K 
о пDедоEт46ле=88 6о7<о6=оEт8 8=6еEт8Dо64=8O =4 �л4тDоD<е E 8EполL7о64=8е< 8=KE EпоEо5о6 
8=6еEт8Dо64=8O – ук474==Kе 87<е=е=8O 6 EпоEо54E 8=6еEт8Dо64=8O =4 �л4тDоD<е 6Eтуп4Nт 6 E8лу 
=е D4=ее 6=еEе=8O ОпеD4тоDо< �л4тDоD<K Eоот6етEт6уNI8E 87<е=е=89 6 �D468л4 �л4тDоD<K, 4 
т4к6е пD8 6Kпол=е=88 ОпеD4тоDо< 8=KE =ео5Eод8<KE ND8д8GеEк8E 8 D4кт8GеEк8E де9Eт689 6 
Eоот6етEт688 E де9Eт6уNI8< 74ко=од4телLEт6о<  $.  

 

12.2. �4клNGе=8е �о7о6оD4 8=6еEт8Dо64=8O 
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12.2.1. �о7о6оD 8=6еEт8Dо64=8O EG8т4етEO 74клNGе==K< <е6ду �=6еEтоD4<8, 
4кFепто646H8<8 �=6еEт8F8о==ое пDедло6е=8е, 8 �4U<I8ко< пD8 уEло688 =4Eтупле=8O 6EеE 
=86епD86еде==KE о5EтоOтелLEт6 6 Eо6окуп=оEт8: 

1) �=6еEтоDK 6 теGе=8е EDок4 де9Eт68O �=6еEт8F8о==о7о пDедло6е=8O 4кFепто64л8 
�=6еEт8F8о==ое пDедло6е=8е =4 Eу<<у, =е <е=ее <8=8<4лL=о7о о5Jе<4 де=е6=KE EDедEт6 
8=6еEтоDо6, ук474==о7о 6 8=6еEт8F8о==о< пDедло6е=88 л8F4, пD86лек4NIе7о 8=6еEт8F88. 

2) �оEтупле=8е де=е6=KE EDедEт6 �=6еEтоDо6 E =о<8=4лL=о7о EGет4 ОпеD4тоD4 =4 
54=ко6Eк89 EGет �4U<I8к4. 

12.2.2. �е9Eт68е 8=6еEт8F8о==о7о пDедло6е=8O пDекD4I4етEO пD8 уEло688 доEт86е=8O 
<4кE8<4лL=о7о о5Jе<4 де=е6=KE EDедEт6 �=6еEтоDо6, л85о по 8EтеGе=88 EDок4 де9Eт68O т4ко7о 
8=6еEт8F8о==о7о пDедло6е=8O. 

О пDекD4Iе=88 де9Eт68O 8=6еEт8F8о==о7о пDедло6е=8O 6 E6O78 E доEт86е=8е< ук474==о7о 
6 =е< <4кE8<4лL=о7о о5Jе<4 де=е6=KE EDедEт6 ОпеD4тоD D4EкDK64ет 8=DоD<4F8N =4 E6ое< E49те 
6 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 «�=теD=ет» 6 де=L т4ко7о пDекD4Iе=8O. 

 

12.3. �Dе<е==4O D8кE4F8O 6 л8G=о< к458=ете 8=6еEтоD4 опDеделе==о7о о5Jе<4 
8=6еEт8F89 длO 6о7<о6=оEт8 поEледуNIе7о 74клNGе=8O �о7о6оD4 8=6еEт8Dо64=8O 

(5Dо=8Dо64=8е). 
12.3.1. �=6еEтоD, полуG86H89 8=6еEт8F8о==ое пDедло6е=8е, 6пD46е поEDедEт6о< 

Dу=кF8о=4л4 �л4тDоD<K 6Dе<е==о 74D8кE8Dо64тL ко=кDет=уN Eу<<у, котоDуN о= пл4=8Dует 
8=6еEт8Dо64тL (пD8 Mто< о=4 дол6=4 EоEт46лOтL =е <е=ее 10 000 (�еEOт8 тKEOG) Dу5ле9 00 коп.) 8 
пеDе9т8 к де9Eт68O<, =ео5Eод8<K< длO пD8=Oт8O 8=6еEт8F8о==о7о пDедло6е=8O, 4 8<е==о – к 
попол=е=8N де=е6=KE EDедEт6 =4 Л! �=6еEтоD4 8 подт6еD6де=8N пD8=Oт8O 8=6еEт8F8о==о7о 
пDедло6е=8O E по<оILN теE=8GеEк8E EDедEт6 8=6еEт8F8о==о9 пл4тDоD<K.       

12.3.2.  е4л87уO ук474==K9 Dу=кF8о=4л, – �=6еEтоD 6K58D4ет 6 Dу=кF8о=4ле л8G=о7о 
к458=ет4 Eоот6етEт6уNI8е к=опк8 8 оEуIеEт6лOет =ео5Eод8<Kе де9Eт68O (т4к8е к4к: пDоEт46ле=8е 
74лоGк8 6 поле о 6KEокоD8Eко64==о< E4D4ктеDе 8=6еEт8F89, =464т8е к=опк8 «745Dо=8Dо64тL», 
подп8E4=8е 8 =4 6Dе<е==уN D8кE4F8N !�!-п4Dоле<, поEтуп86H8< =4 телеDо= 8=6еEтоD4, путU< 
66од4 п4DолO 6 поO686HееEO ок=о 6 л8G=о< к458=ете), пDедл474е<Kе пл4тDоD<о9.  

�Dо=8Dо64=8е =е O6лOетEO пD8=Oт8е< �=6еEт8F8о==о7о пDедло6е=8O. �лO пD8=Oт8O 
�=6еEт8F8о==о7о пDедло6е=8O �=6еEтоDу =ео5Eод8<о пеDеG8Eл8тL =4 =о<8=4лL=K9 EGUт 
�л4тDоD<K =едоEт4NIуN Eу<<у 6 уEт4=о6ле==K9 EDок:  

�Dе<е==4O D8кE4F8O оEуIеEт6лOетEO EDоко< =е 5олее Gе< =4 10 D45оG8E G4Eо6, =о 6 лN5о< 
EлуG4е =е 5олее Gе< =4 3 (тD8) к4ле=д4D=KE д=O, =о пD8 Mто< =е 5олее EDок4 де9Eт68O 
8=6еEт8F8о==о7о пDедло6е=8O. � EлуG4е, еEл8 6 <о<е=т 8EтеGе=8O ук474==о7о EDок4 =4 
=о<8=4лL=о< EGUте ОпеD4тоD4 =едоEт4тоG=о EDедEт6 по л8Fе6о<у EGету �=6еEтоD4 длO пD8=Oт8O 

8=6еEт8F8о==о7о пDедло6е=8O =4 74O6ле==уN �=6еEтоDо< Eу<<у, –8=6еEт8F8о==ое пDедло6е=8е 
=е <о6ет 5KтL пD8=Oто �=6еEтоDо< 6 E6O78 E отEутEт68е< доEт4тоG=о9 Eу<<K де=е6=KE EDедEт6 

8=6еEтоD4 =4 =о<8=4лL=о< EGете опеD4тоD4 �л4тDоD<K. �Eл8 де=е6=KE EDедEт6 к <о<е=ту 
8EтеGе=8O ук474==о7о EDок4 доEт4тоG=о, - �=6еEтоD поEDедEт6о< Dу=кF8о=4л4 пл4тDоD<K 6пD46е 
746еDH8тL пD8=Oт8е 8=6еEт8F8о==о7о пDедло6е=8O.  

� теGе=8е ук474==о7о пеD8од4, 8=Kе 8=6еEтоDK, котоDK< 4дDеEо64=о 74кDKтое 
8=6еEт8F8о==ое пDедло6е=8е, 6пD46е 4кFепто64тL е7о 6 пDедел4E доEтуп=о9 к 8=6еEт8Dо64=8N 
Eу<<K, ото5D464е<о9 6 Л8G=о< к458=ете 8=6еEтоD4. �D8 Mто<, о5I89 л8<8т <4кE8<4лL=о9 
Eу<<K по 8=6еEт8F8о==о<у пDедло6е=8N – O6лOетEO о5I8< длO 6EеE 8=6еEтоDо6, котоDK< 
4дDеEо64=о 8=6еEт8F8о==ое пDедло6е=8е, 8 =е <о6ет 5KтL пDе6KHе=. �=6еEтоDK <о7ут пD8=OтL 
Eоот6етEт6уNIее 8=6еEт8F8о==ое пDедло6е=8е 6 EлуG4е, еEл8 т4кое пD8=Oт8е пD86едет к 
доEт86е=8N <4кE8<4лL=о9 Eу<<K, =о =е пD86едет к еU пDе6KHе=8N 8 =е пD86едет к =4DуHе=8N 
пD46 дDу78E 8=6еEтоDо6 (пD8 Mто<, ко=тDолL доEт86е=8O <4кE8<4лL=о9 Eу<<K, к4к 8 дDу78E 
п4D4<етDо6 – о5еEпеG864етEO 6 то< G8Eле теE=8GеEк8< Dу=кF8о=4ло< �л4тDоD<K).   

12.3.3. �=DоD<4F8O о 5Dо=8Dо64=88, о EDоке попол=е=8O EGUт4, о 8=KE п4D4<етD4E 5Dо=8 
– ото5D464етEO 6 л8G=о< к458=ете �=6еEтоD4. �=6еEтоD 6пD46е отк474тLEO от 5Dо=8Dо64=8O до 
око=G4=8O е7о EDок4 путU< =464т8O к=опк8 «От<е=8тL».  
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12.3.4. Кол8GеEт6о попKток 5Dо=8Dо64=8O 6 од=о< �=6еEт8F8о==о< пDедло6е=88 поEле 
отк474 �=6еEтоD4 от 5Dо=8 л85о 8EтеGе=8O де9Eт68O 5Dо=8 6 E6O78 E =е746еDHе=8е< 6=еEе=8O 
�=6еEтоDо< де=е6=KE EDедEт6 =4 =о<8=4лL=K9 EGет �л4тDоD<K 6 теGе=8е де9Eт68O 5Dо=8, - 

о7D4=8Gе=о =4 E8Eте<=о< уDо6=е. О5Iее кол8GеEт6о поEледо64телL=KE попKток 5Dо=8Dо64=8O 6 
к46до< ко=кDет=о< �=6еEт8F8о==о< пDедло6е=88 EоEт46лOет =е 5олее д6уE.  

12.3.5. Отк47 �=6еEтоD4 от 5Dо=8Dо64=8O л85о 8EтеGе=8е де9Eт68O 5Dо=8 6 E6O78 E 
=е746еDHе=8е< 6=еEе=8O �=6еEтоDо< де=е6=KE EDедEт6 =4 =о<8=4лL=K9 EGет �л4тDоD<K 6 
теGе=8е де9Eт68O 5Dо=8 =е л8H4ет �=6еEтоD4 6о7<о6=оEт8 пD8=OтL �=6еEт8F8о==ое пDедло6е=8е 

путе< =4пD46ле=8O �4U<I8ку �кFепт4 пD8 уEло688 доEт4тоG=оEт8 де=е6=KE EDедEт6 =4 Л! 
�=6еEтоD4. 

 

12.4. �о7о6оD 8=6еEт8Dо64=8O =е <о6ет 5KтL 74клNGе= 6 EлуG4е, еEл8: 
- <8=8<4лL=K9 о5JU< де=е6=KE EDедEт6, ук474==K9 6 8=6еEт8F8о==о< пDедло6е=88, =е 

5Kл пD86леGе= 6 теGе=8е EDок4 де9Eт68O 8=6еEт8F8о==о7о пDедло6е=8O. 
- 8=6еEтоD 6 пDедуE<отDе==K9 де9Eт6уNI8< 74ко=од4телLEт6о< EDок, E уGето< поло6е=89, 

пDедуE<отDе==KE �D468л4<8, - отк474лEO от 74клNGе=8O до7о6оD4 8=6еEт8Dо64=8O. 
 

12.5. ОпеD4тоD Eоо5I4ет о D4кте =е 74клNGе=8O �о7о6оD4 8=6еEт8Dо64=8O 6 де=L 
=4Eтупле=8O ук474==KE 6KHе о5EтоOтелLEт6 путе< D47<еIе=8O Eоо5Iе=8O =4 �л4тDоD<е. 
�е=е6=Kе EDедEт64 �=6еEтоD4, 745лок8Dо64==Kе =4 Л! длO Fеле9 8E пеDеG8Eле=8O �4U<I8ку, 
D475лок8DуNтEO ОпеD4тоDо< =е по7д=ее EледуNIе7о D45оGе7о д=O поEле Eоо5Iе=8O о D4кте =е 
74клNGе=8O �о7о6оD4 8=6еEт8Dо64=8O. 

 

12.6. �=еEе=8е E6еде=89 о 74клNGе=88 �о7о6оD4 8=6еEт8Dо64=8O 6  ееEтD до7о6оDо6 
�л4тDоD<K. 

12.6.1. �=DоD<4F8O о 74клNGе=88 �о7о6оDо6 8=6еEт8Dо64=8O 6клNG4етEO 6  ееEтD 
до7о6оDо6. �олуGе=8е ОпеD4тоDо< 8=DоD<4F88 о поEтупле=88 де=е6=KE EDедEт6 8=6еEтоDо6 =4 
54=ко6Eк89 EGет л8F4, пD86лек4NIе7о 8=6еEт8F88, оEуIеEт6лOетEO 6 EледуNIе< поDOдке: 
ОпеD4тоD полуG4ет 8=DоD<4F8N 87 доку<е=то6, EодеD64I8E E6еде=8O о EоEтоO=88 EGUт4 8 
д686е=88 де=е6=KE EDедEт6 =4 =U<, 6Kд464е<KE 54=ко<, 6 котоDо< ОпеD4тоDу �л4тDоD<K откDKт 
=о<8=4лL=K9 EGет. ОпеD4тоD т4к6е 6пD46е 74пD4H864тL допол=8телL=уN 8=DоD<4F8N 6 то< 
DоD<4те 8 те<8 EпоEо54<8, котоDKе =е пDот86оDеG4т де9Eт6уNIе<у 74ко=од4телLEт6у  $, 6 то< 
G8Eле (=о =е 8EклNG8телL=о), 74пD4H864тL Eоот6етEт6уNIуN 8=DоD<4F8N у �4U<I8к4.   

12.6.2. ОпеD4тоD по тDе5о64=8N �=6еEтоD4 6Kд4ет е<у 6Kп8Eку 87  ееEтD4 до7о6оDо6, 6 
котоDо9 E6еде=8O о дDу78E �=6еEтоD4E 5удут о5е7л8Gе=K, E ук474=8е< о5Iе7о кол8GеEт64 
�=6еEтоDо6, O6лONI8EEO кDед8тоD4<8 по �о7о6оDу 8=6еEт8Dо64=8O (�D8ло6е=8е № 6 Л8Eт �). 

12.6.3. �Kп8Eк4 87  ееEтD4 до7о6оDо6 O6лOетEO док474телLEт6о< 74клNGе=8O �о7о6оD4 
8=6еEт8Dо64=8O <е6ду �=6еEтоDо< (�=6еEтоD4<8) 8 �4U<I8ко< (Eт. 13 $едеD4лL=K9 74ко= от 
02.08.2019 № 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 
о 6=еEе=88 87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88»). 

 

12.7.  �оDOдок 8Eпол=е=8O �о7о6оD4 8=6еEт8Dо64=8O 

12.7.1. &Dе5о64=8O �=6еEтоDо6 по �о7о6оDу 8=6еEт8Dо64=8O =е O6лONтEO Eол8д4D=K<8, 
пD8 оEуIеEт6ле=88 пD46 кDед8тоD4 Eо7л4E8е дDу78E �=6еEтоDо6 =е тDе5уетEO. 

 47<еD тDе5о64=89 к46до7о 87 �=6еEтоDо6 к �4U<I8ку D46е= Eу<<е 8=6еEт8Dо64=8O, 
ук474==о9 6 �кFепте, 4 т4к6е =4G8Eле==K< =4 Mту Eу<<у пDоFе=т4<, HтD4D4<, =еуEто9к4< 6 
Eоот6етEт688 E уEло68O<8 �о7о6оD4 8=6еEт8Dо64=8O. 

12.7.2. !DедEт64, поEтуп4NI8е от �4U<I8к4 6 FелOE по74Hе=8O 74дол6е==оEт8 по �о7о6оDу 
8=6еEт8Dо64=8O, D4EпDеделONтEO ОпеD4тоDо< <е6ду �=6еEтоD4<8 пDопоDF8о=4лL=о Eу<<е 
8=6еEт8F88, пеDед4==о9 �=6еEтоDо< по д4==о<у �о7о6оDу 8=6еEт8Dо64=8O. 

12.7.3. � FелOE 8Eпол=е=8O о5O74телLEт6 пеDед �=6еEтоD4<8 �4U<I8к пеDеG8EлOет 
де=е6=Kе EDедEт64 =4 �о<8=4лL=K9 EGет (G. 16 Eт. 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-

$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88»). 
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�Eпол=е=8е де=е6=KE о5O74телLEт6 пеDед �=6еEтоDо< по �о7о6оDу 8=6еEт8Dо64=8O 8=K< 
EпоEо5о< =е O6лOетEO =4дле64I8< 6 E8лу пDO<о7о ук474=8O 6 74ко=е =4 EпоEо5 т4ко7о 8Eпол=е=8O 
(Eт. 309 �К  $). 

12.7.4. �4U<I8к 6пD46е доEDоG=о по74E8тL 74дол6е==оEтL по �о7о6оDу 8=6еEт8Dо64=8O, E 
уGето< =4G8Eле==KE пDоFе=то6, пD8 уEло688, Gто т4к4O 6о7<о6=оEтL пDедуE<отDе=4 поло6е=8O<8 
8=6еEт8F8о==о7о пDедло6е=8O 8 толLко поEле пDекD4Iе=8O де9Eт68O т4ко7о 8=6еEт8F8о==о7о 
пDедло6е=8O 6 E6O78 E 8EтеGе=8е< EDок4 е7о де9Eт68O, л85о 6 E6O78 E доEт86е=8е< �4кE8<4лL=о9 
Eу<<K 749<4. 

� FелOE доEDоG=о7о по74Hе=8O 749<4 �4U<I8к пеDеG8EлOет =4 �о<8=4лL=K9 EGет Eу<<у, 
D46=уN е7о 74дол6е==оEт8, E уGето< =4G8Eле==KE пDоFе=то6 =4 де=L по74Hе=8O 8 =4пD46лOет 
ОпеD4тоDу 74O6ле=8е =4 доEDоG=ое по74Hе=8е, 6 котоDо< ук47K64ет =о<еD �о7о6оD4 
8=6еEт8Dо64=8O, по котоDо<у пDо8EEод8т по74Hе=8е. 

� EлуG4е отEутEт68O 74O6ле=8O =4 доEDоG=ое по74Hе=8е, де=е6=Kе EDедEт64 =4EодOтEO =4 
�о<8=4лL=о< EGUте до <о<е=т4 =4Eтупле=8O EDок4 8Eпол=е=8O о5O74телLEт6 по �о7о6оDу, еEл8 
8=ое Dе7ул8Dо64=8е =е пDедуE<отDе=о 8<пеD4т86=K<8 =оD<4<8 де9Eт6уNIе7о 74ко=од4телLEт64. 

12.7.5. � EлуG4е, еEл8 �4U<I8к пDоEDоG8л 8Eпол=е=8е о5O74телLEт6 по =еEколLк8< 
�о7о6оD4< 8=6еEт8Dо64=8O, де=е6=Kе EDедEт64, поEтуп4NI8е от �4U<I8к4, подле64т 
D4EпDеделе=8N <е6ду �о7о6оD4<8 8=6еEт8Dо64=8O пDопоDF8о=4лL=о Eу<<е 74дол6е==оEт8 по 
к46до<у �о7о6оDу. 

12.7.6. � EлуG4е, еEл8 =4 �о<8=4лL=о< EGUте =4EодOтEO де=е6=Kе EDедEт64, поEтуп86H8е 
от �4U<I8к4, доEт4тоG=Kе длO по74Hе=8O 6 пол=о< о5Jе<е 74дол6е==оEт8 по �о7о6оDу 
8=6еEт8Dо64=8O, EDок 8Eпол=е=8O по котоDо<у =4Eтуп8л, т4к8е де=е6=Kе EDедEт64 подле64т 
74G8Eле=8N =4 Л! �=6еEтоDо6 6 FелOE по74Hе=8O 74дол6е==оEт8 5е7 к4ко7о-л85о отделL=о7о 
6оле87JO6ле=8O �4U<I8к4. 

 

13. �оDOдок пD8=Oт8O 8=6еEт8F8о==о7о пDедло6е=8O 8=6еEтоD4<8. Отк47 
от 8=6еEт8F8о==о7о пDедло6е=8O 

 

13.1. �D8=Oт8е �=6еEт8F8о==о7о пDедло6е=8O �=6еEтоD4<8 оEуIеEт6лOетEO путе< 
=4пD46ле=8O �4U<I8ку �кFепт4 пD8 уEло688 доEт4тоG=оEт8 де=е6=KE EDедEт6 =4 Л! �=6еEтоD4. 
!одеD64I4OEO 6 �кFепте Eу<<4 де=е6=KE EDедEт6, котоDKе 8=6еEтоD =4<еDе= пDо8=6еEт8Dо64тL 
6 6K5D4==ое 8=6еEт8F8о==ое пDедло6е=8е =е <о6ет EоEт46лOтL <е=ее 10 000 (�еEOт8 тKEOG) 
Dу5ле9 00 коп.  � Eоот6етEт688 E поло6е=8O<8 D47дел4 12 =4EтоOI8E �D468л (п. 12.3. E уGето< 
подпу=кто6), до пD8=Oт8O �=6еEт8F8о==о7о пDедло6е=8O, �=6еEтоD 6пD46е 6оEполL7о64тLEO 
Dу=кF8о=4ло< 5Dо=8Dо64=8O. 

 

13.2. �=6еEтоD, пD8=O6H89 8=6еEт8F8о==ое пDедло6е=8е, 6 теGе=8е пOт8 D45оG8E д=е9 
Eо д=O е7о пD8=Oт8O, =о =е по7д=ее д=O пDекD4Iе=8O де9Eт68O 8=6еEт8F8о==о7о пDедло6е=8O 
6пD46е отк474тLEO от 74клNGе=8O �о7о6оD4 8=6еEт8Dо64=8O. 

'6едо<ле=8е о5 отк47е от 74клNGе=8O до7о6оD4 8=6еEт8Dо64=8O =4пD46лOетEO �=6еEтоDо<, 
пD8=O6H8< 8=6еEт8F8о==ое пDедло6е=8е, ОпеD4тоDу E по<оILN теE=8GеEк8E EDедEт6 
8=6еEт8F8о==о9 пл4тDоD<K, 8EполL7уе<KE длO пD8=Oт8O �=6еEт8F8о==о7о пDедло6е=8O. 

� EлуG4е отк474 �=6еEтоD4, пD8=O6Hе7о 8=6еEт8F8о==ое пDедло6е=8е, от 74клNGе=8O 
�о7о6оD4 8=6еEт8Dо64=8O 6 Eоот6етEт688 E =4EтоOI8< пу=кто< ОпеD4тоD =е 6пD46е пеDед464тL 
де=е6=Kе EDедEт64 т4ко7о �=6еEтоD4 �4U<I8ку. 

 

13.3. �кFепт 8 от7K6 �кFепт4 <о6ет 5KтL =4пD46ле= толLко E 8EполL7о64=8е< 
теE=8GеEк8E EDедEт6 �л4тDоD<K. 

 

14. 'чет EDедEт6 8 о5O74телPEт6. !Dок8 8 поDOдок пеDед4ч8 де=е6=OE 
EDедEт6 уч4Eт=8к4< пл4тDоD<O E =о<8=4лP=о7о Eчет4 ОпеD4тоD4 
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14.1. 'Gет де=е6=KE EDедEт6 8 о5O74телLEт6 'G4Eт=8ко6 пл4тDоD<K. Л8Fе6о9 EGет (Л!) 
�лO Fеле9 уGет4 EDедEт6 8 о5O74телLEт6 к46до<у 'G4Eт=8ку пл4тDоD<K откDK64етEO Л!. Л! 

пDедEт46лOет Eо5о9 о5оEо5ле==K9 уG4Eток 547K д4==KE ОпеD4тоD4, 6 котоDо9 D8кE8DуNтEO 
E6еде=8O о 6EеE опеD4F8OE 'G4Eт=8к4 пл4тDоD<K, 6клNG4O: 

- �4G8Eле=8е де=е6=KE EDедEт6 �=6еEтоD4 =4 �о<8=4лL=K9 EGет (66од де=е6=KE 
EDедEт6 �=6еEтоD4); 

- �еDеG8Eле=8е де=е6=KE EDедEт6 �=6еEтоD4 E �о<8=4лL=о7о EGет4 =4 D4EGет=K9 
EGет �4U<I8к4 (пDедоEт46ле=8е 749<4); 

- �4G8Eле=8е де=е6=KE EDедEт6 от �4U<I8к4 =4 Л! �=6еEтоD4, поEтуп86H8E от 
�4U<I8к4 =4 �о<8=4лL=K9 EGет 6 FелOE 8Eпол=е=8O о5O74телLEт6 �4U<I8к4 пеDед �=6еEтоDо< по 
�о7о6оDу 8=6еEт8Dо64=8O (по74Hе=8е 74дол6е==оEт8 по 6о76D4ту Eу<<K 749<4, упл4те пDоFе=то6, 
8=K< де=е6=K< о5O74телLEт64<); 

- �еDеG8Eле=8е де=е6=KE EDедEт6 �=6еEтоD4 E �о<8=4лL=о7о EGет4 =4 54=ко6Eк89 
EGет �=6еEтоD4 (6K6од де=е6=KE EDедEт6 �=6еEтоD4); 

- �еDеG8Eле=8е EDедEт6 E �о<8=4лL=о7о EGет4 =4 D4EGет=K9 EGет ОпеD4тоD4 6 EGет 
опл4тK 6о7=47D46де=8O ОпеD4тоD4 8 8=KE пл4те6е9 6 полL7у ОпеD4тоD4; 

- �олуGе=8е EDедEт6 �4U<I8ко< (отD46е=8е 74дол6е==оEт8 =4 Л! �4U<I8к4); 
- �7<е=е=8е D47<еD4 74дол6е==оEт8 по Л! �4U<I8к4; 
- �4G8Eле=8е пDоFе=то6, по6KHе==KE пDоFе=то6, пе=е9, =еуEтоек 8=KE о5O74телLEт6 

по Л! �4U<I8к4 8 �=6еEтоDо6. 
 

14.2. �еDед4G4 EDедEт6 �=6еEтоDо6 �4U<I8ку 

�еDед4G4 EDедEт6 �=6еEтоDо6 �4U<I8ку оEуIеEт6лOетEO путе< =4пD46ле=8O ОпеD4тоDо< 
пл4те6=о7о поDуGе=8O по �о<8=4лL=о<у EGету, =4 оE=о64=88 котоDо7о оEуIеEт6лOетEO Eп8E4=8е 
де=е6=KE EDедEт6 E �о<8=4лL=о7о EGет4 =4 D4EGет=K9 EGет �4U<I8к4. 

� FелOE Eо5лNде=8O пD46 8=6еEтоDо6 =4 полуGе=8е E6ое6Dе<е==о7о доEод4 =4 Eу<<K 
8=6еEт8F89, 74U< пеDеG8EлOетEO �4U<I8ку тD4=H4<8. &D4=H8 DоD<8DуNтEO 8 пеDеG8EлONтEO 
�4U<I8ку, E Eо5лNде=8е< 6EеE пD46 8=6еEтоDо6, 4 т4к6е E уGUто< 6EеE о5O74телL=KE тDе5о64=89, 
уEт4=о6ле==KE =4EтоOI8<8 �D468л4<8 8 де9Eт6уNI8< 74ко=од4телLEт6о<  $. �оEлед=89 тD4=H 
Eу<<K 749<4 - ОпеD4тоD пеDе6од8т 6 теGе=8е 1 (од=о7о) D45оGе7о д=O поEле 8EтеGе=8O EDок4 
де9Eт68O �=6еEт8F8о==о7о пDедло6е=8O. 

� де=L Eп8E4=8O EDедEт6 �=6еEтоDо6 E �о<8=4лL=о7о EGет4 =4 EGет �4U<I8к4 ОпеD4тоD 
отD464ет 6 547е д4==KE 87<е=е=8O 6 E6еде=8OE о 74дол6е==оEт8 �4U<I8к4 пеDед �=6еEтоD4<8 
путе< 6=еEе=8O т4к8E 87<е=е=89 6 Л! �=6еEтоDо6 8 �4U<I8к4. 

 

14.3. �еDед4G4 EDедEт6 �4U<I8к4 �=6еEтоD4< 6 FелOE по74Hе=8O о5O74телLEт6 

�4U<I8к пеDед4ет де=е6=Kе EDедEт64 длO по74Hе=8O 74дол6е==оEт8 пеDед �=6еEтоD4<8 
путе< 8E пеDеG8Eле=8O =4 �о<8=4лL=K9 EGет. 

� пл4те6=о< поDуGе=88 ук47K64етEO =о<еD Л! �4U<I8к4. 
ОпеD4тоD пDо876од8т уGет 87<е=е=89 оEт4тко6 де=е6=KE EDедEт6 =4 Л! �=6еEтоDо6, 

O6лONI8EEO 5е=еD8F84D4<8 т4к8E EDедEт6, 4 т4к6е 87<е=Oет E6еде=8O о5 оEт4тке 74дол6е==оEт8 
=4 Л! �4U<I8к4 6 поDOдке, уEт4=о6ле==о< =4EтоOI8<8 �D468л4<8. 

 

14.4. �K6од EDедEт6 �=6еEтоD4 

�K6од EDедEт6 �=6еEтоD4 оEуIеEт6лOетEO путе< под4G8 Eоот6етEт6уNIе7о D4EпоDO6е=8O 
�=6еEтоD4 6 4дDеE ОпеD4тоD4 E 8EполL7о64=8е< теE=8GеEк8E EDедEт6 �л4тDоD<K. 

�K6од EDедEт6 оEуIеEт6лOетEO толLко 5е7=4л8G=K< путе< 8 толLко =4 54=ко6Eк89 EGет 
�=6еEтоD4 путе< 8E пеDеG8Eле=8O E �о<8=4лL=о7о EGет4 6 пDедел4E доEтуп=о7о оEт4тк4 EDедEт6 =4 
Л! �=6еEтоD4 E уGето< EDедEт6, 74Dе7еD68Dо64==KE длO 8Eпол=е=8O �кFепто6 �=6еEтоD4. 

�е=е6=Kе EDедEт64 Eп8EK64NтEO E �о<8=4лL=о7о EGет4 �=6еEтоD4 =е по7д=ее EледуNIе7о 
D45оGе7о д=O поEле поEтупле=8O D4EпоDO6е=8O �=6еEтоD4. !Dок 74G8Eле=8O EDедEт6 =4 54=ко6Eк89 
EGет �=6еEтоD4 7468E8т от 54=к4, о5Eлу6864NIе7о 54=ко6Eк89 EGет �=6еEтоD4. 

 

14.5. �4G8Eле=8е EDедEт6 �=6еEтоD4 =4 Л! 
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�4G8Eле=8е EDедEт6 оEуIеEт6лOетEO толLко 5е7=4л8G=K< путе< 8 толLко E Eо5Eт6е==о7о 
54=ко6Eко7о EGет4 �=6еEтоD4. �4G8Eле=8е от тDетLе7о л8F4 =е допуEк4етEO. 

 

14.6.  4EGетK <е6ду 'G4Eт=8к4<8 пл4тDоD<K 8 ОпеD4тоDо< 

 4EGетK по опл4те 6о7=47D46де=8O ОпеD4тоD4 оEуIеEт6лONтEO <е6ду �4U<I8ко< 8 
ОпеD4тоDо< 6 поDOдке, пDедуE<отDе==о< =4EтоOI8<8 �D468л4<8, 8=ое (л85о еEл8 8=ое 
Dе7ул8Dо64=8е) =е пDедуE<отDе=о 8<пеD4т86=K<8 =оD<4<8 де9Eт6уNIе7о 74ко=од4телLEт64  $. 

 

14.7. �DоFе=тK =4 оEт4ток де=е6=KE EDедEт6 =4 �о<8=4лL=о< EGUте 

�DоFе=тK =4 оEт4ток де=е6=KE EDедEт6 =4 =о<8=4лL=о< EGUте – =е =4G8EлONтEO. �=6еEтоD 
л85о �4U<I8к =е 6пD46е тDе5о64тL от ОпеD4тоD4 упл4тK пDоFе=то6 =4 де=е6=Kе EDедEт64, 
=4EодOI8еEO =4 �о<8=4лL=о< EGUте. 

� то< G8Eле, =о =е 8EклNG8телL=о: 6 EлуG4е, еEл8 �4U<I8к пеDеG8Eл8л =4 �о<8=4лL=K9 
EGет 8 =е =4пD468л 74O6ле=8е =4 доEDоG=ое по74Hе=8е, �4U<I8к =е 6пD46е тDе5о64тL от ОпеD4тоD4 
упл4тK пDоFе=то6 =4 де=е6=Kе EDедEт64, =4EодOI8еEO =4 �о<8=4лL=о< EGUте. 

 

14.8. ОтGет ОпеD4тоD4 о5 опеD4F8OE E де=е6=K<8 EDедEт64<8 �=6еEтоD4 

О5о 6EеE опеD4F8OE E де=е6=K<8 EDедEт64<8 �=6еEтоD4 =4 �о<8=4лL=о< EGUте ОпеD4тоD 
у6едо<лOет �=6еEтоD4 E по<оILN 6EеE доEтуп=KE длO �=6еEтоD4 к4=4ло6 E6O78, 4 8<е==о: sms, 
MлектDо==4O поGт4, у6едо<ле=8O 6 л8G=о< к458=ете, Eоо5Iе=8O 6 <еEEе=д6еDе Telegram. 

'к474==Kе Eоо5Iе=8O =4пD46лONтEO ОпеD4тоDо< �л4тDоD<K 6 теGе=8е 1 (од=о7о) D45оGе7о 
д=O поEле Eо6еDHе=8O т4ко9 опеD4F88. 

�=6еEтоD 8<еет 6о7<о6=оEтL 6 лN5о9 <о<е=т 6Dе<е=8 EDоD<8Dо64тL отGет о5о 6EеE 
опеD4F8OE E е7о де=е6=K<8 EDедEт64<8 пD8 по<оI8 л8G=о7о к458=ет4. ОтGет DоD<8DуетEO 
=епоEDедEт6е==о 6 8=теDDе9Eе л8G=о7о к458=ет4. 

 

15. �о7=47D46де=8е ОпеD4тоD4. �оDOдок опDеделе=8O 8 опл4тK 

 

15.1. Л8Fо, пD86лек4NIее 8=6еEт8F88 (�4U<I8к) о5O74=о опл4т8тL ОпеD4тоDу 
6о7=47D46де=8е 6 D47<еDе, уEт4=46л864е<о< &4D8D4<8 ОпеD4тоD4. !у<<4 6о7=47D46де=8O 
ОпеD4тоD4 D4EEG8тK64етEO 6 пDоFе=т4E от Eу<<K 749<4 по �о7о6оDу 8=6еEт8Dо64=8O, 
74клNGе==о<у <е6ду �=6еEтоDо< 8 �4U<I8ко< =4 �л4тDоD<е.  

 

15.2. �оDOдок упл4тK 6о7=47D46де=8O �4U<I8ко<:  
15.2.1. �еDеG8Eле=8е пDедуE<отDе==KE �D468л4<8 пл4тDоD<K Eу<< 6о7=47D46де=8O =4 

D4EGUт=K9 EGUт ОпеD4тоD4 8=6еEт8F8о==о9 пл4тDоD<K оEуIеEт6лOетEO путU< удеD64=8O 87 Eу<<, 
=4EодOI8EEO =4 =о<8=4лL=о< EGUте ОпеD4тоD4, пD8 пеDеG8Eле=88 де=е6=KE EDедEт6 �=6еEтоDо6, 
пD8=O6H8E �=6еEт8F8о==ое пDедло6е=8е, =4 54=ко6Eк8е EGет4 Л8F, Eдел46H8E т4кое 
8=6еEт8F8о==ое пDедло6е=8е Eо7л4E=о G4Eт8 10 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 
259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88». �о7=47D46де=8е 
EG8т4етEO опл4Gе==K< �4U<I8ко< E <о<е=т4 отD46е=8O 6 уGете по �о<8=4лL=о<у EGету опеD4F88 
по 678<4=8N �о7=47D46де=8O 6 полL7у ОпеD4тоD4.  

�одп8E4=8е< �=6еEт8F8о==о7о пDедло6е=8O �4U<I8к пDO<о 8 5е7о7о6оDоG=о 
подт6еD6д4ет E6ое 6оле87JO6ле=8е =4 пеDеG8Eле=8е Eу<<K 6о7=47D46де=8O ОпеD4тоDу 
�л4тDоD<K ук474==K< EпоEо5о<. 

�D8 Mто< т4кое Eп8E4=8е де=е6=KE EDедEт6 O6лOетEO D4кто< пеDед4G8 G4Eт8 749<4 по 
ук474=8N �4U<I8к4 тDетLе<у л8Fу - ОпеD4тоDу 8 EG8т4етEO пеDед4==о9 �4U<I8ку (G. 5 Eт. 807 
�D46д4=Eко7о кодекE4  оEE89Eко9 $едеD4F88). �4U<I8к 6Kпл4G864ет ОпеD4тоDу 6о7=47D46де=8е, 
котоDое опDеделOетEO к4к пDоFе=т от Eу<<K �49<4, пDедоEт46лOе<о7о �4U<I8ку =4 оE=о64=88 
�=6еEт8F8о==о7о пDедло6е=8O.   

15.2.2. �Eл8 6о7=47D46де=8е =е 5Kло (пол=оEтLN л85о 6 G4Eт8) упл4Gе=о EпоEо5о<, 
пDедуE<отDе==K< п.  15.2.1., - 6о7=47D46де=8е ОпеD4тоD4 678<4етEO E �4U<I8к4, путе< 
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пеDеG8Eле=8O Eу<<K 6о7=47D46де=8O �4U<I8ко< Eо E6ое7о 54=ко6Eко7о EGет4 =4 54=ко6Eк89 EGет 
ОпеD4тоD4. 

 

15.3. �оDOдок Eп8E4=8O �о7=47D46де=8O E �о<8=4лL=о7о EGет4:  
15.3.1. $4кт пD8Eоед8=е=8O �=6еEтоD4 к �о7о6оDу о5 ок474=88 уEлу7 по Eоде9Eт68N 6 

8=6еEт8Dо64=88, E68детелLEт6ует о пDедоEт46ле=88 �=6еEтоDо< ОпеD4тоDу  4EпоDO6е=8O 8 пD464 
=4 Eп8E4=8е 6о7=47D46де=8O E �о<8=4лL=о7о EGет4, 6 Eоот6етEт688 E G4EтLN 10 Eт4тL8 13 
$едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 
8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK 
 оEE89Eко9 $едеD4F88».  

15.3.2. �D46о =4 Eп8E4=8е 6о7=47D46де=8O E �о<8=4лL=о7о EGет4 пDедоEт46лOетEO 
ОпеD4тоDу E д4тK пD8Eоед8=е=8O �=6еEтоD4 к �о7о6оDу о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88 8 де9Eт6ует 6 теGе=8е 6Eе7о EDок4 де9Eт68O до7о6оD=KE о5O74телLEт6 <е6ду 
�=6еEтоDо< 8 ОпеD4тоDо<. $4кто< подт6еD6де=8O пD8Eоед8=е=8O к 6KHеук474==о<у �о7о6оDу, 
�=6еEтоD:  

15.3.2.1. пDедоEт46лOет ОпеD4тоDу 74D4=ее д4==K9 4кFепт =4 Eп8E4=8е Eу<< 
�о7=47D46де=8O, пD8 Mто<, Eу<<4 74D4=ее д4==о7о 4кFепт4 опDеделOетEO ОпеD4тоDо< 8EEодO 87 
D47<еD4 �о7=47D46де=8O;  

15.3.2.2. 74D4=ее д4==K9 4кFепт пDедоEт46ле= ОпеD4тоDу =4 6еEL EDок, 6 теGе=8е котоDо7о 
�=6еEтоD O6лOетEO 'G4Eт=8ко< �=6еEт8F8о==о9 �л4тDоD<K. �одт6еD6де=8е< пD8Eоед8=е=8O к 
6KHеук474==о<у �о7о6оDу �=6еEтоD пDедоEт46лOет ОпеD4тоDу пD46о оEуIеEт6лOтL 6Eе 
=ео5Eод8<Kе де9Eт68O длO оEуIеEт6ле=8O Eп8E4=8O де=е6=KE EDедEт6 E �о<8=4лL=о7о EGет4, 6 
то< G8Eле (=о, =е о7D4=8G864OEL):  

6KEт46лOтL/оDоD<лOтL пл4те6=Kе тDе5о64=8O (тDе5о64=8O), 8=Kе =ео5Eод8<Kе 
доку<е=тK. 

 

15.4. !т46к4 6о7=47D46де=8O ОпеD4тоD4 уEт4=46л864етEO &4D8D4<8, котоDKе O6лONтEO 
=еотJе<ле<о9 G4EтLN =4EтоOI8E �D468л. 

15.5.  �о7=47D46де=8е ОпеD4тоD4 E �=6еEтоDо6 74 ок474=8е уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88 =е 678<4етEO. 

 

16. !оEт46 8=DоD<4F88, D4EкDK64е<о9 ОпеD4тоDо<. !Dок8 D4EкDKт8O 

 

16.1. ОпеD4тоD �л4тDоD<K =4 E6ое< !49те, котоDK9 8EполL7уетEO длO пDедоEт46ле=8O 
доEтуп4 к �л4тDоD<е D4EкDK64ет: 

1) 8=DоD<4F8N о5 ОпеD4тоDе 8=6еEт8F8о==о9 пл4тDоD<K 8 о е7о деOтелL=оEт8, 6 то< 
G8Eле:  

" =48<е=о64=8е, <еEто =4Eо6де=8O, 4дDеE 8 уEт46 ОпеD4тоD4 �л4тDоD<K; 
" E6еде=8O о л8F4E, ко=тDол8DуNI8E ОпеD4тоD4 �л4тDоD<K; 
" E6еде=8O о л8F4E, 8<еNI8E пD46о D4EпоDO64тLEO =е <е=ее Gе< 10 пDоFе=т4<8 

7олоEо6, пD8EодOI8EEO =4 дол8, EоEт46лONI8е уEт46=K9 к4п8т4л ОпеD4тоD4 �л4тDоD<K; 
" E6еде=8O о EтDуктуDе 8 пеDEо=4лL=о< EоEт46е оD74=о6 упD46ле=8O ОпеD4тоD4 

�л4тDоD<K; 
" 7одо6уN 5уE74лтеDEкуN (D8=4=Eо6уN) отGет=оEтL 74 поEлед=89 746еDHе==K9 

отGет=K9 7од 6<еEте E 4уд8тоDEк8< 74клNGе=8е< 6 от=оHе=88 т4ко9 отGет=оEт8; 
" E6еде=8O о 68д4E, D47<еD4E 8 EDок4E 678<4=8O пл4тK 74 уEлу78 ОпеD4тоD4 

�л4тDоD<K, ок47K64е<Kе уG4Eт=8к4< �л4тDоD<K, еEл8 т4к4O пл4т4 пDедуE<отDе=4 до7о6оDо<; 
2) �D468л4 8=6еEт8F8о==о9 пл4тDоD<K Eо 6Eе<8 6=еEе==K<8 6 =8E 87<е=е=8O<8; 
3) поDOдок де9Eт689, =ео5Eод8<KE длO пD8Eоед8=е=8O к до7о6оDу о5 ок474=88 уEлу7 

по пD86леGе=8N 8=6еEт8F89, к до7о6оDу о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88, 8 
поDOдок де9Eт689, =ео5Eод8<KE длO 8=6еEт8Dо64=8O E 8EполL7о64=8е< �л4тDоD<K; 

4) 8=DоD<4F8N о де9Eт68OE, котоDKе <о7ут 5KтL пDедпD8=OтK �=6еEтоDо< 6 EлуG4е 
=е8Eпол=е=8O о5O74телLEт6 �4U<I8ко<; 
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5) 7одо6о9 отGет ОпеD4тоD4 о Dе7улLт4т4E деOтелL=оEт8 по оD74=874F88 пD86леGе=8O 
8=6еEт8F89; 

6) EDок 6оEEт4=о6ле=8O Dу=кF8о=8Dо64=8O �л4тDоD<K 6 EлуG4е =4DуHе=8O ее 
Dу=кF8о=8Dо64=8O; 

7) 8=DоD<4F8N о то<, O6лOетEO л8 пD87=4=8е ОпеD4тоDо< 7D46д4=8=4 
к64л8D8F8Dо64==K< 8=6еEтоDо< =ео5Eод8<K< уEло68е< длO ок474=8O е<у уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88; 

8) 8=уN 8=DоD<4F8N, пDедуE<отDе==уN $едеD4лL=K< 74ко=о< от 02.08.2019 № 259-

$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88». 

�=DоD<4F8O подле68т D4EкDKт8N 6 теGе=8е 2 (д6уE) D45оG8E д=е9 E д4тK Eоот6етEт6уNIе7о 
87<е=е=8O, 74 8EклNGе=8е< EледуNI8E EлуG4е6: 

 

" 5уE74лтеDEк4O (D8=4=Eо64O) отGет=оEтL 74 поEлед=89 ̆ 746еDHU==K9 отGUт=K9 7од 
6<еEте E 4уд8тоDEк8< 74клNGе=8е< 6 от=оHе=88 т4ко9 отGет=оEт8 подле68т опу5л8ко64=8N 6 
теGе=8е 5 (�Oт8) D45оG8E д=е9 E д4тK полуGе=8O ОпеD4тоDо< �л4тDоD<K 4уд8тоDEко7о 74клNGе=8O 
6 от=оHе=88 5уE74лтеDEко9 (D8=4=Eо6о9) отGет=оEт8 (длO 4уд8тоDEко7о 74клNGе=8O, еEл8 
пDо6еде=8е 4уд8т4 O6лOетEO о5O74телL=K< 6 Eоот6етEт688 E де9Eт6уNI8<8 =оD<4т86=K<8 
4кт4<8); 

" �D468л4 8 &4D8DK �л4тDоD<K пу5л8куNтEO поEле 8E Eо7л4Eо64=8O E �4=ко<  оEE88, 
=е <е=ее Gе< 74 5 (пOтL) к4ле=д4D=KE д=е9 до д4тK 8E 6Eтупле=8O 6 E8лу; 

" 7одо6о9 отGет ОпеD4тоD4 о Dе7улLт4т4E деOтелL=оEт8 по оD74=874F88 пD86леGе=8O 
8=6еEт8F89 пу5л8куетEO =е по7д=ее 1 <4Dт4 к4ле=д4D=о7о 7од4, EледуNIе7о 74 отGет=K< 7одо<. 

 

16.2. � �=6еEт8F8о==о< пDедло6е=88 �4U<I8к4 ук47K64NтEO 6Eе EуIеEт6е==Kе длO 
EтоDо= уEло68O �о7о6оD4 749<4 (EDок 749<4, пл4т4 74 полL7о64=8е 749<о<, поDOдок 6о76D4т4 8 
дDу78е), 4 т4к6е EDок де9Eт68O �=6еEт8F8о==о7о пDедло6е=8O, �8=8<4лL=4O Eу<<4 749<4, 

(котоD4O =е <о6ет ук47K64тLEO л8Fо<, пD86лек4NI8< 8=6еEт8F88 6 D47<еDе <е=ее 10 000 (�еEOт8 
тKEOG) Dу5ле9 00 коп.) �4кE8<4лL=4O Eу<<4 749<4, EEKлк4 =4 О5I8е уEло68O �о7о6оD4 749<4, 4 
т4к6е EледуNI8е E6еде=8O: 

 

" 8=DоD<4F8O, по76олONI4O EоEт468тL о5Iее пDедEт46ле=8е о FелOE пD86леGе=8O 
8=6еEт8F89 8 о5 о5EтоOтелLEт64E, котоDKе <о7ут ок474тL 6л8O=8е =4 доEт86е=8е ук474==KE Fеле9, 
4 т4к6е о5 оE=о6=KE D8Eк4E, E6O74==KE E �4U<I8ко<, 8 D8Eк4E, E6O74==KE E пD8=Oт8е< 
�=6еEт8F8о==о7о пDедло6е=8O; 

" 8=DоD<4F8O о =4л8G88 8л8 отEутEт688 6 8=6еEт8F8о==о< пDедло6е=88 уEло68O о 
то<, Gто л8Fо, ко=тDол8DуNIее �4U<I8к4-ND8д8GеEкое л8Fо, пD8=Oло =4 Eе5O о5O74==оEтL 
пD8о5DеEт8 у �=6еEтоDо6 8<уIеEт6е==Kе пD464, полуGе==Kе пD8 8=6еEт8Dо64=88, 6 EлуG4е еEл8 
т4кое л8Fо пеDеEт4ет O6лOтLEO л8Fо<, ко=тDол8DуNI8< �4U<I8к4; 

" E6еде=8O о5 MкEпеDт4E, пD86леGе==KE длO <о=8тоD8=74 8 оFе=к8 деOтелL=оEт8 
л8F4, пD86лек4NIе7о 8=6еEт8F88, =4пD46ле==о9 =4 доEт86е=8е Fеле9 8=6еEт8Dо64=8O, 4 т4к6е 
Dе7улLт4тK т4к8E <о=8тоD8=74 8 оFе=к8 (еEл8 8<еNтEO); 

• E6еде=8O о текуIе< Dе9т8=7е л8F4, пD86лек4NIе7о 8=6еEт8F88, Dе9т8=7е 
8=6еEт8F8о==о7о пDедло6е=8O, котоDKе пD8E64864NтEO 6 Eоот6етEт688 E �D468л4<8 
8=6еEт8F8о==о9 пл4тDоD<K, еEл8 пD8E6ое=8е т4ко7о Dе9т8=74 пDедуE<отDе=о �D468л4<8 
�л4тDоD<K; 

" пDедупDе6де=8е о D8Eк4E, E6O74==KE E потеDе9 8=6еEт8F89 8 (8л8) 
=е6о7<о6=оEтLN пDод468 8<уIеEт64, 6 то< G8Eле 8<уIеEт6е==KE пD46, пD8о5Dете==KE 6 
Dе7улLт4те 8=6еEт8Dо64=8O. 

 

�D8 DоD<8Dо64=88 �=6еEт8F8о==о7о пDедло6е=8O �4U<I8к пDедEт46лOет E6еде=8O о5 
�=6еEт8F8о==о< пDедло6е=88 по Eт4=д4Dт=о9 DоD<е, EодеD64Iе9 6Eе 6KHеук474==Kе 
поло6е=8O. �=6еEт8F8о==ое пDедло6е=8е <о6ет EодеD64тL 8=Kе поло6е=8O, =е пDот86оDеG4I8е 
де9Eт6уNIе<у 74ко=од4телLEт6у  $. 
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ОпеD4тоD �л4тDоD<K пDедоEт46лOет �=6еEтоD4<, котоDK< 4дDеEо64=о �=6еEт8F8о==ое 
пDедло6е=8е, 8=DоD<4F8N о5 �=6еEт8F8о==о< пDедло6е=88 8 �4U<I8ке, пDедуE<отDе==уN 
74ко=од4телLEт6о<, 6 К4DтоGке Eоот6етEт6уNIе7о 749<4. 

 

О �4U<I8ке пDедоEт46лOетEO EледуNI4O 8=DоD<4F8O: 
 

1) D4<8л8O, 8<O, отGеEт6о (отGеEт6о пDедоEт46лOетEO пD8 =4л8G88), д4т4 8 <еEто 
Dо6де=8O, 4дDеE <еEт4 68телLEт64 D878GеEко7о л8F4 - 8=д868ду4лL=о7о пDедпD8=8<4телO 8л8 
=48<е=о64=8е, <еEто =4Eо6де=8O 8 4дDеE ND8д8GеEко7о л8F4; 

2) E6еде=8O о л8F4E, 8<еNI8E пD46о D4EпоDO64тLEO =е <е=ее Gе< 10 пDоFе=т4<8 
7олоEо6 6 6KEHе< оD74=е упD46ле=8O ND8д8GеEко7о л8F4, еEл8 т4к8< л8Fо< O6лOетEO коDпоD4F8O; 

3) E6еде=8O о EтDуктуDе 8 пеDEо=4лL=о< EоEт46е оD74=о6 упD46ле=8O ND8д8GеEко7о 
л8F4; 

4) 7одо6уN 5уE74лтеDEкуN (D8=4=Eо6уN) отGет=оEтL 74 поEлед=89 746еDHе==K9 
отGет=K9 7од 6<еEте E 4уд8тоDEк8< 74клNGе=8е< 6 от=оHе=88 т4ко9 отGет=оEт8, еEл8 л8Fо<, 
пD86лек4NI8< 8=6еEт8F88, O6лOетEO ND8д8GеEкое л8Fо, EуIеEт6уNIее 5олее од=о7о 7од4, 8 
D47<еD пD86лек4е<KE 8< 8=6еEт8F89 пDе6KH4ет 60 <8лл8о=о6 Dу5ле9; 

5) оE=о6=Kе 68дK деOтелL=оEт8 л8F4, пD86лек4NIе7о 8=6еEт8F88; 
6) E6еде=8O о Dе9т8=7е л8F4, пD86лек4NIе7о 8=6еEт8F88, котоDK9 пD8E64864етEO 6 

Eоот6етEт688 E �D468л4<8 8=6еEт8F8о==о9 пл4тDоD<K, еEл8 пD8E6ое=8е т4ко7о Dе9т8=74 
пDедуE<отDе=о �D468л4<8 �л4тDоD<K; 

7) E6еде=8O о D4кт4E (Eо5Kт8OE, де9Eт68OE), котоDKе <о7ут ок474тL EуIеEт6е==ое 
6л8O=8е =4 8Eпол=е=8е �4U<I8ко< о5O74телLEт6 пеDед �=6еEтоD4<8; 

8) E6еде=8O о Eу<<4E 8=6еEт8F89, пD86леGе==KE �4U<I8ко< 6 �=6еEт8F8о==о9 
пл4тDоD<е 6 текуIе< к4ле=д4D=о< 7оду, 4 т4к6е о <4кE8<4лL=о< о5Jе<е де=е6=KE EDедEт6, 
ук474==о< 6 к46до< де9Eт6уNIе< 8=6еEт8F8о==о< пDедло6е=88 6 �=6еEт8F8о==о9 пл4тDоD<е, 
по доEт86е=88 котоDо7о 8=6еEт8F8о==ое пDедло6е=8е пDекD4I4етEO. 

 

о5 �=6еEт8F8о==о< пDедло6е=88 (EодеD68тEO 6 �=6еEт8F8о==о< пDедло6е=88): 
 

1) 8=DоD<4F8O, по76олONI4O EоEт468тL о5Iее пDедEт46ле=8е о FелOE пD86леGе=8O 
8=6еEт8F89 8 о5 о5EтоOтелLEт64E, котоDKе <о7ут ок474тL 6л8O=8е =4 доEт86е=8е ук474==KE Fеле9, 
4 т4к6е о5 оE=о6=KE D8Eк4E, E6O74==KE E �4U<I8ко<, 8 D8Eк4E, E6O74==KE E пD8=Oт8е< 
�=6еEт8F8о==о7о пDедло6е=8O; 

2) =4л8G8е 8л8 отEутEт68е 6 8=6еEт8F8о==о< пDедло6е=88 уEло68O о то<, Gто л8Fо, 
ко=тDол8DуNIее ND8д8GеEкое л8Fо, пD86лек4NIее 8=6еEт8F88, пD8=Oло =4 Eе5O о5O74==оEтL 
пD8о5DеEт8 у 8=6еEтоDо6 8<уIеEт6е==Kе пD464, полуGе==Kе пD8 8=6еEт8Dо64=88, 6 EлуG4е еEл8 
т4кое л8Fо пеDеEт4ет O6лOтLEO л8Fо<, ко=тDол8DуNI8< ND8д8GеEкое л8Fо, пD86лек4NIее 
8=6еEт8F88; 

3) E6еде=8O о 6=утDе==е< <о=8тоD8=7е 8 оFе=ке деOтелL=оEт8 л8F4, пD86лек4NIе7о 
8=6еEт8F88, =4пD46ле==о9 =4 доEт86е=8е Fеле9 8=6еEт8Dо64=8O, пDо6едU==KE ОпеD4тоDо<, 4 
т4к6е Dе7улLт4тK т4к8E <о=8тоD8=74 8 оFе=к8 (6 то< G8Eле, E6еде=8O о 6=еH=8E MкEпеDт4E, 
пD86леGе==KE длO <о=8тоD8=74 8 оFе=к8 деOтелL=оEт8 л8F4, 8 (8л8) оEуIеEт686H8E оFе=ку, еEл8 
т4ко6Kе 8<еNтEO); 

4)  E6еде=8O о текуIе< Dе9т8=7е 8=6еEт8F8о==о7о пDедло6е=8O, котоDK9 
пD8E64864етEO 6 Eоот6етEт688 E �D468л4<8 8=6еEт8F8о==о9 пл4тDоD<K, еEл8 пD8E6ое=8е т4ко7о 
Dе9т8=74 пDедуE<отDе=о �D468л4<8 �л4тDоD<K; 

5) пDедупDе6де=8е о D8Eк4E, E6O74==KE E потеDе9 8=6еEт8F89 8 (8л8) 
=е6о7<о6=оEтLN пDод468 8<уIеEт64, 6 то< G8Eле 8<уIеEт6е==KE пD46, пD8о5Dете==KE 6 
Dе7улLт4те 8=6еEт8Dо64=8O. 
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17. �оDOдок о5<е=4 8=DоD<4F8е9 <е6ду 8=6еEтоD4<8 

 

17.1. О5<е= 8=DоD<4F8е9 <е6ду �=6еEтоD4<8 оEуIеEт6лOетEO E пD8<е=е=8е< 
пDо7D4<<=о-теE=8GеEк8E EDедEт6 �=6еEт8F8о==о9 пл4тDоD<K, 8EполL7о64=8е котоDKE 
пDедоEт46лOетEO к46до<у 74Dе78EтD8Dо64==о<у =4 �л4тDоD<е �=6еEтоDу. 

 

17.2. �=6еEтоDу о5еEпеG864етEO 6о7<о6=оEтL полL7о64=8O EпеF84лL=K< D47дело< Л8G=о7о 
к458=ет4, Eо7д4==о7о 8 поддеD6864е<о7о ОпеD4тоDо<, длO о5Iе=8O E 8=K<8 �=6еEтоD4<8, 
74Dе78EтD8Dо64==K<8 =4 �л4тDоD<е, 6 Dе68<е о5<е=4 8=DоD<4F8о==KE Eоо5Iе=89. 

 

17.3. �=6еEтоD, 8EполL7уO EпеF84лL=K9 D47дел Л8G=о7о к458=ет4 длO о5<е=4 
8=DоD<4F8о==KE Eоо5Iе=89, 8 полуG86H89 ко=D8де=F84лL=уN 8л8 Eлу6е5=уN 8=DоD<4F8N, 
пDедEт46лONIуN ко<<еDGеEкуN т49=у л8F4, пD86лек4NIе7о 8=6еEт8F88, 8л8 8=о7о 8=6еEтоD4, 
о5O74= Eо5лNд4тL уEло68O ко=D8де=F84лL=оEт8 полуGе==о9 8=DоD<4F88. 

 

17.4. ОпеD4тоD пDедEт46лOет �=6еEтоDу 6о7<о6=оEтL о5<е=4 8=DоD<4F8е9 E дDу78<8 
�=6еEтоD4<8 GеDе7 ОпеD4тоD4 длO DоD<8Dо64=8O 8<8 Eо6<еEт=о7о пD8=Oт8O �=6еEт8F8о==о7о 
пDедло6е=8O путе< о5<е=4 �=6еEтоD4<8 GеDе7 ОпеD4тоD4 8=DоD<4F8е9, E6O74==о9 E 
�=6еEт8F8о==K< пDедло6е=8е<. 

 

18. �оDOдок пD8<е=е=8O <о58лP=о7о пD8ло6е=8O 

 

�о58лL=ое пD8ло6е=8е пD8 8EполL7о64=88 �л4тDоD<K =е пD8<е=OетEO. 
 

19. ЭлектDо==O9 доку<е=тоо5оDот пл4тDоD<O 

 

19.1. �D87=4=8е уG4Eт=8к4<8 �л4тDоD<K MлектDо==о7о доку<е=тоо5оDот4 пDоEто9 
MлектDо==о9   подп8E8. 

19.1.1. 'G4Eт=8к8 пл4тDоD<K O6лONтEO EтоDо=4<8 MлектDо==о7о 6748<оде9Eт68O 
поEDедEт6о< �л4тDоD<K. 

19.1.2. �4EтоOI8<8 �D468л4<8 уEт4=46л864етEO пD87=4=8е 'G4Eт=8к4<8 пл4тDоD<K 
8EполL7о64=8е пDоEто9 MлектDо==о9 подп8E8 (пDоEто9 Э�) пD8 MлектDо==о< 6748<оде9Eт688 
<е6ду =8<8. 

19.1.3. �4EтоOI8е �D468л4 уEт4=46л864Nт поDOдок 8EполL7о64=8O �=6еEтоD4<8 8 
�4U<I8к4<8 КлNGе6о9 п4DK Э�, 6 то< G8Eле поDOдок 7е=еD4F88, Dе78EтD4F88, 5лок8Dо64=8O 8 
от<е=K, 4 т4к6е опDеделONт 6о7=8к4NI8е 6 E6O78 E Mт8< пD464, о5O74==оEт8 8 от6етEт6е==оEтL 
!тоDо=. 

19.1.4. �4EтоOI8е �D468л4 уEт4=46л864Nт поDOдок 8EполL7о64=8O пDоEто9 Э�, котоD4O 
поEDедEт6о< 8EполL7о64=8O кодо6, п4Dоле9 8л8 8=KE EDедEт6 подт6еD6д4ет D4кт DоD<8Dо64=8O 
Э� �=6еEтоDо< 8л8 �4U<I8ко< (упол=о<оGе==K< пDедEт468теле< �=6еEтоD4 8л8 �4U<I8к4 
Eоот6етEт6е==о), 4 т4к6е опDеделONт 6о7=8к4NI8е 6 E6O78 E Mт8< пD464, о5O74==оEт8 8 
от6етEт6е==оEтL !тоDо=. 

19.1.5. �EполL7о64=8е пDоEто9 Э� пD8 MлектDо==о< 6748<оде9Eт688 !тоDо= O6лOетEO 
о5O74телL=K< уEло68е< пD8Eоед8=е=8O к =4EтоOI8< �D468л4< 8 пD8ло6е=8O< к =8<. ! 
ук474==K< уEло68е< �=6еEтоD 8л8 �4U<I8к (4 т4к6е D878GеEкое л8Fо пD8 пеD68G=о9 
Dе78EтD4F88), =4пD46лOO �4O6ле=8е, о7=4ко<ле= 8 5е7о7о6оDоG=о Eо7л4Eе=. �DоEт4O Э� O6лOетEO 
8EполL7уе<K< 8=EтDу<е=то< пD8 MлектDо==о< 6748<оде9Eт688 к4к �=6еEтоD4 8л8 �4U<I8к4 E 
Ко<п4=8е9, т4к 8 �=6еEтоD4 8 �4U<I8к4 <е6ду Eо5о9 6 D4<к4E пл4тDоD<K 8 пD8 74клNGе=88 
�о7о6оD4 8=6еEт8Dо64=8O. 

 

19.2. �оDOдок 7е=еD4F88 код4 пDоEто9 Э� 8 пD87=4=8O MлектDо==KE доку<е=то6, 
подп8E4==KE пDоEто9 Э�. �D468л4 опDеделе=8O л8F4, подп8EK64NIе7о MлектDо==K9 доку<е=т. 
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19.2.1. � FелOE MлектDо==о7о 6748<оде9Eт68O <е6ду !тоDо=4<8 по у<олG4=8N 
8EполL7уетEO пDоEт4O Э� длO подп8E4=8O MлектDо==KE доку<е=то6, =4пD46лOе<KE �=6еEтоDо< 
ОпеD4тоDу, �4U<I8ко< ОпеD4тоDу, �=6еEтоDо< �4U<I8ку, �4U<I8ко< �=6еEтоDу поEDедEт6о< 
�л4тDоD<K. 

19.2.2. �лO Eо7д4=8O 8 =4пD46ле=8O MлектDо==о7о доку<е=т4, подле64Iе7о подп8E4=8N 
пDоEто9 Э�, �=6еEтоD 8л8 �4U<I8к пDоEод8т 8де=т8D8к4F8N =4 �л4тDоD<е. 

19.2.3. � FелOE 7е=еD4F88 код4 пDоEто9 Э� 8 подп8E4=8O MлектDо==о7о доку<е=т4 
ОпеD4тоD, поEDедEт6о< E<E 8л8 push Eоо5Iе=8O, =4пD46лOет �=6еEтоDу 8л8 �4U<I8ку 
EпеF84лL=K9 од=оD47о6K9 F8DDо6о9 код подт6еD6де=8O (&К�). 

&К� отпD46лOетEO �=6еEтоDу 8л8 �4U<I8ку поEDедEт6о< =4пD46ле=8O E<E (push-)-

Eоо5Iе=8O =4 =о<еD телеDо=4 <о58лL=о9 E6O78 (=о<еD <о58лL=о7о телеDо=4), ук474==K9 
D878GеEк8< л8Fо< пD8 пеD68G=о9 Dе78EтD4F88 =4 �л4тDоD<е 8л8 ук474==K9 т4к8< D878GеEк8< 
л8Fо< пD8 Dе78EтD4F88 �=6еEтоD4/�4U<I8к4 (6 �4O6ле=88) к4к =4дле64I89 длO уEпеH=о7о 
пDоEо6де=8O пDоFедуDK 8де=т8D8к4F88 =4 �л4тDоD<е 8 полуGе=8O лN5о9 8=DоD<4F88 от 
ОпеD4тоD4. 

'к474==K9 код �=6еEтоD/�4U<I8к 66од8т 6 EпеF84лL=ое д84ло7о6ое ок=о =4 �л4тDоD<е 6 
FелOE 7е=еD4F88 код4 пDоEто9 Э� 8 подп8E4=8O EDоD<8Dо64==о7о MлектDо==о7о доку<е=т4, 
=4пD46лOе<о7о �=6еEтоDо</�4U<I8ко< 6 4дDеE ОпеD4тоD4, �=6еEтоDо< 6 4дDеE �4U<I8к4 
поEDедEт6о< �л4тDоD<K 8л8 �4U<I8ко< 6 4дDеE �=6еEтоD4 поEDедEт6о< �л4тDоD<K. 

19.2.4. &К� EодеD68тEO 6 коде E4<о7о MлектDо==о7о доку<е=т4 (EодеD68тEO 6 E4<о< 
MлектDо==о< доку<е=те) 8 подт6еD6д4ет подп8E4=8е т4ко7о MлектDо==о7о доку<е=т4 пDоEто9 Э�. 
� допол=е=8е к &К� код MлектDо==о7о доку<е=т4 EодеD68т 8=DоD<4F8N, ук47K64NIуN =4 л8Fо 
(�=6еEтоD4/�4U<I8к4, упол=о<оGе==о7о пDедEт468телO �=6еEтоD4/�4U<I8к4), от 8<е=8 котоDо7о 
5Kл Eо7д4= 8 (8л8) отпD46ле= MлектDо==K9 доку<е=т. 

19.2.5. Л8Fо, Eо7д4NIее MлектDо==K9 доку<е=т =4 �л4тDоD<е 8 подп8EK64NIее т4ко9 
MлектDо==K9 доку<е=т пDоEто9 Э� опDеделOетEO к4к л8Fо, 46тоD87о64==ое 8 8де=т8D8F8Dо64==ое 
EDедEт64<8 �л4тDоD<K, 8 котоDо<у пD8=4дле68т =о<еD <о58лL=о7о телеDо=4, 8EполL7уе<K9 пD8 

8де=т8D8к4F88 =4 �л4тDоD<е (пD8 оEуIеEт6ле=88 доEтуп4 к ЛК �=6еEтоD4 8л8 ЛК �4U<I8к4 =4 
�л4тDоD<е). 

19.2.6. Л8Fо, Eо7д4NIее MлектDо==K9 доку<е=т 8 подп8EK64NIее т4ко9 MлектDо==K9 
доку<е=т пDоEто9 Э�, о5O74=о Eо5лNд4тL ко=D8де=F84лL=оEтL п4Dоле9 доEтуп4 =4 �л4тDоD<у, =е 
допуEк4тL доEтуп4 тDетL8E л8F к 45о=е=тEк8< уEтDо9Eт64< 8 SIM-к4Dте, 8EполL7уе<K< длO доEтуп4 
к �л4тDоD<е 8 длO 8де=т8D8к4F88 =4 �л4тDоD<е. 

� то< G8Eле, =о =е о7D4=8G864OEL, �=6еEтоD/�4U<I8к (упол=о<оGе==K9 пDедEт468телL 
�=6еEтоD4/�4U<I8к4) о5O74=, 6 FелOE Eо5лNде=8O ко=D8де=F84лL=оEт8 п4Dоле9 8 кодо6 доEтуп4 
к �л4тDоD<е 8 74I8тK доEтуп4 к 45о=е=тEк8< уEтDо9Eт64< 8(8л8) SIM-к4Dте �=6еEтоD4/�4U<I8к4, 
=е 8EполL7о64тL =4 45о=е=тEк8E уEтDо9Eт64E пDо7D4<<=ое о5еEпеGе=8е, ук474==ое 6 п. 19.2.10 
=4EтоOI8E �D468л, 8 =е под6еD74тL 45о=е=тEк8е уEтDо9Eт64 �=6еEтоD4/�4U<I8к4 E8Eте<=K< 8л8 
4пп4D4т=K< <од8D8к4F8O<. 

19.2.7. ЭлектDо==K9 доку<е=т, Eо7д4==K9 �=6еEтоDо</�4U<I8ко< 8 подп8E4==K9 
пDоEто9 Э� 6 поDOдке, уEт4=о6ле==о< =4EтоOI8<8 �D468л4<8, пD87=4етEO доку<е=то< 
подп8E4==K< �=6еEтоDо</�4U<I8ко< Eо5Eт6е==оDуG=о. 

19.2.8. �Dо6еDк4 пDоEто9 Э�, котоDо9 подп8E4= MлектDо==K9 доку<е=т оEуIеEт6лOетEO 
пDо7D4<<=о-теE=оло78GеEк8< ко<плекEо< ОпеD4тоD4. 

19.2.9. &К� отD464етEO =4 EDоD<8Dо64==о< 8 подп8E4==о< т4ко9 подп8ELN MлектDо==о< 
доку<е=те. 

19.2.10. � EлуG4е 8EполL7о64=8O �=6еEтоDо</�4U<I8ко< длO доEтуп4 6 ЛК 
�=6еEтоD4 8л8 ЛК �4U<I8к4 <о58лL=KE уEтDо9Eт6 8 ко<пLNтеDо6, =4 котоDKE уEт4=о6ле=о 8 
8EполL7уетEO =ел8Fе=78о==ое пDо7D4<<=ое о5еEпеGе=8е 8(8л8) уEт4Dе6Hее пDо7D4<<=ое 
о5еEпеGе=8е, 6 то< G8Eле, =о =е о7D4=8G864OEL: 

8EполL7уетEO опеD4F8о==4O E8Eте<4 iOS =86е пDедпоEлед=е9 Dе4л87о64==о9 оD8F84лL=о9 
6еDE88; 

8EполL7уетEO опеD4F8о==4O E8Eте<4 Android =86е пDедпоEлед=е9 Dе4л87о64==о9 
оD8F84лL=о9 6еDE88; 
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уEтDо9Eт6о под6еD7=уто к4к8<-л85о E8Eте<=K< <од8D8к4F8O< (=4пD8<еD, =о =е 
о7D4=8G864OEL, Jailbreak), =4 уEтDо9Eт6е =е поддеD6864етEO 87олOF8O 6Kпол=Oе<KE пDо7D4<<, =4 
уEтDо9Eт6е 6клNGе= Dе68< EупеDполL7о64телO (ROOT); 

подклNGе=8е к �л4тDоD<е оEуIеEт6лOетEO GеDе7 =едо6еDе==Kе proxy EеD6еD4, откDKтKе 
wi-fi Eет8; 

=4 уEтDо9Eт64E 8EполL7уNтEO 5D4у7еDK (Mozilla, Chrome, Safari) E уEт4=о6ле==K<8 
=еоD8F84лL=K<8 пл478=4<8; 

=4 уEтDо9Eт64E =е уEт4=о6ле=о 8 =е D45от4ет 4=т868DуE=ое пDо7D4<<=ое о5еEпеGе=8е E 
де9Eт6уNIе9 л8Fе=78е9 8 о5=о6ле==K<8 (4кту4лL=K<8) 5474<8 д4==KE 68DуEо6 8 6Dедо=оE=KE 
пDо7D4<<. 

!тоDо=K MлектDо==о7о 6748<оде9Eт68O (�=6еEтоD/�4U<I8к/ОпеD4тоD) =е =еEут 
от6етEт6е==оEт8 74 уIеD5 8 у5Kтк8, пD8G8=е==Kе т4ко<у �=6еEтоDу/�4U<I8ку 6о7<о6=K< 
=еE4=кF8о=8Dо64==K< доEтупо< =еупол=о<оGе==K<8 л8F4<8 6 ЛК �=6еEтоD4 8л8 ЛК �4U<I8к4 
=4 �л4тDоD<е, 74 <оHе==8GеEк8е де9Eт68O тDетL8E л8F 6 от=оHе=88 т4ко7о �=6еEтоD4 8л8 
�4U<I8к4, 6 E6O78 E 6о7<о6=о9 ко<пDо<ет4F8е9 8=DоD<4F88 8 д4==KE �=6еEтоD4/�4U<I8к4, 
=ео5Eод8<KE длO доEтуп4 к �л4тDоD<е. 

 

20. О5D45отк4 8=DоD<4F88 уч4Eт=8к4<8 пл4тDоD<O 

 

20.1 �4клNG4O �о7о6оD 8=6еEт8Dо64=8O, EтоDо=K пDедоEт46лONт дDу7 дDу7у Eо7л4E8е 6 
пеD8од де9Eт68O �о7о6оD4 8=6еEт8Dо64=8O, 4 т4к6е 6 теGе=8е 5 (�Oт8) лет поEле пDекD4Iе=8O 
(D4EтоD6е=8O) �о7о6оD4, оEуIеEт6лOтL о5D45отку �еDEо=4лL=KE д4==KE !тоDо= 8(8л8) 8E 
упол=о<оGе==KE пDедEт468теле9 6 EледуNI8E FелOE: 

D4EE<отDе=8е �=6еEтоDо< 6о7<о6=оEт8 пDедоEт46ле=8O �4U<I8ку де=е6=KE EDедEт6, 6 
то< G8Eле путе< 8EклNG8телL=о 46то<4т878Dо64==о9 о5D45отк8 �еDEо=4лL=KE д4==KE �4U<I8к4 
8 е7о упол=о<оGе==KE пDедEт468теле9; 

пDо6еDк4 доEто6еD=оEт8 ук474==KE �4U<I8ко< E6еде=89 8 пDедEт46ле==KE доку<е=то6; 
Eо6еDHе=8е �=6еEтоDо< Eделок 6 E6O78 E Dе4л874F8е9 пD46 кDед8тоD4, 6 то< G8Eле, путе< уEтупк8 

пD46 тDе5о64=8O тDетL8< л8F4<, 6 то< G8Eле, =е O6лONI8<EO <8кDоD8=4=Eо6K<8 
оD74=874F8O<8 8(8л8) оD74=874F8O<8, =е O6лONI8<8EO кDед8т=K<8 8 =е 8<еNI8<8 л8Fе=788 =4 
оEуIеEт6ле=8е 54=ко6Eко9 деOтелL=оEт8, 6клNG4O пу5л8G=ое D47<еIе=8е �=6еEтоDо< 
8=DоD<4F88 о 6о7<о6=оEт8 уEтупк8 пD46 (тDе5о64=89) по �о7о6оDу 8=6еEт8Dо64=8O; 

8EтDе5о64=8е (по74Hе=8е, 67KEк4=8е) 74дол6е==оEт8 по о5O74телLEт64< �4U<I8к4 пеDед 
�=6еEтоDо<; 

8=Kе Fел8, пDO<о пDедуE<отDе==Kе �о7о6оDо< 8=6еEт8Dо64=8O 8 =4EтоOI8<8 �D468л4<8. 
 

20.2 �о 8EтеGе=88 ук474==о7о EDок4 де9Eт68е Eо7л4E8O EG8т4етEO пDодле==K< =4 к46дKе 
EледуNI8е 5 (�OтL) лет пD8 отEутEт688 E6еде=89 о е7о от7K6е (от7K6 <о6ет 5KтL =4пD46ле= 
!тоDо=о9 6 п8EL<е==о9 DоD<е по Dек6878т4< дDу7о9 !тоDо=K, поEлед=8< 876еEт=K< 
=4пD46лONIе9 от7K6 !тоDо=е). 

 

20.3 'к47K64O 6 �=6еEт8F8о==о< пDедло6е=88 8л8 �кFепте 8 6 8=KE доку<е=т4E 
E6еде=8O о тDетL8E л8F4E (EупDу7е, пDедEт468теле, 6K7одопD8о5Dет4теле 8(8л8) 8=KE л8F4E), 
!тоDо=4 по �о7о6оDу 8=6еEт8Dо64=8O поDуG4ет �Dу7о9 !тоDо=е по �о7о6оDу 749<4 оEуIеEт6лOтL 
о5D45отку пDедоEт46ле==KE еN пеDEо=4лL=KE д4==KE ук474==KE л8F 6 FелOE, ук474==KE 6 
�о7о6оDе 749<4. 

�D8 Mто< !тоDо=4, пDедоEт4686H4O пеDEо=4лL=Kе д4==Kе т4к8E л8F =еEет от6етEт6е==оEтL 
74 поEледEт68O, 6 то< G8Eле 8<уIеEт6е==о7о E4D4ктеD4, 74 =4DуHе=8е тDе5о64=89 полуGе=8O 
т4ко7о Eо7л4E8O от ук474==KE тDетL8E л8F Eо7л4E8O =4 о5D45отку дDу7о9 !тоDо=о9 8E пеDEо=4лL=KE 
д4==KE, 4 т4к6е Gто до ук474==KE л8F до6еде=4 8=DоD<4F8O 6 Eоот6етEт688 E тDе5о64=8O<8 
$едеD4лL=о7о 74ко=4 №152-$� «О пеDEо=4лL=KE д4==KE». 
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20.4 О5D45отк4 пеDEо=4лL=KE д4==KE оEуIеEт6лOетEO !тоDо=4<8 E Eо5лNде=8е< 
тDе5о64=8O к 74I8те о5D454тK64е<KE пеDEо=4лL=KE д4==KE, уEт4=о6ле==Kе Eт. 19 $едеD4лL=о7о 
74ко=4 №152-$� «О пеDEо=4лL=KE д4==KE». 

 

20.5 !тоDо=4 6пD46е 6 п8EL<е==о9 DоD<е =4пD468тL 74O6ле=8е о5 от7K6е 
пDедоEт46ле==KE �еDEо=4лL=KE д4==KE 6 EDок =е D4=ее, Gе< 74 30 (&D8дF4т8) к4ле=д4D=KE д=е9 
до пDедпол474е<о9 д4тK от7K64 �еDEо=4лL=KE д4==KE. 

 

20.6 �4U<I8к, 74клNG4O �о7о6оD 8=6еEт8Dо64=8O 74O6лOет, Gто е<у 876еEт=о о пD46е =4 
пDедоEт46ле=8е �=6еEтоDо< 8 ОпеD4тоDо< 6 лN5ое 5NDо кDед8т=KE 8EтоD89 (74Dе78EтD8Dо64==KE 
6 Eоот6етEт688 E 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88) по уE<отDе=8N �=6еEтоD4 8л8 
ОпеD4тоD4 8=DоD<4F88 о �4U<I8ке 8 о5O74телLEт6е �4U<I8к4 по �о7о6оDу 8=6еEт8Dо64=8O, 
пDедуE<отDе==о9 Eт4тLе9 4 $едеD4лL=о7о 74ко=4 «О кDед8т=KE 8EтоD8OE» №218-$� от 30.12.20047. 

 

21 �DекD4ще=8е уEлу7 ОпеD4тоD4   
   

21.1. �DедоEт46ле=8е уEлу7 ОпеD4тоD4 �л4тDоD<K по от=оHе=8N к ко=кDет=о<у 
'G4Eт=8ку пл4тDоD<K <о6ет 5KтL пDекD4Iе=о ОпеD4тоDо< �л4тDоD<K 6 EледуNI8E EлуG4OE:   

1) по 8=8F84т86е 'G4Eт=8к4 пл4тDоD<K (=4 оE=о64=88 Eоот6етEт6уNIе7о 74O6ле=8O, 
=4пD46ле==о7о ОпеD4тоDу �л4тDоD<K поEDедEт6о< Л8G=о7о к458=ет4), еEл8 у =е7о =ет 
де9Eт6уNI8E 74клNGе==KE до7о6оDо6 E дDу78<8 'G4Eт=8к4<8 пл4тDоD<K, =ет пD8=OтKE 8<, к4к 
8=6еEтоDо< 8=6еEт8F8о==KE пDедло6е=89 л85о =ет пD8=OтKE 8=6еEтоD4<8 е7о (к4к �4U<I8к4) 
8=6еEт8F8о==KE пDедло6е=89, 4 т4к6е о= =е 8<еет =епо74Hе==KE о5O74телLEт6 пеDед 
'G4Eт=8к4<8 пл4тDоD<K 8 (8л8) ОпеD4тоDо< �л4тDоD<K. 

2) по Eо7л4Hе=8N <е6ду Л8Fо<, пD86лек4NI8< 8=6еEт8F88 8 ОпеD4тоDо< 
�л4тDоD<K, 6 поDOдке, ук474==о< 6 п.18.4. =4EтоOIе7о D47дел4 �D468л;   

3) по 8=8F84т86е ОпеD4тоD4 �л4тDоD<K, еEл8 'G4Eт=8к пл4тDоD<K =4DуH8л к4к8е-

л85о тDе5о64=8O 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, =4EтоOI8E �D468л, лок4лL=KE 4кто6 
�л4тDоD<K, до7о6оD4 E ОпеD4тоDо< �л4тDоD<K 8л8 дDу78<8 'G4Eт=8к4<8 пл4тDоD<K, л85о еEл8 
д4лL=е9Hее пDедоEт46ле=8е уEлу7 Eт4=о68тEO =е6о7<о6=K< по пD8G8=4<, =е 7468EOI8< от 
ОпеD4тоD4.  

Од=оEтоDо==89 отк47 лN5о9 87 EтоDо= =е6о7<о6е= пD8 =4л8G88 де9Eт6уNI8E до7о6оDо6 
8=6еEт8Dо64=8O, 4 т4к6е 6 EлуG4е, еEл8 8=6еEтоD пD8=Oл 8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о 
8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» длO отк474 от 74клNGе=8O до7о6оD4 
8=6еEт8Dо64=8O. 

  

21.2. � EлуG4е пDекD4Iе=8O ОпеD4тоDо< �л4тDоD<K пDедоEт46ле=8O уEлу7 'G4Eт=8ку 
пл4тDоD<K по оE=о64=8O<, ук474==K< 6 пп.2 8 пп.3 п.21.1. =4EтоOIе7о D47дел4 �D468л, у т4ко7о 
'G4Eт=8к4 пл4тDоD<K EоED4=OетEO доEтуп к �л4тDоD<е длO пол=о7о 8Eпол=е=8O E6о8E о5O74телLEт6 
пеDед дDу78<8 'G4Eт=8к4<8 пл4тDоD<K 8 (8л8) пеDед ОпеD4тоDо< �л4тDоD<K (о5O74телLEт6, 
котоDKе 6о7=8кл8 до <о<е=т4 пDекD4Iе=8O пDедоEт46ле=8O Mто<у 'G4Eт=8ку пл4тDоD<K уEлу7 
ОпеD4тоD4 �л4тDоD<K).  

 Од=оEтоDо==89 отк47 лN5о9 87 EтоDо= =е6о7<о6е= пD8 =4л8G88 де9Eт6уNI8E до7о6оDо6 
8=6еEт8Dо64=8O, 4 т4к6е 6 EлуG4е, еEл8 8=6еEтоD пD8=Oл 8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о 
8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» длO отк474 от 74клNGе=8O до7о6оD4 
8=6еEт8Dо64=8O. 

 

21.3.  4EтоD6е=8е �о7о6оD4 о5 ок474=88 уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88 
допуEк4етEO 6 лN5о9 <о<е=т 6Dе<е=8, кDо<е теE EлуG4е6, ко7д4 �=6еEтоD пD8=Oл од=о 87 
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�=6еEт8F8о==KE пDедло6е=89, D47<еIе==KE =4 �=6еEт8F8о==о9 пл4тDоD<е, 8 де9Eт68е т4ко7о 
�=6еEт8F8о==о7о пDедло6е=8O еIе =е пDекD4т8лоEL. 'к474==ое поло6е=8е де9Eт6ует E уGето< 
то7о, Gто �=6еEтоD <о6ет Dе4л87о64тL E6ое пD46о =4 отк47 от 74клNGе=8O до7о6оD4 8=6еEт8Dо64=8O 
6 теGе=8е пOт8 D45оG8E д=е9 Eо д=O е7о пD8=Oт8O, =о =е по7д=ее д=O пDекD4Iе=8O де9Eт68O 
8=6еEт8F8о==о7о пDедло6е=8O, пDедуE<отDе==ое G4EтLN 4 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 
02.08.2019 № 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 
о 6=еEе=88 87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88».  

Од=оEтоDо==89 отк47 лN5о9 87 EтоDо= =е6о7<о6е= пD8 =4л8G88 де9Eт6уNI8E до7о6оDо6 
8=6еEт8Dо64=8O, 4 т4к6е 6 EлуG4е, еEл8 8=6еEтоD пD8=Oл 8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о 
8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» длO отк474 от 74клNGе=8O до7о6оD4 
8=6еEт8Dо64=8O. 

 

21.4.  4EтоD6е=8е �о7о6оD4 о5 ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89 по 
Eо7л4Hе=8N EтоDо= допуEк4етEO до <о<е=т4 пеDеG8Eле=8O EDедEт6 8=6еEт8Dо64=8O E 
�о<8=4лL=о7о EGет4 ОпеD4тоD4 =4 54=ко6Eк89 EGет Л8F4, пD86лек4NIе7о 8=6еEт8F88 8 пD8 
уEло688, Gто по 8=6еEт8F8о==K< пDедло6е=8O< �4U<I8к4 =ет пD8=OтKE 8=6еEтоD4<8 
8=6еEт8F8о==KE пDедло6е=89.  

� EлуG4е, еEл8 Л8Fо<, пD86лек4NI8< 8=6еEт8F88, 5Kло D47<еIе=о �=6еEт8F8о==ое 
пDедло6е=8е, де9Eт6уNIее =4 <о<е=т пDекD4Iе=8O �о7о6оD4 о5 ок474=88 уEлу7 по пD86леGе=8N 
8=6еEт8F89 (�=6еEт8F8о==ое пDедло6е=8е, по котоDо<у =4 <о<е=т пDекD4Iе=8O �о7о6оD4 
8=6еEтоD пD8=Oл 8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о =е 8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 
Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� длO отк474 от 74клNGе=8O до7о6оD4 
8=6еEт8Dо64=8O, 8(8л8) =4 оE=о64=88 котоDо7о 5Kл 74клNGе=  �о7о6оD 8=6еEт8Dо64=8O), то о=о 
пDодол64ет де9Eт6о64тL до пол=о7о 8Eпол=е=8O EтоDо=4<8 (ОпеD4тоDо< �л4тDоD<K 8 Л8Fо<, 
пD86лек4NI8< 8=6еEт8F88) о5O74телLEт6, 6о7=8кH8E 6 E8лу т4ко7о до7о6оD4 до е7о D4EтоD6е=8O 8 
=е8Eпол=е==KE =4 д4ту е7о D4EтоD6е=8O. �D8 Mто< Л8Fо, пD86лек4NIее 8=6еEт8F88, =е 6пD46е 
D47<еI4тL 8=Kе �=6еEт8F8о==Kе пDедло6е=8O =4 �л4тDоD<е E д4тK D4EтоD6е=8O �о7о6оD4 о5 
ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89 (пDекD4Iе=8O пDедоEт46ле=8O е<у уEлу7 ОпеD4тоDо< 
�л4тDоD<K).  

Од=оEтоDо==89 отк47 лN5о9 87 EтоDо= =е6о7<о6е= пD8 =4л8G88 де9Eт6уNI8E до7о6оDо6 
8=6еEт8Dо64=8O, 4 т4к6е 6 EлуG4е, еEл8 8=6еEтоD пD8=Oл 8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о 
8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» длO отк474 от 74клNGе=8O до7о6оD4 
8=6еEт8Dо64=8O. 

 

21.5. � EлуG4е, еEл8 пDекD4Iе=8е ОпеD4тоDо< �л4тDоD<K пDедоEт46ле=8O уEлу7 Л8Fу, 
пD86лек4NIе<у 8=6еEт8F88, пDо87оHло по оE=о64=8O<, ук474==K< 6 пп. 3 п.21.1. =4EтоOIе7о 
D47дел4 �D468л, 6 т.G. 6 Eоот6етEт688 E тDе5о64=8O<8 7оEуд4DEт6е==KE оD74=о6, 8 (8л8) 6EледEт68е 
=4Eтупле=8O Eо5Kт89, пDедуE<отDе==KE =оD<4т86=K<8 пD46о6K<8 4кт4<8  оEE89Eко9 
$едеD4F88, 8 (8л8) 6=утDе==8<8 Dе7л4<е=т=K<8 доку<е=т4<8 ОпеD4тоD4 �л4тDоD<K 6 FелOE 
пDот86оде9Eт68O ле74л874F88 (от<K64=8N) доEодо6, полуGе==KE пDеEтуп=K< путе<, 8 
D8=4=E8Dо64=8N теDDоD87<4, 6 EлуG4е =4G4л4 пDоFедуD 54=кDотEт64 6 от=оHе=88 �4U<I8к4, - то 
E5оD де=е6=KE EDедEт6 по т4ко<у �=6еEт8F8о==о<у пDедло6е=8N пDекD4I4етEO 6 <о<е=т 
=4Eтупле=8O (6KO6ле=8O) ук474==KE 6KHе Eо5Kт89, 4 6Eе  де=е6=Kе EDедEт64 �=6еEтоD4 
(�=6еEтоDо6), D4=ее 74G8Eле==Kе по т4ко<у �=6еEт8F8о==о<у пDедло6е=8N =4 �о<8=4лL=K9 EGет 
ОпеD4тоD4 �л4тDоD<K, подле64т 6о76D4ту =4 Eоот6етEт6уNI8е 54=ко6Eк8е EGет4, E котоDKE 
ук474==Kе де=е6=Kе EDедEт64 5Kл8 пеDеG8Eле=K =4 �о<8=4лL=K9 EGет. � Mто< EлуG4е ОпеD4тоD 
�л4тDоD<K =4пD46лOет у6едо<ле=8е 6 MлектDо==о9 DоD<е GеDе7 Л8G=K9 к458=ет �=6еEтоD4 те< 
�=6еEтоD4<, котоDKе пD8=Oл8 (4кFепто64л8) E по<оILN теE=8GеEк8E EDедEт6 �л4тDоD<K т4кое 
�=6еEт8F8о==ое пDедло6е=8е.  
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Од=оEтоDо==89 отк47 лN5о9 87 EтоDо= =е6о7<о6е= пD8 =4л8G88 де9Eт6уNI8E до7о6оDо6 
8=6еEт8Dо64=8O, 4 т4к6е 6 EлуG4е, еEл8 8=6еEтоD пD8=Oл 8=6еEт8F8о==ое пDедло6е=8е, =о у =е7о 
8Eтек EDок, уEт4=о6ле==K9 G4EтLN 4 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» длO отк474 от 74клNGе=8O до7о6оD4 
8=6еEт8Dо64=8O. �EклNGе=8O длO Dе4л874F88 од=оEтоDо==е7о отк474 EоEт46лONт те EлуG48, ко7д4 
т4ко9 отк47 уDе7ул8Dо64= 8(8л8) пDедуE<отDе= тDе5о64=8O<8 де9Eт6уNIе7о 74ко=од4телLEт64  $.  

 

22. �оDOдок пу5л8к4F88 8 6=еEе=8O 87<е=е=89 (допол=е=89) 6 пD468л4 
пл4тDоD<O  

  

22.1. �4EтоOI8е �D468л4 подле64т D4EкDKт8N 8 D47<еIе=8N длO о7=4ко<ле=8O 
=ео7D4=8Gе==о<у кDу7у 748=теDеEо64==KE л8F – =4 оD8F84лL=о< E49те ОпеD4тоD4 6 
8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 «�=теD=ет». ОEуIеEт6лOO полL7о64=8е 
�л4тDоD<о9, 'G4Eт=8к подт6еD6д4ет, Gто о7=4ко<ле=, по=8<4ет 8 пол=оEтLN Eо7л4Eе= E 
�D468л4<8 (6 Dед4кF88, де9Eт6уNIе9 =4 <о<е=т D4кт8GеEко7о 8EполL7о64=8O �л4тDоD<K) 8 
поDOдко< 6=еEе=8O 87<е=е=89 6 �D468л4 – 6 �о7о6оD о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88 (длO �=6еEтоD4) 8 �о7о6оD о5 ок474=88 уEлу7 по пD86леGе=8N 8=6еEт8F89 (длO 
�4U<I8к4). 

 

22.2. ОпеD4тоD �л4тDоD<K 8<еет пD46о 6 од=оEтоDо==е< поDOдке 6=оE8тL 87<е=е=8O 8 
(8л8) допол=е=8O 6 =4EтоOI8е �D468л4, 4 т4к6е пD8=8<4тL �D468л4 пл4тDоD<K 6 =о6о9 Dед4кF88.   

  

22.3. � EлуG4е, еEл8 87<е=е=8O 6=оEOтEO 6 пD8ло6е=8е к �D468л4< пл4тDоD<K, то т4кое 
пD8ло6е=8е пD8=8<4етEO 6 =о6о9 Dед4кF88. ОпеD4тоD �л4тDоD<K 6пD46е пD8=8<4тL =о6Kе 
пD8ло6е=8O к �D468л4< 6 допол=е=8е к де9Eт6уNI8< 6 текуIе9 Dед4кF88 �D468л пл4тDоD<K 6 
од=оEтоDо==е< поDOдке.  

  

22.4. �D468л4 пл4тDоD<K, 4 т4к6е 6Eе поEледуNI8е 87<е=е=8O 8 (8л8) допол=е=8O к 
=8<, 6клNG4O пD8=Oт8е �D468л 8 (8л8) пD8ло6е=89 к �D468л4< 6 =о6о9 Dед4кF88, ут6еD6д4NтEO 
DеHе=8е< ед8=Eт6е==о7о уG4Eт=8к4 ООО «�47=у<�=6еEт» (ОпеD4тоD4 �л4тDоD<K).  

  

22.5. �7<е=е=8O 8 (8л8) допол=е=8O, 6=оE8<Kе 6 =4EтоOI8е �D468л4, 6Eтуп4Nт 6 E8лу 
GеDе7 5 (пOтL) д=е9 поEле д=O D4EкDKт8O 8=DоD<4F88 о5 Mто< =4 оD8F84лL=о< !49те ОпеD4тоD4 
�л4тDоD<K.  4EкDKт8е 8=DоD<4F88 о5 87<е=е=8OE 8 (8л8) допол=е=8OE, 6=оE8<KE 6 =4EтоOI8е 
�D468л4, оEуIеEт6лOетEO ОпеD4тоDо< поEле Eо7л4Eо64=8O E �4=ко<  оEE88 т4к8E 87<е=е=89 8 (8л8) 
допол=е=89, 6 поDOдке пDедуE<отDе==о< $едеD4лL=K< 74ко=о< от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88». 

  

22.6. �7<е=е=8O 8 (8л8) допол=е=8O 6 =4EтоOI8е �D468л4 =е D4EпDоEтD4=ONтEO =4 
от=оHе=8O <е6ду 'G4Eт=8к4<8 пл4тDоD<K 8 ОпеD4тоDо< �л4тDоD<K, 6о7=8кH8е до 6Eтупле=8O 6 
E8лу т4к8E 87<е=е=89 8 (8л8) допол=е=89.  

  

22.7.  47<еIе=8е 8=DоD<4F88 о5 87<е=е=88 8 (8л8) допол=е=88 �D468л пл4тDоD<K 
оEуIеEт6лOетEO ОпеD4тоDо< �л4тDоD<K путе< пу5л8к4F88 =о6о9 Dед4кF89 �D468л пл4тDоD<K, 
87<е=е=89 8 (8л8) допол=е=89 к =8< =4 оD8F84лL=о< !49те �л4тDоD<K E ук474=8е< д4тK 
D4EкDKт8O 8=DоD<4F88 8 д4тK 6Eтупле=8O 6 E8лу �D468л пл4тDоD<K, EодеD64I8E 87<е=е=8O 8 
(8л8) допол=е=8O. �о<е=то< о7=4ко<ле=8O 'G4Eт=8ко6 8 тDетL8E л8F E =о6о9 Dед4кF8е9 �D468л 
EG8т4етEO <о<е=т D47<еIе=8O �D468л =4 E49те �л4тDоD<K 6 8=DоD<4F8о==о-

телеко<<у=8к4F8о==о9 Eет8 «�=теD=ет». 
  

22.8. �опол=8телL=о к пу5л8к4F88 =о6о9 Dед4кF88 �D468л: 
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" =4 E49те ОпеD4тоD4 �л4тDоD<K 6 то< 6е D47деле пу5л8куетEO кD4тк4O EпD46к4 о5 
87<е=е=8OE 8 (8л8) допол=е=8OE, 6=еEе==KE 6 �D468л4, 74 8EклNGе=8е< EлуG4е6 еEл8 6 �D468л4 
6=оE8л8EL «теE=8GеEк8е 87<е=е=8O», =е ок47K64NI8е 6л8O=8O =4 уEло68O до7о6оDо6 8 поDOдок 
полL7о64=8O �л4тDоD<о9.   

 

" ОпеD4тоD �л4тDоD<K у6едо<лOет �олL7о64теле9 8 'G4Eт=8ко6 пл4тDоD<K о 
D47<еIе=88 =4 E49те ОпеD4тоD4 �л4тDоD<K =о6о9 Dед4кF88 �D468л GеDе7 Л8G=K9 к458=ет 8 (8л8) 
путе< =4пD46ле=8O Eоо5Iе=8O =4 MлектDо==K9 4дDеE, ук474==K9 пD8 Dе78EтD4F88.  

 

22.9.  'G4Eт=8к о5O7уетEO E4<оEтоOтелL=о E пеD8од8G=оEтLN, 8< уEт4=о6ле==о9, 
отEле6864тL =4 E49те ОпеD4тоD4 87<е=е=8O �D468л. 'G4Eт=8к от6еG4ет 74 лN5Kе поEледEт68O, 
=4Eтуп86H8е 6 E6O78 E =ео7=4ко<ле=8е< 8л8 =еE6ое6Dе<е==K< о7=4ко<ле=8е< E 6Eтуп86Hе9 6 
E8лу =о6о9 Dед4кF8е9 �D468л пл4тDоD<K, 87<е=е=89 8 (8л8) допол=е=89 к =8<. 

  

22.10. � EлуG4е, еEл8 'G4Eт=8к =е Eо7л4Eе= E =о6о9 Dед4кF8е9 �D468л 8л8 еU G4Eт8, о= 
о5O74= =е74<едл8телL=о пDекD4т8тL 8EполL7о64=8е �л4тDоD<K (74 8EклNGе=8е< 8EполL7о64=8O 
DоD< о5D4т=о9 E6O78 E ОпеD4тоDо< длO =4пD46ле=8O ОпеD4тоDу Eоо5Iе=89 8 полуGе=8O от 
ОпеD4тоD4 от6ето6/у6едо<ле=89/8=о9 8=DоD<4F88) 8 у6едо<8тL о5 Mто< ОпеD4тоD4 поEDедEт6о< 
полL7о64телLEко7о 8=теDDе9E4 GеDе7 Л8G=K9 к458=ет 'G4Eт=8к4.   

 

22.11. �е9Eт6о646H8е до 6Eтупле=8O 6 E8лу 87<е=е=89 8(8л8) допол=е=89 �D468л4 
пл4тDоD<K оEт4NтEO доEтуп=K<8 6Eе< 748=теDеEо64==K< л8F4< =4 !49те ОпеD4тоD4 �л4тDоD<K 
8 пD8<е=ONтEO до д4тK 6Eтупле=8O 6 E8лу �D468л пл4тDоD<K, EодеD64I8E 87<е=е=8O 8(8л8) 
допол=е=8O.  

  

22.12. �D468л4 6 Dед4кF88, утD4т86Hе9 E8лу, D4EкDK64NтEO =4 E49те ОпеD4тоD4 
�л4тDоD<K 6 теGе=8е тDеE лет E д4тK 6Eтупле=8O 6 E8лу 87<е=е==о9 Dед4кF88 �D468л (6 D47деле 
«�оку<е=тK пл4тDоD<K» - � %��). �D8 Mто< D4EкDKт8е D4=ее де9Eт6о646H8E Dед4кF89 �D468л 
оEуIеEт6лOетEO EпоEо5о<, по76олONI8< лN5о<у 748=теDеEо64==о<у л8Fу полуG8тL к =8< доEтуп 
Eо EтD4=8FK E49т4 ОпеD4тоD4 �л4тDоD<K, =4 котоDо9 D4EкDK64NтEO де9Eт6уNI4O Dед4кF8O �D468л 
8 =о6Kе Dед4кF88 �D468л до <о<е=т4 8E 6Eтупле=8O 6 E8лу.    

 

23. �еDече=P пD8ло6е=89 к пD468л4< 

 

1. $оD<4 �4O6ле=8е �4U<I8к4 о пD8Eоед8=е=88 к �D468л4<; 
2. $оD<4 �4O6ле=8е �=6еEтоD4 о пD8Eоед8=е=88 к �D468л4<; 
3. $оD<4 �=6еEт8F8о==о7о пDедло6е=8O �4U<I8к4; 
4. $оD<4 �кFепт4 �=6еEтоD4; 
5.           &4D8DK �л4тDоD<K; 
6. $оD<4 6Kп8Eк8 87  ееEтD4 до7о6оDо6 �л4тDоD<K; 
7.  е7л4<е=т пD8E6ое=8O �=6еEтоDу Eт4туE4 К64л8D8F8Dо64==о7о 8=6еEтоD4. 
8.  о5от 8=6еEт8Dо64=8O. 
9. �ол8т8к4 от5оD4 74O6ок. 
10. �ол8т8к4 D45отK E пDоEDоGе==о9 74дол6е==оEтLN (�=DоD<4F8O о де9Eт68OE, 
              котоDKе <о7ут 5KтL пDедпD8=OтK 8=6еEтоDо< 6 EлуG4е =е8Eпол=е=8O о5O74телLEт6 

              л8Fо<, пD86лек4NI8< 8=6еEт8F88) 
11. �екл4D4F8O о D8Eк4E.  
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�D8ло6е=8е № 1: �4O6ле=8е �4U<щ8к4 о пD8Eоед8=е=88 к �D468л4<  
8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

 

 

1. !6еде=8O о �4U<I8ке: 
�ол=ое =48<е=о64=8е  

 

 

!окD4IU==ое =48<е=о64=8е  

 

 

О� � / О� ���  

 

 

��� 

 

 

�дDеE ND8д8GеEк89  

 

 

�дDеE D4кт8GеEк89 

 

 

$�О Dуко6од8телO 

 

 

!еD8O 8 =о<еD п4EпоDт4 Dуко6од8телO 

 

 

&елеDо= 

 

 

e-mail  

 

 

�е=еD8F84D=K9(Kе) 6л4делеF(FK)  

 

 

  

 

2. �одп8EK64O 74O6ле=8е подт6еD6д4N: 
" $878GеEкое л8Fо/�д8=ол8G=K9 8Eпол=8телL=K9 оD74= оD74=874F88/�DедEт468телL 

�4U<I8к4/�K7одопD8о5Dет4телL/�е=еD8F84D=K9 6л4делеF =е O6лOетEO пу5л8G=K< дол6=оEт=K< 
л8Fо<, 6 т.G., ук474==K< 6 Eт.7.3. $едеD4лL=о7о 74ко=4 от 07.08.20017. № 115-$� «О 
пDот86оде9Eт688 ле74л874F88 (от<K64=8N) доEодо6, полуGе==KE пDеEтуп=K< путе<, 8 
D8=4=E8Dо64=8N теDDоD87<4» (6 то< G8Eле 5K6H8< пу5л8G=K< дол6=оEт=K< л8Fо<, E <о<е=т4 
Eло6е=8O пол=о<оG89, котоDо7о пDоHло <е=ее 7од4), 8л8 е7о 5л87к8< DодEт6е==8ко</Gле=о< 
Eе<L8 (EупDу78; л8F4, котоDKе EG8т4NтEO EупDу74<8 по =4F8о=4лL=о<у пD46у 7оEуд4DEт64 
(7D46д4=Eк8е 5D4к8): дет8 8 EупDу78 дете9; л85о л8F4, котоDKе EG8т4NтEO EупDу74<8 дете9 по 
=4F8о=4лL=о<у пD46у 7оEуд4DEт64; Dод8тел8); 

" �4U<I8к-ND8д8GеEкое л8Fо (е7о ед8=ол8G=K9 8Eпол=8телL=K9 оD74=) пD8EутEт6ует 
по 4дDеEу <еEто=4Eо6де=8O, E6еде=8O о котоDо< EодеD64тLEO 6 ед8=о< 7оEуд4DEт6е==о< DееEтDе 
ND8д8GеEк8E л8F; 

" �=DоD<4F8O о5о 6EеE л8F4E, O6лONI8EEO �е=еD8F84D=K<8 6л4делLF4<8 
�4U<I8к4, пDедEт46ле=4 ОпеD4тоDу �л4тDоD<K. 

3.  уко6одEт6уOEL $едеD4лL=K< 74ко=о< от 02.08.2019 № 259-$� «О пD86леGе=88 
8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88», �D46д4=Eк8< кодекEо<  $ 8 �D468л4<8 
8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» (ООО «�47=у<�=6еEт», (��� 1841096768, О� � 
1201800024480) (д4лее - «ОпеD4тоD»), �4U<I8к пеDед4ет, 4 ОпеD4тоD пD8=8<4ет =4EтоOIее 
�4O6ле=8е о пD8Eоед8=е=88 (д4лее – «�4O6ле=8е о пD8Eоед8=е=88») к �D468л4< 8=6еEт8F8о==о9 
пл4тDоD<K «�47=у<�=6еEт» (д4лее - «�D468л4») 6 FелOE 74клNGе=8O до7о6оD4 о5 ок474=88 уEлу7 
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по пD86леGе=8N 8=6еEт8F89. �4U<I8к 74клNG4ет ук474==K9 до7о6оD поEDедEт6о< пD8Eоед8=е=8O 
к �D468л4< (Eт. 428 �D46д4=Eко7о кодекE4  $). 

4. �4EтоOI8< �4U<I8к, 6 FелOE пD8Eоед8=е=8O к �D468л4<, длO д4лL=е9Hе7о 
8Eпол=е=8O 6748<=KE о5O74телLEт6 6 D4<к4E 74клNG4е<KE пD8 по<оI8 EDедEт6 �л4тDоD<K 
�о7о6оDо6, 4 т4к6е 6 FелOE пDо6еDк8 8 оFе=к8 пл4те6еEпоEо5=оEт8/5л47о=4де6=оEт8 8(8л8) 
D8=4=Eо6о7о поло6е=8O 8(8л8) дело6о9 Dепут4F88, пDо6еDк8 E6еде=89, ук474==KE 6 д4==о< 
�4O6ле=88, оFе=к8 D8Eк4 EотDуд=8GеEт64, 6 теGе=8е EDок4 де9Eт68O до7о6оD=KE от=оHе=89, 4 т4к6е 
6 теGе=8е поEледуNI8E 5 (�Oт8) лет E <о<е=т4 пDекD4Iе=8O EотDуд=8GеEт64: 

�еDед4ет ОпеD4тоDу �еDEо=4лL=Kе д4==Kе 8 6KD464ет Eо7л4E8е =4 о5D45отку E 
8EполL7о64=8е< EDедEт6 46то<4т874F88 8л8 5е7 8EполL7о64=8O т4к8E EDедEт6 (6клNG4O E5оD, 
74п8EL, E8Eте<4т874F8N, =4копле=8е, ED4=е=8е, утоG=е=8е (о5=о6ле=8е, 87<е=е=8е), 876леGе=8е, 
8EполL7о64=8е, пеDед4Gу (D4EпDоEтD4=е=8е, пDедоEт46ле=8е, доEтуп), о5е7л8G864=8е, 
5лок8Dо64=8е, уд4ле=8е, у=8Gто6е=8е) E6о8E пеDEо=4лL=KE д4==KE, 6клNG4O, =о =е 
о7D4=8G864OEL, п4EпоDт=Kе д4==Kе, $�О, <еEто 68телLEт64, д4т4 Dо6де=8O, =о<еD <о58лL=о7о/ 
7оDодEко7о, телеDо=4, 8=Kе E6еде=8O, 4 т4к6е оEуIеEт6ле=8е лN5KE 8=KE де9Eт689 E 
пDедоEт46лOе<K<8 �еDEо=4лL=K<8 д4==K<8 E уGето< де9Eт6уNIе7о 74ко=од4телLEт64. 

�KD464ет Eо7л4E8е =4 пеDед4Gу ОпеD4тоDо< E6о8E �еDEо=4лL=KE д4==KE, 6 то< G8Eле =4 
тD4=E7D4=8G=уN пеDед4Gу длO доEт86е=8O 6KHеук474==KE Fеле9, тDетLе<у л8Fу; 6 
<е6ду=4Dод=Kе �л4те6=Kе E8Eте<K MasterCard Worldwide, Visa International, 8 =4F8о=4лL=уN 
пл4те6=уN E8Eте<у «�� », 4 т4к6е =е кDед8т=о9, =е54=ко6Eко9 оD74=874F88, 4 т4к6е 8E 47е=т4< 
8 8=K< упол=о<оGе==K< л8F4<, 4 т4к6е 6 EлуG4е 6о7=8к=о6е=8O 74дол6е==оEт8 у �4U<I8к4, пD8 
пD86леGе=88 ОпеD4тоDо< тDетL8E л8F к ок474=8N уEлу7 ОпеD4тоDу 8 тDетL8< л8F4< по 67KEк4=8N 
т4ко9 74дол6е==оEт8 E �4U<I8к4 (6 то< G8Eле 6 EлуG4е уEтупк8 ОпеD4тоDо< (е9) пD46 тDе5о64=8O к 
�4U<I8ку тDетL8< л8Fо< (8л8 тDетLе<у л8Fу) 8л8 5е7 уEтупк8 т4ко7о пD464) E пDедоEт46ле=8е< 
пD464 т4к8< тDетL8< л8F4< =4 о5D45отку пеDед464е<KE �еDEо=4лL=KE д4==KE 5е7 полуGе=8O 
допол=8телL=о7о Eо7л4E8O. 

�одп8EK64O =4EтоOIее �4O6ле=8е о пD8Eоед8=е=88, �4U<I8к (ед8=ол8G=K9 
8Eпол=8телL=K9 оD74= �4U<I8к4) подт6еD6д4ет, Gто O6лOетEO полL7о64теле< 45о=е=тEко7о 
=о<еD4, ук474==о7о 6 D47деле «&елеDо=» =4EтоOIе7о �4O6ле=8O о пD8Eоед8=е=88, 8 д4ет Eо7л4E8е 
��О «�K<пелКо<» (�у5л8G=ое 4кF8о=еD=ое о5IеEт6о «�K<пел-Ко<<у=8к4F88»,  оEE89Eк4O 
$едеD4F8O, 127083, 7. �оEк64, ул. �оEL<о7о <4Dт4, до< 10, EтDое=8е 14); ООО «� �4т4» (115280 7. 
�оEк64, ул. Ле=8=Eк4O !ло5од4, д.19); ��О �&! (109147, 7. �оEк64, ул. �4DкE8EтEк4O д.4); ООО «&2 
�о549л» (108811, 7оDод �оEк64, к8ло<етD К8е6Eкое HоEEе 22-9 (п �оEко6Eк89), до<о6л4де=8е 6 
EтDое=8е 1, Mт46 5 ко<=4т4 33); ��О «�е74Dо=» (127006, 7. �оEк64, пеD. ОDу6е9=K9, д.41) =4 
о5D45отку, 6 FелOE 8Eпол=е=8O до7о6оD=KE о5O74телLEт6, EледуNI8E д4==KE: телеDо==K9 =о<еD, 
8=DоD<4F8O о5 ок474==KE ОпеD4тоD4<8 уEлу74E E6O78 (6 то< G8Eле 8=DоD<4F88 о <ое< 
<еEто=4Eо6де=88 пD8 полуGе=88 уEлу7 E6O78) 8 пл4те64E 74 Mт8 уEлу78 по до7о6оDу о5 ок474=88 
уEлу7 E6O78, 8де=т8D8к4тоDK полL7о64телLEко7о (око=еG=о7о) о5оDудо64=8O, 8 пеDед4Gу 8<8 
Dе7улLт4т4 о5D45отк8 ОпеD4тоDу. 

�4ет Eо7л4E8е ОпеD4тоDу =4 пеDед4Gу тDетLе<у л8Fу, 6 EлуG4е уEтупк8 ОпеD4тоDо< пD46 
тDе5о64=8O дол74 т4ко<у тDетLе<у л8Fу, 4 т4к6е пD8 пD86леGе=88 ОпеD4тоDо< тDетLе7о л8F4 к 
ок474=8N уEлу7 ОпеD4тоDу по 67KEк4=8N 74дол6е==оEт8 E �4U<I8к4 5е7 уEтупк8 пD46 тDе5о64=8O 
дол74, E6еде=89 о =е8Eпол=е==KE о5O74телLEт64E �4U<I8к4: Eу<<е пDоEDоGе==о9 74дол6е==оEт8, 
D47<еDе =4G8Eле==KE =4 Eу<<у 74дол6е==оEт8, =о =е упл4Gе==KE, пDоFе=то6, HтD4Dо6 8 =еуEтоек. 

5. �4ет Eо7л4E8е =4 полуGе=8е ОпеD4тоDо< от 5NDо кDед8т=KE 8EтоD89 (�О "��К�" 
��� 7703548386, �О "ОК�" ��� 7710561081, ООО "�К� Эк68D4кE" ��� 7813199667, 4 т4к6е 8=KE 
�NDо кDед8т=KE 8EтоD89), 6 то< G8Eле от 8E пDедEт468теле9, кDед8т=о7о отGет4 E FелLN оFе=к8 
5л47о=4де6=оEт8 8(8л8) D8=4=Eо6о7о поло6е=8O 8(8л8) дело6о9 Dепут4F88 87 оE=о6=о9 G4Eт8 
кDед8т=о9 8EтоD88 �4U<I8к4 8 упол=о<оGе==о7о л8F4 �4U<I8к4, подп8EK64NIе7о =4EтоOIее 
�4O6ле=8е о пD8Eоед8=е=88. 

�4U<I8к оE6едо<ле=, Gто EDок де9Eт68O пDедоEт46ле==KE 6 =4EтоOIе< �4O6ле=88 о 
пD8Eоед8=е=88 Eо7л4E89 =4 полуGе=8е ОпеD4тоDо< кDед8т=о7о отGет4 по кDед8т=о9 8EтоD88 
�4U<I8к4 8 пDедEт468телO �4U<I8к4, подп8EK64NIе7о =4EтоOIее �4O6ле=8е о пD8Eоед8=е=88, 6 
Eоот6етEт688 E �4ко=о< N218-$�, EоEт46лOет 6 (HеEтL) к4ле=д4D=KE <еEOFе6 E д4тK е7о 
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пDедоEт46ле=8O 8 Eо7л4Eе=, Gто 6 EлуG4е, еEл8 6 теGе=8е ук474==о7о EDок4 E Eу5Jекто< кDед8т=о9 
8EтоD88 5удет 74клNGе= до7о6оD 749<4, ук474==ое Eо7л4E8е Eу5Jект4 кDед8т=о9 8EтоD88 EоED4=Oет 
E8лу 6 теGе=8е 6Eе7о EDок4 де9Eт68O т4ко7о до7о6оD4. 

6. �одп8EK64O =4EтоOIее �4O6ле=8е, �4U<I8к подт6еD6д4ет, Gто 6Eе Eделк8, 
74клNG4е<Kе 6 D4<к4E �D468л, Eо6еDH4NтEO 6 пDоEто9 п8EL<е==о9 DоD<е 8 подп8EK64NтEO 
пDоEто9 MлектDо==о9 подп8ELN �4U<I8к4 6 поDOдке, уEт4=о6ле==о< Eоот6етEт6уNI8< D47дело< 
�D468л. 

!о7л4Hе=8е о5 8EполL7о64=88 ук474==о7о 4=4ло74 Eо5Eт6е==оDуG=о9 подп8E8 EG8т4етEO 
доEт87=утK< 6 <о<е=т пеDед4G8 =4EтоOIе7о 74O6ле=8O ОпеD4тоDу. 

�4U<I8к =4EтоOI8< подт6еD6д4ет, Gто лN5о9 доку<е=т, подп8E4==K9 пDоEто9 
MлектDо==о9 подп8ELN 6 поDOдке, уEт4=о6ле==о< �D468л4<8, 8 D47<еIе==K9 �4U<I8ко< =4 
пл4тDоD<е «�47=у<�=6еEт» 8<еет ND8д8GеEкуN E8лу доку<е=т4, подп8E4==о7о Eо5Eт6е==оDуG=о, 
8 Eоот6етEт6е==о, поDо6д4ет 8де=т8G=Kе т4ко<у доку<е=ту ND8д8GеEк8е поEледEт68O. 

�4U<I8к опо6еIе= 8 Eо7л4Eе= Eо5лNд4тL ко=D8де=F84лL=оEтL клNG4 MлектDо==о9 
подп8E8 8 пD468л4<8 опDеделе=8O л8F4, подп8EK64NIе7о MлектDо==K9 доку<е=т. 

7. �4EтоOIее �4O6ле=8е о пD8Eоед8=е=88 к �D468л4< подп8E4=о к64л8D8F8Dо64==о9 
MлектDо==о9 F8DDо6о9 подп8ELN, 8 т4кое 74O6ле=8е 6 E8лу Eт. 6 $едеD4лL=о7о 74ко=4 от 06.04.2011 
№ 63-$� «О5 MлектDо==о9 подп8E8» пD8D46=864етEO к доку<е=ту, подп8E4==о<у 
Eо5Eт6е==оDуG=о9 подп8ELN, 8 <о6ет пD8<е=OтLEO 6 лN5KE пD46оот=оHе=8OE 6 Eоот6етEт688 E 
74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88 5е7 о7D4=8Gе=89. 
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�D8ло6е=8е № 2: �4O6ле=8е �=6еEтоD4 о пD8Eоед8=е=88 к �D468л4<  
8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

 

1. !6еде=8O о5 �=6еEтоDе: 
1.1. $878GеEко< л8Fе 

 

$�О 

 

 

!еD8O 8 =о<еD п4EпоDт4 

 

 

��� 

 

 

�дDеE Dе78EтD4F88 

 

 

&елеDо= 

 

 

e-mail 

 

 

  

�е=еD8F84D=K9(Kе) 6л4делеF(FK) 
 

 

  

 

1.2. .D8д8GеEко< л8Fе/�=д868ду4лL=о< пDедпD8=8<4теле: 
�ол=ое =48<е=о64=8е  
 

 

!окD4IU==ое =48<е=о64=8е  

 

 

О� � / О� ��� 

 

 

��� 

 

 

�дDеE ND8д8GеEк89  

 

 

�дDеE D4кт8GеEк89 

 

 

$�О Dуко6од8телO 

 

 

!еD8O 8 =о<еD п4EпоDт4 

 

 

&елеDо=  

 

 

e-mail  

 

 

�е=еD8F84D=K9(Kе) 6л4делеF(FK)  

 

 

 

  

 " $878GеEкое л8Fо/�д8=ол8G=K9 8Eпол=8телL=K9 оD74= оD74=874F88/�DедEт468телL 
8=6еEтоD4/�K7одопD8о5Dет4телL/�е=еD8F84D=K9 6л4делеF =е O6лOетEO пу5л8G=K< дол6=оEт=K< 
л8Fо<, 6 т.G., ук474==K< 6 Eт.7.3. $едеD4лL=о7о 74ко=4 от 07.08.20017. № 115-$� «О 
пDот86оде9Eт688 ле74л874F88 (от<K64=8N) доEодо6, полуGе==KE пDеEтуп=K< путе<, 8 
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D8=4=E8Dо64=8N теDDоD87<4» (6 то< G8Eле 5K6H8< пу5л8G=K< дол6=оEт=K< л8Fо<, E <о<е=т4 
Eло6е=8O пол=о<оG89, котоDо7о пDоHло <е=ее 7од4), 8л8 е7о 5л87к8< DодEт6е==8ко</Gле=о< 
Eе<L8 (EупDу78; л8F4 котоDKе EG8т4NтEO EупDу74<8 по =4F8о=4лL=о<у пD46у 
7оEуд4DEт64(7D46д4=Eк8е 5D4к8): дет8 8 EупDу78 дете9; л85о л8F4, котоDKе EG8т4NтEO EупDу74<8 
дете9 по =4F8о=4лL=о<у пD46у 7оEуд4DEт64; Dод8тел8); 

" �=6еEтоD-ND8д8GеEкое л8Fо (е7о ед8=ол8G=K9 8Eпол=8телL=K9 оD74=) 
пD8EутEт6ует по 4дDеEу <еEто=4Eо6де=8O, E6еде=8O о котоDо< EодеD64тLEO 6 ед8=о< 
7оEуд4DEт6е==о< DееEтDе ND8д8GеEк8E л8F; 

" �=DоD<4F8O о5о 6EеE л8F4E, O6лONI8EEO �е=еD8F84D=K<8 6л4делLF4<8 
�=6еEтоD4, пDедEт46ле=4 ОпеD4тоDу �л4тDоD<K. 

 

2  уко6одEт6уOEL $едеD4лL=K< 74ко=о< от 02.08.2019 № 259-$� «О пD86леGе=88 
8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88», �D46д4=Eк8< кодекEо<  $ 8 �D468л4<8 
8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» (ООО «�47=у<�=6еEт», (��� 1841096768, О� � 
1201800024480) (д4лее - «ОпеD4тоD»), �=6еEтоD пеDед4ет, 4 ОпеD4тоD пD8=8<4ет =4EтоOIее 
�4O6ле=8е о пD8Eоед8=е=88 (д4лее – «�4O6ле=8е о пD8Eоед8=е=88») к �D468л4< 8=6еEт8F8о==о9 
пл4тDоD<K «�47=у<�=6еEт» (д4лее - «�D468л4») 6 FелOE 74клNGе=8O до7о6оD4 о5 ок474=88 уEлу7 
по Eоде9Eт68N 6 8=6еEт8Dо64=88. �=6еEтоD 74клNG4ет ук474==K9 до7о6оD поEDедEт6о< 
пD8Eоед8=е=8O к �D468л4< (Eт. 428 �D46д4=Eко7о кодекE4  $). 

3. �4EтоOI8< �=6еEтоD, 6 FелOE пD8Eоед8=е=8O к �D468л4<, длO д4лL=е9Hе7о 
8Eпол=е=8O 6748<=KE о5O74телLEт6 6 D4<к4E 74клNG4е<KE пD8 по<оI8 EDедEт6 �л4тDоD<K 
�о7о6оDо6, пDо6еDк8 E6еде=89, ук474==KE 6 д4==о< �4O6ле=88, оFе=к8 D8Eк4 EотDуд=8GеEт64, 6 
теGе=8е EDок4 де9Eт68O до7о6оD=KE от=оHе=89, 4 т4к6е 6 теGе=8е поEледуNI8E 5 (�Oт8) лет E 
<о<е=т4 пDекD4Iе=8O EотDуд=8GеEт64: 

�еDед4ет ОпеD4тоDу �еDEо=4лL=Kе д4==Kе 8 6KD464ет Eо7л4E8е =4 о5D45отку E 
8EполL7о64=8е< EDедEт6 46то<4т874F88 8л8 5е7 8EполL7о64=8O т4к8E EDедEт6 (6клNG4O E5оD, 
74п8EL, E8Eте<4т874F8N, =4копле=8е, ED4=е=8е, утоG=е=8е (о5=о6ле=8е, 87<е=е=8е), 876леGе=8е, 
8EполL7о64=8е, пеDед4Gу (D4EпDоEтD4=е=8е, пDедоEт46ле=8е, доEтуп), о5е7л8G864=8е, 
5лок8Dо64=8е, уд4ле=8е, у=8Gто6е=8е) E6о8E пеDEо=4лL=KE д4==KE, 6клNG4O, =о =е 
о7D4=8G864OEL, п4EпоDт=Kе д4==Kе, $�О, <еEто 68телLEт64, д4т4 Dо6де=8O, =о<еD <о58лL=о7о/ 
7оDодEко7о, телеDо=4, 8=Kе E6еде=8O, 4 т4к6е оEуIеEт6ле=8е лN5KE 8=KE де9Eт689 E 
пDедоEт46лOе<K<8 �еDEо=4лL=K<8 д4==K<8 E уGето< де9Eт6уNIе7о 74ко=од4телLEт64. 

�KD464ет Eо7л4E8е =4 пеDед4Gу ОпеD4тоDо< E6о8E �еDEо=4лL=KE д4==KE, 6 то< G8Eле =4 
тD4=E7D4=8G=уN пеDед4Gу длO доEт86е=8O 6KHеук474==KE Fеле9, тDетLе<у л8Fу; 6 
<е6ду=4Dод=Kе �л4те6=Kе E8Eте<K MasterCard Worldwide, Visa International, 8 =4F8о=4лL=уN 
пл4те6=уN E8Eте<у «�� », 4 т4к6е =е кDед8т=о9, =е54=ко6Eко9 оD74=874F88, 4 т4к6е 8E 47е=т4< 
8 8=K< упол=о<оGе==K< л8F4<. 

�одп8EK64O =4EтоOIее �4O6ле=8е о пD8Eоед8=е=88, �=6еEтоD (ед8=ол8G=K9 
8Eпол=8телL=K9 оD74= �=6еEтоD4) подт6еD6д4ет, Gто O6лOетEO полL7о64теле< 45о=е=тEко7о 
=о<еD4, ук474==о7о 6 D47деле «&елеDо=» =4EтоOIе7о �4O6ле=8O о пD8Eоед8=е=88, 8 д4ет Eо7л4E8е 
��О «�K<пелКо<» (�у5л8G=ое 4кF8о=еD=ое о5IеEт6о «�K<пел-Ко<<у=8к4F88»,  оEE89Eк4O 
$едеD4F8O, 127083, 7. �оEк64, ул. �оEL<о7о <4Dт4, до< 10, EтDое=8е 14); ООО «� �4т4» (115280 7. 
�оEк64, ул. Ле=8=Eк4O !ло5од4, д.19); ��О �&! (109147, 7. �оEк64, ул. �4DкE8EтEк4O д.4); ООО «&2 
�о549л» (108811, 7оDод �оEк64, к8ло<етD К8е6Eкое HоEEе 22-9 (п �оEко6Eк89), до<о6л4де=8е 6 
EтDое=8е 1, Mт46 5 ко<=4т4 33); ��О «�е74Dо=» (127006, 7. �оEк64, пеD. ОDу6е9=K9, д.41) =4 
о5D45отку, 6 FелOE 8Eпол=е=8O до7о6оD=KE о5O74телLEт6, EледуNI8E д4==KE: телеDо==K9 =о<еD. 

4. �одп8EK64O =4EтоOIее �4O6ле=8е, �=6еEтоD подт6еD6д4ет, Gто 6Eе Eделк8, 
74клNG4е<Kе 6 D4<к4E �D468л, Eо6еDH4NтEO 6 пDоEто9 п8EL<е==о9 DоD<е 8 подп8EK64NтEO 
пDоEто9 MлектDо==о9 подп8ELN �=6еEтоD4 6 поDOдке, уEт4=о6ле==о< Eоот6етEт6уNI8< D47дело< 
�D468л. 

!о7л4Hе=8е о5 8EполL7о64=88 ук474==о7о 4=4ло74 Eо5Eт6е==оDуG=о9 подп8E8 EG8т4етEO 
доEт87=утK< 6 <о<е=т пеDед4G8 =4EтоOIе7о 74O6ле=8O ОпеD4тоDу. 
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�=6еEтоD =4EтоOI8< подт6еD6д4ет, Gто лN5о9 доку<е=т, подп8E4==K9 пDоEто9 
MлектDо==о9 подп8ELN 6 поDOдке, уEт4=о6ле==о< �D468л4<8, 8 D47<еIе==K9 �=6еEтоDо< =4 
пл4тDоD<е «�47=у<�=6еEт» 8<еет ND8д8GеEкуN E8лу доку<е=т4, подп8E4==о7о Eо5Eт6е==оDуG=о, 
8 Eоот6етEт6е==о, поDо6д4ет 8де=т8G=Kе т4ко<у доку<е=ту ND8д8GеEк8е поEледEт68O. 

�=6еEтоD опо6еIе= 8 Eо7л4Eе= Eо5лNд4тL ко=D8де=F84лL=оEтL клNG4 MлектDо==о9 
подп8E8 8 пD468л4<8 опDеделе=8O л8F4, подп8EK64NIе7о MлектDо==K9 доку<е=т. 

 

��КЛ� �&�/ О  �!К�% 

 

�4EтоOI4O �екл4D4F8O O6лOетEO =еотJе<ле<о9 G4EтLN �D468л �=6еEт8F8о==о9 
пл4тDоD<K «�47=у<�=6еEт» 8 EодеD68т 6 Eе5е оп8E4=8е D8Eко6, E6O74==KE E 8=6еEт8Dо64=8е< 
GеDе7 �л4тDоD<у. 

&елL =4EтоOIе9 �екл4D4F88 - пDедоEт468тL �=6еEтоDу 8=DоD<4F8N о D8Eк4E, E6O74==KE E 
пDо6еде=8е< опеD4F89 =4 DK=ке 748<Eт6о64=89 8 пDедупDед8тL о 6о7<о6=KE D8=4=Eо6KE 
потеDOE. 

�4EтоOI4O �екл4D4F8O =е D4EкDK64ет 8=DоD<4F8N о 6EеE 6о7<о6=KE D8Eк4E 6EледEт68е 
D47=оо5D478O E8ту4F89, од=4ко по76олOет опDедел8тL пD8е<ле<K9 уDо6е=L D8Eко6 длO 
�=6еEтоD4, Dе4лL=о оFе=8тL E6о8 6о7<о6=оEт8 8 от6етEт6е==о подо9т8 к DеHе=8N 6опDоE4 о 
=4G4ле пDо6еде=8O опеD4F89. � =4EтоOIе9 �екл4D4F88 под D8Eко< пD8 оEуIеEт6ле=88 опеD4F89 
GеDе7 �л4тDоD<у по=8<4етEO, Gто 8=6еEт8Dо64=8е E 8EполL7о64=8е< 8=6еEт8F8о==о9 пл4тDоD<K 
O6лOетEO 6KEокоD8Eко64==K< 8 <о6ет пD86еEт8 к потеDе 8=6еEт8F89 6 пол=о< 8л8 G4Eт8G=о< 
о5Jе<е. 

 8Eк – Mто ко<плекE=ое 8 <=о7о<еD=ое по=Oт8е, котоDое =еD47DK6=о E6O74=о пD8G8==о- 

EледEт6е==K<8 E6O7O<8 E 54=кDотEт6о< пDедпD8Oт89, де64лL64F8е9 64лNт, =ео68д4==K<8 
коле54=8O<8 те<по6 8=DлOF88 8 пDоFе=т=KE Eт46ок 8 д46е 87<е=е=8O<8 6 7D46д4=Eко< 8 
=4ло7о6о< 74ко=од4телLEт6е. 

ОпеD4тоD Dеко<е=дует �=6еEтоDу 5олее 6=8<4телL=о 8 6EеEтоDо==е D4EE<отDетL 6опDоE о 
пD8е<ле<оEт8 длO =е7о Eо6еDHе=8O опеD4F89 E тоGк8 7Dе=8O D8=4=Eо6KE 6о7<о6=оEте9, 4 т4к6е 
5олее от6етEт6е==о подо9т8 к DеHе=8N 6опDоE4 о 6K5оDе EтD4те788. 
 

�екл4D4F8O о D8Eк4E 8=6еEт8F8о==о9 пл4тDоD<O 

 

1. �екл4D4F8O о D8Eк4E 8=6еEт8F8о==о9 пл4тDоD<K (д4лее - �екл4D4F8O о D8Eк4E) 
ООО «�47=у<�=6еEт» (��� 1841096768, О� � 1201800024480)  д4лее по текEту – ОпеD4тоD 
�л4тDоD<K, О5IеEт6о) D47D45от4=4 6 Eоот6етEт688 E тDе5о64=8O<8 де9Eт6уNIе7о 
74ко=од4телLEт64  оEE89Eко9 $едеD4F88, =оD<4т86=KE пD46о6KE 4кто6 &е=тD4лL=о7о �4=к4 
 оEE89Eко9 $едеD4F88 (�4=к4  оEE88), Eо7л4E=о поло6е=8O< $едеD4лL=о7о 74ко=4 от 02.08.2019 
№ 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88».  

2. �лO Fеле9 �екл4D4F88 о D8Eк4E под D8Eко< по=8<4етEO 6о7<о6=оEтL =4Eтупле=8O 
к4ко7о-л85о Eо5Kт8O, EпоEо5=о7о по6леGL 74 Eо5о9 D8=4=Eо6Kе, л85о =еD8=4=Eо6Kе потеD8 пD8 
пD86леGе=88 8=6еEт8F89 =4 �л4тDоD<е (длO Л8F4, пD86лек4NIе7о 8=6еEт8F88) л85о пD8 
оEуIеEт6ле=88 8=6еEт8Dо64=8O E 8EполL7о64=8е< �л4тDоD<K (длO �=6еEтоD4). �=Kе теD<8=K, 
опDеделе=8O 8 EокD4Iе=8O пD8<е=ONтEO 6 Eоот6етEт688 Eо 7=4Gе=8O<8, ук474==K<8 6 
�D8ло6е=88 №1 к =4EтоOI8< �D468л4<.  

  

3. �екл4D4F8O о D8Eк4E EоEт46ле=4 8EклNG8телL=о 6 8=DоD<4F8о==KE FелOE, длO 
до6еде=8O до л8F, 748=теDеEо64==KE 6 8EполL7о64=88 �л4тDоD<K, 8=DоD<4F88 о поте=F84лL=KE 
D8Eк4E, E6O74==KE E пDо6еде=8е< Eделок (опеD4F89) E по<оILN 8=DоD<4F8о==KE теE=оло789 8 
теE=8GеEк8E EDедEт6 �л4тDоD<K.  

  

4. �Eе л8F4, 8<еNI8е =4<еDе=8е 8=6еEт8Dо64тL 8 (8л8) пD86лек4тL 8=6еEт8F88 E 
8EполL7о64=8е< �л4тDоD<K, о5O74=K о7=4ко<8тLEO E �D468л4<8 пл4тDоD<K, 6 то< G8Eле E 
�екл4D4F8е9 о D8Eк4E до =4G4л4 8EполL7о64=8O 8=6еEт8F8о==о9 пл4тDоD<K.  !о7л4H4OEL 8 



!тD4=8F4 40 87 85 

 

пD8=8<4O �D468л4 пл4тDоD<K, �олL7о64телL ('G4Eт=8к) пл4тDоD<K те< E4<K< подт6еD6д4ет D4кт 
о7=4ко<ле=8O 8 Eо7л4E8O E поло6е=8O<8 �D468л пл4тDоD<K, 4 т4к6е D4кт пD8=Oт8O 6EеE 
6о7<о6=KE (поте=F84лL=KE) 68до6 D8Eко6 пD8 8EполL7о64=88 �л4тDоD<K, пDедуE<отDе==KE 6 
�екл4D4F88 о D8Eк4E.  

  

5. $878GеEкое л8Fо, Dе78EтD8DуNI8еEO =4 �л4тDоD<е 6 Eт4туEе �=6еEтоD4 8 
=4<еDе==ое оEуIеEт6лOтL 8=6еEт8Dо64=8е E 8EполL7о64=8е< �л4тDоD<K о5O74=о д4тL ОпеD4тоDу 
�л4тDоD<K подт6еD6де=8е то7о, Gто о=о о7=4ко<8лоEL E D8Eк4<8, E6O74==K<8 E 8=6еEт8Dо64=8е<, 
оEо7=4ет, Gто 8=6еEт8Dо64=8е E 8EполL7о64=8е< 8=6еEт8F8о==о9 пл4тDоD<K O6лOетEO 
6KEокоD8Eко64==K< 8 <о6ет пD86еEт8 к потеDе 8=6еEт8F89 6 пол=о< о5Jе<е, 8 пD8=8<4ет т4к8е 
D8Eк8.  

  

6. ОпеD4тоD �л4тDоD<K о5D4I4ет 6=8<4=8е �=6еEтоDо6 8 Л8F, пD86лек4NI8E 
8=6еEт8F88, =4 тот D4кт, Gто:   

1) �екл4D4F8O о D8Eк4E =е D4EкDK64ет 6Eе поте=F84лL=Kе D8Eк8 пD8 8EполL7о64=88 
�л4тDоD<K 6EледEт68е D47=оо5D478O E8ту4F89, котоDKе =е <о7ут 5KтL коDDект=о 
EпDо7=о78Dо64=K, 8 =е EодеD68т 8EGеDпK64NIе7о пеDеG=O D8Eко6, E6O74==KE E 8=6еEт8Dо64=8е< 
8 (8л8) пD86леGе=8е< 8=6еEт8F89 E 8EполL7о64=8е< �л4тDоD<K, од=4ко по76ол8т опDедел8тL 
пD8е<ле<K9 длO к46до7о 'G4Eт=8к4 пл4тDоD<K уDо6е=L D8Eк4, Dе4лL=о оFе=8тL E6о8 
6о7<о6=оEт8 8 от6етEт6е==о подо9т8 к DеHе=8N 6опDоE4 о =4G4ле 8EполL7о64=8O �л4тDоD<K 8 
74клNGе=88 Eделок 8 (8л8) пDо6еде=88 опеD4F89 E 8EполL7о64=8е< 8=DоD<4F8о==KE теE=оло789 
8 теE=8GеEк8E EDедEт6 �л4тDоD<K.   

2) 6 �екл4D4F88 о D8Eк4E оп8EK64NтEO =485олее оGе68д=Kе 68дK D8Eко6, пеDеGе=L 
котоDKE =е O6лOетEO 8EGеDпK64NI8<.  

3) 8=6еEт8Dо64=8е 8 пD86леGе=8е EDедEт6 E по<оILN 8=DоD<4F8о==KE теE=оло789 8 
теE=8GеEк8E EDедEт6 �л4тDоD<K EопDO6е=о E D47л8G=K<8 D8Eк4<8, ук474==K<8 6 �екл4D4F88 о 
D8Eк4E, от6етEт6е==оEтL 74 котоDKе =е <о6ет 5KтL 6о7ло6е=4 =4 ОпеD4тоD4 �л4тDоD<K, т4к к4к 
о=8 =4EодOтEO 6=е D47у<=о7о ко=тDолO ОпеD4тоD4 �л4тDоD<K, 8 у ОпеD4тоD4 �л4тDоD<K 
отEутEт6уNт 6о7<о6=оEт8 пDед68детL 8 пDедот6D4т8тL поEледEт68O т4к8E D8Eко6;  

4) пD8=Oт8е DеHе=8O о5 8EполL7о64=88 �л4тDоD<K о7=4G4ет Eо7л4E8е л8F4 
(D878GеEко7о л85о ND8д8GеEко7о), 8<еNIе7о =4<еDе=8е 8=6еEт8Dо64тL 8 (8л8) пD86лек4тL 
8=6еEт8F88 E 8EполL7о64=8е< �л4тDоD<K (Eт4тL  'G4Eт=8ко< пл4тDоD<K) E пD8=Oт8е< =4 Eе5O 
6EеE 6о7<о6=KE (поте=F84лL=KE) D8Eко6, ук474==KE 6 �екл4D4F88 о D8Eк4E;  

ОпеD4тоD �л4тDоD<K =е =еEет от6етEт6е==оEт8 6 E6O78 E D8Eк4<8, о5о7=4Gе==K<8 6 
=4EтоOIе9 �екл4D4F88 о D8Eк4E.  

  

7. ОE=о6=Kе 68дK D8Eко6 пD8 8EполL7о64=88 8=6еEт8F8о==о9 пл4тDоD<K.  
  

�D8 8EполL7о64=88 �л4тDоD<K =ео5Eод8<о уG8тK64тL D4ктоDK D8Eк4 E4<о7о D47л8G=о7о 
E6о9Eт64. � =4EтоOIе9 �екл4D4F88 о D8Eк4E пD8 8EполL7о64=88 8=6еEт8F8о==о9 пл4тDоD<K 
пD86одOтEO ко=кDет=Kе 68дK D8Eко6, Eп8Eок котоDKE =е O6лOетEO 8EGеDпK64NI8<, =о по76ол8т 
'G4Eт=8к4< пл4тDоD<K полуG8тL о5Iее пDедEт46ле=8е о5 оE=о6=KE D8Eк4E, котоDKе <о7ут 
6о7=8к=утL пD8 8EполL7о64=88 �л4тDоD<K, 8 6 E6O78 E Dе4л874F8е9 котоDKE 'G4Eт=8к8 пл4тDоD<K 
<о7ут по=еEт8 EуIеEт6е==Kе D8=4=Eо6Kе 8 (8л8) =еD8=4=Eо6Kе потеD8 (у5Kтк8). �D8 Mто< =е 
8EклNGе=4 6еDоOт=оEтL утD4тK 6Eе9 Mко=о<8GеEко9 6K7одK от пDо6еде=8O Eделк8 8 (8л8) опеD4F88 
E 8EполL7о64=8е< �л4тDоD<K.   

  

1) О5I8е =еDе7ул8Dуе<Kе D8Eк8, EпоEо5=Kе ок474тL пDO<ое 8л8 коE6е==ое 6л8O=8е 
=4 Dу=кF8о=8Dо64=8е �л4тDоD<K 8 (8л8) деOтелL=оEтL ОпеD4тоD4 �л4тDоD<K, 6EледEт68е Gе7о у 
'G4Eт=8ко6 пл4тDоD<K <о7ут 6о7=8к=утL D8Eк8 D8=4=Eо6KE потеDL 8л8 D8Eк8 =еполуGе=8O 
(полуGе=8O 6 =епол=о< о5Jе<е) о68д4е<о9 пD85Kл8:  

" Эко=о<8GеEк8е D8Eк8 - D8Eк8, E6O74==Kе E 87<е=е=8е< Mко=о<8GеEко9 E8ту4F88 6 
 оEE88 8 6 <8Dе, 87<е=е=8е клNGе6о9 Eт46к8 �4=к4  оEE88, E4=кF88, деDолтK 8 т.д. ЛN5о9 
�=6еEтоD <о6ет ок474тLEO 6 E8ту4F88, ко7д4 6 E8лу Mко=о<8GеEк8E пD8G8= л8Fо, пD86лек4NIее 
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8=6еEт8F88, E котоDK< �=6еEтоD E по<оILN 8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 
�=6еEт8F8о==о9 пл4тDоD<K 74клNG8л �о7о6оD 8=6еEт8Dо64=8O, =е E<о6ет =4дле64I8< о5D47о< 
8Eпол=8тL E6о8 о5O74телLEт64 пеDед �=6еEтоDо< по пD8G8=4<, E6O74==K< E =е5л47опD8Oт=K< 
87<е=е=8е< Mко=о<8GеEко9 E8ту4F88 6 EтD4=е.   

ЛN5ое л8Fо, пD86лек4NIее 8=6еEт8F88, <о6ет ок474тLEO 6 E8ту4F88, ко7д4 6 E8лу 
Mко=о<8GеEк8E пD8G8= �=6еEтоDK =е E<о7ут пD8=OтL е7о 8=6еEт8F8о==ое пDедло6е=8е 8 
=ео5Eод8<4O Eу<<4 =е 5удет Eо5D4=4 GеDе7 �л4тDоD<у;  

" �ол8т8GеEк8е D8Eк8 - D8Eк8, E6O74==Kе E 87<е=е=8е< пол8т8GеEко9 E8ту4F88 6 
 оEE88 8 74 ее пDедел4<8. �7<е=е=8е 7еопол8т8GеEко9 о5Eт4=о6к8, кD878E пол8т8GеEко9 E8Eте<K, 
E<е=4 6л4Eт8 <о6ет пD86еEт8 к E4<K< =епDедEк47уе<K< =е5л47опD8Oт=K< поEледEт68O< длO 
пеDEпект86 Dе4л874F88 пDоект4 (8=6еEт8F8о==о7о пDедло6е=8O). Это <о6ет 5KтL E6O74=о E 
=4Dод=K<8 6ол=е=8O<8, EпоEо5=K<8 пDепOтEт6о64тL =оD<4лL=о<у оEуIеEт6ле=8N DK=оG=KE 
от=оHе=89 6 Mко=о<8ке, E =е5л47опD8Oт=K< длO пDоект4 (8=6еEт8F8о==о7о пDедло6е=8O) 
87<е=е=8O<8 куDE4 6л4Eт8 (=4пD8<еD, 87<е=е=8е пол8т8к8 6 EDеDе 74купок, 6 EDеDе поддеD6к8 
пD8оD8тет=KE отD4Eле9 Mко=о<8к8 8 дD.). �485олее D4д8к4лL=Kе 87<е=е=8O <о7ут пD86еEт8 к 
отк47у 8л8 отEDоGке 8Eпол=е=8O л8F4<8, пD86лек4NI8<8 8=6еEт8F88, E6о8E о5O74телLEт6 пеDед 
�=6еEтоD4<8, 6 =485олее кD8т8G=KE E8ту4F8OE - к ко=D8Eк4F88 л85о =4F8о=4л874F88 8<уIеEт64 
опDеделе==KE к4те7оD89 л8F, пD86лек4NI8E 8=6еEт8F88 E Eоот6етEт6уNI8<8 =е5л47опD8Oт=K<8 
поEледEт68O<8 длO 'G4Eт=8ко6 пл4тDоD<K.  

" Эколо78GеEк8е 8 теE=о7е==Kе D8Eк8 - D8Eк8, E6O74==Kе E 6о7<о6=оEтLN 8 (8л8) 
6еDоOт=оEтLN 6о7=8к=о6е=8O GDе76KG49=KE Eо5Kт89, DоDE<46оD=KE о5EтоOтелLEт6, теE=о7е==KE 
464D89 8л8 к4т4EтDоD.  

" �D46о6Kе D8Eк8 - D8Eк8, E6O74==Kе E поO6ле=8е< =о6KE =оD<4т86=KE пD46о6KE 
4кто6 8 (8л8) 87<е=е=8O<8 де9Eт6уNIе7о 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 
Dе7ул8DуNIе7о деOтелL=оEтL �л4тDоD<K 8 (8л8) ок47K64NI8E 6л8O=8е =4 пDо6еде=8е Eделок 
(опеD4F89) =4 �л4тDоD<е.  

"  8Eк =4ло7о6о7о 74ко=од4телLEт64 - D8Eк, E6O74==K9 E 87<е=е=8е< EуIеEт6уNIе7о 
поDOдк4 =4ло7оо5ло6е=8O Eделок (опеD4F89) =4 �л4тDоD<е, доEодо6 �=6еEтоDо6 8л8 
=4ло7оо5ло6е=8O л8F, пD86лек4NI8E 8=6еEт8F88 E 8EполL7о64=8е< �л4тDоD<K.  

  

2)  K=оG=Kе D8Eк8 – D8Eк8, E6O74==Kе E 6о7<о6=K< =е5л47опD8Oт=K< 87<е=е=8е< 
доEод=оEт8 8=6еEт8F8о==о7о пDедло6е=8O (пDоект4), 6 котоDK9 �=6еEтоD E по<оILN 
8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 �=6еEт8F8о==о9 пл4тDоD<K 8=6еEт8Dо64л 
E6о8 EDедEт64, по пD8G8=е 87<е=е=8O 7=4Gе=89 DK=оG=KE пок474теле9 (=4пD8<еD, о5<е==KE 
куDEо6, пDоFе=т=KE Eт46ок 8 дD.), Dе7ко9 де64лL64F88 =4F8о=4лL=о9 64лNтK, 54=ко6Eко7о, 
64лNт=о7о кD878E4, E4=кF8о==KE о7D4=8Gе=89, D47л8G=о7о Dод4 о5EтоOтелLEт6 =епDеодол8<о9 
E8лK. �4==Kе о5EтоOтелLEт64 <о7ут пD86еEт8 к E=86е=8N доEод=оEт8 8=6еEт8F8о==о7о 
пDедло6е=8O (пDоект4), утD4те 6Eе9 Mко=о<8GеEко9 6K7одK (потеDе �=6еEтоDо< 6ло6е==KE 6 
пDоект (8=6еEт8F8о==ое пDедло6е=8е) де=е6=KE EDедEт6).  

  

3) $8=4=Eо6Kе D8Eк8 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E 87<е=е=8е< е7о 
D8=4=Eо6о7о поло6е=8O 8 (8л8) Mко=о<8GеEко9 E8ту4F88 6 отD4Eл8. ЛN5о9 'G4Eт=8к пл4тDоD<K 
<о6ет ок474тLEO 6 E8ту4F88, ко7д4 6 E8лу Mко=о<8GеEк8E пD8G8= о= =е E<о6ет =4дле64I8< 
о5D47о< 8Eпол=8тL E6о8 о5O74телLEт64.  
  

4) КDед8т=Kе D8Eк8 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E =еEоEтоOтелL=оEтLN, 
=е8Eпол=е=8е< 8л8 =е=4дле64I8< 8Eпол=е=8е< о5O74телLEт6 пеDед тDетL8<8 л8F4<8 6 пDоекте 
(кDед8тоD4<8), Gто <о6ет Eдел4тL =е6о7<о6=K< полуGе=8е доEодо6 л85о пл4те6е9 8 по6леGL 
EуIеEт6е==Kе (6 то< G8Eле, =ео7D4=8Gе==Kе) у5Kтк8, 6клNG4O утD4ту 6Eе9 Mко=о<8GеEко9 6K7одK 
от пDо6еде=8O Eделок (опеD4F89) =4 пл4тDоD<е).  

  

5) ОпеD4F8о==Kе D8Eк8 - D8Eк8 'G4Eт=8к4 пл4тDоD<K, E6O74==Kе E =е6еD=K<8 8л8 
=епD46о<еD=K<8 де9Eт68O<8 E4<о7о 'G4Eт=8к4 пл4тDоD<K, л85о 8=KE 'G4Eт=8ко6 пл4тDоD<K 
(=4пD8<еD, =е4дек64т=K<8 8л8 оH85оG=K<8 6=утDе==8<8 пDоFеEE4<8 6 EтDуктуDе �4U<I8к4 8л8 



!тD4=8F4 42 87 85 

 

�=6еEтоD4 (ND8д8GеEко7о л8F4), л85о  =е6еD=K<8 8л8 =епD46о<еD=K<8 де9Eт68O<8 EотDуд=8ко6 
'G4Eт=8к4 пл4тDоD<K-ND8д8GеEко7о л8F4 (7лоупотDе5ле=8е Eлу6е5=K< поло6е=8е<,  оH85к8 
пD8 оEуIеEт6ле=88 де9Eт689 8 опеD4F89) л85о =е74т86=K< 6о7де9Eт68е< тDетL8E л8F 
(<оHе==8GеEт6о),  4 т4к6е D47л8G=K<8 =е5л47опD8Oт=K<8 6=еH=8<8 Eо5Kт8O<8 =еD8=4=Eо6о7о 
E4D4ктеD4. 'G4Eт=8к пл4тDоD<K <о6ет по=еEт8 7=4G8телL=Kе у5Kтк8 6 E6O78 E =4Eтупле=8е< 
Eо5Kт89, EоEт46лONI8E опеD4F8о==K9 D8Eк. �D8 Mто< =е 8EклNGе=4 6еDоOт=оEтL утD4тK 6Eе9 
Mко=о<8GеEко9 6K7одK 'G4Eт=8к4 пл4тDоD<K от пDо6еде=8O Eделок (опеD4F89) =4 �л4тDоD<е.  

  

6)  8Eк8 л8к68д=оEт8 8 доEод=оEт8 - D8Eк8 D8=4=Eо6KE потеDL, E6O74==Kе E 
87<е=е=8е< опDеделе==KE E4D4ктеD8Eт8к 8=6еEт8F8о==KE 8=EтDу<е=то6 (о5Jекто6 
8=6еEт8Dо64=8O), 6 то< G8Eле 6EледEт68е 87<е=е=8O 8E оFе=оG=о9 (DK=оG=о9) Eто8<оEт8, 
к4GеEт6е==KE E4D4ктеD8Eт8к, л85о 87<е=е=8е< ко=JN=ктуDK DK=к4 8 покуп4телLEко7о EпDоE4.   

  

7)  8Eк8 =едоEт86е=8O Fеле9 пD8 8EполL7о64=88 �л4тDоD<K - ОпеD4тоD �л4тDоD<K 
=е 74D4=т8Dует EоED4=е=8е 8л8 у6ел8Gе=8е к4п8т4л4 пD8 8=6еEт8Dо64=88 GеDе7 �л4тDоD<у, D46=о 
к4к 8 =е д4ет 74D4=т89 8(8л8) 746еDе=89 л8F4<, пD86лек4NI8< 8=6еEт8F88, 6 полуGе=88 
D8=4=E8Dо64=8O =4 пDоектK 6 пол=о< о5Jе<е.  

  

8) �=6еEт8F8о==Kе D8Eк8 - �=6еEтоD <о6ет потеDOтL G4EтL 8л8 6еEL к4п8т4л, 
6ло6е==K9 6 пDоект, 6 Dе7улLт4те то7о, Gто 74O6ле==Kе л8Fо<, пD86лек4NI8< 8=6еEт8F88, 
пок474тел8 доEод=оEт8 по лN5K< пD8G8=4< =е E<о7ут 5KтL доEт87=утK. �=6еEтоD E4<оEтоOтелL=о 
=еEет от6етEт6е==оEтL 74 E6ое DеHе=8е пD8=OтL 8=6еEт8F8о==ое пDедло6е=8е.  

  

9)  8Eк8 8=6еEт8F8о==KE о7D4=8Gе=89 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E 
74ко=од4телL=K<8 о7D4=8Gе=8O<8 по <4кE8<4лL=K< Eу<<4< 8=6еEт8Dо64=8O 8 <4кE8<4лL=K< 
Eу<<4< пD86леGе=8O 8=6еEт8F89. �4пD8<еD, длO �=6еEтоDо6 D878GеEк8E л8F, =е O6лONI8EEO 
8=д868ду4лL=K<8 пDедпD8=8<4телO<8 8 =е 8<еNI8<8 Eт4туE4 к64л8D8F8Dо64==о7о 8=6еEтоD4 
л8<8т 600 тKEOG Dу5ле9 6 7од, 4 длO л8F, пD86лек4NI8E 8=6еEт8F88 E 8EполL7о64=8е< �л4тDоD<K 
уEт4=о6ле=о о7D4=8Gе=8е по <4кE8<4лL=о9 Eу<<е пD86леGе=8O 8=6еEт8F89 – =е 5олее 1 
<8лл84Dд4 Dу5ле9 6 7од. � 74ко=од4телLEт6е л85о 6 доку<е=т4E M<8те=то6 Fе==KE 5у<47 (л8F, 
пD86лек4NI8E 8=6еEт8F88) <о7ут 5KтL пDедуE<отDе=K о7D4=8Gе=8O 8(8л8) =ео5Eод8<оEтL 
полуGе=8O пDед64D8телL=KE одо5Dе=89 8л8 D47DеHе=89 =4 Eделку E Fе==K<8 5у<474<8 M<8те=т4. 
�=6еEтоDу =ео5Eод8<о уG8тK64тL 6о7<о6=оEтL EуIеEт6о64=8O т4к8E о7D4=8Gе=89. � EлуG4е 
=еEо5лNде=8O ук474==KE тDе5о64=89 6о7<о6е= отк47 6 пD87=4=88 74 пD8о5Dет4теле< Fе==KE 
5у<47 (�=6еEтоDо<) е7о пD46, 4 т4к6е пD87=4=8е 74клNGе==KE Eделок =еде9Eт68телL=K<8 8 
пD8<е=е=8е поEледEт689 т4ко7о пD87=4=8O (к4к пD468ло, 6о76D4т 6Eе7о полуGе==о7о по Eделке).  

  

10)   8Eк 678<4=8O ко<8EE8о==KE 8 дDу78E E5оDо6 - D8Eк8 'G4Eт=8к4 пл4тDоD<K, 
E6O74==Kе E пол=о9 8л8 G4Eт8G=о9 =еоE6едо<ле==оEтLN о5 87деD6к4E (D4EEод4E) пD8 
8EполL7о64=88 �л4тDоD<K. �еDед пD8=Oт8е< DеHе=8O о5 4кFепте 8=6еEт8F8о==о7о пDедло6е=8O 
(8=6еEт8Dо64=88 6 пDоект) 8л8 пD8=Oт8е< DеHе=8O о D47<еIе=88 Fе==KE 5у<47 E 8EполL7о64=8е< 
�л4тDоD<K, л85о опу5л8ко64=8е< 8=6еEт8F8о==о7о пDедло6е=8O =4 �л4тDоD<е тDе5уетEO 
пD8=OтL 6Eе =ео5Eод8<Kе <еDK длO полуGе=8O Gетко7о пDедEт46ле=8O о5о 6EеE ко<8EE8о==KE 8 
8=KE E5оD4E, котоDKе <о7ут 678<4тLEO ОпеD4тоDо< �л4тDоD<K 6 Eоот6етEт688 E т4D8D4<8, 
пDедуE<отDе==K<8 �D468л4<8 пл4тDоD<K длO 'G4Eт=8ко6 пл4тDоD<K.  

  

11)  8Eк8, E6O74==Kе E де9Eт68O<8/5е7де9Eт68е< тDетL8E л8F - Dе4л874F8O пDоект4 
(8=6еEт8F8о==о7о пDедло6е=8O) <о6ет пDедпол474тL уG4Eт8е D47л8G=KE ND8д8GеEк8E л8F, 
O6лONI8EEO тDетL8<8 л8F4<8 по от=оHе=8N к 'G4Eт=8к4< пл4тDоD<K, пD8 Mто< 8Eпол=е=8е 8E 
о5O74телLEт6 пеDед дDу78<8 'G4Eт=8к4<8 пл4тDоD<K 6 =екотоDKE EлуG4OE <о6ет 5KтL =е6о7<о6=о 
5е7 оEуIеEт6ле=8O т4к8<8 тDетL8<8 л8F4<8 опDеделе==KE ND8д8GеEк8E 8 (8л8) D4кт8GеEк8E 
де9Eт689. � Mт8E EлуG4OE EуIеEт6ует D8Eк =е6о7<о6=оEт8 E6ое6Dе<е==о7о 8Eпол=е=8O 'G4Eт=8к4<8 
пл4тDоD<K E6о8E о5O74телLEт6 по Eделк4<.  
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12)  8Eк8 =е8Eпол=е=8O о5O74телLEт6 – <о6ет 6о7=8к=утL 6EледEт68е =е8Eпол=е=8O, 
=еE6ое6Dе<е==о7о л85о =епол=о7о 8Eпол=е=8O о5O74телLEт6 'G4Eт=8ко< пл4тDоD<K.  

  

13)  8Eк8 54=ко6Eко9 E8Eте<K – D8Eк8 D8=4=Eо6KE потеDL, E6O74==Kе E 
=еE6ое6Dе<е==K< 8Eпол=е=8е< 8(8л8) =е8Eпол=е=8е< пл4те6е9 по опеD4F8O< =4 �л4тDоD<е.   

  

14)  8Eк упуIе==о9 6K7одK – D8Eк =еполуGе=8O пD85Kл8 6 Dе7улLт4те =еоEуIеEт6ле=8O 
!делк8 по 8=8F84т86е лN5о9 87 EтоDо= !делк8, =еоEуIеEт6ле=8O к4ко7о-л85о <еDопD8Oт8O 
=ео5Eод8<о7о длO 74клNGе=8O !делк8 =4 �л4тDоD<е л85о =едоEт86е=8е< �=6еEтоDо< E6о8E 
8=6еEт8F8о==KE Fеле9 по !делке. �ет =8к4ко9 74D4=т88 6 то<, Gто у6ел8Gе=8е к4п8т4л4, котоDо7о 
�=6еEтоD EоGет до58тLEO, 5удет доEт87=уто. �=6еEтоD <о6ет потеDOтL G4EтL 8л8 6Eе EDедEт64, 
8=6еEт8Dо64==Kе =4 �л4тDоD<е 6 опDеделе==Kе !делк8.  

  

15)  8Eк =едо5DоEо6еEт=о7о 8EполL7о64=8O 8=DоD<4F88 – D8Eк D8=4=Eо6KE потеDL, 
E6O74==K9 E 8EполL7о64=8е< 8=DоD<4F88, D47<еIе==о9 =4 �л4тDоD<е. �=DоD<4F8O поEтуп4ет 87 
D47=KE 8EтоG=8ко6 8 =е6о7<о6=о =еEт8 от6етEт6е==оEтL 74 тоG=оEтL 8 доEто6еD=оEтL полуG4е<о9 
876=е 8=DоD<4F88. !уIеEт6ует D8Eк полуGе=8O 'G4Eт=8ко< пл4тDоD<K, 6 то< G8Eле �=6еEтоDо< 
=едоEто6еD=о9 8=DоD<4F88, 8EполL7о64=8е котоDо9 <о6ет пD86еEт8 к =4DуHе=8N е7о 8=теDеEо6. 
КDо<е то7о, =ео5Eод8<4O 'G4Eт=8ку пл4тDоD<K 8=DоD<4F8O <о6ет поEтуп4тL E опDеделе==K<8 
74деD6к4<8, Gто <о6ет пD86еEт8 к =епD468лL=о9 оFе=ке о5EтоOтелLEт6, E6O74==KE E DеHе=8е< о 
пD8=Oт88 8=6еEт8F8о==о7о пDедло6е=8O, л85о к =е6о7<о6=оEт8 8E оFе=к8. �о7<о6=K 87<е=е=8O 
полуGе==о9 'G4Eт=8ко< пл4тDоD<K D4=ее 8=DоD<4F88, ее пеDеE<отD 8 утоG=е=8е, Gто <о6ет 
пD86еEт8 к 6K=у6де==о9 пеDеоFе=ке EтоDо=4<8 �о7о6оD4 8=6еEт8Dо64=8O о5EтоOтелLEт6, оFе=к4 
котоDKE 5478Dо64л4EL =4 т4ко9 8=DоD<4F88.  

  

16) &еE=8GеEк8е 8 теE=оло78GеEк8е D8Eк8 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E 
=еEо6еDHе=Eт6о< 8 E5оO<8 8EполL7уе<KE 8<8 теE=оло789 8 MлектDо==KE E8Eте<, 4 т4к6е D8Eк8, 
6K764==Kе =4DуHе=8е< =оD<4лL=о7о Dе68<4 D45отK 8 E5оO<8 EDедEт6 E6O78, 6KG8Eл8телL=KE, 
телеко<<у=8к4F8о==KE 8 8=DоD<4F8о==KE E8Eте<, 8 (8л8) пDо7D4<<=о7о о5еEпеGе=8O, по 
пD8G8=4< =е 7468EOI8< от ОпеD4тоD4 �л4тDоD<K.  

  

17)  8Eк, оEуIеEт6ле=8O MлектDо==о7о доку<е=тоо5оDот4 – <о6ет 6о7=8к=утL пD8 
о5<е=е 8=DоD<4F8е9 <е6ду 'G4Eт=8к4<8 пл4тDоD<K дDу7 E дDу7о< 8 (8л8) E ОпеD4тоDо< 
�л4тDоD<K E 8EполL7о64=8е< E8Eте< MлектDо==о9 поGтK 8 EеD68Eо6 �л4тDоD<K пD8 
ко<пDо<ет4F88 Ло78=4 8 �4DолO длO доEтуп4 к MлектDо==о9 поGте 8 к Л8G=о<у к458=ету =4 
�л4тDоD<е.  

  

18)  8Eк8 8=DоD<4F8о==о9 5е7оп4E=оEт8 - D8Eк8 D8=4=Eо6KE потеDL 'G4Eт=8ко6 
пл4тDоD<K, E6O74==Kе E 6о7<о6=оEтLN полуGе=8O тDетL8<8 л8F4<8 =еE4=кF8о=8Dо64==о7о 
доEтуп4 к 74I8I4е<о9 8=DоD<4F88, =4пD8<еD:  

" кD464 п4DолO 8 (8л8) 8де=т8D8к4тоD4 доEтуп4 8л8 8=KE ко=D8де=F84лL=KE д4==KE, 
=4пD8<еD, CVV/CVC =о<еD4 к4DтK, клNGе9 MлектDо==о9 подп8E8/H8DDо64=88 поEDедEт6о< 
теE=8GеEк8E EDедEт6 8(8л8) 6Dедо=оE=о7о код4; 8 8EполL7о64=8е 7лоу<KHле==8к4<8 ук474==KE 
д4==KE E дDу78E уEтDо9Eт6 длO =еE4=кF8о=8Dо64==о7о доEтуп4.  

" уEт4=о6к4 =4 уEтDо9Eт6о 6Dедо=оE=о7о код4, котоDK9 по76ол8т 7лоу<KHле==8к4< 
оEуIеEт68тL кD8т8G=Kе опеD4F88 от 8<е=8 'G4Eт=8к4 пл4тDоD<K;  

" 8EполL7о64=8O 7лоу<KHле==8ко< утеDO==о7о 8л8 укD4де==о7о телеDо=4 (SIM 
к4DтK) длO полуGе=8O !�! кодо6, котоDKе <о7ут пD8<е=OтLEO ОпеD4тоDо< �л4тDоD<K 6 к4GеEт6е 
допол=8телL=о9 74I8тK длO =еE4=кF8о=8Dо64==KE D8=4=Eо6KE опеD4F89, Gто по76ол8т 8< 
о5о9т8 74I8ту.  

" кD464 8л8 =еE4=кF8о=8Dо64==K9 доEтуп к уEтDо9Eт6у, E котоDо7о �K полL7уетеEL 
уEлу74<8/EеD68E4<8 ОD74=874F88 длO полуGе=8O д4==KE 8(8л8) =еE4=кF8о=8Dо64==о7о доEтуп4 к 
EеD68E4< ОD74=874F88 E Mто7о уEтDо9Eт64;  



!тD4=8F4 44 87 85 

 

" полуGе=8е п4DолO 8 8де=т8D8к4тоD4 доEтуп4 8(8л8) код4 87 !�! 8(8л8) кодо6о7о 
Eло64 8 пDоG8E ко=D8де=F84лL=KE д4==KE, 6 т.G. п4EпоDт=KE д4==KE, =о<еDо6 EGето6 8 т.д. путе< 
о5<4=4 8(8л8) 7лоупотDе5ле=8O до6еD8е<, ко7д4 7лоу<KHле==8к пDедEт46лOетEO EотDуд=8ко< 
ОD74=874F88 8л8 теE=8GеEк8< EпеF84л8Eто< 8л8 8EполL7ует 8=уN ле7е=ду 8 пDоE8т �4E Eоо5I8тL 
е<у Mт8 EекDет=Kе д4==Kе; 8л8 =4пD46лOет подделL=Kе Eоо5Iе=8O по MлектDо==о9 поGте 8л8 
п8EL<о по о5KG=о9 поGте E пDоEL5о9 пDедоEт468тL 8=DоD<4F8N 8л8 Eо6еDH8тL де9Eт68е, котоDое 
<о6ет пD86еEт8 к ко<пDо<ет4F88 уEтDо9Eт64;  

" пеDеE64т MлектDо==KE Eоо5Iе=89 8 полуGе=8O =еE4=кF8о=8Dо64==о7о доEтуп4 к 
6Kп8Eк4<, отGет4< 8 пDоGе9 D8=4=Eо6о9 8=DоD<4F88, еEл8 MлектDо==4O поGт4 8EполL7уетEO длO 
8=DоD<4F8о==о7о о5<е=4 6 л8G=о< к458=ете уG4Eт=8к4 пл4тDоD<K. �л8 6 EлуG4е полуGе=8O 
доEтуп4 к 64Hе9 MлектDо==о9 поGте, отпD46к4 Eоо5Iе=89 от 64Hе7о 8<е=8 6 ОD74=874F8N.   

�еE4=кF8о=8Dо64==K9 доEтуп тDетL8E л8F к полуG4е<о9/пеDед464е<о9 8=DоD<4F88 
<о6ет =4DуH8тL Dе68< ко=D8де=F84лL=оEт8, пеDед464е<о9/ полуG4е<о9 8=DоD<4F88. �4==Kе 
о5EтоOтелLEт64 <о7ут пD86еEт8 к 6о7=8к=о6е=8N у 'G4Eт=8к4 пл4тDоD<K у5Kтко6, E6O74==KE E 
=епD46о<еD=K< 8EполL7о64=8е< тDетL8<8 л8F4<8 полуGе==о9 8=DоD<4F88 о5 оEуIеEт6лOе<KE 
8< опеD4F8OE (Eделк4E) =4 �л4тDоD<е.   

  

 8Eк, E6O74==K9 E =еE4=кF8о=8Dо64==K< 8EполL7о64=8е< MлектDо==о9 подп8E8 – <о6ет 
6о7=8к=утL 6 EлуG4е ко<пDо<ет4F88 клNG4 ЭлектDо==о9 подп8E8, 8EполL7уе<о9 =4 �л4тDоD<е 8л8 
=еE4=кF8о=8Dо64==о7о доEтуп4 к EDедEт64< ЭлектDо==о9 подп8E8, 6 Dе7улLт4те Gе7о <о6ет 5KтL 
полуGе= доку<е=т, поDо6д4NI89 ND8д8GеEк8 7=4G8<Kе поEледEт68O, 8EEодOI89 от 8<е=8 л8F4, 
клNG MлектDо==о9 подп8E8 котоDо7о 5Kл Eко<пDо<ет8Dо64=. �4==Kе о5EтоOтелLEт64 <о7ут 
пD86еEт8 к 6о7=8к=о6е=8N у �=6еEтоD4 у5Kтко6 6 E6O78 E ко<пDо<ет4F89 клNG4 MлектDо==о9 
подп8E8 EтоDо=K Eделк8.  

  

8. �еDK по пDедупDе6де=8N D8Eко6 8=DоD<4F8о==о9 5е7оп4E=оEт8.  
  

1) Ко=D8де=F84лL=оEтL 4уте=т8D8к4F8о==KE 8 (8л8) 8де=т8D8к4F8о==Kе д4==KE 
'G4Eт=8к4 пл4тDоD<K, 8=DоD<4F88 о =о<еD4E 54=ко6Eк8E EGето6 к4Dт 8 ���-код4E, 4 т4к6е лN5о9 
8=DоD<4F88, полуGе==о9 от ОпеD4тоD4 �л4тDоD<K (6 т.G. п4Dол8, !�! кодK, кодо6Kе Eло64, клNG8 
MлектDо==о9 подп8E8/H8DDо64=8O 8 т.д.).  

2) �D8 утеDе, кD46е телеDо=4 (SIM к4DтK), 8EполL7уе<о7о длO полуGе=8O !�! 8л8 
доEтуп4 к пл4тDоD<е к46дK9 'G4Eт=8к пл4тDоD<K о5O74= =е74<едл8телL=о пDо8=DоD<8Dо64тL о5 
Mто< D4кте ОпеD4тоD4 �л4тDоD<K GеDе7 л8G=K9 к458=ет, л85о =4 MлектDо==уN поGту ОпеD4тоD4 
�л4тDоD<K Eо E6ое9 MлектDо==о9 поGтK, ук474==о9 пD8 Dе78EтD4F88 =4 �л4тDоD<е, 8 пD8 
=ео5Eод8<оEт8 E<е=8тL п4DолL длO 6Eод4 =4 �л4тDоD<у.   

3) �еDK, по пDедупDе6де=8N D8Eко6 8=DоD<4F8о==о9 5е7оп4E=оEт8, =4пD46ле==Kе 
=4 74I8ту уEтDо9Eт64, E котоDо7о оEуIеEт6лOетEO 6Eод =4 �л4тDоD<у, 6 то< G8Eле, =о =е 
о7D4=8G864OEL:  

" 8EполL7о64=8е толLко л8Fе=78о==о7о пDо7D4<<=о7о о5еEпеGе=8O;  
" =4EтDо9к4 пD46 доEтуп4 к уEтDо9Eт6у E FелLN пDедот6D4Iе=8O 

=еE4=кF8о=8Dо64==о7о доEтуп4;  
" =4л8G8е EDедEт6 74I8тK 8 4кту4лL=KE о5=о6ле=89 EDедEт6 5е7оп4E=оEт8 

(4=т868DуE=KE пDо7D4<<;  
" 8EполL7о64тL Eло6=Kе п4Dол8;  
" о7D4=8G8тL доEтуп к ко<пLNтеDу, 8EклNG8тL (о7D4=8G8тL) 6о7<о6=оEтL 

д8Eт4=F8о==о7о подклNGе=8O к ко<пLNтеDу тDетL8< л8F4<.  
" 4кт864F8O п4DолL=о9 8л8 8=о9 74I8тK длO доEтуп4 к уEтDо9Eт6у.  
" оEтоDо6=оEтL пD8 полуGе=88 MлектDо==KE п8Eе< Eо EEKлк4<8 8 6ло6е=8O<8 8 пD8 

пDоE<отDе/D45оте E 8=теD=ет-E49т4<8, Gто5K 8EклNG8тL 74D46е=8е уEтDо9Eт64 6Dедо=оE=K< 
кодо<, котоDK9 <о6ет полуG8тL доEтуп к лN5K< д4==K< 8 8=DоD<4F8о==K< E8Eте<4< уEтDо9Eт6е 
полL7о64телO.  

4) �D8 D45оте E клNG4<8 MлектDо==о9 подп8E8 =ео5Eод8<о:  



!тD4=8F4 45 87 85 

 

" 8EполL7о64тL длO ED4=е=8O клNGе9 MлектDо==о9 подп8E8 6=еH=8е =оE8тел8, 
=4EтоOтелL=о Dеко<е=дуетEO 8EполL7о64тL EпеF84лL=Kе 74I8Iе==Kе =оE8тел8 клNGе6о9 
8=DоD<4F88 (клNGе6Kе =оE8тел8), =4пD8<еD: e-token, E<4Dт-к4Dт4 8 т.п.;   

" 8EполL7о64тL Eло6=Kе п4Dол8 длO 6Eод4 =4 уEтDо9Eт6о 8 длO доEтуп4 к клNG4< 
MлектDо==о9 подп8E8/клNGе6K< =оE8телO<, =е ED4=8тL п4Dол8 откDKто< 68де =4 
ко<пLNтеDе/<о58лL=о< уEтDо9Eт6е.  

5) �D8 подо7Dе=88 6 ко<пDо<ет4F88 клNGе9 MлектDо==о9 подп8E8/H8DDо64=8O 8л8 
=еE4=кF8о=8Dо64==о< д686е=88 Fе==KE 5у<47, де=е6=KE EDедEт6 8л8 8=KE D8=4=Eо6KE 4кт86о6 
=ео5Eод8<о =е74<едл8телL=о о5D4I4тLEO к ОпеD4тоDу �л4тDоD<K.  

 

ООО «�47=у<�=6еEт» Dеко<е=дует 6=8<4телL=о D4EE<отDетL 6опDоE о то<, O6лONтEO л8 
D8Eк8, оп8E4==Kе 6KHе, пD8е<ле<K<8 длO �4E, E уGето< 64H8E 8=6еEт8F8о==KE Fеле9 8 
D8=4=Eо6KE 6о7<о6=оEте9. 

�одп8EK64O =4EтоOIуN �екл4D4F8N о D8Eк4E, 6K подт6еD6д4ете, Gто 64<8 6=8<4телL=о 
пDоG8т4=4 8 по=Oт4 =4EтоOI4O �екл4D4F8O о D8Eк4E 8 6K оEо7=4ете 6о7<о6=оEтL 6о7=8к=о6е=8O 
ук474==KE 6KHе (8 =е толLко) D8Eко6. �екл4D4F8O =е 8<еет FелL о7D4=8G8тL �4E 6 оEуIеEт6ле=88 
опеD4F89 GеDе7 �л4тDоD<у, 4 пD8764=4 по<оGL �4< оFе=8тL D8Eк8 8 от6етEт6е==о подо9т8 к 
пDоFеEEу 8=6еEт8Dо64=8O, 4 т4к6е 6K5оDу 8=6еEт8F8о==о9 EтD4те788. 

 

�4EтоOI8< �=6еEтоD подт6еD6д4ет, Gто о= о7=4ко<ле= E �екл4D4F8е9 о D8Eк4E 8 
пD8=8<4ет =4 Eе5O 6KHеук474==Kе D8Eк8, 4 т4к6е 6о7<о6=Kе 8=Kе D8Eк8, E6O74==Kе E 
8=6еEт8Dо64=8е< E 8EполL7о64=8е< 8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт». 

�=6еEтоD подт6еD6д4ет, Gто о= =е 5удет 8<етL пDете=789 к ООО «�47=у<�=6еEт» 6 EлуG4е 
6о7=8к=о6е=8O D8=4=Eо6KE 8(8л8) 8<уIеEт6е==KE потеDL пD8 уEло688, Gто ООО «�47=у<�=6еEт» 
де9Eт6о64ло 6 Eоот6етEт688 E �D468л4<8. 
 

�О���!��О � � �О�О)� !�!: 
ID �=6еEтоD4 

 

 

�о<еD телеDо=4 �=6еEтоD4  

 

 

!�!-код 

 

 

�4т4 8 6Dе<O  

 

 

ID у Eото6о7о ОпеD4тоD4 
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�D8ло6е=8е № 3: �=6еEт8F8о==ое пDедло6е=8е л8F4, пD86лек4Nще7о 8=6еEт8F88 

Eт4=д4Dт=4O DоD<4 пDедEт46ле=8O ОпеD4тоDу 8=6еEт8F8о==о9 пл4тDоD<K л8Fо<, пD86лек4NI8< 
8=6еEт8F88, 8=DоD<4F88 о Eе5е 8 E6о8E 8=6еEт8F8о==KE пDедло6е=8OE 

 

�=6еEт8F8о==ое пDедло6е=8е №    
 
����)�К: 
 

�ол=ое =48<е=о64=8е ND8д8GеEко7о л8F4 
л85о $4<8л8O �<O ОтGеEт6о 8=д868ду4лL=о7о 
пDедпD8=8<4телO, д4т4 8 <еEто Dо6де=8O  

 

 

О� � 8л8 О� ���  

 

 

��� 

 

 

К�� (пD8 =4л8G88) 
 

 

�дDеE Dе78EтD4F88 (6 Eоот6етEт688 Eо 
E6еде=8O<8 6 �� .Л/�� ��)  

 

 

�дDеE <еEт4 =4Eо6де=8O ND8д8GеEко7о л8F4/ 
4дDеE <еEт4 68телLEт64 8=д868ду4лL=о7о 
пDедпD8=8<4телO (пD8 Eо6п4де=88 E 4дDеEо< 
Dе78EтD4F88 – пDоEт468тL 7=4Gе=8е: «тот 6е») 
 

 

ОE=о6=о9 68д деOтелL=оEт8 

  

 

$4<8л8O �<O ОтGеEт6о Dуко6од8телO, 
дол6=оEтL Dуко6од8телO (длO ND8д8GеEко7о 
л8F4) 
  

 

�4=ко6Eк8е Dек6878тK 

 

 

!6еде=8O о л8F4E, 8<еNI8E пD46о 

D4EпоDO64тLEO =е <е=ее Gе< 10 пDоFе=т4<8 
7олоEо6 6 6KEHе< оD74=е упD46ле=8O 
ND8д8GеEко7о л8F4, еEл8 т4к8< л8Fо< 
O6лOетEO коDпоD4F8O 

 

 

!6еде=8O о EтDуктуDе 8 пеDEо=4лL=о< EоEт46е 
оD74=о6 упD46ле=8O ND8д8GеEко7о л8F4 

 

 

�одо64O 5уE74лтеDEк4O (D8=4=Eо64O) 
отGет=оEтL 74 поEлед=89 746еDHе==K9 
отGет=K9 7од 6<еEте E 4уд8тоDEк8< 
74клNGе=8е< 6 от=оHе=88 т4ко9 отGет=оEт8, 
еEл8 л8Fо<, пD86лек4NI8< 8=6еEт8F88, 
O6лOетEO .D8д8GеEкое л8Fо, EуIеEт6уNIее 
5олее од=о7о 7од4, 8 D47<еD пD86лек4е<KE 
8< 8=6еEт8F89 пDе6KH4ет 60 <8лл8о=о6 
Dу5ле9   

�D8л474NтEO к 8=6еEт8F8о==о<у 
пDедло6е=8N. 
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ОEт4лL=Kе 68дK деOтелL=оEт8 л8F4, 
пD86лек4NIе7о 8=6еEт8F88 

 

 

!6еде=8O о текуIе< Dе9т8=7е л8F4, 
пD86лек4NIе7о 8=6еEт8F88, Dе9т8=7е 
8=6еEт8F8о==о7о пDедло6е=8O, котоDKе 

пD8E64864NтEO 6 Eоот6етEт688 E �D468л4<8 
8=6еEт8F8о==о9 пл4тDоD<K, еEл8 пD8E6ое=8е 
т4ко7о Dе9т8=74 пDедуE<отDе=о �D468л4<8 
�л4тDоD<K 

 

 

!6еде=8O о5 MкEпеDт4E, пD86леGе==KE длO 
<о=8тоD8=74 8 оFе=к8 деOтелL=оEт8 л8F4, 
пD86лек4NIе7о 8=6еEт8F88, =4пD46ле==о9 =4 
доEт86е=8е Fеле9 8=6еEт8Dо64=8O, 4 т4к6е 
Dе7улLт4тK т4к8E <о=8тоD8=74 8 оFе=к8 (еEл8 
8<еNтEO) 

 

!6еде=8O о D4кт4E (Eо5Kт8OE, де9Eт68OE), 
котоDKе <о7ут ок474тL EуIеEт6е==ое 6л8O=8е 
=4 8Eпол=е=8е л8Fо<, пD86лек4NI8< 
8=6еEт8F88, о5O74телLEт6 пеDед 8=6еEтоD4<8 

  

 

!6еде=8O о Eу<<4E 8=6еEт8F89, пD86леGе==KE 
л8Fо<, пD86лек4NI8< 8=6еEт8F88, 6 
8=6еEт8F8о==о9 пл4тDоD<е 6 текуIе< 
к4ле=д4D=о< 7оду, 4 т4к6е о <4кE8<4лL=о< 
о5JU<е де=е6=KE EDедEт6, ук474==о< 6 
к46до< де9Eт6уNIе< 8=6еEт8F8о==о< 
пDедло6е=88 6 Mто9 8=6еEт8F8о==о9 
пл4тDоD<е, по доEт86е=88 котоDо7о 
8=6еEт8F8о==ое пDедло6е=8е пDекD4I4етEO
  

!у<<4 8=6еEт8F89, пD86леGе==KE 74е<I8ко< =4 

пл4тDоD<е 6 текуIе< 7оду: _____Dу5ле9 ___копеек 

 

&екуIуN 8=DоD<4F8N E<отDетL 6о 6кл4дке 

"ОпKт 74е<I8к4" 

�8=8<4лL=4O Eу<<4 8=6еEт8Dо64=8O - 
�8=8<4лL=K9 о5JU< де=е6=KE EDедEт6 
8=6еEтоDо6, доEт86е=8е котоDо7о O6лOетEO 
=ео5Eод8<K< уEло68е< длO 74клNGе=8O 
до7о6оD4 �=6еEт8Dо64=8O  
  

 

�4кE8<4лL=4O Eу<<4 8=6еEт8Dо64=8O - 
�4кE8<4лL=K9 о5JU< де=е6=KE EDедEт6 
8=6еEтоDо6, по доEт86е=88 котоDо7о де9Eт68е 
т4ко7о 8=6еEт8F8о==о7о пDедло6е=8O 
пDекD4I4етEO 

 

 

!Dок де9Eт68O 8=6еEт8F8о==о7о пDедло6е=8O 
(д4т4 8 тоG=ое 6Dе<O) 
 

GG: << дд. <<. 777 

�е=L пDекD4Iе=8O де9Eт68O 8=6еEт8F8о==о7о 
пDедло6е=8O 

 

� 7468E8<оEт8 от то7о, к4кое 87 Eо5Kт89 
=4Eтуп8т D4=LHе, �=6еEт8F8о==ое 
пDедло6е=8е пDекD4I4ет E6ое де9Eт68е: 
 

1)�о 8EтеGе=88 EDок4 е7о де9Eт68O; 



!тD4=8F4 48 87 85 

 

 

2)� де=L доEт86е=8O �4кE8<4лL=о9 Eу<<K 
8=6еEт8Dо64=8O. 
 

�4т4 6о76D4т4 749<4 

 

 

&елL 749<4  

 

 

!6еде=8O о пDоекте, 74 EGUт EDедEт6 котоDо7о 
пл4=8DуетEO по74Hе=8е/ &еле6о9 8EтоG=8к 
по74Hе=8O 8=6еEт8F89 

 

 

ОпKт Dе4л874F88 подо5=KE ко=тD4кто6 (пD8 
=4л8G88)  

 

 

О5EтоOтелLEт64, котоDKе <о7ут 
ок474тL 6л8O=8е =4 доEт86е=8е 

ук474==KE Fеле9  
 

 

�<еетEO л8 уEпеH=K9 опKт пD86леGе=8O 
8=6еEт8F89? 

 

по к46до<у 87 т4к8E пDоекто6: Eоо5I8те д4ту 
пD86леGе=8O 8=6еEт8F89, Eу<<у 
пD86леGе==KE EDедEт6, EDок, =4 котоDK9 
пD86лек4л8EL EDедEт64, =4л8G8е/отEутEт68е 
=е746еDHе==KE 8Eпол=е=8е< де=е6=KE 8 
8=KE о5O74телLEт6 E ук474=8е< Eу<<K 6 
Dу5лOE. 
 

�<еетEO л8 =е74т86=K9 опKт пD86леGе=8O 
8=6еEт8F89 (пD8 =4л8G88 пDоEDоGе==KE 
де=е6=KE о5O74телLEт6)? 

 

по к46до<у 87 т4к8E пDоекто6: Eоо5I8те д4ту 
пD86леGе=8O 8=6еEт8F89, Eу<<у 
пD86леGе==KE EDедEт6, EDок, =4 котоDK9 
пD86лек4л8EL EDедEт64, =4л8G8е/ отEутEт68е 
=епо74Hе==о9 74дол6е==оEт8 E ук474=8е< 
Eу<<K 6 Dу5лOE. 
 

О5EтоOтелLEт64, 6 EлуG4е 6о7=8к=о6е=8O 
котоDKE �4U<I8к о5O74= 6о76D4т8тL Eу<<у 
749<4 доEDоG=о 

 

� EлуG4е  =е=4дле64Iе7о 8Eпол=е=8O 
де=е6=KE о5O74телLEт6 по лN5о<у 87 
�о7о6оDо6 8=6еEт8Dо64=8O, 74клNGе==о<у E 
8EполL7о64=8е< �=6еEт8F8о==о9 пл4тDоD<K 
«�47=у<�=6еEт», по6лекHе7о пDоEDоGку 
8Eпол=е=8O де=е6=KE о5O74телLEт6 пеDед 
8=6еEтоD4<8 5олее Gе< =4 30 (&D8дF4тL) 
к4ле=д4D=KE д=е9, - �4U<I8к о5O74= доEDоG=о 
6о76D4т8тL Eу<<K 749<4 по ук474==о<у 
�о7о6оDу (по котоDо<у допуIе=4 пDоEDоGк4),  
4 т4к6е 6Eе< дDу78< �о7о6оD4< 
8=6еEт8Dо64=8O, 74клNGе==K< E 
8EполL7о64=8е< �=6еEт8F8о==о9 пл4тDоD<K 
«�47=у<�=6еEт», (д46е 6 EлуG4е отEутEт68O 
пDоEDоGек по =8<), -  6 теGе=8е 21 (д64дF4т8 
од=о7о)  к4ле=д4D=о7о д=O E <о<е=т4 
допуIе==о9 пDоEDоGк8, 4 8<е==о, о5O74==оEтL 
по доEDоG=о<у 6о76D4ту 6EеE полуGе==KE 6 
74U< Eу<< по 6Eе< �о7о6оD4< 8=6еEт8Dо64=8O 



!тD4=8F4 49 87 85 

 

=4 пл4тDоD<е, =4G8=4O E 31 (&D8дF4тL пеD6о7о) 
к4ле=д4D=о7о д=O пDоEDоGк8 по лN5о<у 8 
�о7о6оDо6 8=6еEт8Dо64=8O, 74клNGе==KE E 
ОпеD4тоDо< �л4тDоD<K.  
&Dе5о64=8е о доEDоG=о< по74Hе=88 �4U<I8ку 
=е =4пD46лOетEO, поEколLку ук474==ое 
о5O74телLEт6о по доEDоG=о<у 6о76D4ту Eу<<K 
749<4 O6лOетEO о5уEло6ле==K< (Eт. 327.1 �К 
 $) 8 пDедпол474етEO, Gто �4U<I8к =е <о6ет 
=е 7=4тL о =4Eтупле=88 ук474==KE 
о5EтоOтелLEт6. 
 

�оEDоG=ое по74Hе=8е 749<4 �оEDоG=ое по74Hе=8е 749<4 6о7<о6=о толLко 
пD8 уEло688 пол=о7о по74Hе=8O Eу<<K 749<4. 
'4Eт8G=ое доEDоG=ое по74Hе=8е Eу<<K 749<4 
=е допуEк4етEO. 
 

�DоFе=тK 74 полL7о64=8е 749<о< �DоFе=тK 74 полL7о64=8е де=е6=K<8 
EDедEт64<8 =4G8EлONтEO 6 пDоFе=т4E 7одо6KE 
Eо д=O, EледуNIе7о 74 д=U< пеDед4G8 Eу<<K 
749<4 по де=L 6о76D4т4 6клNG8телL=о. 
 

!т46к4 пDоFе=то6 74 полL7о64=8е 749<о<, 6 
пDоFе=т4E 7одо6KE  

 

 % 

 

�D4D8к 6о76D4т4 Eу<<K 749<4 8 упл4тK 
пDоFе=то6  

 

!у<<4 749<4 8 =4G8Eле==KE пDоFе=то6 
упл4G864етEO (6K5D4тL 8 ук474тL =у6=ое): 
" Од=о6Dе<е==о E 6о76D4то< Eу<<K 
749<4, оEуIеEт6лOе<K< ед8=о6Dе<е==K< 
пл4те6о<. 
� ко=Fе EDок4 749<4 – од=о6Dе<е==о E 
6о76D4то< око=G4телL=о7о (поEлед=е7о) 
пл4те64 Eу<<K 749<4 (пD8 =4л8G88 
пеD8од8GеEк8E пл4те6е9 по 6о76D4ту Eу<<K 
749<4). 
 

�о6KHе==Kе пDоFе=тK �о6KHе==Kе пDоFе=тK 74 полL7о64=8е 
де=е6=K<8 EDедEт64<8 =4G8EлONтEO E пеD6о7о 
д=O пDоEDоGк8 8 до пол=о7о по74Hе=8O 
74дол6е==оEт8. �о6KHе==Kе пDоFе=тK 
=4G8EлONтEO к4к =4 оEт4ток оE=о6=о7о дол74, 
т4к 8 =4 оEт4ток 74дол6е==оEт8 по пDоFе=т4<. 
 

!т46к4 по6KHе==KE пDоFе=то6 

 

% 

�д8=оD47о6K9 HтD4D 74 пDоEDоGку 
8Eпол=е=8O о5O74телLEт6  

 

(тD4D =4G8EлOетEO 6 пеD6K9 де=L пDоEDоGк8 
6о76D4т4 Eу<<K 749<4. �лO D4EGет4 HтD4D4 
пD8=8<4етEO Eу<<4 749<4, 6=е 7468E8<оEт8 от 
оEт4тк4 74дол6е==оEт8 =4 <о<е=т =4G8Eле=8O 
HтD4D4. 
 

!т46к4 HтD4D4 6 пDоFе=т4E от Eу<<K 
пDедоEт46ле==о7о 749<4  

 % 



!тD4=8F4 50 87 85 

 

  

�оDOдок по74Hе=8O 74дол6е==оEт8 пD8 
=едоEт4тоG=оEт8 де=е6=KE EDедEт6 

 

�Eл8 Eу<<4 пDо876еде==о7о пл4те64 
=едоEт4тоG=4 длO 8Eпол=е=8O де=е6=о7о 
о5O74телLEт64 по �о7о6оDу 749<4, 
поEтуп4NI8е �49<од46Fу от �4U<I8к4 Eу<<K 
=4пD46лONтEO поEледо64телL=о (=е7468E8<о 
от ук474=89, д4==KE 6 пл4те6=KE доку<е=т4E 
�4U<I8ко<): 
 

6 пеD6уN оGеDедL - =4 по74Hе=8е 87деD6ек 
�49<од46F4 по полуGе=8N 8Eпол=е=8O 
о5O74телLEт6 �4U<I8к4; 
 

6о 6тоDуN оGеDедL - =4 по74Hе=8е пDоFе=то6 
74 полL7о64=8е �4U<=K<8 EDедEт64<8 
(749<о<); 
 

6 тDетLN оGеDедL - =4 по74Hе=8е оE=о6=о7о 
дол74 (6о76D4т4 �4U<=KE EDедEт6); 
 

6 Gет6еDтуN оGеDедL - =4 по74Hе=8е 
по6KHе==KE пDоFе=то6 74 полL7о64=8е 
�4U<=K<8 EDедEт64<8 (749<о<) 8(8л8) 
пDоEDоGку упл4тK пDоFе=то6; 
 

6 пOтуN оGеDедL – =4 по74Hе=8е 
ед8=оD47о6о7о HтD4D4 74 пDоEDоGку 6о76D4т4 
749<4. 
� HеEтуN – 8=Kе пл4те68 (пD8 =4л8G88). 
 

�оEуде5=K9 поDOдок уDе7ул8Dо64=8O EпоD4 

 

�оEуде5=K9 поDOдок уDе7ул8Dо64=8O EпоDо6 
O6лOетEO о5O74телL=K< длO !тоDо=. 
 

!тоDо=K уEт4=о68л8 EледуNI8е поDOдок 8 
EDок8 доEуде5=о7о уDе7ул8Dо64=8O EпоDо6: 
 

- 6 EлуG4е =4пD46ле=8O доEуде5=о9 
пDете=788 �оGто9  оEE88, доEуде5=K9 
поDOдок EG8т4етEO Eо5лNде==K< по 8EтеGе=88 
15 (пOт=4дF4т8) к4ле=д4D=KE д=е9 E <о<е=т4 
=4пD46ле=8O пDете=788; 
 

6 EлуG4е =4пD46ле=8O доEуде5=о9 пDете=788 
по 4дDеEу MлектDо==о9 поGтK, доEуде5=K9 
поDOдок EG8т4етEO Eо5лNде==K< по 8EтеGе=88 
5 (пOт8) D45оG8E д=е9 E <о<е=т4 =4пD46ле=8O 
пDете=788 E 4дDеE4 MлектDо==о9 поGтK, 
8EполL7уе<о7о ОпеD4тоDо<, =4 4дDеE 
MлектDо==о9 поGтK �4U<I8к4, ук474==K9 6 
ОDеDте. 
 

�дDеE MлектDо==о9 поGтK длO =4пD46ле=8O 
доEуде5=KE пDете=789  

 

 @    
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�о7о6оD=4O подEуд=оEтL �D8 =е6о7<о6=оEт8 D47DеHе=8O EпоDо6 путе< 
пеDе7о6оDо6, EпоDK подле64т D4EE<отDе=8N 6 
�D58тD46=о< Eуде 7оDод4 �оEк6K, 6 поDOдке, 
уEт4=о6ле==о< де9Eт6уNI8< 
74ко=од4телLEт6о<  $. 
 

� EлуG4е, еEл8 D4EE<отDе=8е EпоD4 от=оE8тEO к 
ко<пете=F88 D49о==о7о Eуд4 о5Iе9 
ND8Eд8кF88, EпоDK подле64т D4EE<отDе=8N 6 
лN5о< 87 D49о==KE Eудо6 6 7. �6е6Eк 
'д<уDтEко9  еEпу5л8к8, 6 поDOдке, 
уEт4=о6ле==о< де9Eт6уNI8< 
74ко=од4телLEт6о<  $. 
 

� EлуG4е, еEл8 D4EE<отDе=8е EпоD4 от=оE8тEO к 
ко<пете=F88 <8Dо6о7о EудL8, EпоDK подле64т 
D4EE<отDе=8N <8Dо6K< EудLU9 лN5о7о 
Eуде5=о7о уG4Eтк4 6 7оDоде �6е6Eк 'д<уDтEко9 
 еEпу5л8к8, 6 поDOдке, уEт4=о6ле==о< 
де9Eт6уNI8< 74ко=од4телLEт6о<  $. 
 

 

�DоG8е уEло68O �=6еEт8F8о==о7о 
пDедло6е=8O 

 

'к474тL пDоG8е уEло68O, уG8тK64O поло6е=8O 
�D468л 

 

�=DоD<4F8O, по76олONI4O EоEт468тL о5Iее 
пDедEт46ле=8е о FелOE пD86леGе=8O 
8=6еEт8F89 8 о5 о5EтоOтелLEт64E, котоDKе 
<о7ут ок474тL 6л8O=8е =4 доEт86е=8е 
ук474==KE Fеле9, 4 т4к6е о5 оE=о6=KE D8Eк4E, 
E6O74==KE E л8Fо<, пD86лек4NI8< 
8=6еEт8F88, 8 D8Eк4E, E6O74==KE E пD8=Oт8е< 
8=6еEт8F8о==о7о пDедло6е=8O 

ОE=о6=о9 FелLN пD86леGе=8O 8=6еEт8F89 
O6лOетEO попол=е=8е <е6пDоект=о7о к4п8т4л4 
6 E6O78 E оEуIеEт6ле=8е< �4U<I8ко< 
деOтелL=оEт8 6 к4GеEт6е 74EтDо9I8к4/ 
де6елопеDEко9 ко<п4=88 по Eо7д4=8N 68ло9 
=ед6868<оEт8/ пDоект8Dо64=8O 6 EDеDе 
EтDо8телLEт64 /8=6е=еD=KE 87KEк4=89 6 EDеDе 
EтDо8телLEт64/ деOтелL=оEт8 по Eо7д4=8N 8л8 
Dеко=EтDукF88 о5Jекто6 =ед6868<оEт8 8л8 
8=DD4EтDуктуDK/ покупке 8 пDод46е о5Jекто6 
=ед6868<оEт8/ 4Dе=де 8 упD46ле=8N 

Eо5Eт6е==K< 8л8 4Dе=до64==K< =ед6868<K< 
8<уIеEт6о<. 

 

О5EтоOтелLEт64<8, котоDKе 6л8ONт =4 
уEпеH=ое 8Eпол=е=8е о5O74телLEт6 по 
ук474==K< о5O74телLEт64< O6лOетEO 
о5Jект86=Kе D4ктK деOтелL=оEт8 �4U<I8к4, 
к4к то: (ук474тL, =4пD8<еD: =4дле64Iее 
8Eпол=е=8е EотDуд=8к4<8 �4U<I8к4 E6о8E 
тDудо6KE о5O74==оEте9, 8Eпол=е=8е 
о5O74==оEте9 л8F4<8, пD86лек4е<K<8 
�4U<I8ко< длO 8Eпол=е=8O о5O74телLEт6 по 
74клNG4е<K< до7о6оD4<, к4GеEт6о 
пD8о5Dет4е<KE <4теD84ло6, 8 8=Kе D8Eк8, 
6о7=8к4NI8е пD8 оEуIеEт6ле=88 
пDедпD8=8<4телLEко9 деOтелL=оEт8.) 
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�D8о5Dете=8е 8<уIеEт6е==KE пD46 л8Fо<, 
ко=тDол8DуNI8< �4U<I8к4 

Ко=тDол8DуNIее л8Fо пD8=8<4ет/=е 
пD8=8<4ет =4 Eе5O о5O74телLEт6о по 
пD8о5Dете=8N 8<уIеEт6е==KE пD46 у 
�=6еEтоDо6. 
 

�DедупDе6де=8е о D8Eк4E  

 

�4EтоOI8< пDедупDе6д4е<, Gто 6 EлуG4е 
Dе4л874F88 пDедпD8=8<4телLEк8E D8Eко6 8 
=4Eтупле=8O =епл4те6еEпоEо5=оEт8 
�4U<I8к4, 8=6еEт8F8O <о6ет 5KтL потеDO=4, 8 
(8л8) 6о7=8к=ет =е6о7<о6=оEтL пDод468 
8<уIеEт6е==KE пD46, л85о 8<уIеEт6е==Kе 
пD464, пD8о5Dете==Kе 6 Eоде 8=6еEт8Dо64=8O, 
<о7ут 5KтL Dе4л87о64=K по Eто8<оEт8, 
отл8G=о9 от 8E =о<8=4лL=о9 Eто8<оEт8. 
 

�о7=47D46де=8е ОпеD4тоD4  

 

�еDеG8Eле=8е пDедуE<отDе==KE пD468л4<8 
8=6еEт8F8о==о9 пл4тDоD<K Eу<< 6о7=47D46де=8O 
опеD4тоDу 8=6еEт8F8о==о9 пл4тDоD<K 
оEуIеEт6лOетEO 87 Eу<<, Eо5D4==KE по 
8=6еEт8F8о==о<у пDедло6е=8N:  

• '4EтL 749<4, D46=4O Eу<<е ко<8EE88 
ОпеD4тоD4 - =4 EGет ОпеD4тоD4 6 EGет 
опл4тK уEлу7 ОпеD4тоD4 Eо7л4E=о т4D8D4<, 

• ОEт46H4OEO G4EтL Eу<<K 749<4 - =4 
D4EGет=K9 EGUт �4U<I8к4.  

�одп8E4=8е< �=6еEт8F8о==о7о пDедло6е=8O 
�4U<I8к пDO<о 8 5е7о7о6оDоG=о подт6еD6д4ет 
E6ое 6оле87JO6ле=8е =4 пеDеG8Eле=8е Eу<<K 
6о7=47D46де=8O ОпеD4тоDу �л4тDоD<K ук474==K< 
EпоEо5о<. 
�D8 Mто< т4кое Eп8E4=8е де=е6=KE EDедEт6 
O6лOетEO D4кто< пеDед4G8 G4Eт8 749<4 по ук474=8N 
�4U<I8к4 тDетLе<у л8Fу - ОпеD4тоDу 8 EG8т4етEO 
пеDед4==о9 �4U<I8ку (G. 5 Eт. 807 �D46д4=Eко7о 
кодекE4  оEE89Eко9 $едеD4F88). 
 

 

  

 

�О���!��О � � �О�О)� !�! ����)�К� 

 

�о<еD телеDо=4 

 

 

!�!-код 

 

 

�4т4 8 6Dе<O  

 

 

ID у Eото6о7о ОпеD4тоD4 
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�D8ло6е=8е № 4: АкFепт 8=6еEт8F8о==о7о пDедло6е=8O (оDеDтO) 
№ 

 

�4пD46лOO �кFепт �=6еEт8F8о==о7о пDедло6е=8O 6 4дDеE ОпеD4тоD4 8 �4U<I8к4, 
1) �4клNG4N �о7о6оD 8=6еEт8Dо64=8O =4 уEло68OE, уEт4=о6ле==KE �=6еEт8F8о==K< 

пDедло6е=8е< 8 �D468л4<8 8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт»; 
2) �оDуG4N ОпеD4тоDу пеDеG8Eл8тP �4U<I8ку Eу<<у 749<4 74 EGет <о8E EDедEт6, 

=4EодOI8EEO =4 �о<8=4лL=о< EGUте, 5е=еD8F84Dо< котоDо7о O O6лONEL; 
3) � FелOE Eо5лNде=8O тDе5о64=8O G. 1 Eт. 7 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-

$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» подт6еD6д4N, Gто Eу<<4 
де=е6=KE EDедEт6, пDо8=6еEт8Dо64==KE E по<оILN 8=KE 8=6еEт8F8о==KE пл4тDоD< 6 теGе=8е 
текуIе7о к4ле=д4D=о7о 7од4, EоEт46лOет_____________ Dу5ле9. 
 

�=6еEтоD ($�О/=48<е=о64=8е) 
 

 

�4EпоDт=Kе д4==Kе 8(8л8) ���1 

 

 

!у<<4 8=6еEт8Dо64=8O 

 

 

�4U<I8к (=48<е=о64=8е, ���) 
 

 

 

  

�О���!��О � � �О�О)� !�!: 
 

ID �=6еEтоD4  

 

 

�о<еD телеDо=4 �=6еEтоD4 

 

 

!�!-код 

 

 

�4т4 8 6Dе<O 

 

 

ID у Eото6о7о ОпеD4тоD4 

 

 

 

����!&О  

�О���!��О Э&� 

 

 

  

                                                           
1 �Eл8 8=6еEтоDо< O6лOетEO D878GеEкое л8Fо – ук47K64NтEO п4EпоDт=Kе д4==Kе 8 ���. �Eл8 8=6еEтоDо< 
O6лOетEO 8=д868ду4лL=K9 пDедпD8=8<4телL 8л8 ND8д8GеEкое л8Fо – ук47K64етEO ���. 
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�D8ло6е=8е № 5: &4D8DO 

 

ООО «�47=у<�=6еEт» 

74 8EполL7о64=8е E8Eте<K �47=у<�=6еEт 
 

 

1.  47<еD ко<8EE88 ОпеD4тоD4 опDеделOетEO к4к пDоFе=т от Eу<<K де=е6=KE EDедEт6, 
пеDеG8Eле==KE �4U<I8ку =4 оE=о64=88 �=6еEт8F8о==о7о пDедло6е=8O, 8 7468E8т от EледуNI8E 
D4ктоDо6: EDок4, =4 котоDK9 пD86лек4етEO �4U<, пDо7=о7о6 о пл4те6еEпоEо5=оEт8 �4U<I8к4, 
л8к68д=оEт8 пDед<ет4 о5еEпеGе=8O (6 EлуG4е, еEл8 пD8<е=8<о) 8 оE=о6=KE 587=еE-пDоFеEEо6 
л8F4, пDедоEт46лONIе7о о5еEпеGе=8е (6 EлуG4е, еEл8 пD8<е=8<о). 

 

2.  47<еD ко<8EE88 ОпеD4тоD4 опDеделOетEO ОпеD4тоDо< ед8=ол8G=о 6 д84п47о=е от 
1% до 8%, 6 <о<е=т пD8=Oт8O DеHе=8O ОпеD4тоDо< о5 одо5Dе=88 74O6к8 �4е<I8к4, 8 ук47K64етEO 
длO л8F4, пD86лек4NIе7о 8=6еEт8F88 6 е7о Л8G=о< к458=ете =4 �л4тDоD<е пD8 пу5л8к4F88 
�=6еEт8F8о==о7о пDедло6е=8O. 

 

Л8Fо, пD86лек4NIее 8=6еEт8F88, 6KD464ет E6ое Eо7л4E8е E D47<еDо< ко<8EE88 
ОпеD4тоD4, 678<4е<о9 длO D47<еI4е<о7о �=6еEт8F8о==о7о пDедло6е=8O, путе< подп8E4=8O 8 
пу5л8к4F88 т4ко7о �=6еEт8F8о==о7о пDедло6е=8O =4 �л4тDоD<е. 
 

� EлуG4е доEDоG=о7о 6о76D4т4 �49<4 D47<еD ко<8EE88 =е подле68т пеDеE<отDу 8 =е 7468E8т 
от D4кт8GеEко7о EDок4 полL7о64=8O де=е6=K<8 EDедEт64<8. 

 

3. � EлуG4е, еEл8 �4U<I8к =е 6о76D4I4ет Eу<<у 749<4 6 EDок, �4U<I8к 6Kпл4G864ет 
ед8=оD47о6K9 HтD4D 6 D47<еDе 3% от 6Eе9 Eу<<K полуGе==о7о, =о =е 6о76D4Iе==о7о 6 EDок �49<4. 
 

 

 

 

 

  



!тD4=8F4 55 87 85 

 

�D8ло6е=8е № 6 ВOп8Eк4 87 DееEтD4 До7о6оDо6 8=6еEт8Dо64=8O  
�=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

Л8Eт �  

�=6еEтоDу 

�Kп8Eк4 87 DееEтD4 �о7о6оDо6 8=6еEт8Dо64=8O 8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

�48<е=о64=8е �о7о6оD4 �о7о6оD 8=6еEт8Dо64=8O 

�о<еD �о7о6оD4 __________2 

�4т4 до7о6оD4  

�48<е=о64=8е �4U<I8к4  

��� / О� �  

�дDеE  

�д8=ол8G=O9 8Eпол=8телP=O9 оD74=  

�4=ко6Eк8е Dек6878тO  

!у<<4 749<4 _________3  
_________4 

!Dок 6о76D4т4 749<4  

ЦелP 749<4  

О5еEпеGе=8е 6о76D4т=оEт8  

�D4D8к по74Hе=8O 74дол6е==оEт8  

О5EтоOтелPEт64, 6 EлуG4е 6о7=8к=о6е=8O котоDOE, 
�4U<I8к о5O74= 6о76D4т8тP Eу<<у 749<4 
доEDоG=о5 

 

�оEDоG=ое по74Hе=8е 749<4  

�DоFе=тO 74 полP7о64=8е 749<о<  

!т46к4 пDоFе=то6 74 полP7о64=8е 749<о<, 6 
пDоFе=т4E 7одо6OE 

 

�о6OHе==Oе пDоFе=тO6  

!т46к4 по6OHе==OE пDоFе=то6  

                                                           
2 �о<еD до7о6оD4 8=6еEт8Dо64=8O 

3 !у<<4 до7о6оD4 8=6еEт8Dо64=8O 8=6еEтоD4, котоDо<у пDедEт46ле=4 =4EтоOI4O 6Kп8Eк4 
4 !у<<4 тD4=H4 =4 ук474==уN 6 6Kп8Eке д4ту до7о6оD4 
5 � EлуG4е =е=4дле64Iе7о 8Eпол=е=8O де=е6=KE о5O74телLEт6 по лN5о<у 87 �о7о6оDо6 8=6еEт8Dо64=8O, 74клNGе==о<у E 
8EполL7о64=8е< �=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт», по6лекHе7о пDоEDоGку 8Eпол=е=8O де=е6=KE о5O74телLEт6 пеDед 
8=6еEтоD4<8 5олее Gе< =4 30 (&D8дF4тL) к4ле=д4D=KE д=е9, - �4U<I8к о5O74= доEDоG=о 6о76D4т8тL Eу<<K 749<4 по ук474==о<у 
�о7о6оDу (по котоDо<у допуIе=4 пDоEDоGк4), 4 т4к6е 6Eе< дDу78< �о7о6оD4< 8=6еEт8Dо64=8O, 74клNGе==K< E 8EполL7о64=8е< 
�=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт», (д46е 6 EлуG4е отEутEт68O пDоEDоGек по =8<), - 6 теGе=8е 21 (д64дF4т8 од=о7о) 
к4ле=д4D=о7о д=O E <о<е=т4 допуIе==о9 пDоEDоGк8, 4 8<е==о, о5O74==оEтL по доEDоG=о<у 6о76D4ту 6EеE полуGе==KE 6 74U< Eу<< по 
6Eе< �о7о6оD4< 8=6еEт8Dо64=8O =4 пл4тDоD<е, =4G8=4O E 31 (&D8дF4тL пеD6о7о) к4ле=д4D=о7о д=O пDоEDоGк8 по лN5о<у 8 �о7о6оDо6 
8=6еEт8Dо64=8O, 74клNGе==KE E ОпеD4тоDо< �л4тDоD<K. &Dе5о64=8е о доEDоG=о< по74Hе=88 �4U<I8ку =е =4пD46лOетEO, поEколLку 
ук474==ое о5O74телLEт6о по доEDоG=о<у 6о76D4ту Eу<<K 749<4 O6лOетEO о5уEло6ле==K< (Eт. 327.1 �К  $) 8 пDедпол474етEO, Gто 
�4U<I8к =е <о6ет =е 7=4тL о =4Eтупле=88 ук474==KE о5EтоOтелLEт6. 
6 �о6KHе==Kе пDоFе=тK 74 полL7о64=8е де=е6=K<8 EDедEт64<8 =4G8EлONтEO E пеD6о7о д=O пDоEDоGк8 8 до пол=о7о по74Hе=8O 
74дол6е==оEт8. �о6KHе==Kе пDоFе=тK =4G8EлONтEO к4к =4 оEт4ток оE=о6=о7о дол74, т4к 8 =4 оEт4ток 74дол6е==оEт8 по пDоFе=т4<. 
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�д8=оD47о6O9 HтD4D 74 пDоEDоGку 8Eпол=е=8O 
о5O74телPEт6 

 

!т46к4 HтD4D4, 6 пDоFе=т4E от Eу<<O 
пDедоEт46ле==о7о 749<4 

 

�оDOдок по74Hе=8O 74дол6е==оEт8 пD8 
=едоEт4тоG=оEт8 де=е6=OE EDедEт6 

�Eл8 Eу<<4 пDо876еде==о7о пл4те64 =едоEт4тоG=4 
длO 8Eпол=е=8O де=е6=о7о о5O74телLEт64 по 
�о7о6оDу 749<4, поEтуп4NI8е �49<од46Fу от 
�4U<I8к4 Eу<<K =4пD46лONтEO поEледо64телL=о 
(=е7468E8<о от ук474=89, д4==KE 6 пл4те6=KE 
доку<е=т4E �4U<I8ко<):  
● 6 пеD6уN оGеDедL - =4 по74Hе=8е 87деD6ек 

�49<од46F4 по полуGе=8N 8Eпол=е=8O о5O74телLEт6 
�4U<I8к4;  
● 6о 6тоDуN оGеDедL - =4 по74Hе=8е 
пDоFе=то6 74 полL7о64=8е �4е<=K<8 EDедEт64<8 
(749<о<);  
● 6 тDетLN оGеDедL - =4 по74Hе=8е оE=о6=о7о 
дол74 (6о76D4т4 �4е<=KE EDедEт6);  
● 6 Gет6еDтуN оGеDедL - =4 по74Hе=8е 
по6KHе==KE пDоFе=то6 74 полL7о64=8е 
�4е<=K<8 EDедEт64<8 (749<о<) 8/8л8 пDоEDоGку 
упл4тK пDоFе=то6;  
● 6 пOтуN оGеDедL – =4 по74Hе=8е 
ед8=оD47о6о7о HтD4D4 74 пDоEDоGку 6о76D4т4 749<4.  
● � HеEтуN – 8=Kе пл4те68 (пD8 =4л8G88). 

  

�оEуде5=O9 поDOдок уDе7ул8Dо64=8O EпоD4 �оEуде5=K9 поDOдок уDе7ул8Dо64=8O EпоDо6 
O6лOетEO о5O74телL=K< длO !тоDо=.  
!тоDо=K уEт4=о68л8 EледуNI8е поDOдок 8 EDок8 
доEуде5=о7о уDе7ул8Dо64=8O EпоDо6:  

 6 EлуG4е =4пD46ле=8O доEуде5=о9 пDете=788 
�оGто9  оEE88, доEуде5=K9 поDOдок EG8т4етEO 
Eо5лNде==K< по 8EтеGе=88 15 (пOт=4дF4т8) 
к4ле=д4D=KE д=е9 E <о<е=т4 =4пD46ле=8O 
пDете=788;  
 6 EлуG4е =4пD46ле=8O доEуде5=о9 пDете=788 по 
4дDеEу MлектDо==о9 поGтK, доEуде5=K9 поDOдок 
EG8т4етEO Eо5лNде==K< по 8EтеGе=88 5 (пOт8) 
D45оG8E д=е9 E <о<е=т4 =4пD46ле=8O пDете=788 E 
4дDеE4 MлектDо==о9 поGтK, 8EполL7уе<о7о 
ОпеD4тоDо<, =4 4дDеE MлектDо==о9 поGтK �4U<I8к4, 
ук474==K9 6 ОDеDте. 

�дDеE QлектDо==о9 поGтO длO =4пD46ле=8O 
доEуде5=OE пDете=789 

 

�о7о6оD=4O подEуд=оEтP  

�о7=47D46де=8е ОпеD4тоD4  47<еD 6о7=47D46де=8O 6 пDоFе=т4E от Eу<<K 
749<4:________________ . 
�еDеG8Eле=8е пDедуE<отDе==KE пD468л4<8 
8=6еEт8F8о==о9 пл4тDоD<K Eу<< 6о7=47D46де=8O 
опеD4тоDу 8=6еEт8F8о==о9 пл4тDоD<K 
оEуIеEт6лOетEO 87 Eу<<, Eо5D4==KE по 
8=6еEт8F8о==о<у пDедло6е=8N:  
-'4EтL 749<4, D46=4O Eу<<е ко<8EE88 ОпеD4тоD4 - =4 
EGет ОпеD4тоD4 6 EGет опл4тK уEлу7 ОпеD4тоD4 
Eо7л4E=о т4D8D4<, 
- ОEт46H4OEO G4EтL Eу<<K 749<4 - =4 
D4EGет=K9 EGUт �4U<I8к4.  



!тD4=8F4 57 87 85 

 

�одп8E4=8е< �=6еEт8F8о==о7о пDедло6е=8O 
�4U<I8к пDO<о 8 5е7о7о6оDоG=о подт6еD6д4ет E6ое 
6оле87JO6ле=8е =4 пеDеG8Eле=8е Eу<<K 
6о7=47D46де=8O ОпеD4тоDу �л4тDоD<K ук474==K< 
EпоEо5о<. 
�D8 Mто< т4кое Eп8E4=8е де=е6=KE EDедEт6 
O6лOетEO D4кто< пеDед4G8 G4Eт8 749<4 по 
ук474=8N �4U<I8к4 тDетLе<у л8Fу - ОпеD4тоDу 
8 EG8т4етEO пеDед4==о9 �4U<I8ку (G. 5 Eт. 807 
�D46д4=Eко7о кодекE4  оEE89Eко9 $едеD4F88). 

!6еде=8O о5 �=6еEтоD4E, 74клNG86H8E �о7о6оD 
8=6еEт8Dо64=8O E �4U<I8ко< 

!6еде=8O о5 �=6еEтоD4E пD86еде=K 6 пD8ло6е=88 
№1 

�4EтоOI4O 6Kп8Eк47 87 DееEтD4 �о7о6оDо6 O6лOетEO доку<е=то<, подт6еD6д4NI8< D4кт 74клNGе=8O 
�о7о6оD4 8=6еEт8Dо64=8O <е6ду �=6еEтоD4<8 8 �4U<I8ко< поEDедEт6о< теE=8GеEк8E EDедEт6 
�=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» (G. 7 Eт. 13 $едеD4лL=K9 74ко= от 02.08.2019 № 259-$� «О 

пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88») 
�Kп8Eк4 6Kд4=4 ОпеD4тоDо< �=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

�ол6=оEтL 

 

_________________________________________ 

   �одп8EL, 8=8F84лK, D4<8л8O  

  

                                                           
7 �4EтоOI4O 6Kп8Eк4 4кту4лL=4 =4 _________ 20__7. �Kп8Eк4 по 8=K< 8=6еEт8F8O< 8=6еEтоD4 (пD8 8E =4л8G88) EDоD<8Dо64=4 
отделL=о 8 доEтуп=4 6 л8G=о< к458=ете �=6еEтоD4. 
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�D8ло6е=8е № 1 к �Oп8Eке 87 DееEтD4 до7о6оDо6 �=6еEт8F8о==ое пDедло6е=8е № 
___________ 

 (тD4=H от «___»____20__) 

1.�=6еEтоDK - D878GеEк8е л8F4 

$�О п4EпоDт 4дDеE Eу<<4 
8=6еEт8F89 

    

**** ****** **** ****** *****  

Ук47O64NтEO о5щ8е E6еде=8O о5 8=6еEт8F8OE 8=6еEтоDо6- D878чеEк8E л8F 5е7 ук474=8O 
пеDEо=4лP=OE д4==OE: о кол8чеEт6е 8=6еEтоDо6 8 о5ще9 Eу<<е 8=6еEт8F89 

2.�=6еEтоDK-8=д868ду4лL=Kе пDедпD8=8<4тел8 

$�О  п4EпоDт О� ��� 4дDеE Eу<<4 
8=6еEт8F89 

3. �=6еEтоDK- ND8д8GеEк8е л8F4 

    

�48<е=о64=8е  ���  О� � 4дDеE Eу<<4 
8=6еEт8F89 

 �4EтоOI4O 6Kп8Eк4 87 DееEтD4 �о7о6оDо6 O6лOетEO доку<е=то<, подт6еD6д4NI8< D4кт 
74клNGе=8O �о7о6оD4 8=6еEт8Dо64=8O <е6ду �=6еEтоD4<8 8 �4U<I8ко< поEDедEт6о< теE=8GеEк8E EDедEт6 
�=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» (G. 7 Eт. 13 $едеD4лL=K9 74ко= от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88») 
�Kп8Eк4 6Kд4=4 ОпеD4тоDо< �=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

�ол6=оEтL 

______________________________ 

 �одп8EL, 8=8F84лK, D4<8л8O  
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Л8Eт � 

�4U<щ8ку 

 

�Kп8Eк4 87 DееEтD4 �о7о6оDо6 8=6еEт8Dо64=8O 8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

�48<е=о64=8е �о7о6оD4 �о7о6оD 8=6еEт8Dо64=8O 

�о<еD �о7о6оD4  

�4т4 до7о6оD4  

�48<е=о64=8е �4U<I8к4  

��� / О� �  

�дDеE  

�д8=ол8G=O9 8Eпол=8телP=O9 оD74=  

�4=ко6Eк8е Dек6878тO  

!у<<4 749<4  

!Dок 6о76D4т4 749<4  

ЦелP 749<4  

О5еEпеGе=8е 6о76D4т=оEт8  

�D4D8к по74Hе=8O 74дол6е==оEт8  

О5EтоOтелPEт64, 6 EлуG4е 6о7=8к=о6е=8O котоDOE, 
�4U<I8к о5O74= 6о76D4т8тP Eу<<у 749<4 
доEDоG=о8 

 

�оEDоG=ое по74Hе=8е 749<4  

�DоFе=тO 74 полP7о64=8е 749<о<  

!т46к4 пDоFе=то6 74 полP7о64=8е 749<о<, 6 
пDоFе=т4E 7одо6OE 

 

�о6OHе==Oе пDоFе=тO9  

!т46к4 по6OHе==OE пDоFе=то6  

�д8=оD47о6O9 HтD4D 74 пDоEDоGку 8Eпол=е=8O 
о5O74телPEт6 

 

!т46к4 HтD4D4, 6 пDоFе=т4E от Eу<<O 
пDедоEт46ле==о7о 749<4 

 

                                                           
8 � EлуG4е =е=4дле64Iе7о 8Eпол=е=8O де=е6=KE о5O74телLEт6 по лN5о<у 87 �о7о6оDо6 8=6еEт8Dо64=8O, 74клNGе==о<у E 
8EполL7о64=8е< �=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт», по6лекHе7о пDоEDоGку 8Eпол=е=8O де=е6=KE о5O74телLEт6 пеDед 
8=6еEтоD4<8 5олее Gе< =4 30 (&D8дF4тL) к4ле=д4D=KE д=е9, - �4U<I8к о5O74= доEDоG=о 6о76D4т8тL Eу<<K 749<4 по ук474==о<у 
�о7о6оDу (по котоDо<у допуIе=4 пDоEDоGк4), 4 т4к6е 6Eе< дDу78< �о7о6оD4< 8=6еEт8Dо64=8O, 74клNGе==K< E 8EполL7о64=8е< 
�=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт», (д46е 6 EлуG4е отEутEт68O пDоEDоGек по =8<), - 6 теGе=8е 21 (д64дF4т8 од=о7о) 
к4ле=д4D=о7о д=O E <о<е=т4 допуIе==о9 пDоEDоGк8, 4 8<е==о, о5O74==оEтL по доEDоG=о<у 6о76D4ту 6EеE полуGе==KE 6 74U< Eу<< по 
6Eе< �о7о6оD4< 8=6еEт8Dо64=8O =4 пл4тDоD<е, =4G8=4O E 31 (&D8дF4тL пеD6о7о) к4ле=д4D=о7о д=O пDоEDоGк8 по лN5о<у 8 �о7о6оDо6 
8=6еEт8Dо64=8O, 74клNGе==KE E ОпеD4тоDо< �л4тDоD<K. &Dе5о64=8е о доEDоG=о< по74Hе=88 �4U<I8ку =е =4пD46лOетEO, поEколLку 
ук474==ое о5O74телLEт6о по доEDоG=о<у 6о76D4ту Eу<<K 749<4 O6лOетEO о5уEло6ле==K< (Eт. 327.1 �К  $) 8 пDедпол474етEO, Gто �4U<I8к 
=е <о6ет =е 7=4тL о =4Eтупле=88 ук474==KE о5EтоOтелLEт6. 
9 �о6KHе==Kе пDоFе=тK 74 полL7о64=8е де=е6=K<8 EDедEт64<8 =4G8EлONтEO E пеD6о7о д=O пDоEDоGк8 8 до пол=о7о по74Hе=8O 
74дол6е==оEт8. �о6KHе==Kе пDоFе=тK =4G8EлONтEO к4к =4 оEт4ток оE=о6=о7о дол74, т4к 8 =4 оEт4ток 74дол6е==оEт8 по пDоFе=т4<. 
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�оDOдок по74Hе=8O 74дол6е==оEт8 пD8 
=едоEт4тоG=оEт8 де=е6=OE EDедEт6 

�Eл8 Eу<<4 пDо876еде==о7о пл4те64 =едоEт4тоG=4 
длO 8Eпол=е=8O де=е6=о7о о5O74телLEт64 по 
�о7о6оDу 749<4, поEтуп4NI8е �49<од46Fу от 
�4U<I8к4 Eу<<K =4пD46лONтEO поEледо64телL=о 
(=е7468E8<о от ук474=89, д4==KE 6 пл4те6=KE 
доку<е=т4E �4U<I8ко<):  
● 6 пеD6уN оGеDедL - =4 по74Hе=8е 87деD6ек 

�49<од46F4 по полуGе=8N 8Eпол=е=8O о5O74телLEт6 
�4U<I8к4;  
● 6о 6тоDуN оGеDедL - =4 по74Hе=8е 
пDоFе=то6 74 полL7о64=8е �4е<=K<8 EDедEт64<8 
(749<о<);  
● 6 тDетLN оGеDедL - =4 по74Hе=8е оE=о6=о7о 
дол74 (6о76D4т4 �4е<=KE EDедEт6);  
● 6 Gет6еDтуN оGеDедL - =4 по74Hе=8е 
по6KHе==KE пDоFе=то6 74 полL7о64=8е 
�4е<=K<8 EDедEт64<8 (749<о<) 8/8л8 пDоEDоGку 
упл4тK пDоFе=то6;  
● 6 пOтуN оGеDедL – =4 по74Hе=8е 
ед8=оD47о6о7о HтD4D4 74 пDоEDоGку 6о76D4т4 749<4.  
● � HеEтуN – 8=Kе пл4те68 (пD8 =4л8G88). 

  

�оEуде5=O9 поDOдок уDе7ул8Dо64=8O EпоD4 �оEуде5=K9 поDOдок уDе7ул8Dо64=8O EпоDо6 
O6лOетEO о5O74телL=K< длO !тоDо=.  
!тоDо=K уEт4=о68л8 EледуNI8е поDOдок 8 EDок8 
доEуде5=о7о уDе7ул8Dо64=8O EпоDо6:  

 6 EлуG4е =4пD46ле=8O доEуде5=о9 пDете=788 
�оGто9  оEE88, доEуде5=K9 поDOдок EG8т4етEO 
Eо5лNде==K< по 8EтеGе=88 15 (пOт=4дF4т8) 
к4ле=д4D=KE д=е9 E <о<е=т4 =4пD46ле=8O 
пDете=788; 
  6 EлуG4е =4пD46ле=8O доEуде5=о9 пDете=788 по 
4дDеEу MлектDо==о9 поGтK, доEуде5=K9 поDOдок 
EG8т4етEO Eо5лNде==K< по 8EтеGе=88 5 (пOт8) 
D45оG8E д=е9 E <о<е=т4 =4пD46ле=8O пDете=788 E 
4дDеE4 MлектDо==о9 поGтK, 8EполL7уе<о7о 
ОпеD4тоDо<, =4 4дDеE MлектDо==о9 поGтK �4U<I8к4, 
ук474==K9 6 ОDеDте. 

�дDеE QлектDо==о9 поGтO длO =4пD46ле=8O 
доEуде5=OE пDете=789 

 

�о7о6оD=4O подEуд=оEтP  

�о7=47D46де=8е ОпеD4тоD4  47<еD 6о7=47D46де=8O 6 пDоFе=т4E от Eу<<K 749<4: 
________________. 

�еDеG8Eле=8е пDедуE<отDе==KE пD468л4<8 
8=6еEт8F8о==о9 пл4тDоD<K Eу<< 6о7=47D46де=8O 
опеD4тоDу 8=6еEт8F8о==о9 пл4тDоD<K 
оEуIеEт6лOетEO 87 Eу<<, Eо5D4==KE по 
8=6еEт8F8о==о<у пDедло6е=8N:  

• '4EтL 749<4, D46=4O Eу<<е ко<8EE88 
ОпеD4тоD4 - =4 EGет ОпеD4тоD4 6 EGет опл4тK 
уEлу7 ОпеD4тоD4 Eо7л4E=о т4D8D4<, 

• ОEт46H4OEO G4EтL Eу<<K 749<4 - =4 
D4EGет=K9 EGUт �4U<I8к4.  

�одп8E4=8е< �=6еEт8F8о==о7о пDедло6е=8O 
�4U<I8к пDO<о 8 5е7о7о6оDоG=о подт6еD6д4ет E6ое 
6оле87JO6ле=8е =4 пеDеG8Eле=8е Eу<<K 
6о7=47D46де=8O ОпеD4тоDу �л4тDоD<K ук474==K< 
EпоEо5о<. 
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�D8 Mто< т4кое Eп8E4=8е де=е6=KE EDедEт6 
O6лOетEO D4кто< пеDед4G8 G4Eт8 749<4 по 
ук474=8N �4U<I8к4 тDетLе<у л8Fу - ОпеD4тоDу 
8 EG8т4етEO пеDед4==о9 �4U<I8ку (G. 5 Eт. 807 
�D46д4=Eко7о кодекE4  оEE89Eко9 $едеD4F88). 

!6еде=8O о5 �=6еEтоD4E, 74клNG86H8E �о7о6оD 
8=6еEт8Dо64=8O E �4U<I8ко< 

!6еде=8O о5 �=6еEтоD4E пD86еде=K 6 пD8ло6е=8OE 
№№__ 

�4EтоOI4O 6Kп8Eк410 87 DееEтD4 �о7о6оDо6 O6лOетEO доку<е=то<, подт6еD6д4NI8< D4кт 74клNGе=8O 
�о7о6оD4 8=6еEт8Dо64=8O <е6ду �=6еEтоD4<8 8 �4U<I8ко< поEDедEт6о< теE=8GеEк8E EDедEт6 
�=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» (G. 7 Eт. 13 $едеD4лL=K9 74ко= от 02.08.2019 № 259-$� «О 

пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88») 
�Kп8Eк4 6Kд4=4 ОпеD4тоDо< �=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

�ол6=оEтL 

 

_________________________________________ 

   �одп8EL, 8=8F84лK, D4<8л8O  

                                                           
10 �4EтоOI4O 6Kп8Eк4 4кту4лL=4 =4 _________ 20__7.. �Kп8Eк4 по 8=K< 8=6еEт8F8O< 8=6еEтоD4 (пD8 8E =4л8G88) EDоD<8Dо64=4 
отделL=о 8 доEтуп=4 6 л8G=о< к458=ете �=6еEтоD4. 
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�D8ло6е=8е № ___ к �Oп8Eке 87 DееEтD4 до7о6оDо6 �=6еEт8F8о==ое пDедло6е=8е № 
___________ 

 (тD4=H от «___»____20__) 

1.�=6еEтоDK - D878GеEк8е л8F4 

$�О п4EпоDт 4дDеE Eу<<4 
8=6еEт8F89 

    

    

2.�=6еEтоDK-8=д868ду4лL=Kе пDедпD8=8<4тел8 

$�О  п4EпоDт О� ��� 4дDеE Eу<<4 
8=6еEт8F89 

3.�=6еEтоDK- ND8д8GеEк8е л8F4 

    

�48<е=о64=8е  ���  О� � 4дDеE Eу<<4 
8=6еEт8F89 

 

�4EтоOI4O 6Kп8Eк4 87 DееEтD4 �о7о6оDо6 O6лOетEO доку<е=то<, подт6еD6д4NI8< D4кт 74клNGе=8O 
�о7о6оD4 8=6еEт8Dо64=8O <е6ду �=6еEтоD4<8 8 �4U<I8ко< поEDедEт6о< теE=8GеEк8E EDедEт6 
�=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» (G. 7 Eт. 13 $едеD4лL=K9 74ко= от 02.08.2019 № 259-$� «О 
пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88») 
�Kп8Eк4 6Kд4=4 ОпеD4тоDо< �=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт» 

�ол6=оEтL 

______________________________ 

 �одп8EL, 8=8F84лK, D4<8л8O  
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�D8ло6е=8е № 7:  е7л4<е=т о пD87=4=88 8=6еEтоD4 - D878чеEко7о л8F4 
к64л8D8F8Dо64==O< 8=6еEтоDо< 

  

 

1.  е7л4<е=т о пD87=4=88 D878GеEк8E л8F к64л8D8F8Dо64==K<8 8=6еEтоD4<8 (д4лее 
по текEту –  е7л4<е=т), О5IеEт64 E о7D4=8Gе==о9 от6етEт6е==оEтLN «�47=у<�=6еEт» (��� 
1841096768, О� � 1201800024480), д4лее по текEту – ОпеD4тоD �л4тDоD<K, О5IеEт6о) опDеделOет 
поDOдок пD87=4=8O к64л8D8F8Dо64==K<8 8=6еEтоD4<8 D878GеEк8E л8F, 8<еNI8E =4<еDе=8е 
оEуIеEт6лOтL 8=6еEт8F88 E 8EполL7о64=8е< 8=6еEт8F8о==о9 пл4тDоD<K (д4лее по текEту 
�=6еEтоD-$Л), 8 уEт4=46л864ет:  

" тDе5о64=8O, котоDK< дол6е= Eоот6етEт6о64тL �=6еEтоD-$Л длO пD87=4=8O е7о 
к64л8D8F8Dо64==K< 8=6еEтоDо<;  

" поDOдок пD8=Oт8O DеHе=8O ОпеD4тоDо< �л4тDоD<K о пD87=4=88 �=6еEтоD4-$Л 
к64л8D8F8Dо64==K< 8=6еEтоDо<;  

" пеDеGе=L доку<е=то6, подт6еD6д4NI8E Eоот6етEт68е �=6еEтоD4-$Л 
74ко=од4телL=K< тDе5о64=8O<, котоDK< дол6=о Eоот6етEт6о64тL т4кое л8Fо длO пD87=4=8O е7о 
к64л8D8F8Dо64==K< 8=6еEтоDо<;  

" поDOдок пDедоEт46ле=8O ОпеD4тоDу �л4тDоD<K доку<е=то6, подт6еD6д4NI8E 
Eоот6етEт68е �=6еEтоD4-$Л 74ко=од4телL=K< тDе5о64=8O<, котоDK< дол6=о Eоот6етEт6о64тL 
т4кое л8Fо длO пD87=4=8O е7о к64л8D8F8Dо64==K< 8=6еEтоDо<;  

" пDоFедуDу пDо6еDк8 ОпеD4тоDо< �л4тDоD<K Eоот6етEт68O �=6еEтоD4-$Л 
74ко=од4телL=K< тDе5о64=8O<, котоDK< дол6=о Eоот6етEт6о64тL т4кое л8Fо длO пD87=4=8O е7о 
к64л8D8F8Dо64==K< 8=6еEтоDо<;  

" EDок пD8=Oт8O DеHе=8O о пD87=4=88 8л8 о5 отк47е 6 пD87=4=88 �=6еEтоD4-$Л 
к64л8D8F8Dо64==K< 8=6еEтоDо<, 4 т4к6е поDOдок у6едо<ле=8O ук474==о7о л8F4 о пD8=Oто< 
DеHе=88;  

" поDOдок 6еде=8O DееEтD4 л8F, пD87=4==KE к64л8D8F8Dо64==K<8 8=6еEтоD4<8.  
  

2. �4EтоOI89  е7л4<е=т D47D45от4= 6 Eоот6етEт688 E тDе5о64=8O<8:  
" $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О пD86леGе=88 8=6еEт8F89 E 

8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 
74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88»;  

" $едеD4лL=о7о 74ко=4 от 31.07.2020 № 259-$� «О F8DDо6KE D8=4=Eо6KE 4кт864E, 
F8DDо6о9 64лNте 8 о 6=еEе=88 87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 
$едеD4F88»;  

" $едеD4лL=о7о 74ко=4 от 22.04.1996 № 39-$� «О DK=ке Fе==KE 5у<47»;  
" 'к474=8е< �4=к4  оEE88 от 29.04.2015 №3629-' «О пD87=4=88 л8F 

к64л8D8F8Dо64==K<8 8=6еEтоD4<8 8 поDOдке 6еде=8O DееEтD4 л8F, пD87=4==KE 
к64л8D8F8Dо64==K<8 8=6еEтоD4<8»  

  

3. �D87=4=8е D878GеEко7о л8F4 к64л8D8F8Dо64==K< 8=6еEтоDо< пDо876од8тEO 
ОпеD4тоDо< �л4тDоD<K толLко 6 от=оHе=88 D878GеEко7о л8F4, котоDое:  

" 74клNG8ло E ОпеD4тоDо< �л4тDоD<K до7о6оD о5 ок474=88 уEлу7 по Eоде9Eт68N 6 
8=6еEт8Dо64=88 6 поDOдке, уEт4=о6ле==о< �D468л4<8 пл4тDоD<K, 8 полуG8ло Eт4туE 'G4Eт=8к 
пл4тDоD<K (�=6еEтоD);  

" =4пD468ло ОпеD4тоDу �л4тDоD<K Eоот6етEт6уNIее �4O6ле=8е о пD87=4=88 
уG4Eт=8к4 пл4тDоD<K - 8=6еEтоD4 к64л8D8F8Dо64==K< 8=6еEтоDо< (д4лее по текEту – �4O6ле=8е о 
пD87=4=88 к64л8D8F8Dо64==K< 8=6еEтоDо<). 'к474==ое 74O6ле=8е DоD<8DуетEO D878GеEк8< 
л8Fо<, 8<еNI8< Eт4туE «�=6еEтоD» (д4лее по текEту – �4O68телL) по уEт4=о6ле==о9 DоD<е 6 
Л8G=о< к458=ете 8=6еEтоD4, подп8EK64етEO MлектDо==о9 подп8ELN �4O68телO 8 =4пD46лOетEO 
ОпеD4тоDу �л4тDоD<K поEDедEт6о< Л8G=о7о к458=ет4 8=6еEтоD4.  

" пDедоEт468ло ОпеD4тоDу �л4тDоD<K 6Eе =ео5Eод8<Kе доку<е=тK, 
подт6еD6д4NI8е е7о Eоот6етEт68е тDе5о64=8O<, ук474==K< 6 п.5 =4EтоOIе7о  е7л4<е=т4.  
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 4. �4O68телL <о6ет 5KтL пD87=4= к64л8D8F8Dо64==K< 8=6еEтоDо<, еEл8 о= 
Eоот6етEт6ует од=о<у 87 ук474==KE =86е тDе5о64=89:  

1) о5I4O Eто8<оEтL Fе==KE 5у<47, котоDK<8 6л4деет Mто D878GеEкое л8Fо 8 (8л8) 
о5I89 D47<еD о5O74телLEт6 87 до7о6оDо6, O6лONI8EEO пDо876од=K<8 D8=4=Eо6K<8 
8=EтDу<е=т4<8 8 74клNGе==KE 74 EGет Mто7о D878GеEко7о л8F4, EоEт46лOет =е <е=ее 6 000 000 
(HеEт8 <8лл8о=о6) Dу5ле9. �D8 опDеделе=88 о5Iе9 Eто8<оEт8 ук474==KE Fе==KE 5у<47 8(8л8) 
8=KE D8=4=Eо6KE 8=EтDу<е=то6 уG8тK64NтEO т4к6е Eоот6етEт6уNI8е D8=4=Eо6Kе 8=EтDу<е=тK, 
пеDед4==Kе т4к8< D878GеEк8< л8Fо< 6 до6еD8телL=ое упD46ле=8е (5DокеDу 8л8 'пD46лONIе9 
ко<п4=88 ��$);  

2) 8<еет опKт D45отK 6 DоEE89Eко9 8(8л8) 8=оEтD4==о9 оD74=874F88, котоD4O 
оEуIеEт6лOет (оEуIеEт6лOл4) Eделк8 E Fе==K<8 5у<474<8 8(8л8) 8=K<8 D8=4=Eо6K<8 
8=EтDу<е=т4<8: =е <е=ее 2 (д6уE) лет, еEл8 т4к4O оD74=874F8O (оD74=874F88) O6лOетEO 
к64л8D8F8Dо64==K< 8=6еEтоDо< 6 E8лу 74ко=4 6 Eоот6етEт688 E пу=кто< 2 Eт4тL8 51.2 
$едеD4лL=о7о 74ко=4 от 22.04.1996 № 39-$� «О DK=ке Fе==KE 5у<47» 8 =е <е=ее 3 (тDUE) лет 6 8=KE 
EлуG4OE. �D8 Mто< уG8тK64етEO D45от4 6 теGе=8е 5 (пOт8) лет, пDедHеEт6уNI8E д4те под4G8 
74O6ле=8O о пD87=4=88 к64л8D8F8Dо64==K< 8=6еEтоDо<, =епоEDедEт6е==о E6O74==4O E 
Eо6еDHе=8е< опеD4F88 E Fе==K<8 5у<474<8 8(8л8) D8=4=Eо6K<8 8=EтDу<е=т4<8, 6 то< G8Eле по 
пD8=Oт8N DеHе=89 о Eо6еDHе=88 Eделок, под7ото6ке Eоот6етEт6уNI8E Dеко<е=д4F89, ко=тDолN 
74 Eо6еDHе=8е< опеD4F89, 4=4л87о< D8=4=Eо6о7о DK=к4, упD46ле=8е< D8Eк4<8.  

3) Eо6еDH4ло Eделк8 E Fе==K<8 5у<474<8 8 (8л8) 74клNG4ло до7о6оDK, O6лONI8еEO 
пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8, 74 поEлед=8е GетKDе к64Dт4л4 6 EDед=е< =е Dе6е 10 
D47 6 к64Dт4л, =о =е Dе6е од=о7о D474 6 <еEOF. �D8 Mто< Eо6окуп=4O Fе=4 т4к8E Eделок (до7о6оDо6) 
дол6=4 EоEт46лOтL =е <е=ее 6 000 000 (HеEт8) <8лл8о=о6 Dу5ле9;  

4) D47<еD 8<уIеEт64, пD8=4дле64Iе7о л8Fу, EоEт46лOет =е <е=ее 6 000 000 (HеEт8) 
<8лл8о=о6 Dу5ле9. �D8 Mто< уG8тK64етEO толLко EледуNIее 8<уIеEт6о:  

" де=е6=Kе EDедEт64, =4EодOI8еEO =4 EGет4E 8 (8л8) 6о 6кл4д4E (депо78т4E), откDKтKE 
6 кDед8т=KE оD74=874F8OE 6 Eоот6етEт688 E =оD<4т86=K<8 4кт4<8 �4=к4  оEE88, 8 (8л8) 6 
8=оEтD4==KE 54=к4E, E <еEто< уGDе6де=8O 6 7оEуд4DEт64E, ук474==KE 6 подпу=кт4E 1 8 2 пу=кт4 2 
Eт4тL8 51.1 $едеD4лL=о7о 74ко=4 от 22.04.1996 № 39-$� «О DK=ке Fе==KE 5у<47», 8 Eу<<K 
=4G8Eле==KE пDоFе=то6;  

" тDе5о64=8O к кDед8т=о9 оD74=874F88 6Kпл4т8тL де=е6=K9 Mк6864ле=т 
дD47оFе==о7о <ет4лл4 по уGет=о9 Fе=е Eоот6етEт6уNIе7о дD47оFе==о7о <ет4лл4;  

" Fе==Kе 5у<478, 6 то< G8Eле пеDед4==Kе D878GеEк8< л8Fо< 6 до6еD8телL=ое 
упD46ле=8е;  

  

5) 8<еет 6KEHее Mко=о<8GеEкое о5D47о64=8е, подт6еD6де==ое доку<е=то< 
7оEуд4DEт6е==о7о о5D47F4  оEE89Eко9 $едеD4F88 о 6KEHе< о5D47о64=88, 6Kд4==K< 
о5D47о64телL=о9 оD74=874F8е9 6KEHе7о пDоDеEE8о=4лL=о7о о5D47о64=8O, котоDое =4 <о<е=т 
6Kд4G8 ук474==о7о доку<е=т4 оEуIеEт6лOло 4ттеEт4F8N 7D46д4= 6 EDеDе пDоDеEE8о=4лL=о9 
деOтелL=оEт8 =4 DK=ке Fе==KE 5у<47, л85о лN5о9 87 EледуNI8E EеDт8D8к4то6:  

" EеDт8D8к4т "Chartered Financial Analyst (CFA)",  

" EеDт8D8к4т "Certified International Investment Analyst (CIIA)",  

" EеDт8D8к4т "Financial Risk Manager (FRM)".  

  

л85о подт6еD6де==уN к64л8D8к4F8N 6 EDеDе D8=4=Eо6KE DK=ко6, пD8 Mто< 6 к4GеEт6е 
к64л8D8к4F88 6 EDеDе D8=4=Eо6KE DK=ко6 D4EE<4тD864етEO к64л8D8к4F8O толLко по 
пDоDеEE8о=4лL=K< Eт4=д4Dт4< «!пеF84л8Eт DK=к4 Fе==KE 5у<47» 8л8 «!пеF84л8Eт по 
D8=4=Eо6о<у ко=EулLт8Dо64=8N».  

 

5. �еDеGе=L доку<е=то6, пDедоEт46лOе<KE �4O68теле< ОпеD4тоDу �л4тDоD<K длO 
пD87=4=8O �4O68телO к64л8D8F8Dо64==K< 8=6еEтоDо<.  

1) �4O6ле=8е о пD87=4=88 к64л8D8F8Dо64==K< 8=6еEтоDо<.  
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2) �оку<е=тK, подт6еD6д4NI8E Eоот6етEт68е D878GеEко7о л8F4 74ко=од4телL=K< 
тDе5о64=8O<, котоDK< дол6=о Eоот6етEт6о64тL т4кое л8Fо длO пD87=4=8O е7о к64л8D8F8Dо64==K< 
8=6еEтоDо<.  

3) �оку<е=тK, подт6еD6д4NI8е 6л4де=8е Fе==K<8 5у<474<8 8 (8л8) пDо876од=K<8 
D8=4=Eо6K<8 8=EтDу<е=т4<8, л85о доку<е=тK, подт6еD6д4NI8е пеDед4Gу D878GеEк8< л8Fо< 
D8=4=Eо6KE 8=EтDу<е=то6 6 до6еD8телL=ое упD46ле=8е:  

" 6Kп8Eк4 87 DееEтD4 6л4делLFе6 8<е==KE Fе==KE 5у<47 (6 EлуG4е ED4=е=8O Fе==KE 
5у<47 6 DееEтDе);  

" 6Kп8Eк8 Eо EGет4 депо (6 EлуG4е ED4=е=8O Fе==KE 5у<47 6 депо78т4D88);  
" 6Kп8Eк8 E л8Fе6о7о EGет4 6 кDед8т=о9 оD74=874F88, 8=оEтD4==о< 54=ке (6 EлуG4е 

подт6еD6де=8O 8=DоD<4F88 о де=е6=KE EDедEт64E 8 Eу<<K =4G8Eле==KE пDоFе=то6, =4EодOI8EEO 
=4 EGет4E 8 (8л8) 6о 6кл4д4E (депо78т4E), откDKтKE 6 кDед8т=KE оD74=874F8OE 8 (8л8) 6 8=оEтD4==KE 
54=к4E, 8=DоD<4F88 о тDе5о64=8OE к кDед8т=о9 оD74=874F88 6Kпл4т8тL де=е6=K9 Mк6864ле=т 
дD47оFе==о7о <ет4лл4 по уGет=о9 Fе=е Eоот6етEт6уNIе7о дD47оFе==о7о <ет4лл4);  

" отGет 5DокеD4, подт6еD6д4NI89 =4л8G8е откDKтKE по78F89 по DLNGеDE=K< 8 
опF8о==K< ко=тD4кт4< л85о отGет о деOтелL=оEт8 упD46лONIе7о по упD46ле=8N D8=4=Eо6K<8 
8=EтDу<е=т4<8;  

" 8=Kе доку<е=тK, подт6еD6д4NI8е 6л4де=8е Fе==K<8 5у<474<8 8 (8л8) 
пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8, о5I4O Eто8<оEтL котоDKE, D4EEG8т4==4O 6 поDOдке, 
уEт4=о6ле==о< 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88, EоEт46лOет =е <е=ее 6 000 000 (HеEт8 
<8лл8о=о6) Dу5ле9.  

�Kп8Eк4 87 DееEтD4 6л4делLFе6 8<е==KE Fе==KE 5у<47 (Eо EGето6 депо) дол6=4 
подт6еD6д4тL D4кт 6л4де=8O Fе==K<8 5у<474<8 =4 д4ту, =е D4=ее, Gе< 74 3 (тD8) D45оG8E д=O до 
д4тK пDедоEт46ле=8O Eоот6етEт6уNI8E доку<е=то6 ОпеD4тоDу �л4тDоD<K.   

ОтGет 5DокеD4 т4к6е пDедEт46лOетEO =4 д4ту =е D4=ее, Gе< 3 (тD8) D45оG8E д=O до д4тK 
пDедоEт46ле=8O Eоот6етEт6уNI8E доку<е=то6 ОпеD4тоDу �л4тDоD<K.   

ОтGет о деOтелL=оEт8 упD46лONIе7о по упD46ле=8N D8=4=Eо6K<8 8=EтDу<е=т4<8 
пDедEт46лOетEO =4 д4ту =е D4=ее, Gе< 10 (деEOтL) D45оG8E д=е9 до д4тK пDедоEт46ле=8O 
Eоот6етEт6уNI8E доку<е=то6 ОпеD4тоDу �л4тDоD<K.   

�Kп8Eк4 Eо EGет4 депо пDедEт46лOетEO =4 д4ту =е D4=ее, Gе< 3 (тD8) D45оG8E д=O до д4тK 
пDедоEт46ле=8O Eоот6етEт6уNI8E доку<е=то6 ОпеD4тоDу �л4тDоD<K.   

�Kп8Eк4 E 54=ко6Eко7о EGет4 дол6=4 подт6еD6д4тL оEт4ток де=е6=KE EDедEт6 =4 д4ту =е 
D4=ее, Gе< 74 3 (тD8) к4ле=д4D=KE д=O до д4тK пDедоEт46ле=8O Eоот6етEт6уNI8E доку<е=то6 
ОпеD4тоDу �л4тDоD<K.  

ОтGет(K) 5DокеD4(о6) до6еD8телL=KE упD46лONI8E 8(8л8) 8=Kе доку<е=тK (до7о6оDK 
купл8-пDод468, <е=K 8 т.д.), подт6еD6д4NI8е Eо6еDHе=8е Eделок E Fе==K<8 5у<474<8 8 
пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8, 74 поEлед=8е GетKDе к64Dт4л4 6 EDед=е< =е Dе6е 10 
D47 6 к64Dт4л, =о =е Dе6е од=о7о D474 6 <еEOF, пD8 Mто< Eо6окуп=4O Fе=4 т4к8E Eделок (до7о6оDо6) 
дол6=4 EоEт46лOтL =е <е=ее 6 <8лл8о=о6 Dу5ле9.  

4) �оку<е=тK, подт6еD6д4NI8е опKт D45отK 6 DоEE89Eко9 8 (8л8) 8=оEтD4==о9 
оD74=874F88, котоD4O оEуIеEт6лOл4 Eделк8 E Fе==K<8 5у<474<8 8 (8л8) пDо876од=K<8 
D8=4=Eо6K<8 8=EтDу<е=т4<8:  

" коп8O тDудо6о9 к=86к8;  
  

" оD878=4лK 8л8 коп88 дол6=оEт=KE 8=EтDукF89, 746еDе==Kе D45отод4теле<, по 
к46до9 87 дол6=оEте9 6 оD74=874F8OE 8л8 8=Kе доку<е=тK, подт6еD6д4NI8е, Gто D45от4 Кл8е=т4 
=епоEDедEт6е==о E6O74=4 E Eо6еDHе=8е< опеD4F89 E Fе==K<8 5у<474<8 8 (8л8) 8=K<8 
D8=4=Eо6K<8 8=EтDу<е=т4<8, 6 то< G8Eле по пD8=Oт8N DеHе=89 о Eо6еDHе=88 Eделок, под7ото6ке 
Eоот6етEт6уNI8E Dеко<е=д4F89, ко=тDолN 74 Eо6еDHе=8е< опеD4F89, 4=4л87о< D8=4=Eо6о7о 
DK=к4, упD46ле=8е< D8Eк4<8;  

  

" =от4D84лL=о 746еDе==4O 8л8 746еDе==4O оD74=874F8е9 коп8O л8Fе=788 л85о 8=о7о 
доку<е=т4 оD74=874F88, D45от=8ко< котоDо9 O6лOетEO Кл8е=т, подт6еD6д4NIе7о, Gто оD74=874F8O 
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O6лOетEO к64л8D8F8Dо64==K< 8=6еEтоDо< 6 E8лу пу=кт4 2 Eт4тL8 51.2 $едеD4лL=о7о 74ко=4 от 
22.04.1996 № 39-$� «О DK=ке Fе==KE 5у<47» (пD8 =ео5Eод8<оEт8);  

  

" коп88 л8Fе=789 оD74=874F89 (пD8 уEло688 л8Fе=78Dо64=8O 68д4 деOтелL=оEт8), 
74п8E8, котоDKE EодеD64тEO 6 тDудо6о9 к=86ке л8F4, еEл8 т4к8е оD74=874F88 <о7ут 6Eод8тL 6 
пеDеGе=L, ук474==K9 6 пу=кте 2 Eт4тL8 51.2. $едеD4лL=о7о 74ко=4 от 22.04.1996 № 39-$� «О DK=ке 
Fе==KE 5у<47», 746еDе==Kе пеG4тLN 8 подп8ELN упол=о<оGе==KE л8F ук474==KE оD74=874F89;  

  

" доку<е=тK, подт6еD6д4NI8е D4кт Eо6еDHе=8O DоEE89Eко9 8 (8л8) 8=оEтD4==о9 
оD74=874F8е9, =е O6лONIе9EO к64л8D8F8Dо64==K< 8=6еEтоDо< 6 E8лу п. 2 Eт4тL8 51.2. 
$едеD4лL=о7о 74ко=4 от 22.04.1996 № 39-$� «О DK=ке Fе==KE 5у<47», 6 котоDо9 D45от4л (D45от4ет) 
�4O68телL, Eделок E Fе==K<8 5у<474<8 8 (8л8) 8=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8.  

5) �8пло< 7оEуд4DEт6е==о7о о5D47F4  оEE89Eко9 $едеD4F88 о 6KEHе< о5D47о64=88, 
6Kд4==K9 о5D47о64телL=о9 оD74=874F8е9 6KEHе7о пDоDеEE8о=4лL=о7о о5D47о64=8O, котоD4O =4 
<о<е=т 6Kд4G8 ук474==о7о доку<е=т4 оEуIеEт6лOл4 4ттеEт4F8N 7D46д4= 6 EDеDе 
пDоDеEE8о=4лL=о9 деOтелL=оEт8 =4 DK=ке Fе==KE 5у<47 (=от4D84лL=о удоEто6еDе==4O коп8O 8л8 
оD878=4л 8 коп8O, удоEто6еDе==4O Eо8Eк4теле< =4 Eт4туE к64л8D8F8Dо64==о7о 8=6еEтоD4).  

6) 4ттеEт4тK 8 EеDт8D8к4тK, подт6еD6д4NI8е Eоот6етEт68е D878GеEко7о л8F4 
тDе5о64=8O< пп.5 п.4 =4EтоO6Hе7о  е7л4<е=т4.   

 

6. ОпеD4тоD �л4тDоD<K оEуIеEт6лOет 4=4л87 пDедEт46ле==KE �4O68теле< 
доку<е=то6 =4 пDед<ет Eо5лNде=8O тDе5о64=89, Eоот6етEт68е котоDK< =ео5Eод8<о длO е7о 
пD87=4=8O к64л8D8F8Dо64==K< 8=6еEтоDо<, 8 пD8=8<4ет DеHе=8е о пD87=4=88, л85о отк47е 6 
пD87=4=88 т4ко7о �4O68телO к64л8D8F8Dо64==K< 8=6еEтоDо< 6 теGе=8е 5 (пOт8) D45оG8E д=е9 E 
д4тK поEтупле=8O �4O6ле=8O о пD87=4=88 к64л8D8F8Dо64==K< 8=6еEтоDо< E пD8ло6е=8е< 
пол=о7о ко<плект4 доку<е=то6, Eо7л4E=о пу=кт4< 3 - 5 =4EтоOIе7о  е7л4<е=т4.  

 

7. ОпеD4тоD �л4тDоD<K 8<еет пD46о 74пDоE8тL у �4O68телO допол=8телL=Kе 
доку<е=тK, подт6еD6д4NI8е е7о Eоот6етEт68е тDе5о64=8O<, Eо5лNде=8е котоDKE =ео5Eод8<о 
длO пD87=4=8O е7о к64л8D8F8Dо64==K< 8=6еEтоDо<. � Mто< EлуG4е теGе=8е EDок4 D4EE<отDе=8O 
доку<е=то6, ук474==о7о 6 пу=кте 6 =4EтоOIе7о пD8ло6е=8O, пD8оEт4=46л864етEO E д4тK 
=4пD46ле=8O ОпеD4тоDо< Eоот6етEт6уNIе7о 74пDоE4 �4O68телN до д4тK пDедоEт46ле=8O 8< 
ОпеD4тоDу �л4тDоD<K пол=о7о ко<плект4 доку<е=то6. � EлуG4е =е пDедоEт46ле=8O �4O68теле< 
74пD4H864е<KE ОпеD4тоDо< �л4тDоD<K доку<е=то6 6 теGе=8е 5 (пOт8) D45оG8E д=е9 E д4тK 
=4пD46ле=8O ОпеD4тоDо< �л4тDоD<K Eоот6етEт6уNIе7о 74пDоE4 ОпеD4тоD �л4тDоD<K 6пD46е 
отк474тL 6 пD87=4=88 �4O68телO к64л8D8F8Dо64==K< 8=6еEтоDо<.  

 

8. � EлуG4е пD8=Oт8O ОпеD4тоDо< �л4тDоD<K DеHе=8O о пD87=4=88 �4O68телO 
к64л8D8F8Dо64==K< 8=6еEтоDо< Eоот6етEт6уNIее у6едо<ле=8е =4пD46лOетEO т4ко<у л8Fу GеDе7 
Л8G=K9 к458=ет 8=6еEтоD4 6 MлектDо==о< 68де, 6 EDок =е по7д=ее 5 (пOт8) D45оG8E д=е9 E д4тK 
6=еEе=8O Eоот6етEт6уNIе9 74п8E8 6 DееEтD к64л8D8F8Dо64==KE 8=6еEтоDо6.   

 

9. ОпеD4тоD 6пD46е отк474тL 6 пD87=4=88 �4O68телO к64л8D8F8Dо64==K< 8=6еEтоDо< 
по EледуNI8< оE=о64=8O<:  

" =еEоот6етEт68е поDOдк4 оDоD<ле=8O 8 (8л8) поDOдк4 под4G8 �4O6ле=8O о 
пD87=4=88 к64л8D8F8Dо64==K< 8=6еEтоDо<, 6 то< G8Eле отEутEт68е 6 ук474==о< 74O6ле=88 
E6еде=89, =4л8G8е котоDKE пDедуE<отDе=о DоD<о9 74O6ле=8O, EодеD64Iе9EO 6 Л8G=о< к458=ете 
8=6еEтоD4 8 тDе5о64=8O<8 ОпеD4тоD4 �л4тDоD<K к 74пол=е=8N д4==о7о 74O6ле=8O;  

" 6 доку<е=т4E, пDедEт46ле==KE �4O68теле<, EодеD68тEO =е6еD=4O, =епол=4O 8л8 
пDот86оDеG864O 8=DоD<4F8O;  

" �4O68теле< пDедEт46ле= =епол=K9 ко<плект доку<е=то6 л85о доку<е=тK 
пDедEт46ле=K 6 =е=4дле64Iе9 DоD<е;  
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" 6 Dе7улLт4те пDо6еDк8 доку<е=то6, пDедEт46ле==KE �4O68теле<, ОпеD4тоDо< 
�л4тDоD<K 6KO6ле=о е7о =еEоот6етEт68е 74ко=од4телL=K< тDе5о64=8O< к к64л8D8F8Dо64==K< 
8=6еEтоD4<;  

" у ОпеD4тоD4 �л4тDоD<K 6о7=8кл8 Eо<=е=8O 6 подл8==оEт8 од=о7о 8л8 =еEколLк8E 
доку<е=то6, пDедEт46ле==KE �4O68теле<, 6 то< G8Eле 6 подл8==оEт8 подп8E8 8л8 пеG4т8, 
пDоEт46ле==о9 =4 доку<е=т4E.  

 

10. � EлуG4е пD8=Oт8O ОпеD4тоDо< �л4тDоD<K DеHе=8O о5 отк47е 6 пD87=4=88 
�4O68телO к64л8D8F8Dо64==K< 8=6еEтоDо< =е по7д=ее 5 (пOт8) D45оG8E д=е9 E д4тK пD8=Oт8O 
т4ко7о DеHе=8O �4O68телN =4пD46лOетEO у6едо<ле=8е о5 отк47е GеDе7 Л8G=K9 к458=ет 8=6еEтоD4 
6 MлектDо==о< 68де, подп8E4==ое КЭ� ОпеD4тоD4 �л4тDоD<K, E ук474=8е< пD8G8= т4ко7о отк474. 
ОпеD4тоD �л4тDоD<K =е =еEет от6етEт6е==оEт8 74 отк47 6 пD87=4=88 к64л8D8F8Dо64==K< 
8=6еEтоDо<.  

 

11. ОпеD4тоD �л4тDоD<K оEуIеEт6лOет ED4=е=8е доку<е=то6, пDедEт46ле==KE 
�4O68теле< 6 FелOE пD87=4=8O е7о к64л8D8F8Dо64==K< 8=6еEтоDо<, пD8 Mто< 6 EлуG4е пD8=Oт8O 
ОпеD4тоDо< �л4тDоD<K DеHе=8O о5 отк47е 6 пD87=4=88 �4O68телO к64л8D8F8Dо64==K< 
8=6еEтоDо< ук474==Kе доку<е=тK е<у =е 6о76D4I4NтEO.  

 

12. �=6еEтоD, пD87=4==K9 к64л8D8F8Dо64==K< 8=6еEтоDо<, 8<еет пD46о о5D4т8тLEO к 
ОпеD4тоDу �л4тDоD<K E 74O6ле=8е< о5 отк47е от Eт4туE4 к64л8D8F8Dо64==о7о 8=6еEтоD4. 
'к474==ое 74O6ле=8е DоD<8DуетEO D878GеEк8< л8Fо<, 8<еNI8< Eт4туE «К64л8D8F8Dо64==K9 
�=6еEтоD» (д4лее по текEту – �4O68телL) по уEт4=о6ле==о9 DоD<е 6 Л8G=о< к458=ете 8=6еEтоD4, 
подп8EK64етEO MлектDо==о9 подп8ELN �4O68телO 8 =4пD46лOетEO ОпеD4тоDу �л4тDоD<K 
поEDедEт6о< Л8G=о7о к458=ет4 8=6еEтоD4. !оот6етEт6уNI8е 87<е=е=8O 6 DееEтD 
к64л8D8F8Dо64==KE 8=6еEтоDо6 6=оEOтEO ОпеD4тоDо< �л4тDоD<K =е по7д=ее EледуNIе7о 
D45оGе7о д=O E д4тK полуGе=8O �4O6ле=8O о5 отк47е от Eт4туE4 к64л8D8F8Dо64==о7о 8=6еEтоD4. 
ОпеD4тоD �л4тDоD<K =е по7д=ее 5 (пOт8) D45оG8E д=е9 E д4тK 6=еEе=8O 74п8E8 о5 8EклNGе=88 87 
DееEтD4 к64л8D8F8Dо64==KE 8=6еEтоDо6 �=6еEтоD4 =4пD46лOет �=6еEтоDу у6едо<ле=8е о5 
8EклNGе=88 е7о 87 DееEтD4 к64л8D8F8Dо64==KE 8=6еEтоDо6 GеDе7 Л8G=K9 к458=ет 8=6еEтоD4 6 
MлектDо==о< 68де, подп8E4==ое КЭ� ОпеD4тоD4 �л4тDоD<K.  

 

13. От6етEт6е==оEтL 74 доEто6еD=оEтL доку<е=то6, пDедEт46ле==KE �4O68теле< 
ОпеD4тоDу �л4тDоD<K 6 FелOE пD87=4=8O е7о к64л8D8F8Dо64==K< 8=6еEтоDо<, 4 т4к6е 
EодеD64Iе9EO 6 =8E 8=DоD<4F88, =еEет �4O68телL. � EлуG4е пD87=4=8O �4O68телO 
к64л8D8F8Dо64==K< 8=6еEтоDо< =4 оE=о64=88 пDедоEт46ле==о9 8< =едоEто6еD=о9 8=DоD<4F88 
поEледEт68O, пDедуE<отDе==Kе пу=кто< 6 Eт4тL8 3 8 G4EтLN 8 Eт4тL8 5 $едеD4лL=о7о 74ко=4 от 
22.04.1996 № 39-$� «О DK=ке Fе==KE 5у<47», =е пD8<е=ONтEO. �D87=4=8е �=6еEтоD4-$Л 
к64л8D8F8Dо64==K< 8=6еEтоDо< =4 оE=о64=88 пDедоEт46ле==о9 8< =едоEто6еD=о9 8=DоD<4F88 
=е O6лOетEO оE=о64=8е< длO =еде9Eт68телL=оEт8 Eделок, Eо6еDHе==KE 74 EGет Mто7о л8F4.  

 

14. � EлуG4е, еEл8 8=DоD<4F8O, пDедоEт46ле==4O �4O68теле< длO Fеле9 пD8E6ое=8O 
Eт4туE4 к64л8D8F8Dо64==о7о 8=6еEтоD4 =е Eоот6етEт6ует де9Eт68телL=оEт8, т4ко9 �=6еEтоD =е 
6пD46е пDедJO6лOтL ОпеD4тоDу �л4тDоD<K к4к8е-л85о пDете=788 по Eделк4< =4 �л4тDоD<е.  

 

15. �DедоEт46ле=8е 6Kп8Eк8 87  ееEтD4, EодеD64Iе9 8=DоD<4F8N о5 �=6еEтоDе к4к 
к64л8D8F8Dо64==о< 8=6еEтоDе оEуIеEт6лOетEO 6 теGе=8е 3 (тDеE) D45оG8E д=е9 E <о<е=т4 
полуGе=8O Eоот6етEт6уNIе7о  74пDоE4 от л8F4, пD87=4==о7о к64л8D8F8Dо64==K< 8=6еEтоDо<, 
GеDе7 Л8G=K9 к458=ет 8=6еEтоD4.   

 

16. ОпеD4тоD �л4тDоD<K  пDедоEт46лOет 6 �4=к  оEE88 E6еде=8O о к64л8D8F8Dо64==KE 
8=6еEтоD4E 6 поDOдке, пDедуE<отDе==о< де9Eт6уNI8< 74ко=од4телLEт6о<  $.  
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�D8ло6е=8е №1  
к  е7л4<е=ту пD8E6ое=8O �=6еEтоDу Eт4туE4 К64л8D8F8Dо64==о7о 8=6еEтоD4 

� ООО «�47=у<�=6еEт» 

 

��/�Л���� № 

о пD87=4=88 D878GеEко7о л8F4 к64л8D8F8Dо64==O< 8=6еEтоDо< длO Fеле9 оEуIеEт6ле=8O 
8=6еEт8F89 =4 8=6еEт8F8о==о9 пл4тDоD<е «�47=у<�=6еEт» 

 

!6еде=8O о D878GеEко< л8Fе, 8<е=уе<о< д4лее «�=6еEтоD»: 
 

1 $�О �=6еEтоD4  
 

 

2 �4EпоDт=Kе д4==Kе 

 

 

3 �дDеE Dе78EтD4F88 

 

 

4 &елеDо= 

 

 

5 ЭлектDо==4O поGт4 

 

 

 

1. �4EтоOI8< O подт6еD6д4N E6ое 6ел4=8е 5KтL пD87=4==K< к64л8D8F8Dо64==K< 
8=6еEтоDо< пD8 ок474=88 <=е уEлу7 по Eоде9Eт68N 6 8=6еEт8Dо64=88 =4 8=6еEт8F8о==о9 
пл4тDоD<е «�47=у<�=6еEт». 

 

2. / по=8<4N 8 Eо7л4Eе= E те<, Gто пD87=4=8е <е=O к64л8D8F8Dо64==K< 8=6еEтоDо< 
E4<о по Eе5е =е о7=4G4ет =4л8G8O о5O74телLEт6 ООО «�47=у<�=6еEт» по ок474=8N <=е Mт8E уEлу7 
8(8л8) оEуIеEт6ле=8N опеD4F89 по 8=6еEт8Dо64=8N. 

 

3. �4EтоOI8< O подт6еD6д4N 6Kпол=е=8е <=о9 EледуNIе7о(-8E) уEло68O(-89), 
=ео5Eод8<KE длO пD87=4=8O <е=O к64л8D8F8Dо64==K< 8=6еEтоDо<: 

1) �л4де=8е Fе==K<8 5у<474<8 8 (8л8) пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8 
8 8E о5I4O DK=оG=4O Eто8<оEтL =е <е=ее 6 000 000 ((еEт8 <8лл8о=о6) Dу5ле9. �одт6еD6де=8е< 
<о6ет Eлу68тL 6Kп8Eк4 E 5DокеDEко7о EGет4. 

'к468те к4к8е доку<е=тK подт6еD6д4Nт Eоот6етEт68е 6K5D4==о<у кD8теD8N 
к64л8D8F8Dо64==о7о 8=6еEтоD4. 

Доку<е=тO дол6=O 5OтP д4т8Dо64=O д4то9 =е D4=ее од=о7о <еEOF4 до 
пDедEт46ле=8O 

ОтGет/отGетK о деOтелL=оEт8 до6еD8телL=о7о упD46лONIе7о 

�Kп8Eк4/6Kп8Eк8 Eо EGет4 депо 

�Kп8Eк4/6Kп8Eк8 87 DееEтD4 4кF8о=еDо6 

�кт/4ктK пеDед4G8 де=е6=KE EDедEт6 8(8л8) Fе==KE 5у<47 6 до6еD8телL=ое 
упD46ле=8е 

ОтGетK/доку<е=тK, подт6еD6д4NI8е 74клNGе=8е =4 оD74=87о64==KE тоD74E 
до7о6оDо6, O6лONI8EEO пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8 

�=Kе доку<е=тK 
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2)  ОпKт D45отK 6 DоEE89Eко9 8 (8л8) 8=оEтD4==о9 оD74=874F88, котоD4O Eо6еDH4л4 Eделк8 E 
Fе==K<8 5у<474<8 8 (8л8) 74клNG4л4 до7о6оDK, O6лONI8еEO пDо876од=K<8 D8=4=Eо6K<8 
8=EтDу<е=т4<8: 

/6лOетEO л8 т4 оD74=874F8O, 6 котоDо9 D45от4л 8=6еEтоD, к64л8D8F8Dо64==K< 
8=6еEтоDо<? * 

* оD74=874F8O O6лOетEO к64л8D8F8Dо64==K< 8=6еEтоDо<, еEл8 Eоот6етEт6ует кD8теD8O<, 
уEт4=о6ле==K< 6 Eт. 51.2 $едеD4лL=о7о 74ко=4 от 22.04.1996 № 39-$� «О DK=ке Fе==KE 5у<47» 

� теGе=8е поEлед=8E 5-т8 лет пеDед о5D4Iе=8е<, 5Kл4 л8 D45от4 =епоEDедEт6е==о 
E6O74=4 E Eо6еDHе=8е< опеD4F89 E D8=4=Eо6K<8 8=EтDу<е=т4<8, 6 то< G8Eле по пD8=Oт8N 
DеHе=89 о Eо6еDHе=88 Eделок, под7ото6ке Eоот6етEт6уNI8E Dеко<е=д4F89, ко=тDолN 74 
Eо6еDHе=8е< опеD4F89, 4=4л87о< D8=4=Eо6о7о DK=к4, упD46ле=8е< D8Eк4<8, =4 пDотO6е=88 
5олее 2-уE (длO ут6еDд8телL=о7о от6ет4 =4 пеD6K9 6опDоE) 8л8 3-E лет (5е7 ут6еDд8телL=о7о от6ет4 
=4 пеD6K9 6опDоE)? 

�Eл8 EотO 5K =4 6тоDо9 6опDоE от6ет ут6еDд8телL=K9 -  

Коп8O дол6=оEт=о9 8=EтDукF88, 746еDе==4O D45отод4теле< 

�8EL<о ко<п4=88–D45отод4телO E ук474=8е< дол6=оEт=KE о5O74==оEте9 

       Коп8O тDудо6о9 к=86к8, 746еDе==4O D45отод4теле< 

 �уE74лтеDEк89 54л4=E оD74=874F88 74 пеD8од D45отK 6 =е9 74O68телO  

 �оку<е=тK, подт6еD6д4NI8е оEуIеEт6ле=8е оD74=874F8е9-D45отод4теле< Eделок E 
D8=4=Eо6K<8 8=EтDу<е=т4<8, 6 то< G8Eле отGетK 5DокеD4 

 �=о9 доку<е=т 

�Eл8 =4 пеD6K9 6опDоE от6ет ут6еDд8телL=K9 - 

 Коп88 доку<е=то6, подт6еD6д4NI8E, Gто оD74=874F8O-D45отод4телL O6лOетEO 
к64л8D8F8Dо64==K< 8=6еEтоDо< 6 Eоот6етEт688 E п. 2 Eт. 51.2 $едеD4лL=о7о 74ко=4 от 22.04.1996 
№ 39-$� «О DK=ке Fе==KE 5у<47» (6 то< G8Eле коп88 л8Fе=789) 

 

3) !о6еDH4л(4) Eделк8 E Fе==K<8 5у<474<8 8 (8л8) 74клNG4л(4) до7о6оDK, O6лONI8еEO 
пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8, 74 поEлед=8е 4 ('етKDе) к64Dт4л4 6 EDед=е< =е 
Dе6е 10 D47 6 к64Dт4л, =о =е Dе6е 1 (Од=о7о) D474 6 <еEOF. �D8 Mто< Eо6окуп=4O Fе=4 т4к8E Eделок 
(до7о6оDо6) дол6=4 EоEт46лOтL =е <е=ее 6 000 000 ((еEт8 <8лл8о=о6) Dу5ле9.  

 

�Kп8Eк4 E 5DокеDEко7о EGет4/отGет 5DокеDо6 

�Kп8Eк4 Eо EGет4 депо/6Kп8Eк8 о5 опеD4F8OE 87 DееEтD4 4кF8о=еDо6, д4т8Dо64==Kе =е 
по7д=ее 1 (Од=о7о) <еEOF4 до д4тK пDедоEт46ле=8O 

ОтGет /доку<е=т, подт6еD6д4NI89 74клNGе=8е =4 оD74=87о64==KE тоD74E до7о6оDо6, 
O6лONI8EEO пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8 

https://botman.one/
https://botman.one/


!тD4=8F4 70 87 85 

 

�о7о6оDK купл8-пDод468 Fе==KE 5у<47  

 �=е58D6е6Kе опF8о==Kе 8 DоD64Dд=Kе ко=тD4ктK 

 �=Kе доку<е=тK, подт6еD6д4NI8е Eо6еDHе=8е Eделок D8=4=Eо6K<8 8=EтDу<е=т4<8 

4)  47<еD пD8=4дле64Iе7о 8<уIеEт64 EоEт46лOет =е <е=ее 6 000 000 ((еEт8 
<8лл8о=о6) Dу5ле9.  

 �Kп8Eк4 Eо EGет4 депо 

�Kп8Eк4 E <ет4лл8GеEко7о EGет4 

�Kп8Eк4 E 54=ко6Eко7о EGет4/депо78т4 

�Kп8Eк4 87 DееEтD4 4кF8о=еDо6 

�кт пеDед4G8 де=е6=KE EDедEт6 8(8л8) Fе==KE 5у<47 6 до6еD8телL=ое упD46ле=8е 

ОтGет, подт6еD6д4NI89 74клNGе=8е =4 оD74=87о64==KE тоD74E до7о6оDо6, 
O6лONI8EEO пDо876од=K<8 D8=4=Eо6K<8 8=EтDу<е=т4<8 

ОтGет о деOтелL=оEт8 до6еD8телL=о7о упD46лONIе7о 

�=о9 доку<е=т 

5) О5D47о64=8е 

�оку<е=тK, подт6еD6д4NI8е о5D47о64=8е, E FелLN пD87=4=8O к64л8D8F8Dо64==K< 
8=6еEтоDо<: 

К64л8D8к4F8о==K9 4ттеEт4т EтD4Eо6о7о 4кту4D8O 

!еDт8D8к4т “Chartered Financial Analyst (CFA) 

К64л8D8к4F8о==K9 4ттеEт4т 4уд8тоD4 

!68детелLEт6о о к64л8D8к4F88 6 EDеDе D8=4=Eо6KE DK=ко6, 6Kд4==ое 6 Eоот6етEт688 
E $едеD4лL=K< 74ко=о< от 03.07.2016 N 238-$� «О =е7468E8<о9 оFе=ке к64л8D8к4F88»  

�8пло< 7оEуд4DEт6е==о7о о5D47F4 о 6KEHе< Mко=о<8GеEко< о5D47о64=88, 6Kд4==K9 
оD74=874F8е9, котоD4O =4 <о<е=т 6Kд4G8 ук474==о7о доку<е=т4 оEуIеEт6лOл4 4ттеEт4F8N 
7D46д4= 6 EDеDе пDоDеEE8о=4лL=о9 деOтелL=оEт8 =4 DK=ке Fе==KE 5у<47 

!еDт8D8к4т “Certified International Investment Analyst (CIIA) 

!еDт8D8к4т “Financial Risk Manager (FRM) 

Коп8O л8Fе=788 оD74=874F88, ле74л87о64==о9 =4 теDD8тоD88  $ 8 п8EL<о 
оD74=874F88 о 6о7<о6=KE 68д4E деOтелL=оEт8 6 Eоот6етEт688 E л8Fе=78е9 (длO 8=оEтD4==KE 
оD74=874F89) 
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Коп8O л8Fе=788 оD74=874F88, O6лONIе9 пDоDеEE8о=4лL=K< уG4Eт=8ко< DK=к4 
Fе==KE 5у<47, 746еDе==4O подп8ELN упол=о<оGе==о7о л8F4 8 пеG4тLN оD74=874F88 (длO 
DоEE89Eк8E оD74=874F89) 

Коп88 л8Fе=789 оD74=874F89, 6Kд46H8E 6KHеук474==Kе доку<е=тK 

�8EL<о оD74=874F88 о 6о7<о6=KE 68д4E деOтелL=оEт8 6 Eоот6етEт688 E л8Fе=78е9 

�=о9 доку<е=т 

4. � подт6еD6де=8е ук474==о9 6 п. 3 8=DоD<4F88 пD8л474N доку<е=тK, от<еGе==Kе 6 
Eоот6етEт6уNI8E 7D4D4E.  

 

5. �4EтоOI8< O т4к6е подт6еD6д4N EледуNIее: 
- / оE6едо<ле=(4) о по6KHе==KE D8Eк4E, E6O74==KE E 8=6еEт8Dо64=8е< =4 

8=6еEт8F8о==о9 пл4тDоD<е, о5 о7D4=8Gе=8OE, уEт4=о6ле==KE $едеD4лL=K< 74ко=о< от 02.08.2019 
№ 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» 6 от=оHе=88 
=ек64л8D8F8Dо64==KE 8=6еEтоDо6; 

- �=DоD<4F8O, пDедоEт46ле==4O <=о9 6 ООО «�47=у<�=6еEт» 6 FелOE 
подт6еD6де=8O Eоот6етEт68O уEло68O<, по76олONI8< пD87=4тL <е=O к64л8D8F8Dо64==K< 
8=6еEтоDо<, O6лOетEO доEто6еD=о9, пол=о9 8 4кту4лL=о9; 

- � EлуG4е пD87=4=8O <е=O к64л8D8F8Dо64==K< 8=6еEтоDо<, O о5O7уNEL 
=е74<едл8телL=о у6едо<лOтL ООО «�47=у<�=6еEт» 6 п8EL<е==о9 DоD<е о =еEо5лNде=88 <=о9 
тDе5о64=89, Eоот6етEт68е котоDK< =ео5Eод8<о длO пD87=4=8O <е=O к64л8D8F8Dо64==K< 
8=6еEтоDо<. 

 

6. / поDуG4N ООО «�47=у<�=6еEт» D47<еEт8тL 6 <ое< л8G=о< к458=ете доку<е=тK, 
EодеD64I8е 8=DоD<4F8N (6 т.G. ко=D8де=F84лL=о7о EодеD64=8O) 6 D4<к4E оEуIеEт6ле=8O ООО 
«�47=у<�=6еEт» де9Eт689 по пD87=4=8N <е=O к64л8D8F8Dо64==K< 8=6еEтоDо<, 6 т.G. 
у6едо<ле=89 о пD87=4=88 <е=O к64л8D8F8Dо64==K< 8=6еEтоDо< 8л8 о5 отк47е 6 т4ко< 
пD87=4=88, у6едо<ле=89 о 6=еEе=88 87<е=е=89 6 DееEтD к64л8D8F8Dо64==KE 8=6еEтоDо6, 
E6O74==KE E 8EклNGе=8е< <е=O 87 д4==о7о DееEтD4. 
 

�О���!��О � � �О�О)� !�!:  
 

ID �=6еEтоD4   

�о<еD телеDо=4 �=6еEтоD4  

!�!-код  

�4т4 8 6Dе<O  

ID у Eото6о7о ОпеD4тоD4  

 

����!&О  

�О���!��О Э&� 
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�D8ло6е=8е № 8:  о5от 8=6еEт8Dо64=8O 

 

1.  о5от 8=6еEт8Dо64=8O – EпоEо5 46то<4т8GеEко7о 74клNGе=8O �о7о6оDо6 
8=6еEт8Dо64=8O, Dе4л87уе<K9 теE=8GеEк8<8 EDедEт64<8 �л4тDоD<K поEDедEт6о< D47<еIе=8O 
�=6еEтоDо< 5еEEDоG=о7о 4кFепт4 =ео7D4=8Gе==о<у кDу7у �4U<I8ко6, 6 Eоот6етEт688 E котоDK< 
оEуIеEт6лOетEO <=о7окD4т=K9 по6тоDONI89EO 4кFепт �=6еEт8F8о==KE пDедло6е=89 �4U<I8ко6, 
Eоот6етEт6уNI8E уEт4=о6ле==KE �=6еEтоDо< кD8теD8O< 8 о7D4=8Gе=8O<. 

 

2. !у<<4, подле64I4O 8=6еEт8Dо64=8N 6 Dе68<е  о5от4 8=6еEт8Dо64=8O, 
уEт4=46л864етEO 6 �4O6ле=88 о подклNGе=88 Dо5от4 8=6еEт8Dо64=8O (DоD<4 �) 8 D4EпDеделOетEO 
<е6ду �=6еEт8F8о==K< пDедло6е=8O<8, от6еG4NI8<8 кD8теD8O< 8 о7D4=8Gе=8O<, 
уEт4=о6ле==K< 6 �4O6ле=88 о подклNGе=88 Dо5от4 8=6еEт8Dо64=8O. 

 

3.  о5от 8=6еEт8Dо64=8O 4кт868DуетEO подп8E4=8е< EDедEт64<8 пDоEто9 MлектDо==о9 
подп8E8 �4O6ле=8O о подклNGе=88 Dо5от4 8=6еEт8Dо64=8O (DоD<4 �) 8 де9Eт6ует до е7о от<е=K =4 
оE=о64=88 �4O6ле=8O о5 отклNGе=88 Dо5от4 8=6еEт8Dо64=8O (DоD<4 �). 

 

4. � FелOE доку<е=т4лL=о7о подт6еD6де=8O 74клNGе=8O �о7о6оD4 8=6еEт8Dо64=8O E 
8EполL7о64=8е<  о5от4 8=6еEт8Dо64=8O ОпеD4тоD по поDуGе=8N �=6еEтоD4 теE=8GеEк8<8 
EDедEт64<8 пл4тDоD<K DоD<8Dует 4кFепт по DоD<е �D8ло6е=8O №4 к пD468л4<, 6 котоDо< 
ук47K64етEO, Gто 4кFепт EDоD<8Dо64= пD8 по<оI8 Dу=кF8о=4л4  о5от4 8=6еEт8Dо64=8O, 8 6 т4ко< 
4кFепте ук47K64етEO =о<еD поEтоO==о де9Eт6уNIе7о 4кFепт4. 

 

5. �=6еEтоD уEт4=46л864ет <4кE8<4лL=уN Eо6окуп=уN Eу<<у де=е6=KE EDедEт6, 
котоDKе <о7ут 5KтL D47<еIе=K 6 Dе68<е  о5от4 8=6еEт8Dо64=8O (О5I89 л8<8т). О5I89 л8<8т 
O6лOетEO 6о7о5=о6лOе<K<         -          поEле         по74Hе=88         74дол6е==оEт8          по          к4к8<-

л85о 87 �о7о6оDо6 8=6еEт8Dо64=8O, 74клNGе==KE поEDедEт6о<  о5от4 8=6еEт8Dо64=8O, 
пDо8EEод8т 74клNGе=8е =о6KE �о7о6оDо6 8=6еEт8Dо64=8O E �4U<I8к4<8, от6еG4NI8<8 
уEт4=о6ле==K< �=6еEтоDо< кD8теD8O< 6 пDедел4E О5Iе7о л8<8т4. 

 

6. �=6еEтоD уEт4=46л864ет <4кE8<4лL=уN Eу<<у де=е6=KE EDедEт6, котоDKе <о7ут 
5KтL D47<еIе=K 6 Dе68<е  о5от4 8=6еEт8Dо64=8O 6 полL7у 1 (од=о7о) �4U<I8к4 (Л8<8т =4 
�4U<I8к4), 4 т4к6е <4кE8<4лL=уN Eу<<у де=е6=KE EDедEт6, котоDKе <о7ут 5KтL D47<еIе=K 6 
Dе68<е  о5от4 8=6еEт8Dо64=8O по 1 (од=о<у) �о7о6оDу 8=6еEт8Dо64=8O (Л8<8т =4 Eделку), 
котоDK9 <о6ет 5KтL опDеделе= к4к D8кE8Dо64==4O Eу<<4, л85о к4к пDоFе=т от �4кE8<4лL=о9 
Eу<<K 749<4, л85о к4к пDоFе=т от �4кE8<4лL=о9 Eу<<K 749<4, =о =е 5олее D8кE8Dо64==о9 
Eу<<K. 

 

7. �8=8<4лL=4O Eу<<4 де=е6=KE EDедEт6, котоDKе <о7ут 5KтL D47<еIе=K 6 Dе68<е 
 о5от4 8=6еEт8Dо64=8O EоEт46лOет 10 000 (�еEOтL тKEOG) Dу5ле9. 

8. �=6еEтоD 6пD46е EDоD<8Dо64тL пеDеGе=L ND8д8GеEк8E л8F 8 8=д868ду4лL=KE 
пDедпD8=8<4теле9, 

6 от=оHе=88 котоDKE 74клNGе=8е до7о6оDо6 8=6еEт8Dо64=8O 6 Dе68<е  о5от4 74пDеIе=о 
(GеD=K9 Eп8Eок �4U<I8ко6). 'еD=K9 Eп8Eок DоD<8DуетEO отделL=о длO к46до7о л8G=о7о к458=ет4 
�=6еEтоD4 8 пD8<е=OетEO ко 6Eе<  о5от4< 8=6еEт8Dо64=8O, подклNGе==K< 6 D4<к4E т4ко7о 
к458=ет4. 

9. �=6еEтоD пD8 74пол=е=88 к46до7о �4O6ле=8O о подклNGе=88 Dо5от4 
8=6еEт8Dо64=8O 6пD46е EDоD<8Dо64тL пеDеGе=L ND8д8GеEк8E л8F 8 8=д868ду4лL=KE 
пDедпD8=8<4теле9, 6 от=оHе=88 котоDKE допуEк4етEO 8=6еEт8Dо64=8O 6 Dе68<е  о5от4 (5елK9 
Eп8Eок �4U<I8ко6). �елK9 Eп8Eок DоD<8DуетEO пD8<е=8телL=о к ко=кDет=о<у отделL=о<у  о5оту, 
74клNGе=8е до7о6оDо6 8=6еEт8Dо64=8O поEDедEт6о< т4ко7о  о5от4 E л8F4<8, =е ук474==K<8 6 
5ело< Eп8Eке, =е допуEк4етEO. 

 

 



!тD4=8F4 73 87 85 

 

ФоD<4 � 

 

�4O6ле=8е 

о подклNGе=88 Dо5от4 8=6еEт8Dо64=8O 

(поEтоO==о де9Eт6уNI89 4кFепт) 
№ (=о<еD 4кFепт4) 

 

1. �4пD46лON =4EтоOI89 поEтоO==о де9Eт6уNI89 �кFепт 8=6еEт8F8о==KE 
пDедло6е=89 6 4дDеE ОпеD4тоD4 8 6EеE �4U<I8ко6, �=6еEт8F8о==Kе пDедло6е=8O котоDKE 
от6еG4Nт EледуNI8< кD8теD8O<: 
 

�4764=8е Dо5от4 8=6еEт8Dо64=8O (DоD<8DуетEO 
8=6еEтоDо< пDо876олL=о) 

%%%% 

ID Dо5от4 8=6еEт8Dо64=8O (у=8к4лL=K9 код, котоDK9 
DоD<8DуетEO EDедEт64<8 �л4тDоD<K) 

%%%% 

�4кE8<4лL=4O Eо6окуп=4O Eу<<4 де=е6=KE EDедEт6 
�=6еEтоD4, котоDKе <о7ут 5KтL D47<еIе=K 6 
Dе68<е  о5от4 8=6еEт8Dо64=8O (О5I89 л8<8т), Dу5. 

 

  Dу5. 

�4кE8<4лL=4O Eу<<4 де=е6=KE EDедEт6, котоDKе 
<о7ут 5KтL D47<еIе=K 6 Dе68<е  о5от4 
8=6еEт8Dо64=8O 6 полL7у 1 (од=о7о) �4U<I8к4 
(Л8<8т =4 �4U<I8к4), Dу5. 

 

  Dу5. 

�4кE8<4лL=ое ед8=о6Dе<е==ое кол8GеEт6о 
до7о6оDо6 8=6еEт8Dо64=8O, 74клNGе==KE E од=8< 
�4U<I8ко<, Hтук 

 

  Hт. 

�4кE8<4лL=4O Eу<<4 де=е6=KE EDедEт6, котоDKе 
<о7ут 5KтL D47<еIе=K 6 Dе68<е  о5от4 
8=6еEт8Dо64=8O по 1 (од=о<у) �о7о6оDу 
8=6еEт8Dо64=8O (Л8<8т =4 Eделку), Dу5. (6K5D4тL 
=у6=K9 64D84=т): 

$8кE8Dо64==4O Eу<<4: %%%, %% Dу5. 
�DоFе=т от �4кE8<4лL=о9 Eу<<K 
749<4: %, %%. (ук474==о9 6 
8=6еEт8F8о==о< пDедло6е=88) 
�48<е=LH4O Eу<<4 87 д6уE: 
$8кE8Dо64==4O Eу<<4: %%%, %% Dу5.; 
�DоFе=т от �4кE8<4лL=о9 Eу<<K 
749<4 %, %%. (ук474==о9 6 
8=6еEт8F8о==о< пDедло6е=88) 

��� �4U<I8к4 7=4Gе=8е 

!т46к4 по 749<у от %%% до %%% 

!Dок 749<4 от %% до %%% д=е9 

�49<K 8=д868ду4лL=K< пDедпD8=8<4телO< �4 / �ет 

�49<K ND8д8GеEк8< л8F4< �4 / �ет 

!Dок EуIеEт6о64=8O ND8д8GеEко7о л8F4, =4G8=4O E 
<о<е=т4 6=еEе=8O 6 �� .Л 74п8E8 о Eо7д4=88/ EDок 
оEуIеEт6ле=8O пDедпD8=8<4телLEко9 деOтелL=оEт8 
6 к4GеEт6е 8=д868ду4лL=о7о пDедпD8=8<4телO, 
=4G8=4O E <о<е=т4 6=еEе=8O 6 �� �� поEлед=е9 
4кту4лL=о9 74п8E8 о Dе78EтD4F88 6 к4GеEт6е 
8=д868ду4лL=о7о пDедпD8=8<4телO 

от % лет 

�о7D4Eт ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4 
�4U<I8к4 

от %% до %% лет 



!тD4=8F4 74 87 85 

 

Кол8GеEт6о 749<о6, 6о76D4Iе==KE �4U<I8ко< =4 
�л4тDоD<е, Hтук 

от % Hт. 

�4кE8<4лL=4O дл8телL=оEтL пDоEDоGк8 у �4U<I8к4 
по 749<4< =4 �л4тDоD<е (уG8тK64етEO од8= 74е<, по 
котоDо<у 5Kл4 допуIе=4 <4кE8<4лL=4O пDоEDоGк4. 
! дDу78<8 749<4<8 =е Eу<<8DуетEO) 

до % д=е9 

�елK9 Eп8Eок �4U<I8ко6 ------------------ 

'UD=K9 Eп8Eок �4U<I8ко6 � Eоот6етEт688 E 74O6ле=8е< №------ 

�оDуG8телLEт6о уG4Eт=8к4 �4U<I8к4, 8<еNIе7о 
долN 5олее 8л8 D46=уN 50% 6 уEт46=о< к4п8т4ле. 
�4==K9 п4D4<етD =е пD8<е=OетEO к 749<4< 
8=д868ду4лL=KE пDедпD8=8<4теле9, поEколLку 
7D46д4=8= от6еG4ет по E6о8< о5O74телLEт64< 6Eе< 
пD8=4дле64I8< е<у 8<уIеEт6о< (Eт. 24 �К  $) 

�4 / �ет 

  

2. �оDуG4N ОпеD4тоDу EDоD<8Dо64тL отделL=K9 4кFепт по DоD<е � =4 к46дое 
�=6еEт8F8о==ое пDедло6е=8е, от6еG4NIее 74д4==K< кD8теD8O<, E о5O74телL=K< ук474=8е< 
=о<еD4 =4EтоOIе7о поEтоO==о де9Eт6уNIе7о 4кFепт4. 

�D8 по74Hе=88 74дол6е==оEт8 по к4к8<-л85о 87 �о7о6оDо6 8=6еEт8Dо64=8O, 74клNGе==KE 
6 Dе68<е  о5от4 8=6еEт8Dо64=8O, поDуG4N ОпеD4тоDу 4кFепто64тL =о6Kе �=6еEт8F8о==Kе 
пDедло6е=8O 6 FелOE доEт86е=8O О5Iе7о л8<8т4. 

 

3. � D4<к4E к46до7о 4кFепт4, EDоD<8Dо64==о7о ОпеD4тоDо< =4 оE=о64=88 =4EтоOIе7о 
поEтоO==о де9Eт6уNIе7о 4кFепт4, поDуG4N ОпеD4тоDу пеDеG8Eл8тL �4U<I8ку Eу<<у 749<4 74 EGет 
<о8E EDедEт6, =4EодOI8EEO =4 �о<8=4лL=о< EGUте, 5е=еD8F84Dо< котоDо7о O O6лONEL. 

 

4. � FелOE Eо5лNде=8O тDе5о64=8O G. 1 Eт. 7 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-

$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» подт6еD6д4N, Gто Eу<<4 
де=е6=KE EDедEт6, пDо8=6еEт8Dо64==KE E по<оILN 8=KE 8=6еEт8F8о==KE пл4тDоD< 6 теGе=8е 
текуIе7о к4ле=д4D=о7о 7од4, EоEт46лOет_________Dу5ле9. 

 

�=6еEтоD ($�О/=48<е=о64=8е)  

�4EпоDт=Kе д4==Kе 8л8 ���, 4 т4к6е 4дDеE   

 

�О���!��О � � �О�О)� !�!: 
ID �=6еEтоD4  

�о<еD телеDо=4 �=6еEтоD4  

!�!-код  

�4т4 8 6Dе<O   

ID у Eото6о7о ОпеD4тоD4  

  

����!&О  �О���!��О Э&� 

 

 

 

 

 

 

 

 

 



!тD4=8F4 75 87 85 

 

 ФоD<4 � 

 

�4O6ле=8е 

о5 отклNGе=88 Dо5от4 8=6еEт8Dо64=8O 

№ 

 

�4EтоOI8< от7K64N поEтоO==о де9Eт6уNI89 4кFепт №    

 

�=6еEтоD ($�О/=48<е=о64=8е)  

�4EпоDт=Kе д4==Kе 8л8 ���, 4 т4к6е 4дDеE   

 

�О���!��О � � �О�О)� !�!: 
ID �=6еEтоD4  

�о<еD телеDо=4 �=6еEтоD4  

!�!-код  

�4т4 8 6Dе<O   

ID у Eото6о7о ОпеD4тоD4  

  

����!&О  �О���!��О Э&� 

  

                    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



!тD4=8F4 76 87 85 

 

     ФоD<4 � 

�КЦ��& 

�=6еEт8F8о==о7о пDедло6е=8O (оDеDтO) № 

 

�4пD46лOO �кFепт �=6еEт8F8о==о7о пDедло6е=8O 6 4дDеE ОпеD4тоD4 8 �4U<I8к4, 
1. �4клNG4N �о7о6оD 8=6еEт8Dо64=8O =4 уEло68OE, уEт4=о6ле==KE �=6еEт8F8о==K< 

пDедло6е=8е< 8 �D468л4<8 8=6еEт8F8о==о9 пл4тDоD<K «�47=у<�=6еEт»; 
2. �оDуG4N ОпеD4тоDу пеDеG8Eл8тL �4U<I8ку Eу<<у 749<4 74 EGет <о8E EDедEт6, 

=4EодOI8EEO =4 �о<8=4лL=о< EGUте, 5е=еD8F84Dо< котоDо7о O O6лONEL; 
� FелOE Eо5лNде=8O тDе5о64=8O G. 1 Eт. 7 $едеD4лL=о7о 74ко=4 от 02.08.2019 № 259-$� «О 

пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 87<е=е=89 6 
отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88» подт6еD6д4N, Gто Eу<<4 де=е6=KE 
EDедEт6, пDо8=6еEт8Dо64==KE E по<оILN 8=KE 8=6еEт8F8о==KE пл4тDоD< 6 теGе=8е текуIе7о 
к4ле=д4D=о7о 7од4, EоEт46лOет ____Dу5ле9. 
 

�=6еEтоD ($�О/=48<е=о64=8е)  

�4EпоDт=Kе д4==Kе 8л8 ���, 4 т4к6е 4дDеE   

!у<<4 8=6еEт8Dо64=8O  

�4U<I8к (=48<е=о64=8е, ���)  

 

�4EтоOI89 4кFепт EDоD<8Dо64= пD8 по<оI8  о5от4 8=6еEт8Dо64=8O =4 оE=о64=88 
поEтоO==о7о де9Eт6уNIе7о 4кFепт4, котоDK9 5Kл подп8E4= EледуNIе9 !�!: 

ID �=6еEтоD4   

�о<еD телеDо=4 �=6еEтоD4  

!�!-код  

�4т4 8 6Dе<O  

ID у Eото6о7о ОпеD4тоD4  

 

����!&О  �О���!��О Э&� 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



!тD4=8F4 77 87 85 

 

ФоD<4 � 

 

�4O6ле=8е 

о 6клNGе=88 отделP=OE �4U<I8ко6 6 GеD=O9 Eп8Eок 

№ 

 

�4EтоOI8< пDоHу =е 74клNG4тL до7о6оDо6 8=6еEт8Dо64=8O 6 Dе68<е  о5от4 
8=6еEт8Dо64=8O 6 от=оHе=88 EледуNI8E �4U<I8ко6: 
 

�48<е=о64=8е ��� 

  

  

  

 

'к474==Kе о7D4=8Gе=8O пDоHу пD8<е=OтL 6 D4<к4E л8G=о7о к458=ет4, пD8=4дле64Iе7о 
EледуNIе<у л8Fу: 
�48<е=о64=8е ��� 

  

  

�=6еEтоD ($�О/=48<е=о64=8е)   

�4EпоDт=Kе д4==Kе 8л8 ���, 4 т4к6е 4дDеE   

  

�О���!��О � � �О�О)� !�!: 
ID �=6еEтоD4   

�о<еD телеDо=4 �=6еEтоD4  

!�!-код  

�4т4 8 6Dе<O   

ID у Eото6о7о ОпеD4тоD4  

 

 ����!&О  �О���!��О Э&� 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



!тD4=8F4 78 87 85 

 

 

�D8ло6е=8е № 9: �ол8т8к4 от5оD4 74O6ок 

 

О5O74телL=Kе уEло68O D47<еIе=8O 74O6к8 

• !Dок 749<4: 
!о7л4E=о �=6еEт8F8о==о<у пDедло6е=8N, =о =е 5олее 3 лет. ОпеD4тоD 6пD46е откло=8тL 

D47<еIе=8е 8=6еEт8F8о==о7о пDедло6е=8O 6 E6O78 E =4л8G8е< 6=утDе==8E пDо6еDоG=KE 
пDоFедуD �4U<I8к4 8 74O6к8 �4U<I8к4.  

• �8=8<4лL=4O Eу<<4 749<4 500 000 Dу5ле9 (8л8 <е=ее по DеHе=8N ОпеD4тоD4 
�л4тDоD<K) 

• !DеDо9 деOтелL=оEт8 74U<I8к4 8л8 7DуппK ко<п4=89, 6 котоDуN о= 6Eод8т, 

O6лOетEO: Eо7д4=8е 8л8 Dеко=EтDукF8O о5Jекто6 =ед6868<оEт8 8л8 8=DD4EтDуктуDK; 8 (8л8) 
покупк4 8 пDод464 о5Jекто6 =ед6868<оEт8; 8 (8л8) 4Dе=д4 8 упD46ле=8е Eо5Eт6е==K< 8л8 
4Dе=до64==K< =ед6868<K< 8<уIеEт6о<. 

• ' 7е=еD4лL=о7о д8DектоD4, уGDед8теле9 (долO 25%+), 4 т4к6е ко<п4=88-�4U<I8к4: 

- =4 E49те $едеD4лL=о9 Eлу65K Eуде5=KE пD8Eт46о6 отEутEт6ует 8=DоD<4F8O о 
74дол6е==оEт8 по кDед8т4< 8 749<4< 

- =4 E49те $едеD4лL=о9 Eлу65K Eуде5=KE пD8Eт46о6 отEутEт6ует 8=DоD<4F8O о 8=о9 
74дол6е==оEт8 >100 000 Dу5ле9 

• ' 7е=еD4лL=о7о д8DектоD4 �4U<I8к4 (л85о д8DектоD4 упD46лONIе9 ко<п4=88 
�4U<I8к4), уGDед8теле9 отEутEт6ует =еE=Oт4O 8л8 =епо74Hе==4O Eуд8<оEтL 74 пDеEтупле=8O 6 
EDеDе Mко=о<8к8 8л8 пDеEтупле=8O пDот86 7оEуд4DEт6е==о9 6л4Eт8, 8=теDеEо6 7оEуд4DEт6е==о9 
Eлу65K 8 Eлу65K 6 оD74=4E <еEт=о7о E4<оупD46ле=8O. 

• ' �4U<I8к4 =4 E49те kad.arbitr.ru отEутEт6ует 8=DоD<4F8O 

- о5 8Eк4E (лN5о9 Eт4туE) к �4U<I8ку по кDед8т4< 8 749<4< 

- о5 8=KE 8Eк4E (Eт4туEK: 6K=еEе=о, о564луNтEO), Eо7д4NI8E у7Dо7у, по <=е=8N 
ОпеD4тоD4, 8Eпол=е=8N о5O74телLEт6 пеDед �=6еEтоD4<8. 

 

ОпеD4тоD �л4тDоD<K 6пD46е, пD8 уE<отDе=88 D8Eко6 длO 8=6еEтоDо6, пDепOтEт6уNI8E по 
<=е=8N ОпеD4тоD4, к D47<еIе=8N 74O6к8 �4U<I8к4 =4 �л4тDоD<е – откло=8тL 74O6ку �4U<I8к4 
от D47<еIе=8O =4 �л4тDоD<е, 4 D47<еIе==уN 74O6ку – 6пD46е пD8оEт4=о68тL (6 то< G8Eле – 

пDекD4т8тL к D47<еIе=8N) 5е7 6о7<еIе=8O к4к8E-л85о у5Kтко6 8(8л8) пD86леGе=8O к к4ко9-л85о 
от6етEт6е==оEт8 пеDед �4U<I8ко<.  

 

 

 

 

 

 

 

 

 

  



!тD4=8F4 79 87 85 

 

 

�D8ло6е=8е № 10: �ол8т8к4 D45отO E пDоEDоче==о9 74дол6е==оEтPN 

 

�=DоD<4F8O о де9Eт68OE, котоDOе <о7ут 5OтP пDедпD8=OтO ОпеD4тоDо< 6 EлуG4е 
=е8Eпол=е=8O о5O74телPEт6 л8Fо<, пD86лек4NI8< 8=6еEт8F88 

 

1. �о 6опDоE4< 6Kд4G8 8 по74Hе=8O 749<о6 ОпеD4тоD о5I4етEO по л8G=о<у телеDо=у 
E Dуко6од8теле< (��О), 4 т4к6е E лN5K< уGDед8теле< (долO 25%+) 

2. �4 14 к4ле=д4D=KE д=е9 до пл4=о6о9 д4тK 74Hе=8O �4U<I8ку =4пD46лOетEO !�! 8 
e-mail у6едо<ле=8е E 8=DоD<4F8е9 о д4те 8 Eу<<е по74Hе=8O. 

3. �4 7 к4ле=д4D=KE д=е9 до пл4=о6о9 д4тK 74Hе=8O �4U<I8ку =4пD46лOетEO 
по6тоD=ое !�! 8 e-mail у6едо<ле=8е E 8=DоD<4F8е9 о д4те 8 Eу<<е по74Hе=8O. 

4. �4 5 D45оG8E д=е9 8 6 д4ту пл4=о6о7о по74Hе=8O E �4U<I8ко< ОпеD4тоD E6O7K64етEO 
по телеDо=у E пDедEт468телO<8 �4U<I8к4. 

5. � EлуG4е 6KEод4 (пл4=8Dуе<о7о 6KEод4) =4 пDоEDоGку у �4U<I8к4 74пD4H864етEO 
8=DоD<4F8о==ое п8EL<о E оп8E4=8е< пD8G8=K 6KEод4 =4 пDоEDоGку 8 пл4=о6K< 7D4D8ко< еU 
по74Hе=8O. 

6. � EлуG4е =еко=т4кт=оEт8 �4U<I8к4 ОпеD4тоD 8EполL7ует 4лLтеD=4т86=Kе к4=4лK 
E6O78 длO уEт4=о6ле=8O ко=т4кт4 E �4U<I8ко<. 

7. � от=оHе=88 74дол6е==оEт8 �4U<I8ко6, по упD46ле=8N 74дол6е==оEтLN котоDKE 
<е6ду �4U<I8ко< 8 ОпеD4тоDо< 8(8л8) <е6ду ОпеD4тоDо< 8 �4=ко<, 6 котоDо< откDKт 
54=ко6Eк89 EGет �4U<I8к4, – 74клNGе=о Eоот6етEт6уNIее Eо7л4Hе=8е (п4кет Eо7л4Hе=89) по 
упD46ле=8N 74дол6е==оEтLN �4U<I8к4 – ОпеD4тоDо< оEуIеEт6лONтEO де9Eт68O =4пD46ле==Kе =4 
пеDеG8Eле=8е Eу<<K 74дол6е==оEт8 =4 =о<8=4лL=K9 EGет ОпеD4тоD4 �л4тDоD<K, E FелLN 8E 
д4лL=е9Hе7о D4EпDеделе=8O 8=6еEтоD4<. 

8. �4 5 де=L пDоEDоGк8 ОпеD4тоD пу5л8кует длO 8=6еEтоDо6 6Eе доEтуп=Kе ко=т4кт=Kе 
д4==Kе �4U<I8к4. 

9. �4 5 де=L пDоEDоGк8 (6 5л8649H89 D45оG89 де=L) ОпеD4тоD пеDед4ет д4==Kе 6 
�NDо кDед8т=KE 8EтоD89 о д4==о< D4кте. 

10. �4 15 де=L пDоEDоGк8 (6 5л8649H89 D45оG89 де=L) ОпеD4тоD =4пD46лOет 
доEуде5=уN пDете=78N �4U<I8ку. 

11. ! 30 д=O пDоEDоGк8 по 60 де=L пDоEDоGк8 - под4етEO 8Eко6ое 74O6ле=8е 6 Eуд. 
12. �оEле полуGе=8O 8Eпол=8телL=о7о л8Eт4 ОпеD4тоD оD74=87ует е7о =4пD46ле=8е 6 

54=к8, 7де у �4U<I8к4 откDKтK D4EGет=Kе EGет4, 4 т4к6е 8=8F88Dует 8Eпол=8телL=ое 
пDо876одEт6о. 

13. �45оD ко=кDет=KE <еD, пDедпD8=8<4е<KE ОпеD4тоDо<, 8E EоGет4=8е, - <о7ут 
64DL8Dо64тLEO ОпеD4тоDо< 6 7468E8<оEт8 от EпеF8D8к8 E8ту4F88, 4 т4к6е 6 7468E8<оEт8 от 
=4л8G8O 74клNGе==KE Eо7л4Hе=89, ук474==KE пу=кто< 7. �4EтоOIе9 �ол8т8к8. 
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�D8ло6е=8е № 11: Декл4D4F8O о D8Eк4E 8=6еEт8F8о==о9 пл4тDоD<O 

 

1. �екл4D4F8O о D8Eк4E 8=6еEт8F8о==о9 пл4тDоD<K (д4лее - �екл4D4F8O о D8Eк4E) 
ООО «�47=у<�=6еEт» (��� 1841096768, О� � 1201800024480)  д4лее по текEту – ОпеD4тоD 
�л4тDоD<K, О5IеEт6о) D47D45от4=4 6 Eоот6етEт688 E тDе5о64=8O<8 де9Eт6уNIе7о 
74ко=од4телLEт64  оEE89Eко9 $едеD4F88, =оD<4т86=KE пD46о6KE 4кто6 &е=тD4лL=о7о �4=к4 
 оEE89Eко9 $едеD4F88 (�4=к4  оEE88), Eо7л4E=о поло6е=8O< $едеD4лL=о7о 74ко=4 от 02.08.2019 
№ 259-$� «О пD86леGе=88 8=6еEт8F89 E 8EполL7о64=8е< 8=6еEт8F8о==KE пл4тDоD< 8 о 6=еEе=88 
87<е=е=89 6 отделL=Kе 74ко=од4телL=Kе 4ктK  оEE89Eко9 $едеD4F88».  

 

2. �лO Fеле9 �екл4D4F88 о D8Eк4E под D8Eко< по=8<4етEO 6о7<о6=оEтL =4Eтупле=8O 
к4ко7о-л85о Eо5Kт8O, EпоEо5=о7о по6леGL 74 Eо5о9 D8=4=Eо6Kе, л85о =еD8=4=Eо6Kе потеD8 пD8 
пD86леGе=88 8=6еEт8F89 =4 �л4тDоD<е (длO Л8F4, пD86лек4NIе7о 8=6еEт8F88) л85о пD8 
оEуIеEт6ле=88 8=6еEт8Dо64=8O E 8EполL7о64=8е< �л4тDоD<K (длO �=6еEтоD4). �=Kе теD<8=K, 
опDеделе=8O 8 EокD4Iе=8O пD8<е=ONтEO 6 Eоот6етEт688 Eо 7=4Gе=8O<8, ук474==K<8 6 
�D8ло6е=88 №1 к =4EтоOI8< �D468л4<.  

  

3. �екл4D4F8O о D8Eк4E EоEт46ле=4 8EклNG8телL=о 6 8=DоD<4F8о==KE FелOE, длO 
до6еде=8O до л8F, 748=теDеEо64==KE 6 8EполL7о64=88 �л4тDоD<K, 8=DоD<4F88 о поте=F84лL=KE 
D8Eк4E, E6O74==KE E пDо6еде=8е< Eделок (опеD4F89) E по<оILN 8=DоD<4F8о==KE теE=оло789 8 
теE=8GеEк8E EDедEт6 �л4тDоD<K.  

  

4. �Eе л8F4, 8<еNI8е =4<еDе=8е 8=6еEт8Dо64тL 8 (8л8) пD86лек4тL 8=6еEт8F88 E 
8EполL7о64=8е< �л4тDоD<K, о5O74=K о7=4ко<8тEO E �D468л4<8 пл4тDоD<K, 6 то< G8Eле E 
�екл4D4F8е9 о D8Eк4E до =4G4л4 8EполL7о64=8O 8=6еEт8F8о==о9 пл4тDоD<K.  !о7л4H4OEL 8 
пD8=8<4O �D468л4 пл4тDоD<K, �олL7о64телL ('G4Eт=8к) пл4тDоD<K те< E4<K< подт6еD6д4ет D4кт 
о7=4ко<ле=8O 8 Eо7л4E8O E поло6е=8O<8 �D468л пл4тDоD<K, 4 т4к6е D4кт пD8=Oт8O 6EеE 
6о7<о6=KE (поте=F84лL=KE) 68до6 D8Eко6 пD8 8EполL7о64=88 �л4тDоD<K, пDедуE<отDе==KE 6 
�екл4D4F88 о D8Eк4E.  

  

5. $878GеEкое л8Fо, Dе78EтD8DуNI8еEO =4 �л4тDоD<е 6 Eт4туEе �=6еEтоD4 8 
=4<еDе==ое оEуIеEт6лOтL 8=6еEт8Dо64=8е E 8EполL7о64=8е< �л4тDоD<K о5O74=о д4тL ОпеD4тоDу 
�л4тDоD<K подт6еD6де=8е то7о, Gто о=о о7=4ко<8лоEL E D8Eк4<8, E6O74==K<8 E 8=6еEт8Dо64=8е<, 
оEо7=4ет, Gто 8=6еEт8Dо64=8е E 8EполL7о64=8е< 8=6еEт8F8о==о9 пл4тDоD<K O6лOетEO 
6KEокоD8Eко64==K< 8 <о6ет пD86еEт8 к потеDе 8=6еEт8F89 6 пол=о< о5Jе<е, 8 пD8=8<4ет т4к8е 
D8Eк8.  

  

6. ОпеD4тоD �л4тDоD<K о5D4I4ет 6=8<4=8е �=6еEтоDо6 8 Л8F, пD86лек4NI8E 
8=6еEт8F88, =4 тот D4кт, Gто:   

 

" �екл4D4F8O о D8Eк4E =е D4EкDK64ет 6Eе поте=F84лL=Kе D8Eк8 пD8 8EполL7о64=88 
�л4тDоD<K 6EледEт68е D47=оо5D478O E8ту4F89, котоDKе =е <о7ут 5KтL коDDект=о 
EпDо7=о78Dо64=K, 8 =е EодеD68т 8EGеDпK64NIе7о пеDеG=O D8Eко6, E6O74==KE E 8=6еEт8Dо64=8е< 
8 (8л8) пD86леGе=8е< 8=6еEт8F89 E 8EполL7о64=8е< �л4тDоD<K, од=4ко по76ол8т опDедел8тL 
пD8е<ле<K9 длO к46до7о 'G4Eт=8к4 пл4тDоD<K уDо6е=L D8Eк4, Dе4лL=о оFе=8тL E6о8 
6о7<о6=оEт8 8 от6етEт6е==о подо9т8 к DеHе=8N 6опDоE4 о =4G4ле 8EполL7о64=8O �л4тDоD<K 8 
74клNGе=88 Eделок 8 (8л8) пDо6еде=88 опеD4F89 E 8EполL7о64=8е< 8=DоD<4F8о==KE теE=оло789 
8 теE=8GеEк8E EDедEт6 �л4тDоD<K.   

 

" 6 �екл4D4F88 о D8Eк4E оп8EK64NтEO =485олее оGе68д=Kе 68дK D8Eко6, пеDеGе=L 
котоDKE =е O6лOетEO 8EGеDпK64NI8<.  

 

" 8=6еEт8Dо64=8е 8 пD86леGе=8е EDедEт6 E по<оILN 8=DоD<4F8о==KE теE=оло789 8 
теE=8GеEк8E EDедEт6 �л4тDоD<K EопDO6е=о E D47л8G=K<8 D8Eк4<8, ук474==K<8 6 �екл4D4F88 о 



!тD4=8F4 81 87 85 

 

D8Eк4E, от6етEт6е==оEтL 74 котоDKе =е <о6ет 5KтL 6о7ло6е=4 =4 ОпеD4тоD4 �л4тDоD<K, т4к к4к 
о=8 =4EодOтEO 6=е D47у<=о7о ко=тDолO ОпеD4тоD4 �л4тDоD<K, 8 у ОпеD4тоD4 �л4тDоD<K 
отEутEт6уNт 6о7<о6=оEт8 пDед68детL 8 пDедот6D4т8тL поEледEт68O т4к8E D8Eко6;  

пD8=Oт8е DеHе=8O о5 8EполL7о64=88 �л4тDоD<K о7=4G4ет Eо7л4E8е л8F4 (D878GеEко7о 
л85о ND8д8GеEко7о), 8<еNIе7о =4<еDе=8е 8=6еEт8Dо64тL 8 (8л8) пD86лек4тL 8=6еEт8F88 E 
8EполL7о64=8е< �л4тDоD<K (Eт4тL  'G4Eт=8ко< пл4тDоD<K) E пD8=Oт8е< =4 Eе5O 6EеE 6о7<о6=KE 
(поте=F84лL=KE) D8Eко6, ук474==KE 6 �екл4D4F88 о D8Eк4E;  

ОпеD4тоD �л4тDоD<K =е =еEет от6етEт6е==оEт8 6 E6O78 E D8Eк4<8, о5о7=4Gе==K<8 6 
=4EтоOIе9 �екл4D4F88 о D8Eк4E.  

  

7. ОE=о6=Kе 68дK D8Eко6 пD8 8EполL7о64=88 8=6еEт8F8о==о9 пл4тDоD<K.  
  

�D8 8EполL7о64=88 �л4тDоD<K =ео5Eод8<о уG8тK64тL D4ктоDK D8Eк4 E4<о7о D47л8G=о7о 
E6о9Eт64. � =4EтоOIе9 �екл4D4F88 о D8Eк4E пD8 8EполL7о64=88 8=6еEт8F8о==о9 пл4тDоD<K 
пD86одOтEO ко=кDет=Kе 68дK D8Eко6, Eп8Eок котоDKE =е O6лOетEO 8EGеDпK64NI8<, =о по76ол8т 
'G4Eт=8к4< пл4тDоD<K полуG8тL о5Iее пDедEт46ле=8е о5 оE=о6=KE D8Eк4E, котоDKе <о7ут 
6о7=8к=утL пD8 8EполL7о64=88 �л4тDоD<K, 8 6 E6O78 E Dе4л874F8е9 котоDKE 'G4Eт=8к8 пл4тDоD<K 
<о7ут по=еEт8 EуIеEт6е==Kе D8=4=Eо6Kе 8 (8л8) =еD8=4=Eо6Kе потеD8 (у5Kтк8). �D8 Mто< =е 
8EклNGе=4 6еDоOт=оEтL утD4тK 6Eе9 Mко=о<8GеEко9 6K7одK от пDо6еде=8O Eделк8 8 (8л8) опеD4F88 
E 8EполL7о64=8е< �л4тDоD<K.   

  

1) О5I8е =еDе7ул8Dуе<Kе D8Eк8, EпоEо5=Kе ок474тL пDO<ое 8л8 коE6е==ое 6л8O=8е 
=4 Dу=кF8о=8Dо64=8е �л4тDоD<K 8 (8л8) деOтелL=оEтL ОпеD4тоD4 �л4тDоD<K, 6EледEт68е Gе7о у 
'G4Eт=8ко6 пл4тDоD<K <о7ут 6о7=8к=утL D8Eк8 D8=4=Eо6KE потеDL 8л8 D8Eк8 =еполуGе=8O 
(полуGе=8O 6 =епол=о< о5Jе<е) о68д4е<о9 пD85Kл8:  

 

" Эко=о<8GеEк8е D8Eк8 - D8Eк8, E6O74==Kе E 87<е=е=8е< Mко=о<8GеEко9 E8ту4F88 6 
 оEE88 8 6 <8Dе, 87<е=е=8е клNGе6о9 Eт46к8 �4=к4  оEE88, E4=кF88, деDолтK 8 т.д. ЛN5о9 
�=6еEтоD <о6ет ок474тLEO 6 E8ту4F88, ко7д4 6 E8лу Mко=о<8GеEк8E пD8G8= л8Fо, пD86лек4NIее 
8=6еEт8F88, E котоDK< �=6еEтоD E по<оILN 8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 
�=6еEт8F8о==о9 пл4тDоD<K 74клNG8л �о7о6оD 8=6еEт8Dо64=8O, =е E<о6ет =4дле64I8< о5D47о< 
8Eпол=8тL E6о8 о5O74телLEт64 пеDед �=6еEтоDо< по пD8G8=4<, E6O74==K< E =е5л47опD8Oт=K< 
87<е=е=8е< Mко=о<8GеEко9 E8ту4F88 6 EтD4=е.   

ЛN5ое л8Fо, пD86лек4NIее 8=6еEт8F88, <о6ет ок474тLEO 6 E8ту4F88, ко7д4 6 E8лу 
Mко=о<8GеEк8E пD8G8= �=6еEтоDK =е E<о7ут пD8=OтL е7о 8=6еEт8F8о==ое пDедло6е=8е 8 
=ео5Eод8<4O Eу<<4 =е 5удет Eо5D4=4 GеDе7 �л4тDоD<у;  

 

" �ол8т8GеEк8е D8Eк8 - D8Eк8, E6O74==Kе E 87<е=е=8е< пол8т8GеEко9 E8ту4F88 6 
 оEE88 8 74 ее пDедел4<8. �7<е=е=8е 7еопол8т8GеEко9 о5Eт4=о6к8, кD878E пол8т8GеEко9 E8Eте<K, 
E<е=4 6л4Eт8 <о6ет пD86еEт8 к E4<K< =епDедEк47уе<K< =е5л47опD8Oт=K< поEледEт68O< длO 
пеDEпект86 Dе4л874F88 пDоект4 (8=6еEт8F8о==о7о пDедло6е=8O). Это <о6ет 5KтL E6O74=о E 
=4Dод=K<8 6ол=е=8O<8, EпоEо5=K<8 пDепOтEт6о64тL =оD<4лL=о<у оEуIеEт6ле=8N DK=оG=KE 
от=оHе=89 6 Mко=о<8ке, E =е5л47опD8Oт=K< длO пDоект4 (8=6еEт8F8о==о7о пDедло6е=8O) 
87<е=е=8O<8 куDE4 6л4Eт8 (=4пD8<еD, 87<е=е=8е пол8т8к8 6 EDеDе 74купок, 6 EDеDе поддеD6к8 
пD8оD8тет=KE отD4Eле9 Mко=о<8к8 8 дD.). �485олее D4д8к4лL=Kе 87<е=е=8O <о7ут пD86еEт8 к 
отк47у 8л8 отEDоGке 8Eпол=е=8O л8F4<8, пD86лек4NI8<8 8=6еEт8F88, E6о8E о5O74телLEт6 пеDед 
�=6еEтоD4<8, 6 =485олее кD8т8G=KE E8ту4F8OE - к ко=D8Eк4F88 л85о =4F8о=4л874F88 8<уIеEт64 
опDеделе==KE к4те7оD89 л8F, пD86лек4NI8E 8=6еEт8F88 E Eоот6етEт6уNI8<8 =е5л47опD8Oт=K<8 
поEледEт68O<8 длO 'G4Eт=8ко6 пл4тDоD<K.  

 

" Эколо78GеEк8е 8 теE=о7е==Kе D8Eк8 - D8Eк8, E6O74==Kе E 6о7<о6=оEтLN 8 (8л8) 
6еDоOт=оEтLN 6о7=8к=о6е=8O GDе76KG49=KE Eо5Kт89, DоDE<46оD=KE о5EтоOтелLEт6, теE=о7е==KE 
464D89 8л8 к4т4EтDоD.  

 



!тD4=8F4 82 87 85 

 

" �D46о6Kе D8Eк8 - D8Eк8, E6O74==Kе E поO6ле=8е< =о6KE =оD<4т86=KE пD46о6KE 
4кто6 8 (8л8) 87<е=е=8O<8 де9Eт6уNIе7о 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 
Dе7ул8DуNIе7о деOтелL=оEтL �л4тDоD<K 8 (8л8) ок47K64NI8E 6л8O=8е =4 пDо6еде=8е Eделок 
(опеD4F89) =4 �л4тDоD<е.  

 

"  8Eк =4ло7о6о7о 74ко=од4телLEт64 - D8Eк, E6O74==K9 E 87<е=е=8е< EуIеEт6уNIе7о 
поDOдк4 =4ло7оо5ло6е=8O Eделок (опеD4F89) =4 �л4тDоD<е, доEодо6 �=6еEтоDо6 8л8 
=4ло7оо5ло6е=8O л8F, пD86лек4NI8E 8=6еEт8F88 E 8EполL7о64=8е< �л4тDоD<K.  

  

2)  K=оG=Kе D8Eк8 – D8Eк8, E6O74==Kе E 6о7<о6=K< =е5л47опD8Oт=K< 87<е=е=8е< 
доEод=оEт8 8=6еEт8F8о==о7о пDедло6е=8O (пDоект4), 6 котоDK9 �=6еEтоD E по<оILN 
8=DоD<4F8о==KE теE=оло789 8 теE=8GеEк8E EDедEт6 �=6еEт8F8о==о9 пл4тDоD<K 8=6еEт8Dо64л 
E6о8 EDедEт64, по пD8G8=е 87<е=е=8O 7=4Gе=89 DK=оG=KE пок474теле9 (=4пD8<еD, о5<е==KE 
куDEо6, пDоFе=т=KE Eт46ок 8 дD.), Dе7ко9 де64лL64F88 =4F8о=4лL=о9 64лNтK, 54=ко6Eко7о, 
64лNт=о7о кD878E4, E4=кF8о==KE о7D4=8Gе=89, D47л8G=о7о Dод4 о5EтоOтелLEт6 =епDеодол8<о9 
E8лK. �4==Kе о5EтоOтелLEт64 <о7ут пD86еEт8 к E=86е=8N доEод=оEт8 8=6еEт8F8о==о7о 
пDедло6е=8O (пDоект4), утD4те 6Eе9 Mко=о<8GеEко9 6K7одK (потеDе �=6еEтоDо< 6ло6е==KE 6 
пDоект (8=6еEт8F8о==ое пDедло6е=8е) де=е6=KE EDедEт6).  

  

3) $8=4=Eо6Kе D8Eк8 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E 87<е=е=8е< е7о 
D8=4=Eо6о7о поло6е=8O 8 (8л8) Mко=о<8GеEко9 E8ту4F88 6 отD4Eл8. ЛN5о9 'G4Eт=8к пл4тDоD<K 
<о6ет ок474тLEO 6 E8ту4F88, ко7д4 6 E8лу Mко=о<8GеEк8E пD8G8= о= =е E<о6ет =4дле64I8< 
о5D47о< 8Eпол=8тL E6о8 о5O74телLEт64. 

  

 4) КDед8т=Kе D8Eк8 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E =еEоEтоOтелL=оEтLN, 
=е8Eпол=е=8е< 8л8 =е=4дле64I8< 8Eпол=е=8е< о5O74телLEт6 пеDед тDетL8<8 л8F4<8 6 пDоекте 
(кDед8тоD4<8), Gто <о6ет Eдел4тL =е6о7<о6=K< полуGе=8е доEодо6 л85о пл4те6е9 8 по6леGL 
EуIеEт6е==Kе (6 то< G8Eле, =ео7D4=8Gе==Kе) у5Kтк8, 6клNG4O утD4ту 6Eе9 Mко=о<8GеEко9 6K7одK 
от пDо6еде=8O Eделок (опеD4F89) =4 пл4тDоD<е).  

  

5) ОпеD4F8о==Kе D8Eк8 - D8Eк8 'G4Eт=8к4 пл4тDоD<K, E6O74==Kе E =е6еD=K<8 8л8 
=епD46о<еD=K<8 де9Eт68O<8 E4<о7о 'G4Eт=8к4 пл4тDоD<K, л85о 8=KE 'G4Eт=8ко6 пл4тDоD<K 
(=4пD8<еD, =е4дек64т=K<8 8л8 оH85оG=K<8 6=утDе==8<8 пDоFеEE4<8 6 EтDуктуDе �4U<I8к4 8л8 
�=6еEтоD4 (ND8д8GеEко7о л8F4), л85о  =е6еD=K<8 8л8 =епD46о<еD=K<8 де9Eт68O<8 EотDуд=8ко6 
'G4Eт=8к4 пл4тDоD<K-ND8д8GеEко7о л8F4 (7лоупотDе5ле=8е Eлу6е5=K< поло6е=8е<,  оH85к8 
пD8 оEуIеEт6ле=88 де9Eт689 8 опеD4F89) л85о =е74т86=K< 6о7де9Eт68е< тDетL8E л8F 
(<оHе==8GеEт6о),  4 т4к6е D47л8G=K<8 =е5л47опD8Oт=K<8 6=еH=8<8 Eо5Kт8O<8 =еD8=4=Eо6о7о 
E4D4ктеD4. 'G4Eт=8к пл4тDоD<K <о6ет по=еEт8 7=4G8телL=Kе у5Kтк8 6 E6O78 E =4Eтупле=8е< 
Eо5Kт89, EоEт46лONI8E опеD4F8о==K9 D8Eк. �D8 Mто< =е 8EклNGе=4 6еDоOт=оEтL утD4тK 6Eе9 
Mко=о<8GеEко9 6K7одK 'G4Eт=8к4 пл4тDоD<K от пDо6еде=8O Eделок (опеD4F89) =4 �л4тDоD<е.  

  

6)  8Eк8 л8к68д=оEт8 8 доEод=оEт8 - D8Eк8 D8=4=Eо6KE потеDL, E6O74==Kе E 
87<е=е=8е< опDеделе==KE E4D4ктеD8Eт8к 8=6еEт8F8о==KE 8=EтDу<е=то6 (о5Jекто6 
8=6еEт8Dо64=8O), 6 то< G8Eле 6EледEт68е 87<е=е=8O 8E оFе=оG=о9 (DK=оG=о9) Eто8<оEт8, 
к4GеEт6е==KE E4D4ктеD8Eт8к, л85о 87<е=е=8е< ко=JN=ктуDK DK=к4 8 покуп4телLEко7о EпDоE4.   

  

7)  8Eк8 =едоEт86е=8O Fеле9 пD8 8EполL7о64=88 �л4тDоD<K - ОпеD4тоD �л4тDоD<K 
=е 74D4=т8Dует EоED4=е=8е 8л8 у6ел8Gе=8е к4п8т4л4 пD8 8=6еEт8Dо64=88 GеDе7 �л4тDоD<у, D46=о 
к4к 8 =е д4ет 74D4=т89 8(8л8) 746еDе=89 л8F4<, пD86лек4NI8< 8=6еEт8F88, 6 полуGе=88 
D8=4=E8Dо64=8O =4 пDоектK 6 пол=о< о5Jе<е.  

 

 8) �=6еEт8F8о==Kе D8Eк8 - �=6еEтоD <о6ет потеDOтL G4EтL 8л8 6еEL к4п8т4л, 
6ло6е==K9 6 пDоект, 6 Dе7улLт4те то7о, Gто 74O6ле==Kе л8Fо<, пD86лек4NI8< 8=6еEт8F88, 



!тD4=8F4 83 87 85 

 

пок474тел8 доEод=оEт8 по лN5K< пD8G8=4< =е E<о7ут 5KтL доEт87=утK. �=6еEтоD E4<оEтоOтелL=о 
=еEет от6етEт6е==оEтL 74 E6ое DеHе=8е пD8=OтL 8=6еEт8F8о==ое пDедло6е=8е.  

  

9)  8Eк8 8=6еEт8F8о==KE о7D4=8Gе=89 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E 
74ко=од4телL=K<8 о7D4=8Gе=8O<8 по <4кE8<4лL=K< Eу<<4< 8=6еEт8Dо64=8O 8 <4кE8<4лL=K< 
Eу<<4< пD86леGе=8O 8=6еEт8F89. �4пD8<еD, длO �=6еEтоDо6 D878GеEк8E л8F, =е O6лONI8EEO 
8=д868ду4лL=K<8 пDедпD8=8<4телO<8 8 =е 8<еNI8<8 Eт4туE4 к64л8D8F8Dо64==о7о 8=6еEтоD4 
л8<8т 600 тKEOG Dу5ле9 6 7од, 4 длO л8F, пD86лек4NI8E 8=6еEт8F88 E 8EполL7о64=8е< �л4тDоD<K 
уEт4=о6ле=о о7D4=8Gе=8е по <4кE8<4лL=о9 Eу<<е пD86леGе=8O 8=6еEт8F89 – =е 5олее 1 
<8лл84Dд4 Dу5ле9 6 7од. � 74ко=од4телLEт6е л85о 6 доку<е=т4E M<8те=то6 Fе==KE 5у<47 (л8F, 
пD86лек4NI8E 8=6еEт8F88) <о7ут 5KтL пDедуE<отDе=K о7D4=8Gе=8O 8(8л8) =ео5Eод8<оEтL 
полуGе=8O пDед64D8телL=KE одо5Dе=89 8л8 D47DеHе=89 =4 Eделку E Fе==K<8 5у<474<8 M<8те=т4. 
�=6еEтоDу =ео5Eод8<о уG8тK64тL 6о7<о6=оEтL EуIеEт6о64=8O т4к8E о7D4=8Gе=89. � EлуG4е 
=еEо5лNде=8O ук474==KE тDе5о64=89 6о7<о6е= отк47 6 пD87=4=88 74 пD8о5Dет4теле< Fе==KE 
5у<47 (�=6еEтоDо<) е7о пD46, 4 т4к6е пD87=4=8е 74клNGе==KE Eделок =еде9Eт68телL=K<8 8 
пD8<е=е=8е поEледEт689 т4ко7о пD87=4=8O (к4к пD468ло, 6о76D4т 6Eе7о полуGе==о7о по Eделке).  

  

10)   8Eк 678<4=8O ко<8EE8о==KE 8 дDу78E E5оDо6 - D8Eк8 'G4Eт=8к4 пл4тDоD<K, 
E6O74==Kе E пол=о9 8л8 G4Eт8G=о9 =еоE6едо<ле==оEтLN о5 87деD6к4E (D4EEод4E) пD8 
8EполL7о64=88 �л4тDоD<K. �еDед пD8=Oт8е< DеHе=8O о5 4кFепте 8=6еEт8F8о==о7о пDедло6е=8O 
(8=6еEт8Dо64=88 6 пDоект) 8л8 пD8=Oт8е< DеHе=8O о D47<еIе=88 Fе==KE 5у<47 E 8EполL7о64=8е< 
�л4тDоD<K, л85о опу5л8ко64=8е< 8=6еEт8F8о==о7о пDедло6е=8O =4 �л4тDоD<е тDе5уетEO 
пD8=OтL 6Eе =ео5Eод8<Kе <еDK длO полуGе=8O Gетко7о пDедEт46ле=8O о5о 6EеE ко<8EE8о==KE 8 
8=KE E5оD4E, котоDKе <о7ут 678<4тLEO ОпеD4тоDо< �л4тDоD<K 6 Eоот6етEт688 E т4D8D4<8, 
пDедуE<отDе==K<8 �D468л4<8 пл4тDоD<K длO 'G4Eт=8ко6 пл4тDоD<K.  

  

11)  8Eк8, E6O74==Kе E де9Eт68O<8/5е7де9Eт68е< тDетL8E л8F - Dе4л874F8O пDоект4 
(8=6еEт8F8о==о7о пDедло6е=8O) <о6ет пDедпол474тL уG4Eт8е D47л8G=KE ND8д8GеEк8E л8F, 
O6лONI8EEO тDетL8<8 л8F4<8 по от=оHе=8N к 'G4Eт=8к4< пл4тDоD<K, пD8 Mто< 8Eпол=е=8е 8E 
о5O74телLEт6 пеDед дDу78<8 'G4Eт=8к4<8 пл4тDоD<K 6 =екотоDKE EлуG4OE <о6ет 5KтL =е6о7<о6=о 
5е7 оEуIеEт6ле=8O т4к8<8 тDетL8<8 л8F4<8 опDеделе==KE ND8д8GеEк8E 8 (8л8) D4кт8GеEк8E 
де9Eт689. � Mт8E EлуG4OE EуIеEт6ует D8Eк =е6о7<о6=оEт8 E6ое6Dе<е==о7о 8Eпол=е=8O 'G4Eт=8к4<8 
пл4тDоD<K E6о8E о5O74телLEт6 по Eделк4<.  

  

12)  8Eк8 =е8Eпол=е=8O о5O74телLEт6 – <о6ет 6о7=8к=утL 6EледEт68е =е8Eпол=е=8O, 
=еE6ое6Dе<е==о7о л85о =епол=о7о 8Eпол=е=8O о5O74телLEт6 'G4Eт=8ко< пл4тDоD<K.  

  

13)  8Eк8 54=ко6Eко9 E8Eте<K – D8Eк8 D8=4=Eо6KE потеDL, E6O74==Kе E 
=еE6ое6Dе<е==K< 8Eпол=е=8е< 8(8л8) =е8Eпол=е=8е< пл4те6е9 по опеD4F8O< =4 �л4тDоD<е.   

  

14)  8Eк упуIе==о9 6K7одK – D8Eк =еполуGе=8O пD85Kл8 6 Dе7улLт4те =еоEуIеEт6ле=8O 
!делк8 по 8=8F84т86е лN5о9 87 EтоDо= !делк8, =еоEуIеEт6ле=8O к4ко7о-л85о <еDопD8Oт8O 
=ео5Eод8<о7о длO 74клNGе=8O !делк8 =4 �л4тDоD<е л85о =едоEт86е=8е< �=6еEтоDо< E6о8E 
8=6еEт8F8о==KE Fеле9 по !делке. �ет =8к4ко9 74D4=т88 6 то<, Gто у6ел8Gе=8е к4п8т4л4, котоDо7о 
�=6еEтоD EоGет до58тLEO, 5удет доEт87=уто. �=6еEтоD <о6ет потеDOтL G4EтL 8л8 6Eе EDедEт64, 
8=6еEт8Dо64==Kе =4 �л4тDоD<е 6 опDеделе==Kе !делк8.  

  

15)  8Eк =едо5DоEо6еEт=о7о 8EполL7о64=8O 8=DоD<4F88 – D8Eк D8=4=Eо6KE потеDL, 
E6O74==K9 E 8EполL7о64=8е< 8=DоD<4F88, D47<еIе==о9 =4 �л4тDоD<е. �=DоD<4F8O поEтуп4ет 87 
D47=KE 8EтоG=8ко6 8 =е6о7<о6=о =еEт8 от6етEт6е==оEтL 74 тоG=оEтL 8 доEто6еD=оEтL полуG4е<о9 
876=е 8=DоD<4F88. !уIеEт6ует D8Eк полуGе=8O 'G4Eт=8ко< пл4тDоD<K, 6 то< G8Eле �=6еEтоDо< 
=едоEто6еD=о9 8=DоD<4F88, 8EполL7о64=8е котоDо9 <о6ет пD86еEт8 к =4DуHе=8N е7о 8=теDеEо6. 
КDо<е то7о, =ео5Eод8<4O 'G4Eт=8ку пл4тDоD<K 8=DоD<4F8O <о6ет поEтуп4тL E опDеделе==K<8 
74деD6к4<8, Gто <о6ет пD86еEт8 к =епD468лL=о9 оFе=ке о5EтоOтелLEт6, E6O74==KE E DеHе=8е< о 



!тD4=8F4 84 87 85 

 

пD8=Oт88 8=6еEт8F8о==о7о пDедло6е=8O, л85о к =е6о7<о6=оEт8 8E оFе=к8. �о7<о6=K 87<е=е=8O 
полуGе==о9 'G4Eт=8ко< пл4тDоD<K D4=ее 8=DоD<4F88, ее пеDеE<отD 8 утоG=е=8е, Gто <о6ет 
пD86еEт8 к 6K=у6де==о9 пеDеоFе=ке EтоDо=4<8 �о7о6оD4 8=6еEт8Dо64=8O о5EтоOтелLEт6, оFе=к4 
котоDKE 5478Dо64л4EL =4 т4ко9 8=DоD<4F88.  

  

16) &еE=8GеEк8е 8 теE=оло78GеEк8е D8Eк8 - D8Eк8 'G4Eт=8ко6 пл4тDоD<K, E6O74==Kе E 
=еEо6еDHе=Eт6о< 8 E5оO<8 8EполL7уе<KE 8<8 теE=оло789 8 MлектDо==KE E8Eте<, 4 т4к6е D8Eк8, 
6K764==Kе =4DуHе=8е< =оD<4лL=о7о Dе68<4 D45отK 8 E5оO<8 EDедEт6 E6O78, 6KG8Eл8телL=KE, 
телеко<<у=8к4F8о==KE 8 8=DоD<4F8о==KE E8Eте<, 8 (8л8) пDо7D4<<=о7о о5еEпеGе=8O, по 
пD8G8=4< =е 7468EOI8< от ОпеD4тоD4 �л4тDоD<K.  

  

17)  8Eк, оEуIеEт6ле=8O MлектDо==о7о доку<е=тоо5оDот4 – <о6ет 6о7=8к=утL пD8 
о5<е=е 8=DоD<4F8е9 <е6ду 'G4Eт=8к4<8 пл4тDоD<K дDу7 E дDу7о< 8 (8л8) E ОпеD4тоDо< 
�л4тDоD<K E 8EполL7о64=8е< E8Eте< MлектDо==о9 поGтK 8 EеD68Eо6 �л4тDоD<K пD8 
ко<пDо<ет4F88 Ло78=4 8 �4DолO длO доEтуп4 к MлектDо==о9 поGте 8 к Л8G=о<у к458=ету =4 
�л4тDоD<е.  

  

18)  8Eк8 8=DоD<4F8о==о9 5е7оп4E=оEт8 - D8Eк8 D8=4=Eо6KE потеDL 'G4Eт=8ко6 
пл4тDоD<K, E6O74==Kе E 6о7<о6=оEтLN полуGе=8O тDетL8<8 л8F4<8 =еE4=кF8о=8Dо64==о7о 
доEтуп4 к 74I8I4е<о9 8=DоD<4F88, =4пD8<еD:  

 

" кD464 п4DолO 8 (8л8) 8де=т8D8к4тоD4 доEтуп4 8л8 8=KE ко=D8де=F84лL=KE д4==KE, 
=4пD8<еD, CVV/CVC =о<еD4 к4DтK, клNGе9 MлектDо==о9 подп8E8/H8DDо64=88 поEDедEт6о< 
теE=8GеEк8E EDедEт6 8(8л8) 6Dедо=оE=о7о код4; 8 8EполL7о64=8е 7лоу<KHле==8к4<8 ук474==KE 
д4==KE E дDу78E уEтDо9Eт6 длO =еE4=кF8о=8Dо64==о7о доEтуп4.  

 

" уEт4=о6к4 =4 уEтDо9Eт6о 6Dедо=оE=о7о код4, котоDK9 по76ол8т 7лоу<KHле==8к4< 
оEуIеEт68тL кD8т8G=Kе опеD4F88 от 8<е=8 'G4Eт=8к4 пл4тDоD<K;  

 

" 8EполL7о64=8O 7лоу<KHле==8ко< утеDO==о7о 8л8 укD4де==о7о телеDо=4 (SIM 
к4DтK) длO полуGе=8O !�! кодо6, котоDKе <о7ут пD8<е=OтLEO ОпеD4тоDо< �л4тDоD<K 6 к4GеEт6е 
допол=8телL=о9 74I8тK длO =еE4=кF8о=8Dо64==KE D8=4=Eо6KE опеD4F89, Gто по76ол8т 8< 
о5о9т8 74I8ту.  

 

" кD464 8л8 =еE4=кF8о=8Dо64==K9 доEтуп к уEтDо9Eт6у, E котоDо7о �K полL7уетеEL 
уEлу74<8/EеD68E4<8 ОD74=874F88 длO полуGе=8O д4==KE 8(8л8) =еE4=кF8о=8Dо64==о7о доEтуп4 к 
EеD68E4< ОD74=874F88 E Mто7о уEтDо9Eт64;  

 

" полуGе=8е п4DолO 8 8де=т8D8к4тоD4 доEтуп4 8(8л8) код4 87 !�! 8(8л8) кодо6о7о 
Eло64 8 пDоG8E ко=D8де=F84лL=KE д4==KE, 6 т.G. п4EпоDт=KE д4==KE, =о<еDо6 EGето6 8 т.д. путе< 
о5<4=4 8(8л8) 7лоупотDе5ле=8O до6еD8е<, ко7д4 7лоу<KHле==8к пDедEт46лOетEO EотDуд=8ко< 
ОD74=874F88 8л8 теE=8GеEк8< EпеF84л8Eто< 8л8 8EполL7ует 8=уN ле7е=ду 8 пDоE8т �4E Eоо5I8тL 
е<у Mт8 EекDет=Kе д4==Kе; 8л8 =4пD46лOет подделL=Kе Eоо5Iе=8O по MлектDо==о9 поGте 8л8 
п8EL<о по о5KG=о9 поGте E пDоEL5о9 пDедоEт468тL 8=DоD<4F8N 8л8 Eо6еDH8тL де9Eт68е, котоDое 
<о6ет пD86еEт8 к ко<пDо<ет4F88 уEтDо9Eт64;  

 

" пеDеE64т MлектDо==KE Eоо5Iе=89 8 полуGе=8O =еE4=кF8о=8Dо64==о7о доEтуп4 к 
6Kп8Eк4<, отGет4< 8 пDоGе9 D8=4=Eо6о9 8=DоD<4F88, еEл8 MлектDо==4O поGт4 8EполL7уетEO длO 
8=DоD<4F8о==о7о о5<е=4 6 л8G=о< к458=ете уG4Eт=8к4 пл4тDоD<K. �л8 6 EлуG4е полуGе=8O 
доEтуп4 к 64Hе9 MлектDо==о9 поGте, отпD46к4 Eоо5Iе=89 от 64Hе7о 8<е=8 6 ОD74=874F8N.   

�еE4=кF8о=8Dо64==K9 доEтуп тDетL8E л8F к полуG4е<о9/пеDед464е<о9 8=DоD<4F88 
<о6ет =4DуH8тL Dе68< ко=D8де=F84лL=оEт8, пеDед464е<о9/ полуG4е<о9 8=DоD<4F88. �4==Kе 
о5EтоOтелLEт64 <о7ут пD86еEт8 к 6о7=8к=о6е=8N у 'G4Eт=8к4 пл4тDоD<K у5Kтко6, E6O74==KE E 
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=епD46о<еD=K< 8EполL7о64=8е< тDетL8<8 л8F4<8 полуGе==о9 8=DоD<4F88 о5 оEуIеEт6лOе<KE 
8< опеD4F8OE (Eделк4E) =4 �л4тDоD<е.   

  

 8Eк, E6O74==K9 E =еE4=кF8о=8Dо64==K< 8EполL7о64=8е< MлектDо==о9 подп8E8 – <о6ет 
6о7=8к=утL 6 EлуG4е ко<пDо<ет4F88 клNG4 ЭлектDо==о9 подп8E8, 8EполL7уе<о9 =4 �л4тDоD<е 8л8 
=еE4=кF8о=8Dо64==о7о доEтуп4 к EDедEт64< ЭлектDо==о9 подп8E8, 6 Dе7улLт4те Gе7о <о6ет 5KтL 
полуGе= доку<е=т, поDо6д4NI89 ND8д8GеEк8 7=4G8<Kе поEледEт68O, 8EEодOI89 от 8<е=8 л8F4, 
клNG MлектDо==о9 подп8E8 котоDо7о 5Kл Eко<пDо<ет8Dо64=. �4==Kе о5EтоOтелLEт64 <о7ут 
пD86еEт8 к 6о7=8к=о6е=8N у �=6еEтоD4 у5Kтко6 6 E6O78 E ко<пDо<ет4F89 клNG4 MлектDо==о9 
подп8E8 EтоDо=K Eделк8.  

  

8. �еDK по пDедупDе6де=8N D8Eко6 8=DоD<4F8о==о9 5е7оп4E=оEт8.  
  

1) Ко=D8де=F84лL=оEтL 4уте=т8D8к4F8о==KE 8 (8л8) 8де=т8D8к4F8о==Kе д4==KE 
'G4Eт=8к4 пл4тDоD<K, 8=DоD<4F88 о =о<еD4E 54=ко6Eк8E EGето6 к4Dт 8 ���-код4E, 4 т4к6е лN5о9 
8=DоD<4F88, полуGе==о9 от ОпеD4тоD4 �л4тDоD<K (6 т.G. п4Dол8, !�! кодK, кодо6Kе Eло64, клNG8 
MлектDо==о9 подп8E8/H8DDо64=8O 8 т.д.).  

 

2) �D8 утеDе, кD46е телеDо=4 (SIM к4DтK), 8EполL7уе<о7о длO полуGе=8O !�! 8л8 
доEтуп4 к пл4тDоD<е к46дK9 'G4Eт=8к пл4тDоD<K о5O74= =е74<едл8телL=о пDо8=DоD<8Dо64тL о5 
Mто< D4кте ОпеD4тоD4 �л4тDоD<K GеDе7 л8G=K9 к458=ет, л85о =4 MлектDо==уN поGту ОпеD4тоD4 
�л4тDоD<K Eо E6ое9 MлектDо==о9 поGтK, ук474==о9 пD8 Dе78EтD4F88 =4 �л4тDоD<е, 8 пD8 
=ео5Eод8<оEт8 E<е=8тL п4DолL длO 6Eод4 =4 �л4тDоD<у.   

 

3) �еDK, по пDедупDе6де=8N D8Eко6 8=DоD<4F8о==о9 5е7оп4E=оEт8, =4пD46ле==Kе 
=4 74I8ту уEтDо9Eт64, E котоDо7о оEуIеEт6лOетEO 6Eод =4 �л4тDоD<у, 6 то< G8Eле, =о =е 
о7D4=8G864OEL:  

 

" 8EполL7о64=8е толLко л8Fе=78о==о7о пDо7D4<<=о7о о5еEпеGе=8O;  
" =4EтDо9к4 пD46 доEтуп4 к уEтDо9Eт6у E FелLN пDедот6D4Iе=8O 

=еE4=кF8о=8Dо64==о7о доEтуп4;  
" =4л8G8е EDедEт6 74I8тK 8 4кту4лL=KE о5=о6ле=89 EDедEт6 5е7оп4E=оEт8 

(4=т868DуE=KE пDо7D4<<;  
" 8EполL7о64тL Eло6=Kе п4Dол8;  
" о7D4=8G8тL доEтуп к ко<пLNтеDу, 8EклNG8тL (о7D4=8G8тL) 6о7<о6=оEтL 

д8Eт4=F8о==о7о подклNGе=8O к ко<пLNтеDу тDетL8< л8F4<.  
" 4кт864F8O п4DолL=о9 8л8 8=о9 74I8тK длO доEтуп4 к уEтDо9Eт6у.  
" оEтоDо6=оEтL пD8 полуGе=88 MлектDо==KE п8Eе< Eо EEKлк4<8 8 6ло6е=8O<8 8 пD8 

пDоE<отDе/D45оте E 8=теD=ет-E49т4<8, Gто5K 8EклNG8тL 74D46е=8е уEтDо9Eт64 6Dедо=оE=K< 
кодо<, котоDK9 <о6ет полуG8тL доEтуп к лN5K< д4==K< 8 8=DоD<4F8о==K< E8Eте<4< уEтDо9Eт6е 
полL7о64телO.  

 

4) �D8 D45оте E клNG4<8 MлектDо==о9 подп8E8 =ео5Eод8<о:  
 

" 8EполL7о64тL длO ED4=е=8O клNGе9 MлектDо==о9 подп8E8 6=еH=8е =оE8тел8, 
=4EтоOтелL=о Dеко<е=дуетEO 8EполL7о64тL EпеF84лL=Kе 74I8Iе==Kе =оE8тел8 клNGе6о9 
8=DоD<4F88 (клNGе6Kе =оE8тел8), =4пD8<еD: e-token, E<4Dт-к4Dт4 8 т.п.;   

" 8EполL7о64тL Eло6=Kе п4Dол8 длO 6Eод4 =4 уEтDо9Eт6о 8 длO доEтуп4 к клNG4< 
MлектDо==о9 подп8E8/клNGе6K< =оE8телO<, =е ED4=8тL п4Dол8 откDKто< 68де =4 
ко<пLNтеDе/<о58лL=о< уEтDо9Eт6е.  

 

�D8 подо7Dе=88 6 ко<пDо<ет4F88 клNGе9 MлектDо==о9 подп8E8/H8DDо64=8O 8л8 
=еE4=кF8о=8Dо64==о< д686е=88 Fе==KE 5у<47, де=е6=KE EDедEт6 8л8 8=KE D8=4=Eо6KE 4кт86о6 
=ео5Eод8<о =е74<едл8телL=о о5D4I4тLEO к ОпеD4тоDу �л4тDоD<K.   


